Talongrip Serrated Grip

ﬁle Side

long Clampmg

. - —
== P=T=F FT==F= T==F =
@6 5 T 2 9 @ 1 2 3 5 6@ w,
AL I D e o O I | AL Y b
- -

12030

LOW PROFILE SIDE CLAMPING

Material
Steel (S7), heat-treated, black oxide.

Technical Notes

Installation instructions:

1. Set grip in Talongrip jaw, install with
screws provided. For fixture, machine slot
0,025mm-0,075mm larger than dimension
w,, drilland tap.

2. Torque screws to 6,1 Nm. for standard

cap screw and 3,3 Nm. for low head cap
screw.

3. Tighten vice until penetration is felt. As
a general rule, an additional 1/4-3/4 turn
of vice handle is needed to secure the
workpiece dependent on material type and
vice model. Recommended penetration is
0,15mm-0,40mm.

Tips

M 5x12 screws provided, as well as 10-
32x1/2". Either can be usedin M 5
threaded holes as long as they do not
exceed 25mm in length.

The 10-32 screws sit better in the gripper
rail and are less likely to bind during
removal.

Order No. Qty/pack h,
12030.W0052 2 9.3
12030.W0054 2 7.8
12030.W0056 2 7.8

bﬂ Wixroyd

AN ESSENTRA COMPANY

I I Wy Fits Wixroyd jaw set Gripping height h, Weight
g
50.0 38.1 19.1 12035 & 12464 1,3-4,1 113
98.8 41.3 12.7 12035 13-3,2 181
148.1 66.7 12.7 12035 13-3,2 259
0333 207 4497 sales@wixroyd.com 1



ONIdWV1I 3AIS 311408d MO

Pitbull Clamps

12031.1

cap screw ﬂﬁ
A
Y

O-ring <7D

Material

Tool: steel (HRc 43-45) or brass.
Screw: steel and oil resistant nitrile
rubber.

0-ring: plastic.

Technical Notes

Provides positive down force and a very low
grip height. High vertical and horizontal
clamping forces. The 0-ring lifts the clamp
when unclamping.

Hardness: approx. HRc 45.

Temperature range -30°C to +80°C.

Clamps sold by pack quantity.

Tips

The tool steel blunt edge is less likely to
mark workpieces, whilst the knife edge
version bites into the material for more
aggressive machining requirements.

Often used with 12034 Talongrip or 12036
Versagrip.

Location rails are ideal for use with pitbull
clamps.

Important Notes

1. Machine a slot for the Pitbull clamp in
the fixture according to dimensions ,w,”
and ,h“.

2. Drill and tap a fixing hole to match
screw size- refer to dimension ,,” for
distance of hole from the component.

3. Assemble clamp as shown in the diagram
above.

4. Position the clamp, and loosely screw to
fixture.

5. Load the component and tighten screw
cap.

Dimension ,h,” is the minimum recom-
mended clamping height.

Order No. Material Type Qty/pack  d,; hy h, hs I Strokes; w;  Torqueto Holding force Weight
Nm kN g
max.

12031.W0015 Brass  Blunt Edge 8 M25 3.6 19 56 38 0.2 9.5 0.6 0.9 45
12031.W0040 Brass  Blunt Edge 8 M4 48 26 86 5.1 0.4 12.7 2.8 1.8 64
12031.W0065 Brass  Blunt Edge 6 M6 71 38 112 76 0.6 19.0 5.6 4.2 163
12031.W0005 Tool Steel Knife Edge 8 M25 36 19 66 38 0.2 9.5 1.8 2.8 32
12031.W0010 Tool Steel Blunt Edge 8 M25 36 19 66 38 0.2 9.5 1.8 2.8 45
12031.W0020 Tool Steel Knife Edge 8 M4 48 26 99 51 0.4 12.7 5.6 6.6 64
12031.W0030 Tool Steel Blunt Edge 8 M4 48 26 99 51 0.4 12.7 5.6 6.6 64
12031.W0050 Tool Steel Knife Edge 6 M6 71 38 145 76 0.6 19.0 225 16.0 136
12031.W0060 Tool Steel Blunt Edge 6 M6 71 38 145 76 0.6 19.0 225 16.0 132
12031.W0070 Tool Steel Knife Edge 4 M10 114 64 180 102 1.3 25.4 40.6 26.0 256
12031.W0075 Tool Steel Blunt Edge 4 M10 114 64 180 102 1.3 25.4 40.6 26.0 277
12031.W0080 Tool Steel Knife Edge 2 M12 163 95 196 152 1.9 38.1 145.0 50.0 408
12031.W0085 Tool Steel Blunt Edge 2 M12 163 95 196 152 1.9 38.1 145.0 50.0 408
() .
2 75 Wixroyd wixroyd.com
AN ESSENTRA COMPANY




Pitbull Clamps

LOW PROFILE SIDE CLAMPING

M Wixroud 0333 207 4497 sales@wixroyd.com 3

AN ESSENTRA COMPANY



ONIdWV1I 3AIS 311408d MO

Pitbull Clamps

12031.2

ANy

pitbull wear plate

Technical Notes

Provides a hard barrier between pitbull
clamp and fixture, preventing distortion of
back wall when using aluminium or mild

steel fixtures.

Tips

To keep fixtures light, maintain full clamp

travel and holding forces at max. pressure.

Refurbish old fixtures or add to existing

aluminium fixtures to maximise machining
capabilities.

Order No. Screw Part number Qty/pack
12031.W0615 M 2,5 12031.W0005, 12031.W0010, 12031.W0015 8
12031.W0640 M 4 12031.W0020, 12031.W0030, 12031.W0040 8
12031.W0665 M 6 12031.W0050, 12031.W0060, 12031.W0065 6
12031.W0670 M10 12031.W0070, 12031.W0075, 12032.W0570 4
12031.wW0680 M12 12031.W0080, 12031.W0085, 12032.W0580 2

wixroyd.com

4 bﬂ Wixroyd

AN ESSENTRA COMPANY



tighten clamp on dowel pin for PR
proper locatien for machining clamg

installation note

N—— T,

recommended
stock remeval from
centreline of clamp

remove pin and install
O-ring 1o clamp workpéece

12032

LOW PROFILE SIDE CLAMPING

Material

Tool: steel, heat treated to HRc 43,
machinable.

Screw: steel and oil resistant nitrile
rubber.

0-ring: plastic.

Technical Notes

A machinable version of the standard
pitbull clamps.

Provides positive down force and a very low
grip height.

High vertical and horizontal clamping
forces.

Hardness: approx. 45HRC

Tips
There is additional material of the clam-

ping face to allow machining of a radius.
Often used with part no. 12034 Talongrip
or part no. 12036 Versagrip.

Important Notes

Installation:

1. Machine face of clamp to suit profile of
component, taking note of dimension ,s,”
as the max. recommended stock removal. A
dowel pinisincluded in each pack to locate
the clamp whilst machining the face. After
machining of face, remove pin and install
0-ring to clamp workpiece.

2. Machine a slot for the pitbull clamp in
the fixture, according to dimensions ,L,”
and ,h,”.

3. Drill and tap a fixing hole to match

screw size, refer to dimension ,L,* for
distance of hole from the component.

4. Assemble clamp as shown in the diagram
above.

5. Position the clamp, and loosely screw to
fix.

6. Load the component and tighten the cap
screw.

Dimension ,h," is the minimum recom-
mended clamping height.

Order No. Qty/pack  d Stroke
max.

12032.W0570 4 M10 1.27
12032.W0580 2 M12 190

bﬂ Wixroyd

AN ESSENTRA COMPANY

hy h, hs I I, S Dowel pin dia. Torque to  Holding force ~Weight
Nm kN g
max.
1143 64 180 1016 254 15 3.18 40 26 263
1626 95 196 1524 381 45 6.35 145 50 463
0333 207 4497 sales@wixroyd.com 5



ONIdWV1I 3AIS 311408d MO

6 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Modular Pitbull Clamps

file Side
\_—\Clamping

E:

O

LOW PROFILE SIDE CLAMPING

| | 12033.1
v v
compact shotied
Material The slotted version has a clamp step to Tips
Body: steel hardened and ground with support the workpiece off the machine The compact version is ideal for clamping
pitbull clamps insert (part no. 12031). table for through milling or drilling. workpieces in series using the back surface

The height of the clamp can be adjusted by of clamp to locate the next workpiece.

Technical Notes varying the depth of the milled slot used to Back of clamp is ground square to the

Designed to be used in fixtures, on cubes

otc locate the clamp. bottom for precise part location.
Order No. Body type Clamp h; h, I Iy I; Stroke w;  w, Torque Clamping Mounting Replacement Weight
type +0.000| S, to force screw  clamps 12031 g

-0.013 Nm kN

max. max.
12033.wW0020 Compact Knife 25,1 57,1 381 06 312 157 225 16 M8 .WO0050
12033.W0025 Compact Blunt 25,1 57,1 381 06 312 157 225 16 M8 .W0060
12033.wW0030 Compact Knife 31,5 686 47,0 13 376 188 406 26 M10 .W0070
12033.W0035 Compact Blunt 31,5 686 47,0 13 376 188 406 26 M10 .W0075

12033.wW0040 Slotted Knife 25,1 185 1036 432 12,7 06 31,7 91 225 16 M12 .W0050 12,7
12033.w0045 Slotted Blunt 25,1 185 1036 432 12,7 06 31,7 91 225 16 M12 .W0060 12,7
12033.W0050 Slotted Knife 40,9 350 1070 376 109 13 381 91 406 26 M16 WO0075 10,9
12033.W0055 Slotted Blunt 40,9 350 1070 37,6 109 13 381 91 406 26 M16 .W0075 10,9

M Wixroud 0333 207 4497 sales@wixroyd.com 7

AN ESSENTRA COMPANY



ONIdWV1I 3AIS 311408d MO

Modular Pitbull Clamps

12033.2

-

L

Wy

—

RER

hy

.

)

-
grip height — = —a
-

versagrip talongrip

grip height — m— -
-
grip height — = =

!

pitbull

Material
Hardened and ground steel bodies with
pitbull clamps insert (part no. 12031).

Technical Notes

Designed to be used in fixtures, on cubes
etc.

The slotted version has a clamp step to

support the workpiece off the machine
table for through milling or drilling.

The height of the clamp can be adjusted by
varying the depth of the milled slot used to
locate the clamp.

Tips
The compact version is ideal for clamping

workpieces in series, using the back
surface of the clamp to locate the next
workpiece.

Back of clamp is ground square to the
bottom for precise part location.

Order No. Clamp type d, h, Iy Iy W,
12033.W0150 Versagrip M12 35 76.2 50 25.4
12033.W0155 Talongrip M12 35 76.2 50 25.4
12033.W0160 Pitbull - Knife M12 35 76.2 50 254
12033.W0165 Pitbull - Blunt M12 S5 76.2 50 254
12033.W0170 Pitbull - Mach. M12 35 76.2 50 254

o . o .
8 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY

Grip height Replacement clamps

1,510 3,0 12036.W0175

1,510 3,0 12034.W0050
6.4 12031.W0060
6.4 12031.W0070
6.4 12032.W0570




Uniforce Clamps

/.,@9 ile Side

\_—\Clamping

O

12130

LOW PROFILE SIDE CLAMPING

Material clamp round bar, as long as centre line of Important Notes
Channel: aluminium, anodised (7075-T6). clamp is above the centre line of the work- Dimension w, is the distance needed
Wedge and screw: steel, hardened and piece. between workpieces for clamp clearance.
blackened. . Drill and tap mounting hole on the centre
Tips of this dimension
Technical Notes Clockwise rotation is recommended. The o . .
. . . . . amilled slot wider than d, will ensure
Holds two parts with an equal clamping workpiece should be on the right of the Lo Ll
. . . the clamp remains in line with the work-
action. Very effective for multiple work- clamp. For replacement cam screws see . . .
iece clamping. Can easily be used with parts 12112 piece. Clamp sides should not come into
P ) ) contact with slot walls during expansion.

hydraulic pull cylinders. Can be used to

Order No. d; d, h, h, h, h W, w, Spread A/F  Torqueto Qty/pack Holding force Weight
max. Nm kN g
max.

12130.w0001 53 M2 69 640 36 81 6.1 6.4 6.7 15 0.7 6 0.88 45
12130.w0002 79 M25 97 950 47 119 091 €5 10.0 2.0 1.5 6 1.35 68
12130.w0004 104 M4 145 1270 56 159 123 127 132 3.0 3.4 8 2.23 100
12130.W0006 161 M6 190 1905 95 238 186 190 203 5.0 135 6 6.68 222
12130.wW0008 208 M8 259 2540 127 31.7 248 254 269 6.0 25.0 4 11.13 340
12130.w0012 30.8 M12 386 3810 190 476 373 381 399 100 384 2 15.58 612
12130.w0016 412 M16 515 5080 254 635 49.7 508 53.0 140 74.6 2 26.70 1404

M Wixroud 0333 207 4497 sales@wixroyd.com 9

AN ESSENTRA COMPANY



Uniforce Clamps

long length

BT L B - Wa -
' A
hy
- h‘ ’
o
= v
3
E - i - *
=
: — I‘ Ll — I‘ L
S
2
- \g
(3]
channel wedge
Material No drilled holes. clamp remains in line with workpiece.
Channel: aluminium (7075-T6). Clamp sides should not come into contact
Important Notes . . -
Wedge: steel. . . we with slot wall during expansion.
Dimension ,w," is distance needed -

. . Channel and wedge supplied seperately.
Technical Notes between workpieces for clamp clearance. If both parts are required please order
Standard length of 508mm supplied, to Drill and tap mounting hole on centre of P g P

.3 - o - them seperately.
allow machining to your own require- this dimension.
ments. .~ amilled slot wider than w, will ensure
Order No. Part hy h, I Wy w, W3 Spread
max.
12131.W0001 Channel 6.4 36 508 6.1 5.3 6.4 6.7
12131.W0002 Channel 9.5 4.7 508 9.1 7.9 95 10.0
12131.W0004 Channel 12.7 5.6 508 123 10.4 12.7 132
12131.W0006 Channel 19.1 9.5 508 18.6 16.1 19.0 20.3
12131.W0008 Channel 254 12.7 508 24.8 20.8 254 26.9
12131.w0012 Channel 38.1 19.0 508 37.3 30.8 38.1 398
12131.W0016 Channel 50.8 25.4 508 49.7 41.2 50.8 53.0
12131.w0201 Wedge - - 508 6.1 - - -
12131.wW0202 Wedge - - 508 9.1 - - -
12131.W0204 Wedge - - 508 12.3 = = =
12131.W0206 Wedge - - 508 18.6 - - -
12131.w0208 Wedge - - 508 24.8 - - -
12131.w0212 Wedge - - 508 37.3 - - -
12131.w0216 Wedge - - 508 49.7 - - -
o . )
10 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Machinable Uniforce Clamps Low Profile Side

Clamping

locking plate
o
— £
=
A =
3.,2 £, g
hy E
Y &
12140 2
g
- -y
-
dy
— |2 -—
Material the clamp force uniformly across both sides  Full clamping cannot be achieved if locking
Channel: aluminium, anodised (7075-T6). of the clamp. plate has not been removed.
\tl)vlc;(ing:naendd screw: steel, hardened, Tips Important Notes
’ The locking plate should be used to w, is the distance needed between work-
Technical Notes machine the jaws, and removed after this pieces for clamp clearance. Drill and tap
Extra material on the clamp jaws can be process to enable workpiece clamping. mounting holes on the centre of this
machined away to suit the shape of your When the clamp is used to machine flat dimension.
workpiece. faced parts, use the locking plates to w, is the amount of machinable stock on
The specially designed steel wedge spreads machine the faces parallel. the jaws.
Order No. d; d, hy h, I Iy Wy W, W3 Torque to Holding force F Weight
Nm kN g
max.
12140.W0050 M 4 M 2 12.7 6.3 15.7 10.2 28.6 10.7 4.6 3.4 2.2 18
12140.W0075 M 6 M 4 19.1 9.4 239 15.9 38.1 16.1 6.6 135 6.6 25
12140.W0100 M8 M 4 254 12.7 318 20.6 50.8 20.8 9.9 25.0 11.1 13
12140.W0150 M12 M5 38.1 19.1 47.5 30.5 76.2 30.9 15.7 38.4 15.5 S
12140.W0200 M16 M 6 50.8 25.4 63.5 41.3 1016 413 20.3 74.6 26.7 1000
o] : .
i Wixroud 0333 207 4497 sales@wixroyd.com 11
AN ESSENTRA COMPANY



Machinable Uniforce Clamps

long length
L ¥s -
i A
ha
S Y
3 ™
= - -
m Wy
§ — I‘ - - I‘ L
=
: | |
channel wedge
Material Wedge supplied with 3 drive bolts. pieces for clamp clearance. Drill and tap
Channel: aluminium, anodised (7075-T6). Tips mounting holes on the centre of this
Wedge: steel. Standard length of 190mm supplied to d1mens1on. .
. .S - w, is the amount of machinable stock on
Technical Notes allow machining to your own require- 37
. . the jaws.
The specially designed steel wedge spreads ments. .
. . Channel and wedge supplied separately. If
the clamp force uniformly across both sides .
Important Notes both parts are required please order them
of the clamp. w, is the distance needed between work- separatel,
Channel supplied with 4 mounting screws. 1 P Y-
Order No. Part h, h, I Wy Wy W3 Screw Torque to Holding force Weight
Nm kN g
max.
12145.W0550 Channel 12.7 6.3 190 28.6 10.67 4.6 M2 3.4 2.2 91
12145.W0575 Channel 19.1 9.4 190 38.1 16.05 6.6 M 4 14.6 6.6 172
12145.W0600 Channel 254 12.7 190 50.8 20.83 9.9 M 4 14.1 8.9 299
12145.W0650 Channel 38.1 19.1 190 76.2 30.86 15.7 M5 384 15,5 376
12145.W0850 Wedge - - 190 28.6 - - M 4 - - 114
12145.W0875 Wedge = = 190 38.1 = = M 6 = = 231
12145.W0900 Wedge - - 190 50.8 - - M 8 - - 403
12145.W0950 Wedge - - 190 76.2 - - M12 - - 874

12 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



file Side
\_—\Clamping

Dyna-Force Clamps

E:

O

stroke 54
-—— drive screw dy

LOW PROFILE SIDE CLAMPING

ry {radius on each comer)

Material The support surface of the clamp is wire- Important Notes

Stainless steel (17-4 PH, AISI 630). cut to ensure accurate positioning. 1. Bore installation hole d,, with a centre-

Smooth faced jaws (34 HRc), serrated jaws line at distance L, (tol. M8) from edge of

(44 HRc). Tips workpiece.

Technical Notes The support surface of the clamp can be 2. Drilland tap ,d," to mount the clamp in
. . . - . the pocket.

Very low profile, compact design, strong installed flush with the fixture plate or 3. Machine counterbore h “ if recessin

clamping. With smooth or serrated faces. raised to allow through drilling. ) "4 g

the clamp into the fixture.

The clamp jaw slides on an angle for posi- Often used in conjunction with our Talong- 4. Provide a back stop to locate the part

tive downhold force - the down force is rips, part no. 12034.
approx. 25% of the holding force.

Order No. Jaw type  d; d, Drivescrewd; h; h, hy hyopt h; h, hg I Iy r Weight
min. max. +0.1]-0.1 +0.1]-0.1 +0.1]-0.0 g

12010.wW0014 Smooth 20 M5 M 6x12 190 45 33 50 68 45 20 4.9 5.0 25 54
12010.wW0018 Serrated 20 M5 M 6x12 190 45 33 50 68 45 20 4.9 5.0 25 54
12010.W0020 Smooth 25 M6 M 8x16 240 50 45 65 83 50 25 5.6 6.0 30 100
12010.W0022 Serrated 25 M6 M 8x16 240 50 45 65 83 50 25 5.6 6.0 30 100
12010.wW0024 Smooth 30 M8 M10x18 290 70 45 75 108 7.0 30 7.1 7.5 38 159
12010.wW0028 Serrated 30 M8 M10x18 290 70 45 75 108 7.0 30 7,1l 7.5 38 159

Order No 2 R Stroke s w w w Torﬂl;j © Key size A/F Holding force

’ +0.1]-0.0 3 ! ! 2 3 max. kN
12010.w0014 20 6.0 2.0 249 19.9 135 10 5 8.8
12010.w0018 20 6.0 20 24.9 18 11315 10 5 88
12010.w0020 25 6.5 22 29.9 24.9 15.0 24 6 115
12010.w0022 25 6.5 22 299 24.9 15.0 24 6 11.5
12010.w0024 30 8.0 3.8 37.9 29.9 20.0 42 8 14.2
12010.w0028 30 8.0 3.8 379 298 20.0 42 8 14.2
(I .
i Wixroud 0333 207 4497 sales@wixroyd.com 13
AN ESSENTRA COMPANY



ONIdWV1I 3AIS 311408d MO

Machinable Fixture Clamps

12020

s B -
Y
W A
A
Wy
Y
P I
AIF
- -
S2

Material
Steel, mild.

Technical Notes

Used to machine and hold irreqular or
round parts.

Dimension ,w," is the amount of
machinable stock. Dimension ,s,” is the
distance to drill and tap hole from edge of
workpiece to use flat face.

Tips
Suitable for holding flat, round orirregular
shaped workpieces, the mild steel washer

can easily be machined to match the
profile of a component.

Supplied with cam screws, and one machi-
ning screw to hold clamp during machining
of clamp face to fit profile of the compo-
nent.

Important Notes

1. Drill and tap hole in required location,
refer to dimension ,s,” if using the clamp
flat face.

2. Clear drill 1,5mm deep.

3. Using the special machining screw

supplied (identifiable by NOT having a cam
action), insert and tighten the steel
washer.

4. Machine the washer to conform with
profile of the workpiece.

5. Exchange the machining screw for a cam
screw, load the component and clamp with
cam screw.

6. CAUTION: Never assume clamp is tight,
always check the tightened clamp prior to
machining.

Order No. d, h, h, Clamping force ~ Strokes;  Stroke s, W,
kN
max.
12020.W0006 M 6 64 119 34 1.0 7.8 24.9
12020.w0010 M10 89 180 89 1.5 10.2 31.2
12020.w0012 M12 114 229 17.8 2.0 12.7 37.6
12020.wW0016 M16 140 28.6 26.7 2.5 15.0 43.9
o . o .
14 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY

A/F Torque to  Qty/pack  Weight
Nm g
max.
4 8.5 4 100
7 28.0 4 236
8 88.0 4 435
12 135.0 4 748




Wixroyd

AN ESSENTRA COMPANY

0333 207 4497

sales@wixroyd.com

LOW PROFILE SIDE CLAMPING




Eccentric Pull Down Clamps

ONIdWV1I 3AIS 311408d MO

Wy Wa
12111 uily ¢ T Bemmh
L =-F h
; ' h}2 i - ]3
min [ ; ; ;
i

w = max distance from component Wy = max distance from component
when clamping above when clamping below
Material both downhold and side clamping action. h* - workpiece height.
Steel, hardened and blue zinc coated. ~W," =max. distance from component »13" - min. suggested thread engagement.
. when clamping above component surface. Clamping stroke achieved via 120° turn
Technical Notes ' ; .
~W," =max. distance from component of clamping screw.

Single piece clamping screw. Unique

eccentric side profile of the clamp ensures when clamping below component surface.

Order No. d, d, I Iy I3 Wy w, W3 Wy, Wy A/F Torqueto Holding force F Weight
min. +0.2 Nm kN g
max.

12111.w0003 M 3 6.7 6 2 3 3.0 3.2 3.5 29 2.2 2.0 1.0 0.05 0.57
12111.wW0004 M 4 8.7 8 B 4 25 4.2 4.6 4.0 3.0 2.5 1.5 0.09 143
12111.w0005 M5 109 10 4 5 4.2 5.2 5.7 5.0 3.5 3.0 2.0 0.10 2.84
12111.W0006 M6 135 12 5 6 5.4 6.4 7.1 6.1 4.5 4.0 4.5 0.30 4.95
12111.w0008 M8 169 16 6 8 6.6 8.0 8.9 7.7 5.5 5.0 20.0 2.70 9.10
12111.w0010 M10 20.9 20 7 10 83 9.8 11.1 9.4 6.5 6.0 30.0 4.00 17.0
12111.w0012 M12 26.1 24 9 12 101 120 135 116 80 8.0 44.0 5.40 31.0

16 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



A unique one-piece eccentric pull down clamping screw with compact design is an ideal solution
for providing both pull down and side clamping forces in applications where space is limited. Our
eccentric Pull Down Clamping Screw, uniquely combines a tapered cone and an offset eccentric
thread to provide clamping above or below a component’s surface.

Unique Solution

Clamping above component.

Clamping below component surface.

bﬂ Wixroyd

AN ESSENTRA COMPANY

Durable, stable, compact design. Advantages

Unaffected by swarfingress.
Easily actuated.

Effective pull down and side
thrust clamping.

High clamping force.

Smallinstallation footprint, ideal
for multi-component clamping.

Low height clamping solution.

. Drill and tap hole for required clamp size. Installation
2. Install screw into the hole, and lower to the

desired height of the component.

. Ensure the flat side of the clamp is facing

the workpiece - to allow for easy installation
of component.

. Once the clamping screw is installed, insert

workpiece/ component.

. Make a 120° turn of the screw to clamp

the component.

. A simple 120° reverse turn of the screw

unclamps the component.

VNN

ultra low height clamping solution

multi-component clamping

0333 207 4497

sales@wixroyd.com

LOW PROFILE SIDE CLAMPING




Eccentric Fixture Clamps

low profile

ONIdWV1I 3AIS 311408d MO

j st i
12112 " ;
‘A.I'F, AF,
Y
Material Workpiece stop is on the right hand side of 12020 and 12150. For stainless steel
Hexagonal clamp: brass. the clamp. version, see 12113.
i;r(;w: steel, hardened, strength class Tips Important Notes
o Clockwise rotation is recommended. The w, - is the location to drill and tap from the
Technical Notes workpiece stop should be to the right of edge of workpiece.
Cam action provides fast, strong clamping. the clamp. Replacement cam screws are
Small size allows more parts per load. suitable for all clamp parts 12112, 12120,
Order No. Type d; hy I Clamping force Strokes, w; A/F; A/F, Torqueto Qty/pack Weight
kN Nm g
max.
12112.W0004 Brass Clamp M 4x0,7 280 9.6 0.9 0.76 3.8 3 793 2.5 10 3.0
12112.W0006 Brass Clamp Meéexl 475 11.2 35 1.01 7.8 4 1586 10.0 10 11.0
12112.W0008 Brass Clamp M 8x1,25 455 15.0 3.5 1.01 102 5 20.60 18.0 12 18.0
12112.wW0010 Brass Clamp M10x1,5 6.35 19.0 8.8 1.27 102 7 2060 26.0 10 27.0
12112.W0012 Brass Clamp M12x1,75 9.52 228 17.7 2.03 127 8 2538 750 8 53.0
12112.W0016 Brass Clamp Mléx2 12.70 285 26.6 254 150 12 30.13 120.0 4 103.0

12112.W0504 Replacement Screw M 4x0,7 - - - - -
12112.W0506 Replacement Screw M 6x1 - - - = = - - - -
12112.W0508 Replacement Screw M 8x1,25 - - - - - - - - _
12112.W0510 Replacement Screw M10x1,5 - - - = = o - - -
12112.W0512 Replacement Screw M12x1.75 - - - - - - - - -
12112.W0516 Replacement Screw M16x2 - - - - = - - - -

18 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Eccentric Fixture Clamps
low profile

LOW PROFILE SIDE CLAMPING

M Wixroud 0333 207 4497 sales@wixroyd.com 19

AN ESSENTRA COMPANY



ONIdWV1I 3AIS 311408d MO

Eccentric Fixture Clamps

low profile - stainless steel

12113

Material

Hexagonal clamp: stainless steel.
Eccentric clamp screw and washer: stain-

less steel.

Technical Notes

Clockwise rotation is recommended. Work-

piece stop is on the right hand side of the
clamp. For non-stainless steel versions of

12112.
Tips

Compact size and fast, strong clamping
allows maximum number of parts to be

clamped.

Important Notes
w, -is the location to drill and tap from the
edge of workpiece.

Order No.

12113.W0525
12113.W0205
12113.W0206
12113.wW0208
12113.W0526
12113.W0528

20

Type

Stainless Screw
Stainless Clamp
Stainless Clamp
Stainless Clamp
Stainless Screw
Stainless Screw

d

M4 x 0,7
M 4x0,7
M 6x1
M 8x1,25
M 6x1
M 8x1,25

Wixroyd

AN ESSENTRA COMPANY

hy h

280 96
475 11.2
635 15.0

Strokes;  w;
076  3.80
101 780
101 1020

wixroyd.com

AJF,

Lo R W

AJF,

7.93
15.86
20.60

Clamp force Torque to Qty/pack Weight
kN Nm g
max.
- - 4
0.9 2.0 4 3.0
35 85 4 11.0
35 11.3 4 18.0
- - 4
- - 4




Eccentric Knife Edge Clamps Low Profile Side
Clamping

Con S 12120

LOW PROFILE SIDE CLAMPING

Wy
1
54
Material surfaces, this clamp provides serrations to clamp. For replacement cam screws see
Ribbed face steel, hardened and plated. help the clamp grip the workpiece. parts 12112.
Screw steel hardened, strength class 10,9. Tips Important Notes
Technical Notes Clockwise rotation is recommended. The w, is distance to drill and tap from edge of
For clamping workpieces with uneven workpiece should be to the right of the workpiece.
Order No. d, d, hy I Clamping force  Stroke s, Wy A/F Torque to Qty/pack  Weight
kN Nm g
max.
12120.w0020 M10x1,5 20.60 6.35 19.0 8.8 1.22 10.2 7 28 8 40
12120.wW0025 M12x1,75 2540 9.52 22.8 17.7 2.03 12.7 8 88 8 45
12120.W0030 M16x2 30.15 1270 285 26.6 2.54 15.0 12 135 4 90

M Wixroud 0333 207 4497 sales@wixroyd.com 21

AN ESSENTRA COMPANY



Standard Eccentric Clamp Kit
clamp no. 12150 for T- slots

12170

ONIdWV1I 3AIS 311408d MO

Material Please see no. 12150 for dimensions.
Clamping kits comprising no.12150
clamps.

Order No. Slot size Contents
12170.W0008 8 6 Clamps (12150.W0008), 4 T-nuts, 2 Hex keys
12170.W0010 10 6 Clamps (12150.W0010), 4 T-nuts, 2 Hex keys
12170.W0012 12 6 Clamps (12150.W0012), 4 T-nuts, 2 Hex keys
12170.W0014 14 6 Clamps (12150.W0014), 4 T-nuts, 2 Hex keys
12170.W0016 16 6 Clamps (12150.W0016), 4 T-nuts, 2 Hex keys
12170.W0018 18 6 Clamps (12150.W0018), 4 T-nuts, 2 Hex keys
12170.W0020 20 6 Clamps (12150.W0020), 4 T-nuts, 2 Hex keys
12170.W0022 22 6 Clamps (12150.W0022), 4 T-nuts, 2 Hex keys

22 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



file Side
\_—\Clamping

Fixed Mini Finger Clamp Stops

E:

single or double point

O
hy
[ \ ;
v |} h . lh,
d, ll d; ‘1, %
standard height raised height ;
<t
o
=
ot
: | ! E
:>" ” H Wy | Wy 10900 g
(@) y =
w [
- s -
single clamping stop double clamping stop
Material the precise location and re-positioning of Use double clamping stop version on long,
Spring steel. parts. slender or flexible parts.
Technical Notes Tips U;ft1igoi;1§2%w1th our mini finger clamp,
Fixed in place with special screws allowing Single or double version stops. P ’ ’
Order No. Type Clamp height  h; h, hs h, Iy ly I3 Iy w, W, W, d, d,
+0.01 tol. H7
10900.W0105 Single - standard 2.5 65 25 - 5 12 35 15 22 20 25 18 M4 42
10900.W0110 Double - standard 25 65 25 - 5 12 35 15 22 - 25 18 M4 42
10900.W0115 Single - raised 7.5 10 25 5 - 12 35 15 22 20 25 18 M4 42
10900.W0120 Double - raised 7.5 10 25 5 - 12 35 15 22 - 25 18 M4 42
=0 0=0
| tt 1 |
Iﬂﬂ
for clamping smaller workpieces; we suggest clamping longer workpieces; we suggest utilising a clamping
the use of a mini clamp with a single stop slop “triangle’, see above illustratian far an example.
For clamping smaller workpieces; we suggest clamping stops are fixed using precision ground localing scews
the use of a mini clamp with a single stop. for accurate positioning z:d!:ero;:?:g known reference points
o . s )
R Wixroyd 0333 207 4497 sales@wixroyd.com 23
AN ESSENTRA COMPANY



Mini Finger Clamp Swivel Stops
single point - for 10940

hole depth

10920

ONIdWV1I 3AIS 311408d MO

standard raised
Material allowing the precise location and re-
Spring steel. positioning of parts.
Technical Notes Tips
Fixed in place with special locking screws Use with our mini clamp, part no. 10940.
Order No. Type Grip height h, h, hs I [ I3 Iy Wy d, d,
tol. H7
10920.W0125 Standard 2.5 2.5 5 - 14 6 15 25 20 M 6 8
10920.wW0130 Raised 7.5 25 10 5 14 6 15 25 20 M 6 8

\ f &

| | 1x 8,0 H7 at 6,0 deep

L 1 with M6 to 14,0 deep

installation guide

when clamping workpieces of a irregular shape, swivel clamping
slops provide increased flexibility to align against the clamping face. In
such situations, two swivel clamping stops must be usad in conjuction
with mini clamps.

24 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Mini Finger Clamps
up to 4000 N

standard raised

10940

LOW PROFILE SIDE CLAMPING

Material
Spring steel.

Technical Notes

Simple, very heavy-duty, low profile clam-
ping. A quarter turn of the clamping screw
generates up to 4000 N clamping force.

They have a swivel facility to allow clam-
ping in any direction.

Tips

The clamps have unique ,fingers” that
push the workpiece down before clamping
- even on castings with a negative draft.

Important Notes

These clamps achieve a positive downforce
on both faces of the workpiece when used
in conjunction with fixed stop, part nos.
10900 or 10920.

Order No. Type
10940.W0210 Standard 2.5
10940.W0215 Raised 7.5

Clamp height Clamp stroke  h; h, hs h, hg I

fost quarter tum clamping

bﬂ Wixroyd

AN ESSENTRA COMPANY

Iy W, d, Torqueto Clamping force

Nm kN
max. max.
1.2 18 5 2.5 - - 25 15 20 12 9 4
1.2 18 2.5 5 10 25 15 20 12 ) 4
0333 207 4497 sales@wixroyd.com 25



ONIdWV1I 3AIS 311404d MO

Application

Unique Horizontal Clamping Set-Ups

26

©
©

I

Part No. 11070, 11071
Supports and special machining set-ups

Part No. 10900, 10920, 10940
T-slot table and special machining set-ups

|

(©)]

Part No. 11040, 11041, 11042, 11043
Supports and special machining set-ups

Part No. 11080, 11081, 11083

T-slot table, supports and special machining set-ups

C

14T
H
—

[©)

©

Wixroyd

AN ESSENTRA COMPANY

wixroyd.com




Mini Finger Clamps

one of the most powerful clamps for its size

Mini finger clamps operate using our unique “three finger” clamping action - providing unmatched
levels of pull down force and side clamping, for maximum component stability during machining.

4000N

LOW PROFILE SIDE CLAMPING

2,5mm | |

low clamping high clamping

With a height of less than 6mm and a length of just 20mm mini finger clamps are ideal for
multi-component clamping, while maximising access of the tooling. The clamp body is made
from spring steel and the eccentric and screw from heat-treated steel. For quick, precise and
high clamping forces up to 4000 Newtons.

The finger clamps pivot Actuation
l | T ] around an eccentric axis,
with clamping via either
| | | l aright (30°) or left (70°)
actuation of the
| | eccentric screw.
70°
30°
0,56 mm 0,3 mm
clamping stroke clamping stroke
clockwise turn anti-clockwise turn
Mini finger clamps can Clamping

position as well as clamp
the workpiece - putting
pressure against the stops
and pulling the workpiece
onto the reference surface
in one motion.

Often just a single mini
clamp can achieve
workpiece positioning and
clamping against its stops.

és Wixroyd 0333 207 4497 sales@wixroyd.com 27

AN ESSENTRA COMPANY



Unique Horizontal Clamping

Unique Action - “three finger” Clamping

Pull down AND clamp with the Our horizontal clamps have a unique “three finger”

highest of clamping forcels - arrangement ensuring components are both pulled
from 9’4 tons to 2’? tons'_ down and clamped in the same motion. The face of
Used in our clamping series: the clamp is made of three parts or “fingers”:

10900, 10940, 10880,
10920, 11040, 11041,
11042, 11043, 11070,

e Two outer flexible fingers @; for pulling down
the component to the work table.

)

=

o

3

= 11071, 11080, 11081, e Onesolid centralﬁnger@, to provide direct

(%] . .

=) 11082, 11083 clamping action.

g Available in two styles — smooth and serrated face.

g They can also cater for workpieces with an adverse @
(]

angle on the clamping face - for example flame cut
steel blanks.

Clamping Action
Contact The clamps outer flexible fingers @ are approx.
0,25mm longer than the solid central finger/
clamping stop @ this slight difference in length ‘ ©) ‘

means it is the flexible fingers which first come into

; X workpiece ‘@ ‘ clamp
contact with the workpiece.

Asinitial contact is made with the work-piece the ‘ @ ‘
flexible fingers @ apply downward pressure forcing |~ o
the workpiece down against the work table, the flexible 0.25mm
fingers are compressed until they are the same

length as the solid central finger/clamping stop @

view exaggerated for pushdown and flex
demonstration

Clamping As the solid central finger/clamping stop @) -
comes into contact with the work-piece it applies
high side clamping pressure to achieve clamping
forces up to 2,2 tons (dependent upon clamping

@]

workpiece ‘ @ clamp

model selected). @ g
pushdown
Machining During machining the uniquely designed flexible

fingers @ continue to flex and twist applying
downward pressure to keep the workpiece flat
to the work table throughout.

workpiece

F k-7
A

continual flex and pushdown
throughout machining

Precision Positioning

The unique clamping action achieves
precision positioning of workpieces -
ensuring the workpiece remains parallel

to the reference surface. RN

28 é.ﬁ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Horizontal Clamping Clamping &

10 2 TS Height Setting

Unique Action - “three finger” Clamping

Our horizontal clamps have a unique “three finger”
arrangement ensuring components are both pulled
down and clamped in the same motion. The face of
the clamp is made of three parts or “fingers”:

11040/41/42/43

e Two outer flexible fingers @; for pulling down
the component to the work table.

e One solid central finger @, to provide direct
clamping action.
Available in two styles — smooth and serrated face.
They can also cater for workpieces with an adverse
angle on the clamping face - for example flame cut @
steel blanks.

11070/71

LOW PROFILE SIDE CLAMPING

Options
ﬁ Actuation

Quick 1/4 turn eccentric clamping — on models Rear screw clamping — on models offering 6500,
~ offering 4000 and 12000 Newtons clamping force. 10000 and 22000 Newtons clamping force.
0 —— | Mounting
:jc T-Slotted tables Dedicated fixturing Modular fixturing
. pR Wixroyd 0333 207 4497 sales@wixroyd.com 29

AN ESSENTRA COMPANY



ONIdWV1I 3AIS 311408d MO

Taper Clamps

with downhold action

singhe Laper, intarchargiabie jaws - 12430 WOSD8 - WOB1S

Material

hole or T-slot.

Important Notes

Jaw Hardness-12430.W0008 to .W0116:

Body: tool steel, hardened, bright.
Clamping segments: tool steel, hardened,
ground and blackened.

Spring: steel, screw grade 12,9.

Technical Notes

Ideal for horizontal or vertical clamping of
multiple parts. Tighten the socket head cap
screw to move clamping segments
outwards to press the workpiece(s) against
a fixed stop. Can be mounted in a threaded

,f*is the float around the clamping screw
centre.

Tips

Double taper clamps provide higher
clamping force.

Taper clamps with interchangeable jaws
areideal where short runs of different
parts are required. Economies can be
achieved through changing only the jaw,
rather than the whole clamp.

48-52 HRC.

12430.W0608 and .W0616: X=30-34, Y=48-
52 HRC.

12430.W0508 to .W0516 and 12430.W808
to .W0816: 30-34 HRC.

Taper surfaces ground, for increased
precision.

Order No. Taper Jaw type I I I, d, hy hy hy w; w, w; w, f  Clamping force Torque to Weight
min. max. max. max. kN Nm g
max. max.
12430.W0008 Single Smooth 27 31 M8 15 25 29 21 1 20 44 55
12430.W0009 Single Serrated 27 31 M8 15 25 29 21 1 20 44 55
12430.W0011 Single Smooth 42 49 M12 22 40 41 30 2 30 85 180
12430.W0012 Single Serrated 42 49 M12 22 40 41 30 2 30 85 180
12430.W0015 Single Smooth 57 64 M1l6 29 50 56 42 3 50 210 465
12430.W0016 Single Serrated 57 65 M16 29 50 56 42 3 50 210 465
12430.W0111 Double Smooth 41 48 M12 30 36 50 41 30 2 50 85 275
12430.W0112 Double Serrated 42 49 M12 30 36 50 41 30 2 50 85 275
12430.W0115 Double Smooth 58 66 M16 42 50 50 56 52 3 80 210 730
12430.W0116 Double Serrated 58 66 M16 42 50 50 56 52 3 80 210 730
12430.W0508 Single Machinable 33 37 M8 15 25 29 21 1 20 44 70
12430.W0512 Single Machinable 52 59 M12 22 40 41 30 2 30 85 235
12430.W0516 Single Machinable 67 75 M16 29 50 56 42 3 60 210 550
12430.W0608 Single Self-Aligning 33 37 195 M8 15 25 29 21 215 1 20 44 64
12430.W0616 Single Self-Aligning 52 59 31,0 M12 22 40 41 30 345 2 30 85 212
12430.W0808 Single Interchange 33 37 75 M8 15 25 29 21 21 12 1 20 44 60
12430.w0812 Single Interchange 46 53 11 M12 22 40 41 30 28 18 2 30 85 200
12430.W0816 Single Interchange 61 69 145 M16 29 50 56 42 40 26 3 60 210 480

30 bﬂ Wixroyd

AN ESSENTRA COMPANY

wixroyd.com



Taper Clamps Low Profile Side
with downhold action Clamping

LOW PROFILE SIDE CLAMPING

M Wixroud 0333 207 4497 sales@wixroyd.com 31

AN ESSENTRA COMPANY



Single Taper Adapter Set

for 12430, 12440 and 12450

d; dj
- ] L -

- L= oY
=
| &
S
112432 O
=
(3]

Material can be adapted to act as a double taper Important Notes

Fixing plate and bush: tool steel, clamp, i.e. to pull down components as For use with ,single taper” clamps 12430,

hardened. well as clamp sideways. Simply invert your 12440 and 12450 only - not for use with

Technical Notes
With the adapter set a single taper clamp

existing single taper models, fit the
adapter set and clamp as normal.

~double taper” clamps.
Clamping screw not supplied.

Order No.
12432.W0008 Single
12432.W0012 Single

12432.W0016 Single

32

Wixroyd

AN ESSENTRA COMPANY

Description

Taper Adapter Set
Taper Adapter Set
Taper Adapter Set

wixroyd.com

To suit taper clamp of thread d,

M8
M12
M16




serrated jaw

lymax

lymin hy

=l

)

smooth jaw

12440

LOW PROFILE SIDE CLAMPING

Material

Body: tool steel, hardened, bright.
Clamping segments: tool steel, hardened
to 48-52 HRC, ground and blackened.
Spring: rubber o-ring (12440.W0005) or
steel (12440.W0008 and .W0009).

Technical Notes
Ideal for horizontal or vertical clamping of

multiple parts. Tighten the socket head cap
screw to move clamping segements
outwards to press the workpiece(s) against
a fixed stop. Can be mounted in a threaded
hole or T-slot.

Lf*"is the float around the clamping screw
centre. Only bottom of jaw is ground.

Tips

OK-VISE is a registered trademark of OK-
VISE 0.

For suitable T-nuts see no. 24000

Order No. Taper  Jaw type I
min.
12440.W0005 Single Smooth 20
12440.W0008 Single Serrated 28
12440.W0009 Single Smooth 28

bﬂ Wixroyd

AN ESSENTRA COMPANY

I d, hy h, Wy W, f Clamping force  Torque to ~ Weight
max. max. kN Nm g
max. max.
25 M 5 11 4.2 22 15 0.5 10 10 22
32 M8 15 4.0 29 21 1.0 {5 25 55
32 M8 15 3.5 29 21 1.0 15 25 55
0333 207 4497 sales@wixroyd.com 33



ONIdWV1I 3AIS 311408d MO

Stainless Taper Clamps

stainless steel

12450

(T T

smooth jaw

Material

Body: stainless steel.

Clamping segment and spring: stainless
steel.

Technical Notes
Ideal for wire EDM applications to clamp

multiple parts. Tighten the socket head cap
screw to move clamping segements
outwards to press the workpiece(s) against
a fixed stop. Can be mounted in a threaded
hole or T-slot.

Lf*"is the float around the clamping screw

centre. Only the bottom of jaw is ground.

Tips
OK-VISE is a registered trademark of OK-
VISE OY.

Order No. Taper  Jaw type I

min.
Smooth 27

12450.W0008 Single

34 bﬂ Wixroyd

AN ESSENTRA COMPANY

wixroyd.com

f Clamping force  Torque to  Weight
max. kN Nm g
max. max.
1.0 25 44 55




Single Taper Clamps

small but powerful

Our low-profile taper clamps can be used on stand alone machines just as successfully as on large,

flexible manufacturing systems. Working on the principle that, when tightened, they expand to
simultaneously pull down and clamp the workpiece against stops, preventing any movement or play,
they can produce clamping forces of up to 150 kN. With faces hardened to 48-52 HRC they are ideal for
a range of clamping applications.

Operating Principle

When tightening the clamping
screw, the clamp’s tapers expand
simultaneously, pushing components

LOW PROFILE SIDE CLAMPING

12430-12450 against the fixture stops as well as

exerting a pull-down force, pulling
workpiece workpiece components to the fixture base
o ‘T \ — r» - (d.ouble taper models' only).
v ‘ With excellent clamping forces of

up to 150 kN, these clamps generate
high enough forces for workpieces to
be safely clamped.

Models Available

Single Taper Adapter Set

Single taper clamps can be adapted
to perform as a double taper model.
Simply invert your existing single
taper models, fit our adapter set and
clamp as normal.

Single Taper

Providing horizontal clamping forces,
holding workpieces solidly in place.

Economy Model Stainless Steel Double Taper

When ultra precision and the Designed with the demands of wire Horizontal clamping and pull-down
highest clamping forces are not EDM clamping applications in mind. action, ensuring full contact of
necessary, our economy models workpiece with fixture base.

offer a cost-effective choice. Ground
only on the bottom jaw of the
clamp for a cost saving.

WB Wixroyd 0333 207 4497 sales@wixroyd.com 35

AN ESSENTRA COMPANY



Clamping'& Single Taper Clamps

Height Setting

small in size, yet big in clamping

Features e Compact with small clamping footprint for multi-component clamping.
e Powerful clamping, up to 150 kN.
e Low profile with no obstruction of tooling path.
e Maximum clamping stability.
e Pulls down and clamps.

Benefits e Quick set-up and clamping.
e Maximise workpieces per fixture.

e Enables three-dimensional machining of components in a single operation, improving accuracy
and quality.

ONIdWYTI 3AIS 311404d MO

Horizontal Forces of Clamping Force (kN)
Wixroyd Low Profile 160
Clamps 12430 to 12450
140 o)
Product Force IE
no./graph key up to (kN) 120 N
[ 12440W0005 = 10 | =
| 12430W0009 =~ 25 >
~ 12430W0508 20 100 T
| 12430W0608 25 g
© 12440W0008 25 o0 s
| 12440W0009 25 °
| 12450W0008 25 £
| 12430W0808 @ 25 60 5
12430W0512 55 0 &
| 12430W0011 65 el
—_—_ 20 4
12430.W0016 110 o <
12430.W0516 105 EX
12430.W0015 110 s
12430.W0816 110 20 H
== 10 30 50 70 90 110 130 150 170 190 210 230 250 270 290 310 330 350 370 390 g
Tightening Torque (Nm) IE
S
D H ° . 2
36 h‘i Wixroyd wixroyd.com S
AN ESSENTRA COMPANY



e b
Low Profile Side
Clampmg

T-Slot Finger Clamp Set

low profile

LOW PROFILE SIDE CLAMPING

- E@©® (v~ 10960
Y
| = Y
le - -Fs;-q
h - -
Iy
stop clamp

the workpiece down before clamping. The
small height of the clamps eliminate any
risk of collision between clamp and
tooling- ideal for machining small and low
profile components.

for through machining and drilling.
Supplied as a set: one-piece clamp, one-
piece stop.

Material

Clamp: spring steel.
Block: steel.

Tips

These low-profile clamps and stops have a
holding force of 4000 N. The fingers push

Technical Notes
The clamping pointis 5mm above the
machine table. Risers can be used to allow

Order No. Type Clamping For T- Clamping |, Iy h, h, hy w; w, Torqueto A/F Clamping Weight
stroke s;  slot height Nm force g
min. max. kN
max.
10960.W0260 Clamp + Stop 1,2 10 5 46 15 105 75 5 18 20 9 4 4 140
10960.W0262 Clamp + Stop 1,2 12 5 48 15 105 75 5 18 20 9 4 4 150
10960.W0264 Clamp + Stop 1,2 14 5 52 15 105 75 5 22 20 9 4 4 162
10960.W0266 Clamp + Stop 1,2 16 5 48 15 105 75 5 25 20 ) 4 4 178
10960.W0268 Clamp + Stop 1,2 18 5 48 15 105 75 5 25 20 9 4 4 190

clamping element

stop element

eccentric

@)oo

1

workplece supported on the table or raised with a wedge.
(for through-hole machining)

37

0333 207 4497 sales@wixroyd.com

bﬂ Wixroyd

AN ESSENTRA COMPANY



ONIdWV1I 3AIS 311408d MO

Low Profile Cam Edge Clamps

hex drive

10980.1

Material

Body: steel (C45), black oxide finish.
Jaw/cam: steel (42CrMo), tempered, black
oxide finish.

Technical Notes
Designed to prevent part lift.

Turning the wrench allows the cam to move
the jaw forward for clamping. When the
wrench is turned back for unclamping, the
loaded spring allows the jaw to return to
the original position.

Tips

Ensure that mounting surfaces are finished
to 6.3a or better, without any scratches or
dents.

Order No. Clamping stroke d, I
S
10980.W0038 1
10980.W0060 2

52 335 305 15 10 6
82 500 460 22 15 9

3 5 45 38
5 7 70 60

sockal head cap screw
with hex drive

turning the wrench allows the cam to project the jaw for clamping
whan tne wrench is tumed back for unclamping, the loaded spring lets
the jaw return ta the original position

38 bﬂ Wixroyd

AN ESSENTRA COMPANY

wixroyd.com

W3 w, Torque A/F  Clamping Weig
to force ht
Nm kN g
max. max.
8 36 10 6 4 85
12 55 27 10 6 290




Low Profile Cam Edge Clamps

lever actuation

unclamped

dy e

recommanded
clamping position

10980.2

d

- 3 -
* - -y 1
| C::_) n, A
h" e Y hg

"h,h!! A}

3 Y
[N [}
hy hs

LOW PROFILE SIDE CLAMPING

Material Turning the wrench allows the cam to move  dents.
Body: steel (C45), black oxide finish. the jaw forward for clamping. When the
Jaw/cam: steel (42CrMo), tempered, black wrench is turned back for unclamping, the
oxide finish. loaded spring allows the jaw to return to
Handle: steel (C45), tempered, black oxide  the original position.
finish. .
Tips
Technical Notes Ensure that mounting surfaces are finished
Designed to prevent part lift. to 6.3a or better, without any scratches or
Order No. Clamping stroke s, d, d, d, d, I I, I3 Weight
g
10980.W0138 1 5.2 13 63 M 4x0,7-4L 335 30.5 15 130
10980.W0160 2 8.2 19 100 M 5x0,8-5L 50.0 46.0 22 440
Torque to  Clamping force
Order No. h, h, hy hs he h, W, w, Wy W, We Nm kN
max. max.
10980.w0138 20 10 6 5 30 12 45 38 8 36 8 17 4
10980.wW0160 30 15 S 7 46 18 70 60 12 55 12 28 6
hex-socket head cap screw -
& _.-*:‘ - ]
\\//
turning the handle allows the cam to project the jaw for clamping
e e ew rabm st gl gosibon
o . . )
FB M 0333 207 4497 sales@wixroyd.com 39
AN ESSENTRA COMPANY



Side Clamps

10982.1

ONIdWV1I 3AIS 311408d MO

Sy
d?
- - - —
I‘
W
- -
fpmm—e——m i 5
[l Tel vy
[3 [
i
L |

AJF.
= e

- - ASF,

@ﬁgﬁ@

Material

Body: steel (C45), black oxide finish.
Jaw: steel (42CrMo), tempered. Black
oxide finish. Precision ground.

Shaft: steel (42CrMo), black oxide finish.

Technical Notes
A screw type clamping mechanism allows a

long clamping stroke and firm clamping.
The precision-ground jaw is perfect for
clamping the workpiece on its finished
surface.

The jaw provides downward force to
prevent part lift.

Tips
Can be clamped with both hex wrench and
spanner.

Order No. Clamping stroke s,  d,; d, dy I [ I3
10982.wW0045 3 6.6 M 4x0,7 Depth 6 M 4x0,7-6L 52 48 20
10982.W0060 4 8.6 M 5x0,8 Depth 8 M 5x0,8-8L 69 63 26

Order No. h, hs he w, W, Ws W, Wg s,
10982.wW0045 18 18 8 75 45 15 60 30 3
10982.W0060 22 22 10 100 60 20 80 40 4

hex wrench open-end wrench
can be clamped with both of hex wrench and open-end wrench
o] o ® X
40 h‘? Wixroyd wixroyd.com

AN ESSENTRA COMPANY

Iy Is le hy h, h;  Weight
g
14 3 10 32 27 18 560
19 4 13 40 33 22 1240
Torque to Clamping force
Nm A/F, A/F, kN
max. max.
25 8 19 9
50 10 24 14




file Side
\_—\Clamping

Cam Edge Clamps

E:

O

unclamped Iy
. position 1 ot |a clamping position
Iy 10° :: L=
=™ ™ 80" Lnclamped ]
= 3 position 2 5 recommended
= B i I d E.; 0 clarnplng position
} =)
W1 Wi Wz W3 2
L i 180° %
.
&f clamp o  § I=Y§ . =
starting It clamping throw 2
Sz - posilion By — it @ g
L | . I " . d =
5° clamping Iy 3 clamping en %
handle pasition ds hex socket set screw (sharp pointed) E
1o
light duty standard [ ] o
=
o
3
W5 dy cam handle
O T T ‘ i
Y

Material

Body: steel (C45), black oxide finish.
Jaw/handle shaft: steel (C45), tempered.
Black oxide finish, precision-ground.
Handle: steel (42CrMo), tempered. Electro-
less nickel plated (light-duty type), black

oxide finish (standard type). force. Standard version allows the adjust-
ment of clamping force depending on
operating loads. Precision-ground jaw is
perfect for clamping the workpiece on its
finished surface. The jaw provides down-

ward force to prevent part lift.

Technical Notes

The cam handle allows fast clampingin a
single operation. Spring-loaded light duty
version distributes constant clamping

Order No. Type Clamping stroke s;  d; d, d, I I, I3 Iy Ig lg hy h, Weight
g
10982.w0145  -ight 03 ; ; ) L. 600
Duty
10982.wo160  -i8ht 04 ; - ; .. ... ... 132
Duty
10982.W0245  Standard 16 66 M 4’(0'2 Depth M 45XL°'7' 51 48 20 13 3 515 32 27 620
10982.W0260 Standard 2.2 ap 4"0'; Dejiln 55‘8'8' 67 63 25 17 4 670 40 33 1360
Clamping force Operating load
Order No. hy h, hg Ne h, w, W, Wy W, Wg r,  Advance stroke s, kN N
max. max.
10982.W0145 - - - - 14 - - - o . 08 06 40
10982.W0160 - - - - 18 - - - o o . 08 1.2 50
10982.W0245 18 18 18 8 19 75 45 15 60 30 63 - 20 150
10982.W0260 22 22 22 10 24 100 60 20 80 40 80 ; 30 200
. ) . .
FB M 0333 207 4497 sales@wixroyd.com 41
AN ESSENTRA COMPANY



ONIdWV1I 3AIS 311408d MO

Cam Edge Clamps

O
{

a7

handle

standard

turning the cam handle allows the jaw to
advance 1o the workpiece for clamping

light duty

turning the handle to the clamping
position clamps the workpiece with
constant clamping force

42

bﬂ Wixroyd

AN ESSENTRA COMPANY

wixroyd.com



file Side
\_—\Clamping

Low Profile Toe Clamps

E:

O

10988

LOW PROFILE SIDE CLAMPING

smoath jaw

Material Jaw: steel (42CrMo), induction hardened
Body: steel (42CrMo), tempered. Black (clamping face). Black oxide finish. Preci-
oxide finish. sion ground (smooth jaw).

Order No. Type d, h I hy h, hy h, Wy w, w; Torque to Strokes; A/F Clamping force Weight
Nm kN g
max. max.

10988.W0025 Serrated M8 395 25 16 75 15 7 65 45 25 8 7 4 4 160
10988.W0035 Serrated M12 60.0 40 22 100 20 9 8 60 35 26 12 6 9 450
10988.W0040 Serrated M16 770 50 30 140 20 13 100 70 40 60 14 8 17 900
10988.W0125 Smooth M8 395 25 16 75 1.5 7 65 45 25 8 7 4 4 160
10988.W0135 Smooth M12 60.0 40 22 100 20 9 8 60 35 26 12 6 9 450
10988.W0140 Smooth M16 770 50 30 140 20 13 100 70 40 60 14 8 17 900

M Wixroud 0333 207 4497 sales@wixroyd.com 43

AN ESSENTRA COMPANY



Compact Side Clamps

10990

ONIdWV1I 3AIS 311408d MO

Material Jaw: steel (42CrMo), tempered, black oxide
Body: steel (42CrMo), tempered. Black finish. Precision ground (smooth jaw).
oxide finish.

Order No. Type d; I I, hy h, hg h, W, W, Wy s, Torqueto A/F Clamping force Weight
Nm kN g
max. max.

10990.W0025 Serrated M8 395 25 16 195 15 7 65 25 45 7 8 4 4 180
10990.W0035 Serrated M12 60.0 40 22 290 20 9 8 35 60 12 26 6 9 500
10990.W0040 Serrated M16 770 50 30 380 20 13 100 40 70 14 60 8 17 1010
10990.W0125 Smooth M8 395 25 16 195 15 7 65 25 45 7 8 4 4 180
10990.W0135 Smooth M12 60.0 40 22 290 20 9 8 35 60 12 26 6 9 510
10990.W0140 Smooth M16 770 50 30 380 20 13 100 40 70 14 60 8 17 1020

44 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



file Side
\_—\Clamping

Slot Stops

E:

O

LOW PROFILE SIDE CLAMPING

12000
- —— -
l2 I3
— -
I
Material transverse direction. Their low overall
Tempered steel, burnished. height allows use in applications with flat
Technical Notes workpieces.
The stops can be used in a longitudinal or
Order No. Slot size Iy I I3 h, h, w, W, Wy Weight
g
12000.wW0012 12 36 9.0 18 12 7 11.7 18 M 8 100
12000.wW0014 14 44 11.0 22 12 8 13.7 22 M8 140
12000.W0016 16 50 125 25 15 9 15.7 25 M12 240
12000.wW0018 18 56 14.0 28 16 10 17.7 28 M12 340
12000.wW0020 20 64 16.0 32 19 12 19.7 32 M1l6 520
12000.wW0022 22 70 17.5 35 21 14 21.7 35 M16 720
12000.wW0024 24 80 20.0 40 23 16 23.7 40 M20 880
12000.wW0028 28 88 22.0 44 24 18 27.7 44 M20 1460

M Wixroud 0333 207 4497 sales@wixroyd.com 45

AN ESSENTRA COMPANY



T-Slot Clamps

hy max. —m-

12100

ONIdWV1I 3AIS 311408d MO

-
slot
Material The clamps produce a downwards and up to dimension ,w,", via grinding.
Steel, heat-treated, blackened. forwards clamping force. Sold in pairs.
Technical Notes Tips
Ideal for clamping low profile plates. The clamp height can be further reduced by
Order No. Slot size Fl F, I hy h, h, W, W, Stroke s, Weight
kN kN max. min. max. g
12100.W0012 12 5.0 0.6 52 11 2.5 13.5 18 5 1.8 300
12100.wW0014 14 5.5 0.7 55 11 1.5 139 22 5 1.8 380
12100.W0016 16 8.0 0.9 68 15 2.5 17.0 25 6 25 700
12100.w0018 18 9.0 1.0 71 15 1.5 16.0 28 6 25 830
12100.w0022 22 16.0 1.9 89 20 4.5 215 35 9 3.0 1740
Fy =
A\l
Fz
- —
-
o . . )
46 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



T-Slot Clamp

with mounting

LOW PROFILE SIDE CLAMPING

-_wz -
A A Fia hs
h
h1 2‘ Fz‘ 1 ‘
Y AJF
A
.‘d1“‘1 ‘-w -
- - 1
dy
Material during clamping, select our clamping plate using clamping plates.

Clamp: steel (AISI 4140), HRc 33-39,
blackened.
Plate: stainless steel (AISI 304, 1.4301).

Technical Notes

Extremely small and low height cam clamp
offering up to 14 kN. clamping force. Ideal
for multi-component fixtures.

Clamp is acutated with use of a hexagon
key.

To avoid any deformation to workpiece

type.
Also available with an easy to actuate

clamping handle model - see parts 12108.
W2012 through .W2116.

Spare clamping plates can be ordered
separately, see part no. 12108.W5010
through .W5016.

Dimension w, is the recommended distance
between mounting hole and workpiece.
Note: w, + 11is required distance when

Tips

Toinstall, drill and tap required hole to
dimensions d, and space hole to dimension
w, away from workpiece surface (or w, +1
if using clamping plate).

Fully tighten spiral clamp, then slacken off
by one turn. Mount workpiece and then re-
tighten clockwise to clamp workpiece.
Place a stop to the right of the workpiece
to prevent movement.

Order No. Slot size d,
12105.wW0012 12 M10
12105.W0016 16 M12
12105.wW0020 18 M16

Wixroyd

AN ESSENTRA COMPANY

kN

10
16

Fy Iy hy h, hs Wy w, A/F Weight

kN g

3.5 40 31 24 10 22 13.6 5 91

5.0 49 39 30 12 28 174 6 188

8.0 63 50 37 15 35 215 8 363
0333 207 4497 sales@wixroyd.com 47



12150

ONIdWV1I 3AIS 311408d MO

A
b, A,
Y
v
Tips
Clamp: brass. For replacement clamping screws see
Body: steel heat treated. 12112.
Hex. key not included.
Technical Notes Sold in packs of 2.
For use in T-slots of machine tables.
I h, h, hg W, w,  Torqueto Strokes,; A/F,  Holding force
Nm kN
max.
12150.W0008 232 95 4.8 46 127 8 8.5 1.01 5 15.9 3.5
12150.W0010 232 142 48 43 142 10 85 1.01 5 15.9 3.5
12150.W0012 279 159 48 64 159 12 11.3 1.01 5 20.6 3.3
12150.w0014 305 222 64 85 224 14 28.0 1.52 7 20.6 8.9
12150.W0016 309 222 95 9.2 254 16 61.0 2.03 8 254 133
12150.wW0018 347 286 95 105 286 18 61.0 2.03 8 25.4 133
12150.W0020 392 318 127 126 318 20 135.0 2.54 12 30.2 26.7
12150.W0022 443 413 127 125 349 22 135.0 2.54 12 302 26.7

Wixroyd

AN ESSENTRA COMPANY

wixroyd.com




Multi-Fixture Clamps and Stops

/.,@? ile Side

with locating step C[amp]ng

O

N B < A | B |

l--v-.-l, ‘-un--‘-i;

I
h

T — I x—)
4, @ L — —
- = - T T
LI 3
clamp with step, closed slop with siep, closed
12180, W0011 and 12180 WO012 12180.W0111 and 12180 WO112

S i e — 12180.1

i.q-_-- l..,.-—-qll
Wy

@;E

LOW PROFILE SIDE CLAMPING

““"1“5‘""53'.&?.’35?’" 5'°‘3$I$.‘\.‘fn";§’§”"
Material threaded holes and in T-slots. Can be
Body: steel, hardened. mounted vertically or horizontally.
Clamp: brass. Typically used as a clamp and stop pair -

Technical Notes please order separately.

Enables flexible setups. For use in both

Order No. Type Slot  Mountingd; cam I, P O h, w, Torque Stroke For use with Holding
type screw  screw +0.0]- to force
0.013 Nm kN
max.

12180.W0011 Clamp - With Step Closed M8 M8 635 21,1 80 135158 11,68 191 28 1,6 12180.wW0111 89
12180.W0012 Clamp - With Step Closed M12 M12 953 42,7 94 12,7 158 12,19 285 88 2,0 12180.w0112 17,8

12180.W0035 Clamp - With Step Open M16 M16 107,046,2 94 41,2 350 381 135 25 12180.W0135 26,7
12180.W0111 Stop - With Step Closed M 8 63,5 282 80 13,5191 1168 191 12180.W0011
12180.W0112 Stop - With Step Closed M12 953 42,7 94 12,7 22,1 12,19 285 12180.W0012
12180.W0135 Stop - With Step Open  M16 107,046,2 9,4 50,8 350 381 12180.W0035

M Wixroud 0333 207 4497 sales@wixroyd.com 49

AN ESSENTRA COMPANY



ONIdWV1I 3AIS 311408d MO

Multi-Fixture Clamps and Stops

without locating step

clamg without step, closed stop without step, closed

12180.W2111 and 12180.W2112

12180.W2011 and 12180.W2012

i i
12180.2 S —
[ =%
| ¥ N
clamp without slep, open stop without step, open
12180.W2035 12180 W2135

Material threaded holes and in T-slots. Can be

Body: steel, hardened. mounted vertically or horizontally.

Clamp: brass. Typically used as a clamp and stop pair -
Technical Notes please order separately.

Enables flexible setups. For use in both

Order No. Type Slot type Mounting Cam I I, I3 hy w,; Torque to Stroke For use with  Holding
screw  screw d, Nm force
max. kN
12180.W2011 Clamp - w/o Step Closed M 8 M8 549 21,1 13,5 158 19,1 28 16 12180.W2111 8,9
12180.W2012 Clamp - w/o Step Closed M12 M12 586 42,7 12,7 158 285 88 2,0 12180.w2112 17,8
12180.W2035 Clamp - w/o Step Open M16 M16 96,5 46,2 41,2 38,1 135 2,5 12180.W2135 26,7
12180.w2111 Stop - w/o Step  Closed M8 55,9 282 13,5 19,1 19,1 12180.W2011
12180.w2112 Stop - w/o Step  Closed M12 83,5 42,7 12,7 22,1 285 12180.W2012
12180.W2135 Stop - w/o Step  Open M16 83,8 46,2 50,8 38,1 12180.W2035
o . . )
50 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY




Eccentric - Slot Toe Clamps

Low Profile Side
Clamping

12191

LOW PROFILE SIDE CLAMPING

Y
Material The clamp has both a smooth face (for Tips
Steel hardened face. machined workpieces) and a serrated face Torque screw for T-slot nut to 150 Nm.
Technical Notes (for rougher work). *Not supplied with T-nut or mounting
Desianed to be used in the T-slots of Provides a positive downhold action whilst screw.
macﬁine tables maintaining a low profile.
Order No. T-slot size I hy h, hs h, Wy W, Torque to Stroke s; Holding force
Nm kN
max.
12191.W0000 * 50 254 222 15.7 9.6 28.5 254 88 1.6 17.8
12191.W0014 14 50 254 222 15.7 9.6 28.5 254 88 1.6 17.8
12191.W0016 16 50 25.4 22.2 15.7 9.6 28.5 25.4 88 1.6 17.8
12191.W0018 18 50 254 22.2 15.7 9.6 28.5 254 88 1.6 17.8
o . s )
R Wixroyd 0333 207 4497 sales@wixroyd.com 51

AN ESSENTRA COMPANY



Eccentric Compact Toe Clamps

12193 e

ONIdWV1I 3AIS 311408d MO

-
Wy
Material Provides a positive downhold action whilst Important Notes
Clamping face: steel, hardened. maintaining a low profile. w, - the distance between the front of the
Body: mild steel, blackened. Tips clamp base and the workpiece. Drill and
Technical Notes The height of the clamp can be varied by Eﬁ:e centreline of ,w," for mounting
The clamp has both a smooth face (for milling the slot deeper into the fixture. ’
- . For replacement cam screws see part
machined workpieces) and a serrated face
12112.

(for rougher work).

Order No. Clamp screw Mounting screw |, hy h, hs h, Wy Wy Wy w, Torque to Stroke Holding force
Nm kN
max.

12193.w0110 M8 M8 432 127 215 64 1575 254 190 190 23 28 1.6 8.9
12193.w0112 M10 M10 540 114 244 9.7 1575 335 254 254 28 88 2.0 17.8
12193.wW0116 M12 M12 75.0 252 432 12.7 31.75 50.8 381 381 33 135 2.5 26.7

52 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Spiral Cam Clamps

file Side
\_—\Clamping

E:

O

with clamping plate

mounting hole dimension

withoul clamping plae

L

tng hole dmensicn
without clamping plate

nicta: dimension wj i the recommiended distance batween
e mounting Frobe and the end of the workpsce
dimansion wy + 1 is he reguined distance whan using clamping plstes

12108.1

LOW PROFILE SIDE CLAMPING

Material

Clamp: steel AISI 4140, HRc 33-39,
blackened.

Plate: stainless steel (AISI 304, 1.4301).

Technical Notes

Extremely small and low height cam clamp
offering upto 14 kN. clamping force. Ideal
for multi-component fixtures.

Clamp is acutated with use of a hexagon
key.

To avoid any deformation to work piece
during clamping, select our clamping plate
type.

Also available with an easy to actuate
clamping handle model - see parts 12108.
W2012 through .W2116.

Spare clamping plates can be ordered
separately, see part no. 12108.W5010
through .W5016.

Tips

Toinstall, drill and tap required hole to
dimension d, and space hole to dimension
w, away from workpiece surface (or w, +1
if using clamping plate).

Fully tighten spiral clamp, then slacken off
by one turn. Mount workpiece and then re-
tighten clockwise to clamp workpiece.
Place a stop to the right of the workpiece
to prevent movement.

Order No. Type
12108.wW0010 W/o Clamping Plate
12108.wW0012 W/o Clamping Plate
12108.W0014 W/o Clamping Plate
12108.W0016 W/o Clamping Plate
12108.W0110 With Clamping Plate
12108.W0112 With Clamping Plate
12108.wW0114 With Clamping Plate
12108.W0116 With Clamping Plate

Order No. Wy W, We
12108.wW0010 6.8 5 59
12108.W0012 8.2 6 7.1
12108.w0014 9.5 7 83
12108.W0016 10.9 8 €5
12108.W0110 6.8 5 5.9
12108.W0112 8.2 6 7.1
12108.wW0114 9.5 7 8.3
12108.W0116 10.9 8 .5
bﬂ Wixroyd

AN ESSENTRA COMPANY

d; d, h, h, I Wy W, Weight
g
10 M 6x1,00 5 9 - - 6
12 M 8x1,25 6 12 - - 11
14 M10x1,50 7 - 15 - - 19
16 M12x1,75 8 - 18 - - 30
10 M 6x1,00 5 6 9 10 13.0 7
12 M 8x1,25 6 7 12 12 155 13
14 M10x1,50 7 8 15 14 18.0 21
16 M12x1,75 8 9 18 16 20.0 33
Torque to Clamping force
Stroke s; Stroke s, Stroke s, t A/F Nm kN
max. max.
1.8 0.9 0.9 - 4 7.4 2.2
2.2 1.1 1.1 - 5 18.0 4.7
2.5 1.3 1.2 - 6 35.0 7.9
29 1.5 14 - 8 60.0 14.0
1.8 0.9 0.9 1 4 7.4 2.2
2.2 1.1 1.1 1 ) 18.0 4.7
2.5 1.3 1.2 1 6 35.0 7.9
29 1.5 1.4 1 8 60.0 14.0
0333 207 4497 sales@wixroyd.com 53



ONIdWV1I 3AIS 311408d MO

Spiral Cam Clamps

L. CF
-

=

7

tighten sprial cam clamp fully and loosen it about one umn

then mount to workpiece

54

bﬂ Wixroyd

AN ESSENTRA COMPANY

wixroyd.com



Spiral Cam Clamps

actuating handle

E:

O

file Side
\_—\Clamping

munting holg dimensgion
with clamping plate

meusiting hole dimension
withaul clamping plate.

note: dimension wy is the recommended distance betwesn
the mounting hole and the end af the workpiece

s+ 1l

distance wh 9

12108.2

LOW PROFILE SIDE CLAMPING

Material

Clamp: steel (AISI 4140), HRc 33-39,
blackened.

Plate: stainless steel (AISI 304, 1.4301).

Technical Notes

Extremely small and low height cam clamp
offering upto 14 kN. clamping force. Ideal
for multi-component fixtures.

Clamp is acutated via small handle/lever.
To avoid any deformation to workpiece

during clamping, select our with clamping
plate type.

Also available in model actuated with use
of hexagon key - see parts 12108.W0010
through .W0116.

Spare clamping plates can be ordered
separately, see part no. 12108.W5010
through .W5016.

Tips
To install, drill and tap required hole to

dimension d, and space hole to dimension
w, away from workpiece surface (orw, + 1

if using clamping plate).

Fully tighten spiral clamp, then slacken off
by one turn. Mount workpiece and then re-
tighten clockwise to clamp workpiece.
Place a stop to the right of the workpiece
to prevent movement.

Order No. Type
12108.wW2012 W/o Clamping Plate
12108.W2014 W/o Clamping Plate
12108.W2016 W/o Clamping Plate
12108.W2112 With Clamping Plate
12108.W2114  With Clamping Plate
12108.W2116  With Clamping Plate

Order No. Iy w, W,
12108.wW2012 25 - -
12108.wW2014 30 - -
12108.W2016 40 - -
12108.W2112 25 12 15,5
12108.w2114 30 14 18.0
12108.wW2116 40 16 20.0
i'i Wixroyd

AN ESSENTRA COMPANY

d, d, d, h, h, hs h, hg
12 M 8x1,25 10 6 - 9 15 85
14 M10x1,50 12 7 - 11 1.8 10.0
16 M12x1,75 14 8 - 13 2.2 12.0
12 M 8x1,25 10 6 7 9 1.5 8.5
14 M10x1,50 12 7 8 11 1.8 10.0
16 M12x1,75 14 8 9 13 2.2 12.0
Torque to
W3 W, W5 Stroke s, Stroke s, Stroke s, t Nm
max.
8.2 6 7.1 2.2 1.1 1.1 - 18
©.5 7 8.3 2.5 1.3 1.2 - 35
10.9 8 9.5 29 1.5 1.4 - 60
8.2 6 7.1 2.2 1.1 1.1 1 18
9.5 7 8.3 2.5 1.3 1.2 1 35
10.9 8 9.5 29 1.5 14 1 60
0333 207 4497 sales@wixroyd.com

12
15
18
12
15
18

Clamping force

kN
max.

4.7
79
14.0
4.7
7.9
14.0

55



Spiral Cam Clamps

actuating handle

gap of one turn gap of ene turn

L. CF
7 v

i ==

ONIdWV1I 3AIS 311408d MO

tighten sprial cam clamp fully and loosen it about one umn
then mount to workpiece

56 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Clamping Plate
for spiral cam clamps 12108

E 12108.3

LOW PROFILE SIDE CLAMPING

Material no. 12108. Use plates to avoid any defor-
Stainless steel (AISI 304, 1.4301). mation to workpiece during clamping.

Technical Notes
Clamping plates for spiral cam clamp, part

Order No. d, For spiral clamp size d, hy I Wy Wy t Weight
g
12108.W5010 6.2 10 6 1.8 10 13.0 1 17
12108.W5012 8.2 12 7 2.2 12 1155 1 17
12108.W5014 10.2 14 8 2.6 14 18.0 1 30
12108.W5016 12.2 16 9 2.9 16 20.0 1 51

M Wixroud 0333 207 4497 sales@wixroyd.com 57

AN ESSENTRA COMPANY



ONIdWV1I 3AIS 311408d MO

Cam Clamps

12109

i
h
1 ' hz l
A
I
A
- -
dz

Material

Steel (AISI 4140), HRc 33-39, blackened.

Technical Notes
Simple and robust cam clamp. Easy to

install. Actuated with spanner.

Tips
To install: insert flanged collar and locking
screw into cam body. Tighten locking screw

to fix cam in position. Load component,
then use spanner to turn and actuate cam
to clamp up to workpiece surface.

Order No. d, d, h, h, I w, w,  Strokes, A/F,
12109.wW0024 24 M8x1,25 16 8 12 12 164 4.4 6
12109.W0030 30 M10x1,50 20 10 15 15 205 5.5 8
12109.W0034 34 M12x1,75 24 12 18 17 232 6.2 10

_7 ;' locking screw /__,c"/\/\)
flanged collar fi:\‘///;@/
~ L= k /;/
parts breakdown provides positive clamping
installation instructions
to install, lock the flanged collar into the cam using the locking
screw and then tighten up the cam with the wrench
o] o ® X
58 h‘? Wixroyd wixroyd.com

AN ESSENTRA COMPANY

A/F,  Torque to Clamping force ~ Weight
Nm kN g
max. max.

19 50 5.2 55
24 75 8.0 110
27 90 9.3 185




Downhold Clamps

with cranked clamping lever

O

E:

file Side
\_—\Clamping

-

straight
clamping jaw - Iy

v clamping jaw

min 4 left

I3 5, (clamping stroke)

size 12 x M12
(large version)
all sizes
except 12 x M12

hy
M12 size

no.24000 "% %
M 8x10
M 12x14

12400

Material
Steel, case-hardened, blackened.

Technical Notes

For quick clamping from the side. The
clamps give forwards and downwards clam-
ping forces.

Tips

Can bridge T-slots when used with holding
plate no. 12410. The clamps low profile
enables full-face machining. Often used in
conjunction with cylindrical stops and
bedding supports.

Supplied with standard T-nut. Clamps
can be used in other T-slot sizes by selec-
ting T-nuts no. 24000 as required, e.g. M
8x12, M 8x14, M12x16, M12x18.

LOW PROFILE SIDE CLAMPING

Order No. For T-slot Type hy h, hy h, Iy I, I3 d; d, Stroke w; Clampingforce Weight
$) horizontal g

kN

max.
12400.wW0101 10  Straight Jaw, Clamps Right 20 30 8 40 132 50 32 M8 84 3 32 3,5 262
12400.wW0321 12 Straight Jaw, Clamps Right 38 60 16 62 190 72 40 M12 125 4 48 7,0 870
12400.W0341 14 Straight Jaw, Clamps Right 38 40 16 62 190 72 40 M12125 4 48 7,0 845
12400.W0105 10 Straight Jaw, Clamps Left 20 30 8 40 132 50 32 M8 84 3 32 Si5 262
12400.W0325 12 Straight Jaw, Clamps Left 38 60 16 62 190 72 40 M12125 4 48 7,0 868
12400.W0345 14 Straight Jaw, Clamps Left 38 40 16 62 190 72 40 M12125 4 48 7,0 847
12400.wW0102 10 V-Jaw, Clamps Right 20 30 8 40 132 50 32 M8 84 3 32 3,5 263
12400.W0322 12 V-Jaw, Clamps Right 38 60 16 62 190 72 40 M12125 4 48 7,0 893
12400.W0342 14 V-Jaw, Clamps Right 38 40 16 62 190 72 40 M12125 4 48 7,0 838
12400.W0106 10 V-Jaw, Clamps Left 20 30 8 40 132 50 32 M8 84 3 32 815 264
12400.W0326 12 V-Jaw, Clamps Left 38 60 16 62 190 72 40 M12125 4 48 7,0 900
12400.W0346 14 V-Jaw, Clamps Left 38 40 16 62 190 72 40 M12125 4 48 7,0 841
3 .
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 59

AN ESSENTRA COMPANY



Downhold Clamps

with cranked clamping lever

ONIdWV1I 3AIS 311408d MO

60 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Holding Plates

for downhold clamps nos. 12400 & 12420

AV |
hy
A | ke ¥
- T, - %
E
| ¥
Y =
O(C w v 12410 :
| i Y %
| \ S
e - -
I Iy
- -
I
Material Tips
Steel, heat treated, blackened. Allows downhold clamps to be placed in

Technical Notes any desired position, across T-slots etc.

For use with clamps nos. 12400 and 12420.

Order No. hy h, I Iy I3 d, W, w, W, Weight
-0.4 g
12410.W0730 15 6.5 100 63 20 M8 30 15 9 246
12410.W0740 20 VS 120 72 25 M12 40 20 13 55
12410.W0760 30 13.0 140 80 30 M16 60 26 17 1456
12410.W0770 40 18.0 200 110 50 M20 80 32 21 3900
12410.W0780 50 24.0 220 130 55 M24 90 38 25 5850

M Wixroud 0333 207 4497 sales@wixroyd.com 61

AN ESSENTRA COMPANY



ONIdWV1I 3AIS 311408d MO

Downhold Clamps

small footprint

12420

max. tightening torques

3 Nm

M12: 8 Nm
5, stroke - - M16: 20 Nm
i lﬁgsl :
v OO wa
dy A hy
no.24000 Y
M8 x 10 ;
M12x 14 2 Pl
M16 x 18
i L
Wy ®) 120° ," '@ ®
v\ a
lI

straight jaw

wejaw

Material
Steel, ground, case-hardened and
blackened.

Technical Notes
Actuate by self-aligning screw on top, rear
of the clamp. Extremely high clamping

forces, as the clamp pivots forwards and
downwards to securely hold the workpiece.
T-nuts no. 24000 allow the clamps to be
used in a variety of T slot sizes.

Tips
Do not over torque clamping screw as

this can result in the stripping of the
thread. For recommended torques -
please see table.

May be used with holding plate no. 12410.

Order No. For T-slot Type hy h, hs I I, d, d, Strokes; w; Clamping force Torque to Weight
horizontal Nm g
kN max.
max.
12420.W0501 10 StraightJaw 24 20 8 52 280 M8 84 3 32 7,0 3 276
12420.W0521 14 Straight Jaw 37 30 11 72 40,0 M12 125 4 48 15,0 9 831
12420.W0541 18 Straight Jaw 47 35 13 86 410 Ml6 16,5 7 68 21,5 20 1749
12420.W0502 10 V-Jaw 24 20 8 52 280 M8 84 8 32 7,0 3 266
12420.W0522 14 V-Jaw 37 30 11 72 40,0 M12 125 4 48 15,0 9 833
12420.W0542 18 V-Jaw 47 35 13 86 41,0 M16 165 7 68 21,5 20 1730
o) .
62 75 Wixroyd wixroyd.com

AN ESSENTRA COMPANY




file Side
\_—\Clamping

Downhold Clamps

E:

with support ledge
O

max. tightening torques

12422

LOW PROFILE SIDE CLAMPING

8 -
- »
Material pivoting action enables high horizontal thread. For recommended torques -
Steel, case-hardened, blackened, ground. clamping forces. The integrated support please see table.
has a thread suitable for rest buttons. May be used with holding plate no. 12410.

Technical Notes
By tightening the ball-ended thrust screw Tips

the workpiece is simultaneously pressed Do not over torque clamping screw as
towards the stops and fixture plate.This this can result in the stripping of the
Order No. For T-slot Jaw type hy h, hs h, I Iy Weight
+0.01 = = g
12422.W0051 10 Straight Jaw 44 15 40 28 52 28 556
12422.W0061 14 Straight Jaw 53 15 45 27 72 40 1342
12422.W0071 18 Straight Jaw 72 20 60 38 86 41 3149
12422.W0052 10 V- Jaw 44 15 40 28 52 28 553
12422.W0062 14 V- Jaw 53 15 45 27 72 40 1324
12422.W0072 18 V- Jaw 72 20 60 38 86 41 3100
Clamping force horizontal Tightening torque
Order No. I3 Iy d; d, d; Stroke s, w, W, kN Nm
max. max.
12422.W0051 72.5 38 M 8 8.4 M8 3 32 12.1 7.0 3
12422.W0061 100.0 55 M12 13.0 M12 4 48 16.0 15.0 9
12422.W0071 126.0 63 M16 17.0 M16 7 68 18.8 215 20
12422.W0052 72.5 38 M8 8.4 M8 3 32 12.1 7.0 3
12422.W0062 100.0 55 M12 13.0 M12 4 48 16.0 15.0 9
12422.W0072 126.0 63 M16 17.0 M16 7 68 18.8 215 20

M Wixroud 0333 207 4497 sales@wixroyd.com 63

AN ESSENTRA COMPANY



Downhold Clamps

with support ledge

ONIdWV1I 3AIS 311408d MO

64 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Cam Edge Clamps

file Side
\_—\Clamping

E:

O

12426

Material

Body/jaw: steel (42CrMo), tempered and
black oxide finish.

Cam: steel (C45), tempered and black

oxide finish.

Technical Notes
Secure the body and the flanged collar

with a socket head cap screw. Turn the cam
with a wrench to clamp a workpiece.

Order No. h, h, hy h,
12426.W0032 20 23 8 7
12426.W0040 25 29 10 9
12426.W0046 30 35 12 11

secutathe bodyand e flanged colar with 8 sockel head capscrew.
and then tr the the

clamp a workpiec

bﬂ Wixroyd

AN ESSENTRA COMPANY

hg I I, I3 d, Stroke s; w, Wy w;  A/F Clamping force Torque to Weight
kN Nm g
max. max.
15 44 285 26,5 M 8x30 4,0 32 19 10 6 35 45 160
16 54 350 33,0 M10x35 50 40 24 12 8 5,5 55 310
17 62 395 37,5 M12x40 55 46 27 14 10 7,0 70 490
0333 207 4497 sales@wixroyd.com 65

LOW PROFILE SIDE CLAMPING




ONIdWV1I 3AIS 311408d MO

Wide-Jaw Side Clamps

12428

dy

swivel 1.5° . 15°

I3 " dy
- 3 -
51
P
hy
A\l

hs

Material

Body: steel (C45), black oxide finish.

Arm: steel (C45), tempered and black oxide
finish.

Jaw: steel (SKH51), tempered and black
oxide finish.

Technical Notes

The jaw swivels to align to an unmachined
surface of the workpiece. The jaw is repla-
ceable.

For mounting, use a cap screw to suitd,

Tips
For replacement jaws, see part nos. 35520.
W0303, 35520.W0306 and 35520.W0310.

Order No. h, h, hy I Iy Iy d; d, dy Strokes;, w; w, w; Clampingforce Torqueto Weight
kN Nm g
max. max.
12428.W0012 40 32 31 625 45 30 M8 M4x4 M8x35 53 45 12 25 15 25 0.6
12428.wW0016 50 40 39 740 55 40 M10 M4x4 M10x40 7.1 55 16 30 27 50 1.0
12428.W0020 60 48 47 91.0 65 45 M12 M5x5 M12x50 8.0 65 20 35 38 90 1.7
i SR fij > /“jigﬂ each surface
cap screw %L‘}&" — \
The jaw swivels to adapt to unmachined surface of the workpiece. for installing, ui‘.aewa‘:;f:a:;iz‘—:oad cap screw
fit the jaw onto a pocket of the side clamp arm.
o] . ® .
66 h‘? Wixroyd wixroyd.com

AN ESSENTRA COMPANY




file Side
\_—\Clamping

Pull Clamps

E:

O

clamping end S unclamping possion ~
-
racommanded
recommended
clamging position Y, \Peeing poson
o f .
row throw
’
unclamping posion Gimping sad £
anti-clockwise clamging clockwise damging

dy
- =

elamping o dy -3 handie mounting holes
height |7 {ange between 2 holes - 30°)

ettt 12620.1

- dy {clamping-pin or
G002 [AP~ =8 clamping-screw setling hoke)
45°

LOW PROFILE SIDE CLAMPING

== =9

s ST :

_—( ¥ =

e el
Material Handle shank: steel (C43), black oxide
Body: steel (42CrMo), quenched and finish.
tempered, black oxide finish. Ball knob: ABS resin, black.

Order No. Type S; h, h, hs d, d, dg d, ds Weight
+0.01 tol. G6 tol. H7 g
12620.W0005 Clockwise 1.5 32 245 10 40 135 20 8 5 245
12620.W0105  Anti Clockwise 1.5 32 245 10 40 135 20 8 5 245
12620.W0008 Clockwise 2.0 40 30.7 13 50 18 25 12 8 470
12620.W0108  Anti Clockwise 2.0 40 30.7 13 50 18 25 12 8 470
. . Handle load Clamping force
Order No. dg d, dg r a Recommendetd workpiece thickness Clamping mechanism N kN
olerance
max. max.
12620.W0005 M4x8 M5x0,8 18 765 90° 0,3 Spiral Cam, 4° 150 0.9
12620.W0105 M4x8 M5x0,8 18 765 90° 0,3 Spiral Cam, 4° 150 0.9
12620.W0008 M6x9 Méxl1 25 111.5 110° 10,5 Spiral Cam, 4° 200 2.5
12620.W0108 M6x9 Mexl 25 111.5 110° 0,5 Spiral Cam, 4° 200 2.5
workpiece
type a\lowplel:r:;:;‘
fixture plate
ensure that a force more than indicated in the table above
is not applied to the underside of the workpiece
o . B )
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 67
AN ESSENTRA COMPANY



Clamping Screws
for pull clamps

ONIdWV1I 3AIS 311408d MO

12620.2

Material Technical Notes Recommended spacing tolerance between
Steel (35CrMo), tempered and black oxide Used with Pull clamp 12620.W0005- . clamping screws +0,2.
finish. W0108.
Order No. d, d, ds d, Iy Iy I3 Iy A/F Weight
g
12620.W0351 5 3.0 8 M 5x0,8 17 6 1.2 2.5 4 3
12620.W0352 5 3.0 8 M 6x1 17 7 1.2 2.5 4 4
12620.W0381 8 4.3 12 M 8x1,25 22 9 1.5 4.0 6 10
12620.W0382 8 4.3 12 M10x1,5 22 11 1.5 4.0 6 13
0.2
(tapped hole spacing)
workplece
|
N
locating pin
recommended spacing lolerance
o . )
68 h‘? Wixroyd wixroyd.com

AN ESSENTRA COMPANY




/,‘@’"’(0

ofile Side

Clamping Pins

for pull clamps

lz I3

d - -— » workpiece thickness
6 I J— o =
. .Fﬁﬁ’ﬁ‘
1 8 \
dg socket =i Bl
setscrew { /
- Y

+ & = 12620.3

knuried head

LOW PROFILE SIDE CLAMPING

I3 dimension is adjustable by +1mm to fit
actual workpiece thickness

Tips
Inthe order table replace XX with L, length
required to suit workpiece (in mm).

Technical Notes
The length L, should be decided depending
on the workpiece thickness, adjustable by

Material
Shank: steel (35CrMo), induction hardened
(taper seat), precision ground.

Head: steel (C45), tempered and black +1lmm.
oxide finish.
Order No. d, d, d, d, ds dg I I, I Weight
tol. {7 tol. 7 g
12620.W0551-XX 10 5 5 3 M 3x4 M 3x0,5 17 10 3< 13 <50 8~16
12620.W0552-XX 10 6 5 3 M 3x4 M 3x0,5 17 10 3<1; <50 8~19
12620.W0581-XX 16 8 8 4.3 M 5x5 M 5x0,8 22 15 4< 15, <80 30~60
12620.W0582-XX 16 10 8 4.3 M 5x5 M 5x0,8 22 15 4<1, <80 =77
locking screw i i
41 adjustable range
€
'
e T Y
shank = =
il
@ =]
L
o . . )
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 69
AN ESSENTRA COMPANY



Monobloc Clamps

AlF

SdWVY1) TYIILY3IA 318YLISNCay

Material if required (see part 10651). Tips
Aluminium body, steel arm and screw. Supplied with clamping key (10651. Can be used on T-slot tables or tapped
Aluminium clamping pad. W1140). Clamping screws for mounting to holes.

machine bed etc. supplied separately, see

Technical Notes part no. 10654.

Can be used with our stackable riser
elements to increase the clamping height

Important Notes
Available as a box set, see part 10653.

Order No. Arm type Clamp reach I; Clamping force Clamping heighth, h, hy Iy I3 r W, w, A/F Torque to
kN Nm
max. max.
10650.wW0020 Short 33 16 0 to 80 8 49 108 125 r77 40 16 11 80
10650.wW0030 Long 61 12 -8 to 102 8 49 108 125 r105 40 16 11 80
10650.W0035 Extra Long 132 8 -43 to 155 89 49 108 125 rl176 40 16 11 80

installation notes

1. slide tha T-nul and the seraw info the slot 2. position and tighien the clamp on the tabla using
the clampi 3. damp i

mounted on moduler table Mounted I-siat tatie win
wilh & special screw: special M10 screw
M10 - M12 - M14 of M16.

why usa the monobloc?

«works with tablas with tapped holes and tables with T-siots
= whan the am is released, the monoblos remains fxed in the position i the dot

70 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Monobloc Spacer Elements

for clamps 10650

i
Y
— -
Wy
clamping key:
dy = ls -
O
@' \ CE@ ] | g
Y
. o AF 11 hy
- - |y AF 8 ds P Y
— - -
Iy dy
Material plated. height of most of our vertical clamping

Spacer elements: aluminium. Supplied

with clamping screw.

Clamping key: red plastic coated or nickel

Technical Notes
Can be used to increase the clamping

systems (10650, 10660).

Order No. Type h, h, d, d, dy I I
10651.W0050 Spacer element 74 - M10 - - 108 125
10651.W0160 Key - coated = 58 = 24 14 = =
10651.W0325 Key - plated - 88 - 20 10 - -
o . B )

A Wixroyd 0333 207 4497 sales@wixroyd.com
AN ESSENTRA COMPANY

Wy

40

71

wv
(2
=
<C
—
o
—
<C
(&)
=]
o
w
=
w
—
o
<
=
(%]
s
=)
(=)
<<




SdWVY1) TYIILY3IA 318YLISNCay

Monobloc Clamping Pads

h.

T
‘ g
'}
& i
HJ 4
long T

- - -

é .

standard bt

-

— by

I:_J.]...J'J”_ : 1200 % :rn
P
wide IEI ill vee 1 III

e o

Material shapes. For use with clamps 10650, 10655,

Aluminium. 10660.

Technical Notes

Clamping pads to suit differing workpiece

Order No. Pad type hy I Wy
10652.W0565 Standard 11 18 30
10652.W0802 Long 17 50 26
10652.W0803 Wide 18 30 60
10652.W0804 Vee 1 14 30 40
10652.W0805 Vee 2 14 30 30
10652.W1150 Set of 4 (Long, Wide, Vee 1, Vee 2) - - -
o . . )
72 h‘i Wixroyd wixroyd.com

AN ESSENTRA COMPANY




Monobloc Clamp Sets

Technical Notes

W0325), one extra long arm (available with  Tips

Comprises of two monobloc clamps (short clamp in 10650.W0035), 4xM10 screws Clamp heights shown with the use of the
10650.W0020 and long 10650.W0030), (10654.W0080 and 10654.W0085) and riser blocks.
two spacer elements (2 x 10651.W0050), 6xM10 T-nuts (with spring) for 14, 16 and
one clamping key (10651.W0160 or 10651. 18mm slots.
Order No. Description Clamp reach Clamping force Clamping height
kN min.| max.
max.
10653.W0100 Long Arm Set 61 12 -8to 176
10653.W0110 Short Arm Set 33 16 Oto 154
o s
R Wixroyd 0333 207 4497 sales@wixroyd.com 73

AN ESSENTRA COMPANY

ADJUSTABLE VERTICAL CLAMPS




Monobloc Clamping Screws

SdWVY1) TYIILY3IA 318YLISNCay

Y
l— -
h
Material Technical Notes
Steel. Please order T-nuts separately, see part no.
24000.

Order No. Type For thread For T-slot dy x 1y
10654.wW0080 For T-slots - 12 & 14 M10x35
10654.W0085 For T-slots - 16 & 18 M10x40
10654.W0090 For T-slots - 20 & 22 M10x45
10654.W0065 For threads M12 - M12x40
10654.W0070 For threads M14 - M14x45
10654.W0075 For threads M16 - M16x45

74 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



ADJUSTABLE VERTICAL CLAMPS

Material ping force. Supplied with key and clamping
Aluminium body, steel arm and screw. screw (M8 x 30mm) for mounting to
Aluminium thrust product. machine bed.

Technical Notes For spacer elements see part no. 10656.

Small clamping footprint with high clam-

Order No. Arm type Clamp reach |; Clamping force Clamping heighth, h, hs ly I3 rn Wy w, A/F Torque to
kN min. | max. Nm
max. max.
10655.w0020 Short 54 6.5 -15t0 58 625 31 73 11 r76 32 16 8 30
10655.wW0025 Long 100 4.2 -40 to 90 625 31 73 11 rl22 32 16 8 30

M Wixroud 0333 207 4497 sales@wixroyd.com 75

AN ESSENTRA COMPANY



Adjustab
Vertical

SdWVY1) TYIILY3IA 318YLISNCay

AIF &

AF8 h,
ds “3 Y

-
da

clamping key

Material Clamping body key: nickel plated steel. height of our vertical clamping systems
écltlgrxmum body, supplied with clamping Technical Notes 10655.
) Can be used to increase the clamping
Order No. Type h, h, d, d, dg I I I3 w,
10656.W0030 Spacer 60 - M8 - - 73 11 - 32
10656.W0180 Key - 38 - 16 7 - - 140 -
o . . )
76 h‘i Wixroyd wixroyd.com

AN ESSENTRA COMPANY




Technical Notes
Comprises of two piccolo clamping
elements (short 10655.W0020 and long

10655.W0025), two spacer elements (2 x
10656.W0030), one clamping key (10656.
W0180), one extra long arm, four M10

screws and six M10 T-nuts (with spring) for
14,16 and 18mm slots.

Order No.

Description

10657.W0100 Piccolo Clamp Set

bﬂ Wixroyd

AN ESSENTRA COMPANY

Clamp reach Clamping force Clamping height

kN min. | max.
54 6.5' Oto 118
0333 207 4497 sales@wixroyd.com 77

ADJUSTABLE VERTICAL CLAMPS




SdWVY1) TYIILY3IA 318YLISNCay

Piccolo Clamps - EDM Version

) B vy

- i, =
10658 o 7

| [ O | ™

=1 [

Wa o Iy -
- -
l2

Material electro-discharge (EDM) machines. The assembled.
Aluminium body, steel arm and screw. body has a large opening to ensure free Important Notes

Aluminium clamp thrust product.

Technical Notes
The only clamp specially designed for

flow of fluid.
These clamps are easily disassembled
without tools, cleaned, greased and re-

Supplied with clamping key and clamping
screw (M8 x 30mm) for mounting to
machine bed.

Order No. Arm type Clamp reach |I; Clamping force Clamping heighth, h, hs
kN min. | max.
max.
10658.W0022 Short 54 6 -15 to 58 625 31
10658.W0023 Long 100 4 -40 to 90 625 31
o . o .
78 h‘) Wixroyd wixroyd.com
AN ESSENTRA COMPANY

ly I rn Wy w, A/F Torque to
Nm
max.

73 11 r76 32 16 8 80

73 11 rl22 32 16 8 30




s 10660

ADJUSTABLE VERTICAL CLAMPS

Y
B 4o
i
w2
Material elements (see part no. 10651). Tips
Aluminium body, steel arm and screw. Has both clamping and lifting capability, Two different clamping arm shapes
Aluminium clamp thrust product. aided by two different interchangeable provided: straight and cranked.See table
. arms. below for clamping and lifting heights of
Technical Notes . . .
Supplied with operating key. each arm.

Fully adjustable clamping range that can

be used with our standard stackable riser

Order No.

Clamp Clamp Clamping Clamping

reach I;-l, reach I;-I, force  height h,
kN min.| max.
max.

10660.W0020  46-88  48-91 11 0-129

Lifting hy h, hs hg h, hy s lg w; w, Clamping
height h, min.  min. min. min. arm
min.|max. |max. |max. | max. | max.

4-142 0-80 52-142 95 38-125 65 4-94 120 10 40 14 Straight

installation notas

1. slide the T-nut and scréw into the s'ol 2. position the clamp and clamp it onto the
tabls using the clamping key provkded 3. clamp the workpiece Lsing the same key
4. proceed with machining

:-\‘J‘-
7‘ S when the workgiece is unclamped, he duo
— tomaing in position in the slot
F 4oy
l',- <
clemping - front mounting

U@
t o E

0o& mounting on T-sio! tatle

with gpecal M10 sorew

mounting on madular tabla with
fing - rear mounting special screw: M10, M12, M14 or M18

bﬂ Wixroyd

AN ESSENTRA COMPANY

0333 207 4497 sales@wixroyd.com 79



Big Block Clamps

10661 - e T

SdWVY1) TYIILY3IA 318YLISNCay

[:1 Y
— A
W
Material ping heights. The index pin knob allows Supplied with clamping key.
Aluminium body, steel arm and screw. rapid adjustment to five set positions. Can
Aluminium thrust product. be used with stackable riser elements to
Technical Notes agf:;elv&réezquwed clamping heights. See
Quick and easy clamping of different clam- P ’
Order No. Description Clamp reach |; Clamping force Clamping heighth, h,  hy I, I3 rr w, w, A/F Torqueto
kN min. | max. Nm
max. max.
10661.wW0020 Short 50 40 12 to 80 105 60 162 25 r75 60 30 11 70
10661.W0030  Standard 95 28 -12 to 100 105 60 162 25 rl20 60 30 11 70
10661.W0035 Long 145 20 -18to 135 105 60 162 25 r170 60 30 11 70
10661.W0038 Extra Long 245 14 -50 to 155 105 60 162 25 r270 60 30 11 70
o . . )
80 h‘) Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Big Block Spacer Elements

for big block clamps no. 10661

I3
- |
= A
g
hy =
<C
o
—
<C
‘ ()
=]
o
=
- I e} w
12 —
o
- - <C
I %
s
—
(=)
<<

spacer base

Material Technical Notes
Aluminium. Base and spacer elements. For use with big
block clamping system (part no. 10661).

Order No. Type h, I Iy I3 ly Iy w,
10662.W0040 Base 55 162 - - 25 25 75
10662.W0045 Spacer 55, 162 25 25 - - 75
10662.W0050 Spacer 110 162 25 25 - - 75
10662.W0055 Spacer 330 162 25 25 - - 75

M Wixroud 0333 207 4497 sales@wixroyd.com 81

AN ESSENTRA COMPANY



Mounting Bar - Sliding
for big block clamps no. 10661

>
o
=
9
& - -
m Iy
=
= _—
g
1 10663 " 5
- w C O
a Y
- i
I5 L | L
Iy I,
Material with big block clamping system (part no.
Steel. 10661).
Technical Notes
Easy 152mm retraction of clamps. For use
Order No. Type h, h, d, d, I Iy I3 A lg Travel W,
max.
10663.wW0180 Base 61 -85 28 28 M16 382 160 95 80 25 152 48
o . . )
82 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY




- L .
i
- » -
A
i
"y ‘ O @ i
|

10670

Material
Body: aluminium.
Clamping piece: steel.

downward simply with a turn of the hex
key.
Very compact, powerful and quick acting.

using on a spacer element or using our
standard spacers (see part no. 10671).
Supplied with clamping key and clamping

. . M1 .
Technical Notes Tips screw (M10 x 35mm)
Unique double action, moves forward and Clamping height can be easily adjusted by
Order No. Clamping force  Clamping height h; Clamping reach |,  h, hs I, I3 Iy W, w, A/F  Torque to
kN min. | max. Nm
max. max.
10670.w0020 11 22 to 26 30 67 165 115 65 18 50 25 8 20

the arm is retracted
inside the body

?ﬁjj
iy

when the key is turned twe movements are carried out consecutively:
- a horizontal movement places the clamping arm in position for dlamping
+ a vertical movement clamps the workpiece

principle:

confinuous turning of key

) ) = Bl
smg:e;r;:;;c: :1[:::;&:;9 compact, space saving design _| = ﬂ _[ = /[
waorkpiece changeover extension of arm clamping of workpiece
o) o ® .
R Wixroyd 0333 207 4497 sales@wixroyd.com 83

AN ESSENTRA COMPANY

ADJUSTABLE VERTICAL CLAMPS




Adjustah

Vertical

Spacer Elements
for retractable arm clamp 10670

SdWVY1) TYIILY3IA 318YLISNCay

Wy

Material
Aluminium.

Technical Notes

thicknesses. Suitable mounting screws also
supplied. For use with clamp 10670.
Can reach a maximum clamping height of

. N, 12 .

Supplied as set of six different spacer omm
Order No. Type h, I I w,
10671.W0080 Set of 6 2,4,8,16,32 and 64 92 18 50

mounting for riser blocks

84 bﬂ Wixroyd

AN ESSENTRA COMPANY

wixroyd.com




- - 10675

ADJUSTABLE VERTICAL CLAMPS

Material Supplied with clamping key, extension key Tips
Steel body and clamping arm, with special and clamping screw (M14 x 40mm). Please Clamping height can be raised using our
clamping screw. order suitable T-nuts separately, see part stackable elements (part no. 10676).
Technical Notes no. 24000.
For very heavy machining. Arm retracts.
Order No. Clamping force Clamping height h; Clampingreach |, h, hs d, I, I3 Iy w, A/F, A/F, Torque to
kN min. | max. Nm
max. max.
10675.wW0310 35 0 to 86 49 625 55 32 78 15 152 40 8 11 70

bﬂ Wixroyd

AN ESSENTRA COMPANY

0333 207 4497 sales@wixroyd.com 85



Adjustab Maxi Bloc Spacer Elements
Vertical Cla : for Maxi Bloc clamps 10675
L)

10676 -ow T !

SdWVY1) TYIILY3IA 318YLISNCay

Material ping heights. For use with Maxi Bloc clam-
Steel. ping system part no. 10675. Supplied with

Technical Notes M14 mounting screw.

Quick and easy clamping of different clam-

Order No. Type hy h I, Wy
10676.W0320 Spacer 80 78 15 40

86 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Bloca Press Clamps

height clamping A/F
adjustment

steel shoe

v I = - | y
“‘“’j%////% A 10678

-
l2

ADJUSTABLE VERTICAL CLAMPS

I A i
o w [[TIOO_(O]
Y A |
Material ping screw. Five ton clamping force.

Steel, hardened, supplied with clamping

key and high tensile strength (12.9) clam- Technical Notes

Suitable for heavy duty presses.

Order No. Clamping force  Clamping height h;  Clamping reach |, h, I, I3 Iy W, w, W3 A/F  Torque to
kN min. | max. max. Nm
max. max.
10678.W0340 50 14 t0 92 30 111 145 12 25 50 45 25 13 90
o 9 .0 O
| ——— I p—
muunllrugunTBbtmh\?::,lrg d;ﬁ:r;.gnﬂ:jr:r;::n&:m

camping with
O 13mm key

the unique mounting point
makes it possibla to swivel the
bloca press clamp

M Wixroud 0333 207 4497 sales@wixroyd.com 87

AN ESSENTRA COMPANY



SdWV1) TV¥ILLY3A 319VISNCay

Clamping &

Height Setting

Over Clamping

vertical pressure

A Wide Range of Clamps to Match any Requirement

CLAMPING FORCE

UPTO
<10/0]0]0

NEWTONS

10650 All machining operations

10655 Light machining

10658 Electrical discharge machining

10660 Clamping and lifting

10661 Heavy machining

40000

NEWTONS

10670 Repetitive machining

11000

NEWTONS

10675 Heavy machining

10678 Press Tool Clamping

Wixroyd wixroyd.com

AN ESSENTRA COMPANY

2202-01-02 - pa3epdn - yui-ainssaid-1eafian-buidwe)d-1ano-1-y-8 /90T M-1-Y-0S90T M-A0



Monobloc Clamps

stackable vertical clamping

Slide the T-nut into the T-slot
position and tighten the clamp
onto the T-slot base, with the aid
of the clamp key (shown in the
image in blue.

Clamp the workpiece by twisting
the key. Start machining.

ADJUSTABLE VERTICAL CLAMPS

When unclamped the arm and
the clamp remain in position
D)
Fix to threaded bases with a special screw Fix to T-slots with suitable T-nuts.
M10, M12, M14, M16.
The clamps are easily
stackable to achieve required
clamping height.
o . o )
h‘) X% 0333 207 4497 sales@wixroyd.com 89



Step Adjustable Clamps

10600

SdWVY1) TYIILY3IA 318YLISNCay

dy d,
clamp set clamp only
Material h, - depends on the depth of the slot posi- support required.
Steel, forged, tempered and burnished. tion and the position of the fixture nut.
. . Used with:
Technical Notes Tips . 21000 T-slot bolts, 24400 collar nuts,
Type one: clamp and T-bolt set. Often used for clamping press tools. 25000 plain washer
Type two: clamp only. Easy height adjustable clamp. No fitting P )
Order No. Type T-bolt For T-bolt For T-slot d, x 1y h, [ I3 Iy ls W, Weight

10600.W0012 Clampset M12x12x125 M12 - M16 12 17x140 0-50 110 60 55 30 50 1070
10600.W0014  Clampset M12x14x125 M12-M16 14 17x140 0-50 110 60 55 30 50 1080
10600.W0016  Clampset MIléx16x160 M12 - M16 16 17x140 0-75 110 60 55 30 50 1270
10600.wW0018 Clampset M16x18x160 M12 - M16 18 17x140 0-75 110 60 55 30 50 1280
10600.W0020 Clamp set M20x20x200 M18 - M20 20 21x175 0-85 135 80 70 40 60 2300
10600.W0022  Clamp set M20x22x200 M18 - M20 22 21x175 0-85 135 80 70 40 60 2370
10600.W0117  Clamp only - M12 - M16 - 17x140 0-75 110 60 55 30 50 900
10600.W0121 Clamp only = M18 - M20 = 21x175 0-85 135 80 70 40 60 1600

90 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Crocodile Adjustable Clamp

with support heel

counterhold

hg
hy

10603

Material

Clamp: steel, tempered and galvanised.
T-bolt: steel, forged (strength class 8.8).
See part 21000 for details.

Washer: steel, hardened. See part 25000
for details.

Nut: steel, heat-treated to strength class
10. See part 24300 for details.

Technical Notes
Ideal for clamping components of varying

heights - requires no additional support or
packing pieces.

Continuously adjustable clamp over range
of heights (see dimension h, in table),
with high clamping force.

Support heel and stud counterhold are
non-detachable, making for a single piece
clamp which is quick and easy to use.
Supplied complete with T-bolt, washer and
T-nut (see data table).

Ideal for use on press tools and injection
mould tools. Height can be increased by
using Support Extensions 10604.

Tips

*Clamping forces based on using stud and
nut of strength class 8.8 or better, optimal
positioning of the clamp and good condi-
tion of the thread.

Order No.

10603.w0011
10603.wW0012
10603.wW0013
10603.wW0014
10603.W0015
10603.W0016
10603.W0017
10603.wW0018
10603.W0020
10603.wW0021
10603.w0022
10603.wW0023
10603.w0024
10603.W0025
10603.w0028

bﬂ Wixroyd

T-bolt For T-slot  h;

M10x10x100 10 27
M12x12x125 12 27
M12x12x160 12 36
M12x14x125 14 27
M12x14x160 14 36
M16x16x160 16 36
M16x16x200 16 42
M16x18x160 18 36
M16x18x200 18 42
M20x20x200 20 42
M20x22x200 22 42
M20x20x250 20 51
M24x24x250 24 51
M20x22x250 22 51
M24x28x250 28 51

AN ESSENTRA COMPANY

h, hs h, hg Iy I3 wy x|y w, wy d; Clamping Weight
min. | max. force g
kN
max.
17 0-40 18 12 25 30 44x115 30 11 13 25 613
17 0-55 18 12 25 30 44x115 30 11 13 30 686
21 0-70 20 17 35 36 55x150 41 12 17 35 1591
17 0-55 18 12 25 30 44x115 30 11 13 30 705
21 0-70 20 17 35 36 55x150 41 12 17 35 1610
21 0-70 20 17 35 36 55x150 41 12 17 40 1798
27 0-80 30 20 44 44 62x187 30 14 21 55 2715
21 0-70 20 17 35 36 55x150 41 12 17 40 1818
27 0-80 30 20 44 44 62x187 30 14 21 55 3018
27 0-80 30 20 44 44 62x187 30 14 21 60 3018
27 0-80 30 20 44 44 62x187 30 14 21 60 3060
34 0-100 31 24 60 47 70x235 30 17 25 70 4368
34 0-100 31 24 60 47 70x235 30 17 25 75 4895
34 0-100 31 24 60 47 70x235 30 17 25 70 4410
34 0-100 31 24 60 47 70x235 30 17 25 75 4966
0333 207 4497 sales@wixroyd.com

91

ADJUSTABLE VERTICAL CLAMPS




Crocodile Clamp Support Extension

recommendations

Installation d,  Stud21100  Thread depth cla“ﬁfg:ﬁ‘;ﬂﬁge
Recommendations size d, x|, I, height h.
Installation dimensions for % M10x80 15-31 4-25
clamp 10603 (without support i M10x90 15-31 17-40
extension 10604) when using WA’VMW 13 M10x100 15-31 4-25
E clamping stud 21100. ! I M12x80 18-33 0-20
g _L/’\);A M12x90 18-33 10-34
= ‘ hy Y M12x100 18-33 22-50
2 i, M12x90 18-33 0-22
] M12x110 18-33 24-50
S ; M12x120 18-33 38-66
é NS 17 M16x100 24-43 0-26
§ q M16x110 24-44 12-40
M16x120 24-44 26-55
M16x120 24-44 2-29
' T M12x138 24—44 12—42
M16x15 4-44 43-7
c (@] | 2 M20x140 30-52 18-48
M20x150 30-52 31-63
M20x160 30-52 45-78
M20x160 30-52 23-54
M20x180 30-52 51-83
25 M20x195 34-52 72-100
M24x160 36-48 0-15
M24x180 36-60 10-42
M24x195 36-60 37-71
Installation dimensions for -
clamp 10603 (with support d T Cension | TSIo21000  HREOR
oxonson 10609 whn i gty SxTtl g,
’ M10x39 M10x10x100 18-31
13 M10x39 M12x12x160 18-95
M10x39 M12x14x160 18-95
M12x49 M12x12x200 26-123
M12x49 M12x14x200 26-123
M12x49 M16x16x200 26-123
17 M12x49 M16x18x200 26-123
M12x94 M12x12x200 26-120
M12x94 M12x14x200 26-120
M12x94 M16x16x250 26-166
M12x94 M16x18x250 26-166
M16x55 M16x16x250 33-141
M16x55 M16x18x250 33-141
M16x55 M20x20x250 33-141
21 M16x55 M20x22x250 33-141
M16x90 M16x16x250 33-150
M16x90 M16x18x250 33-150
M16x90 M20x20x315 33-173
M16x90 M20x22x315 33-173
d ([” ‘ ( M20x69 M20x20x315 41-177
M20x69 M20x22x315 41-177
M20x69 M24x24x315 41-177
25 M20x69 M24x28x315 41-177
M20x109 M20x20x315 41-197
M20x109 M20x22x315 41-193
M20x109 M24x24x315 41-180
M20x109 M24x28x315 41-180

oz é.ﬁ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Material

Steel, tempered and galvanised.

Technical Notes

Ideal for press tool clamping. The clamp

body has a long slot for easy positioning.

Tips

Supplied without T-bolt or nut - for these
parts see nos. 21000 and 24400.

Order No. Clamping height h;
min. | max.
10620.W0012 0-35
10620.W0016 0-55
10620.W0020 0-65
10620.W0026 0-75
10620.W0032 0-80

For T-slot

12& 14
16 & 18
20 & 22
24 & 28
36

For bolt

M12
M16
M20
M24
M30

P

min. | max.

30-55
42-84
50-100
54-111
62-125

bﬂ Wixroyd

AN ESSENTRA COMPANY

0333 207 4497

28 23 14
3 29 18
46 32 20
52 39 24
61 44 28
sales@wixroyd.com

wy x|y

38x88
56x130
66x140
76x174
90x200

13
18
22
26
32

Weight

260
809
1253
1718
2785

93

ADJUSTABLE VERTICAL CLAMPS




Clamp - Plastic Cover

10630.1 ‘

SdWVY1) TYIILY3IA 318YLISNCay

Wy
Y
- g
d

Material clamping supports are needed to reach the screws (IS0 4762) can be used.
Steel, tempered and burnished. required clamping height. The U-piece is A washer no. 25000 must always be used

. undetachable from the clamp. between the hexagonal nut and U-piece.
Technical Notes -

- . - : . h, is dependent on depth of slot to DIN 650

Weight-saving thanks to its lightweight Tips and position of fixture nut
design. Variable and fast adjustment at a For clamping, clamping bolts no. 21000 P ’

distance from the workpiece. No additional ~ and studs no. 21100 and cheese head

Order No. Size For clamping screw hy h, hs I I, I3 Wy d; Weight
min. | max. g
10630.wW0010 10 M10 0-15 32.0 30.5 80 30 19 44 11 257
10630.wW0014 14 M12-M14 0-33 495 47.0 125 37 51 57 14 708
10630.w0018 18 M16-M18 0-45 62.0 585 160 49 63 67 18 1235
10630.w0022 22 M20-M22 0-65 75.0 715 200 58 63 72 22 1880
10630.W0026 26 M22-M24 0-85 94.0 89.5 250 74 0 82 16 2799

94 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Clamp - Plastic Cover

complete with T-bolt set

part no. 24300
part no. 25000

10630.2

ADJUSTABLE VERTICAL CLAMPS

A
Wy
L -
-"-dI"-
Material and fast adjustment at a distance from the Tips
Steel, tempered and burnished. workpiece. No additional clamping A washer (DIN 6340) must always be used
. supports are needed to reach the required between the hexagonal nut and U-piece.
Technical Notes . . S .
. . . clamping height. The U-piece is unde- h, is dependent on depth of slot to DIN 650
Complete with T-bolt set. Weight-saving tachable from the clam and position of fixture nut
thanks to its lightweight design. Variable P- P ’
Order No. Size With clamping bolt h, h, hs I Iy I w, d, Weight
min. | max. g
10630.W0110 10 M10x10x80 0-15 32.0 30.5 80 30 19 44 11 349
10630.W0112 12 M12x12x100 0-33 495 47.0 125 37 51 57 14 886
10630.W0114 14 M12x14x125 0-33 49.5 47.0 125 37 51 57 14 905
10630.W0116 16 M16x16x160 0-45 62.0 58.5 160 49 63 67 18 1648
10630.wW0118 18 M16x18x160 0-45 62.0 58.5 160 49 63 67 18 1668

M Wixroud 0333 207 4497 sales@wixroyd.com 95

AN ESSENTRA COMPANY



Hook Clamps
low height

12550.1

SdWVY1) TYIILY3IA 318YLISNCay

o-ring

Material Technical Notes mise height. Clamping stroke (see diagram
Steel (42CrMo), tempered, black oxide Very useful for limited space vertical clam- below) for M 4= 0-3mm, for M 6= 0-4mm.
finish. ping, can be recessed into bores to mini-
Order No. h, I d; d, h, hy h, dy Iy I3 w; w, Torqueto A/F Clamping force Weight
-0.02]- Nm kN g
0.10 max. max.
12550.W0010 245 14 10 M 4x0,7 145 75 125 M4x30 18 8 8 14 2,7 3 2,0 25
12550.W0012 305 17 12 M5x0,8 175 95 135 M6x35 22 10 10 16 7,0 5 35 45

T (clamping stroke)

- -
=
o

z (clamping stroke)

-

—

i

-
oz !

Max0.7 Méxt

' *ﬂﬁ;ﬂ]ﬂ@
TR

o107’
12550.W0010 12550.W0012

nstallatation dimensions inta custom base plate

96 bﬂ Wixroyd

AN ESSENTRA COMPANY

wixroyd.com




Hook Clamp
with holder

hy

12550.2

ADJUSTABLE VERTICAL CLAMPS

Material

finish.

down in conjunction with the tightening

Clamp bgdy: §tgel (42CrMo), tempered, Technical Notes screw.
black oxide finish. The hook clamp is designed to move up and
Holder: steel (C45), tempered, black oxide P g P

Order No. h, Strokes, I, d; d, h, hy h, hyg d, w, w, A/F A/F, Clamping force Torque Weight

kN Nm g
max.

12550.wW0110 45 3 14 14 M4x0,7 35 75 35 11 Meéexl 8 14 3 12 2,0 2,7 55
12550.W0112 53 4 17 16 M5x0,8 40 95 40 14 M8x1,25 10 16 5 13 35 7,0 90
o . . )
R Wixroyd 0333 207 4497 sales@wixroyd.com 97

AN ESSENTRA COMPANY



Hook Clamp
flanged

12550.3

SdWVY1) TYIILY3IA 318YLISNCay

] o
A
Material tempered, black oxide finish. The hook clamp is designed to move up and
Steel (4?CrM.o)., quenched and tempered, Technical Notes down in conjunction with the tightening
black oxide finish. screw.

Holder: steel (C45), quenched and Ideal for low height clamping.

Order No. h, Stroke I, d; d, h, hy h, hyg d, I, I3 w;  w, ws; w, Torqueto A/F Clamping Weight
S Nm force g
max. kN

12550.W0210 6 3 14 43 M4x0,7 16 75 16 11 M4x30 18 14 8 14 24 34 2,7 3 2,0 45
12550.w0212 8 4 17 53 M5x08 19 95 19 12 M5x35 22 16 10 16 28 40 7,0 5 35 75

hook clamp

hook-clamp holder
(flanged)

socket-head cap scrows

98 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Hook Clamp Holders

hy Iy
- —— - &
dy %
i T g
AJF di d, E
>
: R 12550.4 :
° &
- - - =
h, hs 2
Material Tips
Steel (C45), black oxide finish. For use with hook clamps part no’s 12550.
W0010- .W0012 and 12554.
Order No. Hook clamp size dia. hy I d; d, h, hg d, d, Torqueto  A/F Weight
tol. 7 Nm g
max.
12550.W1101 10 35 11 14 10*010 16 13 M 4x0,7 M 6x1 2.7 12 30
12550.W1121 12 40 14 16 12010 19 14 M 6x1 M 8x1,25 7.0 13 45
12550.W1181 18 55 19 24 18 25 20 M 8x1,25 M 8x1,25 30 22 140
12550.W1201 20 63 30 32 20 30 21 M10x1,5 M12x1,75 38 30 400
12550.W1202 20 80 30 32 20 30 23 M10x1,5 M12x1,75 38 30 500
12550.W1251 25 80 30 40 25 40 25 M12x1,75 M12x1,75 50 36 600
12550.W1252 25 100 30 40 25 40 25 M12x1,75 M12x1,75 50 36 800
12550.W1321 32 80 30 50 32 40 25 M16x2 M16x2 80 46 930
12550.W1322 32 100 30 50 32 40 25 M16x2 M16x2 80 46 1230

heok clamp
12554
hook clamp
12550.w0010
and 1250.w0012

cylindrical risers
12550.w22_to
12550.w26

€0 0 <o
(B Dy

iR Wixroyd 0333 207 4497 sales@wixroyd.com 99

AN ESSENTRA COMPANY



Hook Clamp Risers

cylindrical

> ) dz &

8

S i A

9

& AF d;

=

= Y v

=

1 12550.5 M-

3

« - L | -

hy Iy
Material Technical Notes
Steel, heat treated and black oxide finish. For use with hook clamps 12550.
Order No. h, I d; d, h, A/F Weight
g

12550.w2241 32 19 24 M 8x1,25 20 22 105
12550.W2242 40 19 24 M 8x1,25 20 22 1515
12550.wW2243 50 19 24 M 8x1,25 20 22 170
12550.W2244 65 19 24 M 8x1,25 20 22 220
12550.W2401 50 30 40 M12x1,75 35 36 480
12550.W2402 65 30 40 M12x1,75 35 36 640
12550.W2403 80 30 40 M12x1,75 35 36 740
12550.W2404 100 30 40 M12x1,75 35 36 940
12550.W2405 125 30 40 M12x1,75 35 36 1230
12550.W2406 160 30 40 M12x1,75 35 36 1570
12550.W2407 200 30 40 M12x1,75 35 36 1970
12550.W2501 50 30 50 M16x2 35 46 770
12550.W2502 65 30 50 M16x2 35 46 1000
12550.W2503 80 30 50 M16x2 35 46 1160
12550.W2504 100 30 50 M16x2 35 46 1470
12550.W2505 125 30 50 M16x2 35 46 1920
12550.W2601 160 30 60 M16x2 35 55 3490
12550.W2602 200 30 60 M16x2 35 58] 4370

100 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



P’llm
=
12550.6
for hook clamps for hook clamps
size 10 and 12 size 18, 20, 25 and 32
Material Technical Notes
Steel (C45), black oxide finish, tempered - For use with hook clamps part no’s 12550.
12550.W3100 and 12550.W3120). W0010- .W0012 and 12554.
Order No. Hook clamp size dia. hy I d; d, h, d, I, W, w, W3 Weight
tol. f7 g
12550.W3100 10 6 - 14 10+01 16 43 (M 4) 14 34 24 - 20
12550.W3120 12 8 - 16 12500 19 53 (M 5) 16 40 28 - 30
12550.W3180 18 10 11.3 24 18 25 6,6 (M 6) 24 50 38 15 85
12550.W3200 20 12 13.4 28 20 30 9,0 (M 8) 28 60 45 20 150
12550.W3250 25 14 15.0 35 25 40 11,0 (M10) 35 75 55 20 290
12550.W3320 32 16 20.2 42 32 40 13,0 (M12) 41 85 65 25 400
hook-clamp holder
(flanged)
gl )
G ﬂ
——— //
o . . )
R Wixroyd 0333 207 4497 sales@wixroyd.com 101
AN ESSENTRA COMPANY

ADJUSTABLE VERTICAL CLAMPS




Hook Clamps

spring loaded

12552 "

SdWVY1) TYIILY3IA 318YLISNCay

Material ping height.
Steel (35CrMo), heat treated, black oxide

finish, precision ground. Tips

Please apply grease to sliding surface.
Technical Notes
Cylindrical risers can be used to raise clam-

Order No. h, Strokes; |, d; d, h, hs h, Wy w, rn r, Torqueto A/F Clamping force Weight
Nm kN g
max.

12552.W0221 35 10 19 M8x1,25 M830 49 12 6 10 22 20 15 20 22 7.9 125
12552.W0222 g5 10 19 M8x1,25 M8x30 49 12 6 10 22 25 15 20 22 7.3 130
12552.wW0223 35 10 19 M8x1,25 M830 49 12 6 10 22 30 15 20 22 6.7 135
12552.W0224 45 10 19 M8125M830 59 12 16 10 22 20 15 20 22 7.9 160
12552.W0225 45 10 19 M8125M8x30 59 12 16 10 22 25 15 20 22 7.3 165
12552.W0226 45 10 19 M8125M830 59 12 16 10 22 30 15 20 22 6.7 170

M12x1,7 M12x4

12552W0321 50 15 30 M'2 24 77 16 10 18 32 40 26 45 36 135 450
12552w0322 50 15 30 ML MIZE g9 16 10 18 32 50 26 45 36 126 480
12552W0323 50 15 30 "IoLT MIZE g9 46 10 18 32 60 26 45 36 117 520
12552W0324 65 15 30 oMT MIZX% 95 46 25 18 32 40 26 45 36 135 600
12552w0325 65 15 30 ML MIZE op g 25 18 32 50 26 45 36 126 630
12552w0326 65 15 30 ML MIZ4 9r 18 5 18 32 60 26 45 36 117 670
12552W0361 50 15 30 Miex2 "' 86 21 10 22 36 40 26 60 36 13.4 630
12552W0362 50 15 30 Miex2 'O 86 21 10 22 36 50 26 60 36 124 680
12552W0363 50 15 30 Miex2 MO 86 21 10 22 36 60 26 60 36 12.0 740
12552W0364 65 15 30 Miex2 "0 101 21 25 22 36 40 26 60 36 134 780
12552W0365 65 15 30 Mi&x2 0% 101 21 25 22 36 50 26 60 36 124 830
12552W0366 65 15 30 Mle2 "O° 101 21 25 22 36 60 26 60 36 120 890

102 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



12554

Material

Steel (C45), tempered and black oxide

finish, precision ground.

Tips

Please apply grease on sliding surface to

prevent galling when using in dry condi-

tion.

Can be used with clamping holders

12550.4. and cylindrical risers 12550.5.

Order No.

12554.wW0181
12554.W0182
12554.W0183
12554.W0200
12554.wW0201
12554.W0250
12554.W0251
12554.W0252
12554.W0253
12554.W0254
12554.W0255
12554.W0320
12554.W0321
12554.W0322
12554.W0323
12554.W0324

h

bﬂ Wixroyd

AN ESSENTRA COMPANY

Stroke s,

I

M 8x50
M 8x50
M 8x50
M10x65
M10x65
M12x80
M12x80
M12x80
M12x80
M12x80
M12x80
M16x85
M16x85
M16x85
M16x85
M16x85

M12x1,75
M12x1,75
M12x1,75

M12x1,75
M12x1,75

0333 207 4497

31

46

38
46

Torque to Clamping force Weight

Wy W " P

Nm

max.
10 22 20 15 38
10 22 25 15 33
10 22 30 20 30
12 25 30 20 38
12 25 40 25 32
18 32 40 25 60
18 32 50 25 50
18 32 60 25 46
18 32 40 25 60
18 32 50 25 50
18 32 60 25 46
22 36 40 25 170
22 36 50 25 150
22 36 60 25 130
22 36 50 25 150
22 36 60 25 130

sales@wixroyd.com

kN

g

90
100
105
165
180
305
360
380
295
350
370
530
580
625
565
610

103

ADJUSTABLE VERTICAL CLAMPS



Hook Clamps

>

o

= 12544.W0181 12544 W0200 12544.W0250 12544.W0320

7 1012554 WO183 1o 12554 W0201 1012554 WO255 o 12654 W0324

= hook clamp

= 41 1558 913800 dy 13888

m - - - - - - -

= custom block

m '

= i i T[S Tk
a 7] A 2 30 40
g . x I 40

o _ il 20 1 x
c A

= = | 2 25
o 4, %125 s ' '
w i dyx 175 dyx2

% Hook clamps can be mounted directly into custom blocks with receiving holes as specified above.

machining instruction for custom blocks

Wixroyd wixroyd.com

AN ESSENTRA COMPANY

104




Swing Clamps

Mk | 12562.1
il L
Material and black oxide finish. Tips

Body, handle, clamping spindle: steel
(C45), tempered and black oxide finish.
Arm, cam shaft: steel (42CrMo4), tempered

Knob: phenolic plastic,

black.

Rough surface contact. Can be supplied
with nickel-plated finish on request. Clam-
ping height can be adjusted. Values in

Order No. Cla Clamping height Clamping height ~ Clamping
mping finished surface finished surface height rough
dire min. max. surface
ction min.
Cloc 204
12562.W0030 i 228 (223723 248 243729 55",
Cloc
) 5l 313 322
12562.W0080 kwis  (306-320)  (306~320) (315-329)
Cloc
: 325 390 335
12562.W0050 ks (31 7-330)  (382~397) (327~342)
Cloc
: 365 46,0 39,0
12562.W0060 ks (355-37.4)  (450~469) (380~399)
Anti
Cloc 228 248 224
12562.W0031 | \ic  (223-233) (243~253) (21,9~22,9)
e
Anti
Cloc 313 233 322
12562.W0041 |0 (306~320) (32,6~340) (31,5~32,9)
€]
Anti
Cloc 325 39,0 335
12562.W0051 \ \ic  (31,7~332) (382~39,7) (32,7~342)
e
Anti
Cloc 365 46,0 39,0
12562.W0061 | i (355~37,4) (450~469) (380~399)
€]
. ) .
R Wixroyd 0333 207 4497
AN ESSENTRA COMPANY

Clamping hy h, hy h, hg hg I I, Weig
height rough ht
surface g
max.
244
(236.psy 49 458 30 10 228 6 18 26 112
34,2 66 613 40 14 285 8 23 35 250
(33,5~34,9) : :
400 82 765 50 18 455 12 30 45 570
(39,2~40,7) : :
485 120
(@474 a0 100 930 60 22 570 15 40 55 1
244
(35 a0 49 458 30 10 228 6 18 26 112
il 66 613 40 14 285 8 23 35 250
(33,5~34,9) : :
400 82 765 50 18 455 12 30 45 570
(39,2~40,7) : :
485 120
(4760004 100 930 60 22 570 15 40 55 g
sales@wixroyd.com 105

ADJUSTABLE VERTICAL CLAMPS



SdWVY1) TYIILY3IA 318YLISNCay

Order No.

12562.W0030

12562.W0040

12562.W0050

12562.W0060

12562.W0031

12562.wW0041

12562.W0051

12562.W0061

22

30

37

45

22

30

37

45

6 115 18 15

8 153 23 20

8 207 30 26

8 254 40 33

18 15

8 153 23 20

8 207 30 26

8 254 40 33

4.3

5.3

84

10.5

4.3

5.3

84

10.5

27

34

48

64

27

34

48

64

ds " Wy

M 50 36
M 63 45
M 80 65
100 85
M 50 36
M 63 45
M 80 65

100 85

o
=

1. unclamped
load or unload
apart

eperation of CW lype
(invert the operation for GOW type)

2. am swing
tum the handle
to 88t the clamp
arm in position

3. clamping setup

continue tuming

the handle to set

the spindle close
1o the part

4. clamping
twrn the handle to
the recommended
clamping position

106

Wixroyd

AN ESSENTRA COMPANY

wixroyd.com

Wo

10

16

20

10

16

20

W

w

4.3

5.3

84

104

4.3

5.3

84

10.4

Clam-
ping
force
kN

1.1

1.8

2.2

35

1.1

1.8

2.2

35

Clamping
mechanism

Spiral Cam,
5o

Spiral Cam,
5o
Spiral Cam,
40
Spiral Cam,
4°
Spiral Cam,
5o
Spiral Cam,
50
Spiral Cam,
4°

Spiral Cam,
4°

Clamping Advance

stroke s;

1.0

1.4

15

1.9

1.0

14

15

19

stroke s,

0.8

1.1

14

1.7

0.8

1.1

14

1.7

Oper
ating
load

max.

100

150

200

300

100

150

200

300



Swing Clamps

12562.2

ADJUSTABLE VERTICAL CLAMPS

€0

champang &
hoght o

mounting holys clamging spinde

Material and tempered, electroless nickel plated. parenthesised values denote clamping
Body, handle, clamping spindle: steel Knob: phenolic plastic, black. height range.

(C45), quenched and tempered, electroless Tips

nickel plated.

Arm, cam shaft: steel (42CrMo4), quenched Clamping height can be adjusted. The

Order No. Cla Clamping height Clamping height  Clamping Clamping h, h, hy h, hg he I I, Weig
mping finished surface finished surface height rough height rough ht
dire min. max. surface surface g
ction min. max
Cloc  5o8 24,8 224 244

12562.W0330  kwis 49 458 30 10 228 6 18 26 112

o (22,3~23,3) (24,3~25,3) (21,9~22,9) (23,9~24,9)
Cloc
12562.W0340 kwis
e
Cloc
12562.W0350 kwis
e
Cloc

28 B9 322 342
EUG-E20)  GRE-EAG) Glo-apeE) GEo-gag oo BlE AU lozes @ Zn db i
325 390 335 400

(31,7~332) (382~39,7) (32,7~342) (39.2~40,7) S2 765 50 18 455 12 30 45 570

: 36,5 46,0 39,0 485 120
12562.W0360 k\gns el EEY D) GEDS0D) (e 00 O 6 2 & B 4 5B
Coun
ter 228 24,8 22,4 244
12562.W0331 fﬁé (223-933) (2430953 (216-929) (235-045) 49 458 30 10 228 6 18 26 112
e
Coun
= 313 e 32,2 342
12562.W0341 E\lﬁg oD (GPEAT Geibe) Eabeam 0 08 M 10 26 & 25 B 20
@
Coun
ter 325 39,0 335 40,0
12562.W0351 ck:veg (317332 (3892397 (323-342) (390-407) B2 765 50 18 455 12 30 45 570

e

iR Wixroyd 0333 207 4497 sales@wixroyd.com 107

AN ESSENTRA COMPANY



SdWVY1) TYIILY3IA 318YLISNCay

Order No.

12562.W0361

Order No.

12562.W0330

12562.W0340

12562.W0350

12562.W0360

12562.W0331

12562.W0341

12562.W0351

12562.W0361

108

Cla Clamping height Clamping height  Clamping Clamping hy h,
mping finished surface finished surface height rough height rough
dire min. max. surface surface
ction min. max.
Coun
o 36,5 46,0 390 185 100 930
szg (35,5~37,4)  (450~469) (38,0~39,9) (47,5~49,4) :
®
Cla
mping
I3 s s d; d, dy d, dg rn w,  w, wy force
kN
max.
22 6 115 18 15 43 27 M 50 36 8 43 1.1
4x0,
70
30 8 153 23 20 53 34 M 63 45 10 53 18
5x0,
80
37 8 20.7 30 26 84 48 M 80 65 16 84 22
8x1,
25
45 8 254 40 33 105 64 M1 100 85 20 104 35
Ox1,
50
22 6 115 18 15 43 27 M 50 36 8 43 1.1
4x0,
70
30 8 153 23 20 53 34 M 63 45 10 53 18
5x0,
80
37 8 20.7 30 26 84 48 M 80 65 16 84 22
8x1,
25
45 8 254 40 33 105 64 M1 100 8 20 104 35
Ox1,
50
@ | .
75 Wixroyd wixroyd.com

AN ESSENTRA COMPANY

60

Clamping
mechanism

Spiral Cam, Cam
Angle 5°

Spiral Cam, Cam
Angle 5°

Spiral Cam, Cam
Angle 5°

Spiral Cam, Cam
Angle 4°

Spiral Cam, Cam
Angle 5°

Spiral Cam, Cam
Angle 5°

Spiral Cam, Cam
Angle 4°

Spiral Cam, Cam
Angle 4°

22 570

15 40 55

Clamping Advance
stroke s, stroke s,

1.0 0.8
1.4 1.1
15 14
19 1.7
1.0 0.8
14 1.1
15 14
1.9 1.7

Weig
ht

120

Oper
ating
load

max.

100

150

200

300

100

150

200

300



anti-clockwise clamping
12564 W30, 12564 W

and 12854 WO140, 12654, WD141

ol

clockwise clamping
TRBAWO030, 12564 WOO1

and 12654 W0040, 12654, WD041

13 options of handle mourting posiion

n,

P Ty -

dy
<l .
< i I
o ol | p—tr
) 8.
- - ‘
dy hy

dy

2

[ — )

dy

by

12564.1

Material

Body, shaft: steel (42CrMo), tempered and
black oxide finish.

Clamp arm, adaptor head: steel (C45),
tempered and black oxide finish.
Handle: steel (C45), black oxide finish.
Ball knob: ABS resin, black.

Technical Notes
When installing a pad on the clamp arm,

lock the clamp arm using a wrench to
prevent the clamp from receiving any

torque.

Clamping height can be adjusted. The

values in brackets shows clamping height

range.
Tips
For parts 12564.W0031, 12564.W0131,

12564.W0041 and 12564.W0141 the
handle must be ordered separately.

Order No. Clamping direction
12564.W0030 Clockwise
12564.W0040 Clockwise
12564.W0031 Clockwise
12564.W0041 Clockwise
12564.W0130 Anti Clockwise
12564.W0140 Anti Clockwise
12564.W0131 Anti Clockwise
12564.W0141 Anti Clockwise

Order No. l, dy dy
12564.W0030 15 30 30
12564.W0040 20 40 38
12564.W0031 15 30 30
12564.W0041 20 40 38
12564.W0130 15 30 30
12564.W0140 20 40 38
i'i Wixroyd

AN ESSENTRA COMPANY

20

25

20

25

20

25

Type h, h, h, h, hs I I, I, Weight
g
With handle 575 32(314~326) 46 10 51.0 32 25 17.5 320
With handle 78.1 45 (44,1~459) 63 13 69.5 40 32 215 710
Without handle 575 32(31,4~326) 46 10 51.0 32 25 17.5 295
Without handle 78.1 45 (44,1~459) 63 13 69.5 40 32 215 660
With handle 575 32(314~326) 46 10 51.0 32 25 175 320
With handle 78.1 45 (44,1~459) 63 13 69.5 40 32 21.5 710
Without handle 57.5 32 (31,4~326) 46 10 51.0 32 25 17.5 295
Without handle  78.1 45 (44,1~459) 63 13 69.5 40 32 215 660
Clamping Handle
force Clampi load
dg ds de d; M 2 Wi krl\cl mechaF:ir;iﬁ l?l
max. max.
18 M 4x0,7 Depth 8M 6x1,0M 5x0, 73 7 14 0.8 Spiral Cam, 4° 150
8
25 M 6x1,0 Depth M 8x1,2M 6x1, 107 8 16 1.2 Spiral Cam, 4° 200
12 5 0
18 M 4x0,7 Depth 8M 6x1,0M 5x0, 73 7 14 0.8 Spiral Cam, 4° 150
8
25 M 6x1,0 Depth M 8x1,2M 6x1, 107 8 16 1.2 Spiral Cam, 4° 200
12 5 0
18 M 4x0,7 Depth 8M 6x1,0M 5x0, 73 7 14 0.8 Spiral Cam, 4° 150
8
25 M 6x1,0 Depth M 8x1,2M 6x1, 107 8 16 1.2 Spiral Cam, 4° 200
12 5 0
0333 207 4497 sales@wixroyd.com

109

ADJUSTABLE VERTICAL CLAMPS



Swing Clamps

Clamping Handle
force Clampin load
Order No. l, d, d, dy d, dy g d, o, oW N it N
max. max.
12564.W0131 15 30 30 20 18 M 4x0,7 Depth 8M 6x1,0M 5x0, 73 7 14 0.8 Spiral Cam, 4° 150
8
N 12564.W0141 20 40 38 25 25 M 4x1,0 Depth 8M 8x1,2M 6x1, 107 8 16 1.2 Spiral Cam, 4° 200
o
= 5 0
9
&
=
3
b
o
>
=
3
workpiece
Fmax.ﬁ 3 12564.W0030 (:E:z‘:::’m
( S 12564 W0040 max 2 TkN
fixture plate
technical information
allowable loads in machining of werkpiece bottom

110 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Machineable Clamp Arms

for use with 12564.W0030 - .W0141

[ Lag d, spring plunger

Rl
W i =t

ADJUSTABLE VERTICAL CLAMPS

Y
“ 12564.2
-
h1 :':"?i‘:‘% i:.:{
Material Clamping force and strain during clamping
Steel (C45), black oxide finish. denote values gained when the maximum

Technical Notes allowable load is applied to the handle.

Clamp arm length denotes L, dimensions.

Order No. h, I Iy d, d, W, To suit clamp 12564 Weight of clamping prd. Weight
g g
max.
12564.W0430 12 45 60 10 M 4 30 \WO003x and .W013x 100 150
12564.W0440 16 55 75 16 M5 40 W004x and .W014x 100 330

12 06 =
_ 1 1 =
£ 10 1 \ 05 =1 1
3
K

g 08 \ E
o 08 - < 04 I
g 07 I 5
H 12564 W003X and
T 06 1 03
s | LN 12564 W003X and JZEES IR
12584 WO13X
0 [
3235 40 45 50 55 3235 40 45 50 55
clamg arm length (mm) clamp arm length {mm)
camp arm length Vs damping force clamp arm length Vs strain during dlamping

note:
camp arm length denoles |, dimensions below

clamping force and strain during camping denote values gained
when the max, allowable load is appied o the handle

iR Wixroyd 0333 207 4497 sales@wixroyd.com 111

AN ESSENTRA COMPANY



Standard Handles

for use with swing and pull clamps

SdWVY1) TYIILY3IA 318YLISNCay

12564.3

female thread

dg ls I3 I
- -

Y
of BT

adaplor

Material

Handle: steel (C45), black oxide finish.
Ball knob: ABS resin, black.

Shaft: steel (C45), tempered and black
oxide finish.

Order No.

12564.W0630
12564.W0640
12564.W0631
12564.W0641
12564.W0632
12564.W0642

112

Type Iy

Male Thread 59
Male Thread 89
Female Thread 51
Female Thread 79
Adaptor -
Adaptor -

Wixroyd

AN ESSENTRA COMPANY

1 I l, Iy d, d, d,

5 - 8 20

6 - - 10 25

11 - - 13 20 6

13 - - 15 25 8
8 10 5 8 - -

wixroyd.com

d, ds
M 5x0,8
M 6x1

6 M 5x0,8

8 M 6x1




Adjustable Torque Handles

for use with swing and pull clamps

Iy
AF T

- -

!
- - = -

'-"._ dy

~ = = g
@ « sl &3
' L:T'__ S L

!
-
b _h
-

@

oy

Iocking nut r

muake theaad

Tamale (hread

-

-
L}
- -

(i ©

tacking rut

adapter

12564.4

ADJUSTABLE VERTICAL CLAMPS

Material

Stem, handle: steel (C45), tempered and

black oxide finish.

Locking nut: steel (C45), black oxide

finish.

Technical Notes

allows the torque to be set to a desired

clamping force.

Turning the set screw inside the handle

Order No. Type

12564.W0730 Male Thread 89,5 60
12564.W0740 Male Thread 119,0 84
12564.W0731 Female Thread 80,0 60
12564.W0741 Female Thread 107,0 84
12564.W0732 Adaptors 245 6
12564.W0742 Adaptors 300 7

185 65 55
230 80 65
11,0
13,0
185 65 55 10
230 80 65 12

g

90
140
70

d, dj d, ds de A/F  Load setting Weight
range
N

8 M 5x0,8 M 5x16 12 30-120
10 M 6xl M 6x20 14 30-160

6 M 5x6 M 5x5 30-120

8 M 6x20 M 6x6 30-160
8 M 5x0,8 30-120
10 M 6x1 30-160

Turning the setscrew inside the handle allows adjusting the torque to set a desired clamping force.

load-setting distance
- -

T

hex. socket setscrew  Nancle

Note : ensure that the operating load is not
set below the lower limit to prevent the
handle from returning to the unclamping
position due to shock load generated
during the transfer of machine pallats.

the desired cl

15", See the

setto

when the handle folds approximately

the information on oparating load vs.
clamping force

Note : Ensure that the handle is

operaling load

lamping force is reached

page of each damp for

~

horizontal folding

locking nut

fold horizontally.

plug-in handle installation

plug-in handle

mating face

locking nut

When coupling the handle with
the adaptor.ensure that the handle
has full contact with the adaptor's
mating face. Secure the handle to

Note :

When installing the adaptor,
ensure that the mating face
is set horizontally the adaptor using the lockingscrew
if necessary

bﬂ Wixroyd

AN ESSENTRA COMPANY

0333 207 4497

sales@wixroyd.com

113



Miniature Down Thrust Clamps

swivelling

rl

—
hy adjustable clamping lever
M8 with axial bearing
1

12601.W0024 with adjustable lever

with clamping screw M8 - A/F 13

h.: 2 tightening torgue max. 10Nm

12601.W0025 with hex, head

SdWVY1) TYIILY3IA 318YLISNCay

i | .
bl 4 - adjustable eccentric

. 2 stroke 1.0 : quick clamp M8
1 T P
i e B B
- - I
[ R

12601.WO0026 with eccentric lever

Material components. The 10mm wide nose allowsa  Tips
Steel case-hardened, blackened and very small clamping footprint. For suitable T-nuts can be supplied in any M8 sizes, see
ground. self-aligning pads (if required) see no. no. 24000.

34100.

Technical Notes
Ideally suited for clamping small

Order No. Type Clamping Clamping Stroke d; d, w;, w, h, h, hy h, hg | I, 13 1, Weight
height h;, height h; min. max. g
min. max.
12601.W0024  with adj. clamping lever 30 35 5 25 M8 26 10 44 49 10 60,0 495 35 28 74 363
12601.W0025 with hex. head 30 35 5 25 M8 26 10 44 49 10 69 495 35 28 215
12601.W0026  with ecc. clamping lever 30 35 5 25 M8 26 10 44 49 10 350 20,5495 35 28 82 340

114 L‘, Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Compact Down Thrust Clamps

swivelling

....

10 kN =

&

i R
P e

ol

i
W
2!

LR
ha stroke 1.5 |}
o=
‘.l double eccentric lever

24000

I

- -

eccentric , /T3

with eccentric lever

with clamping screw M12 - A/F 18
tightening torque max. 60Nm

12602

L]
h,
Lraan|

with hex. head

Material
Steel case-hardened, blackened and
ground.

Technical Notes
For heavy-duty clamping applications

T-nuts removable. For other T-nut sizes
please refer to no. 24000.

where space and height are limiting
factors.

Tips
Often used for clamping of injection mould
tools and the like.

Order No. Type

12602.W0034  With Eccentric Clamp Lever
With Hex. Head Bolt

12602.W0035

Wixroyd

AN ESSENTRA COMPANY

Clamping Clamping Stroke d; d, w; w, h, h, hy h, | I I3 Weight
height h;  height h; min. max. g
min. max.
25 30 5 44 M12 42 18 54 59 15 28 61 40 100 1022
25 30 5 44 M12 42 18 54 59 15 13 61 40 708
0333 207 4497 sales@wixroyd.com 115

ADJUSTABLE VERTICAL CLAMPS




Down Thrust Clamps

swivelling

T adnates rrvpeng ever

N ot CTng e

i clampng scrves W12 AT 18
| g Sghamng lomus ma @

T dntie pecmmnc e

SdWVY1) TYIILY3IA 318YLISNCay

Material not be exceeded. clamp arm away from component.
Steel case-hardened, blackened and Use of positioning ring 12603.W0350 Positioning ring no. 12603.W0063, and its
ground. increases height h, by 7mm and reduces integral stop, provides repeated accuracy

Technical Notes stroke by 7mm. of the clamping position.
. . . . * Part no. 12603.W0063 has a M16 SAFETY: base of the clamping cylinder
Clamping height increased with the addi-
. . .o . threaded stud. must make full surface contact.
tion of height adjusting cylinders no. T-nuts removable. For other T-nut sizes
12605.W0125-.W0167 and reduced with Tips ’

please refer to no.24000.

self-aligning pads nos.34100 or 34120.
Maximum clamping height (h, max.) must

Offers rapid manual clamping with easy
removal of workpieces through rotation of

Order No. Type Stroke  d d, ds d, ds w, w, W, h, h,  Weight
min. max. g

12603.W0050  With Adj. Clamping Lever 20 40 M12 M12 - - 40 17 - 50 70 1194
12603.W0053  With Adj. Clamping Lever 30 40 M12 M12 - - 40 17 - 68 98 1359
12603.W0056  With Adj. Clamping Lever 40 40 M12 M12 - - 40 17 - 95 135 1639
12603.W0051 With Hex. Head 20 40 M12 M12 - - 40 17 - 50 70 876
12603.W0054 With Hex. Head 30 40 M12 M12 - - 40 17 - 68 98 964
12603.W0057 With Hex. Head 40 40 M12 M12 - - 40 17 - 95 135 1300
12603.W0061 With Hex. Head 35 60 M12 M12 - - 44 17 - 100 135 2695
12603.W0063 With Hex. Head * 35 60 Ml6 Ml6 - - 53 24 - 100 135 2939
12603.W0052  With Ecc. Clamping Lever 20 40 M12 M12 - - 40 17 - 50 50 1213
12603.W0055  With Ecc. Clamping Lever 30 40 M12 M12 - - 40 17 - 68 70 1370
12603.W0058  With Ecc. Clamping Lever 40 40 M12 M12 - - 40 17 - 95 98 1585
12603.W0060  With Ecc. Clamping Lever 35 60 Ml12 M12 - - 40 17 - 100 135 3015
12603.W0350 Positioning Ring - - - - 28 5 - - 35 7 - 32

Order No. h h, h h I I I I A/F

min. max. 3 4 1 2 3 4
12603.W0050 73 93 15 82 75 55 43 108 36
12603.W0053 91 121 15 82 75 55 43 108 36
12603.W0056 118 158 22 82 75 55 43 108 36
12603.W0051 73 93 15 13 75 55 43 108 36
12603.W0054 91 121 15 13 75 55 43 108 36
12603.W0057 118 158 22 13 75 55 43 108 36
12603.W0061 123 158 98 13 95 65 53 - 36
12603.W0063 123 158 98 16 99 69 53 - 36
12603.W0052 50 50 15 73-93 75 55 43 108 36
12603.W0055 73 93 15 28 75 55 43 108 36
12603.W0058 91 121 22 28 75 55 43 108 36
() .
116 75 Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Down Thrust Clamps

swivelling

h, h,

Order No. mia. . hy h, I I, I3 Iy A/F
12603.W0060 123 158 98 28 95 65 53 100 36
12603.W0350 16 - - - 435 175 - - -

ADJUSTABLE VERTICAL CLAMPS

M Wixroud 0333 207 4497 sales@wixroyd.com 117

AN ESSENTRA COMPANY



Height Adjusting Cylinders

for down thrust clamps 12603

- dz — - d? -
v
- T N\ Lo %
g A s
z : !
= 3 v '
’E hys0.01 ’_g [ hg hy0.02
m I~ l
= i
3 \: e
@ ‘=4
=
312605 N
%
A i T DIN 913 "
(interchangeable)
- a‘ - - dr -
typa cne type two
Material Technical Notes general height setting and supporting
Steel case-hardened, blackened and Increase clamping height for down-thrust elements.
ground. clamps, alternatively can be used as
Order No. Type d; d, h, h, hy A/E Weight
tol. h9 +0.01 g
12605.W0125 One 25 M8 20 10 - 22 71
12605.W0126 One 25 M8 40 20 - 22 139
12605.W0127 One 25 M8 80 20 - 22 292
12605.W0140 One 40 M12 35 20 - 36 319
12605.W0141 One 40 M12 70 20 - 36 644
12605.W0142 One 40 M12 140 20 - 36 1325
12605.W0145 One 40 M16 35 20 - 36 318
12605.W0146 One 40 M16 70 20 - 36 634
12605.W0147 One 40 M16 140 20 - 36 1307
12605.W0160 One 60 M12 35 20 - 55 755
12605.W0161 One 60 M12 70 20 - 55 1460
12605.W0162 One 60 M12 140 20 - 55 3034
12605.W0165 One 60 M16 35 20 - 55 438
12605.W0166 One 60 M16 70 20 - 55 1493
12605.W0167 One 60 M16 140 20 - 55 3016
12605.W0241 One 70 M24 50 25 - 65 1310
12605.W0242 One 70 m24 100 25 - 65 2682
12605.wW0243 Two 90 M24 200 35 50 65 8655
12605.W0244 Two 90 M24 300 35 50 65 13617

118 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Height Adjusting Cylinders

for down thrust clamps 12603

ADJUSTABLE VERTICAL CLAMPS

M Wixroud 0333 207 4497 sales@wixroyd.com 119

AN ESSENTRA COMPANY



Down Thrust Clamps

retractable

adjustable clamping
lever M12 with axial
bearing 74470

type one - axial bearing handle

with clamping screw M12
-AJF 18 tightening torque

hg ' max G0Nm

type two - hex head screw

SdWVY1) TYIILY3IA 318YLISNCay

double eccentric
lever 18580

type three - accentric lower handle

Material increases height h, by 7mm and reduces Tips

Steel case-hardened, blackened and stroke by 7mm. Offers quick manual clamping by use of

ground Operation: clamping screw/lever. Compact design and
Push clamp jaw back. Insert workpiece to height adjustable.

Technical Notes

A . fixture. Push clamp jaw forwards, adjust Used with:
Use when swivelling of clamp is not o .
. . . . position with knurled clamp screw, lock 24000 T-nuts
possible, horizontal retraction available, . e
. off. Apply clamping pressure. 12603.W0350 positioning ring.
see |, min - [, max.
Use of positioning ring 12603.W0350
Order No. Type Stroke s; d, d, w, w, h, h, h, h, Weight
min. max. min. max. g
12608.W0083 One 20 40 M12 30 13 70 90 95 115 1400
12608.W0086 One 30 40 M12 30 13 88 118 113 143 1560
12608.wW0084 Two 20 40 M12 30 13 70 90 95 115 1070
12608.wW0087 Two 30 40 M12 30 13 88 118 113 143 1240
12608.W0085 Three 20 40 M12 30 13 70 90 95 115 1400
12608.W0088 Three 30 40 M12 30 13 88 118 113 143 1560
Order No. hy h, hg m||1n mléx I m||3n mlgx Iy A/F
12608.wW0083 15 20 82 38 55 30 90 107 108 36
12608.W0086 15 20 82 38 55 30 90 107 108 36
12608.wW0084 15 20 13 38 55 30 90 107 - 36
12608.w0087 15 20 13 38 55 30 90 107 - 36
12608.w0085 15 20 28 38 55 30 90 107 100 36
12608.W0088 15 20 28 38 555 30 90 107 100 36
o . )
120 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Down Thrust Clamps

retractable

ADJUSTABLE VERTICAL CLAMPS

M Wixroud 0333 207 4497 sales@wixroyd.com 121

AN ESSENTRA COMPANY



Cam Action Push Clamps

12618

anti-clockwise clamping

I-—W3 - d
ds 1

o '
'hz hz# i
i

ls Iy —

clockwise clamping

- unclamping
clamping end bl B e 4 position
dy 19T
. by i
3 | -
) : v
o ~y throw i | | a] | 90° 1
180° '
S X O ——3) e bl & o %) w
c 7 ' 180° v
ﬁ Q 90° Y Y o] l T4 throw
’CE - recommended I 1 recommended
L unclamping - % clamping —-—— clamping
E position 3 position I3 kb (°% position
= clamping end
o
=
=
o
o
=
=
]
)

Material Piston/pin: steel (C45), tempered and Technical Notes
Steel (35CrMo), heat treated, black oxide black oxide finish. The tapped hole in the piston allows a pad
finish, precision ground. Cam handle: steel (42CrMo), tempered and to be fitted to the clamp.
Body: steel (C45), black oxide finish. black oxide finish.
Order No. Clamping direction  Clamping stroke s; d, d, d, W, Wy W3 W, hy Weight
g
12618.W0008 Clockwise 1.2 8 45 M 4x0,7 Depth 8 40 20 7 30 25 130
12618.W0012 Clockwise 1.6 12 6.6 M 6xl Depth 12 55 26 10 40 ES 350
12618.W0108 Anti Clockwise 1.2 8 45 M 4x0,7 Depth8 40 20 7 30 25 130
12618.W0112 Anti Clockwise 1.6 12 6.6 M 6xl Depth 12 55 26 10 40 33 350
Handle load Clamping force
Order No. h, hs I [ I3 Iy Is r N kN Clamping mechanism
max. max.
12618.W0008 13 6 36 20 13 14 6 40 80 0.9 Spiral Cam, 4°
12618.W0012 18 10 50 28 19 20 9 63 150 2.4 Spiral Cam, 4°
12618.W0108 13 6 36 20 13 14 6 40 80 0.9 Spiral Cam, 4°
12618.wW0112 18 10 50 28 19 20 9 63 150 2.4 Spiral Cam, 4°
.
cam handle
Cap screws
tuming the handle in the clamping direction lets the cam work to project the piston for clamping
turning the handle back lets the spring work to retract the pistan for unclamping
o . )
122 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Retractable Clamps
with adjustable handle

ADJUSTABLE VERTICAL CLAMPS

Material black oxide finish. values in brackets shows clamping height
Body/spindle: steel (C45), tempered and range. Screw clamping mechanism allows
black oxide finish. for longer clamping stroke and greater
Arm/joint: steel (35CrMo), tempered and clamping force.

Tips
Clamping height can be adjusted. The

Order No. h, h, hs h, hs he I I I3 ly Weight
g
12610.W0006 81 45 10 240 8 47 18 255 20 25 242
12610.W0008 100 55 12 30.5 10 63 22 32.0 25 31 490

Han Clamping Clamping Clamping Clamping Cla Cla Cla

dle height height height height - _mpingmping
Order No. Is le row, w, wy; w, wy; d; load finished finished rough rough ZEAEE force mec
N surface surface surface  surface kN hani
max. min. max. min. max. 1 max. sm
12610.W0006 16 11 40 42 26 22 32 M 55 170 32 40 35 43 25 24 Screw
6x1 (32,0~29, (40,0~37, (35,0~3 (43,0~4
5) 5) 2,5) 0,5)
12610.W0008 20 14 65 52 32 28 40 M 65 210 37 48 42 53 3.5 4.2 Screw
8x1, (37,0~33, (48,0~44, (42~38, (63,0~4
25 5) 5) 5) 9,5)
o | .
R Wixroyd 0333 207 4497 sales@wixroyd.com 123
AN ESSENTRA COMPANY



Adjustab Retractable Clamps

Vertical Clamps with adjustable handle
F

adjustable handle

SdWVY1) TYIILY3IA 318YLISNCay

1. unclamped 2. clamping setup . clamping
load a workpiece set the arm in clamping tighten the adjustable handle
position holding it at the to clamp the werkpiece
arm pivot. (for unclamping, follow the

above steps back)

124 L‘, Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Retractable Clamps

with eccentric handle

TS
L] F—j’@/

ek
unclamping " 2
e clamp stating position
- recommended
o o o dge | clomping postion
II':?? e 135 -
1 ag Ny
L By
_EJ L L| o

hetng T = e
vl :mﬁ&?}@u :‘;;7@@"; B

-"“L" L '&_"// S\ .

- A= 12610.2

elamped clamping range

ADJUSTABLE VERTICAL CLAMPS

S S

- SR
S I (<),

b-»ghl' | ELEE |

rough Baace  finished surface
contiet contact

Material black oxide finish. values in brackets shows clamping height
Body/spindle: steel (C45), tempered and Tips range.
black oxide finish. P

Arm/joint: steel (35CrMo), tempered and Clamping height can be adjusted. The

Order No. h, h, hs h, hs he I I I3 ly Weight
g
12610.W0106 89 45 10 24.0 8 50 18 25.5 20 25 244
12610.W0108 109 55 12 30.5 10 63 22 32.0 25 31 468
Han Clamping Clamping Clamping Clamping Cla Cla Cla or
dle height height height height .~ _mpingmping V”
Order No. Is e w, w, w3 w, wy d; load finished finished rough rough P& force mec _,2
N surface surface surface  surface stroke kN hani stroke
s
max. min. max. min. max. 1 max. sm 2
12610.W0106 16 11 42 26 22 32 M 55 100 32 40 35 43 1.0 0.7 Spiral 1.5
6x1 (31,5~32, (39,5~40, (34,5~3 (42,5~4 Cam,
5) 5) 5,5) 3,5) 4°
12610.W0108 20 14 52 32 28 40 M 65 150 37 48 42 53 1.2 1.1 Spiral 1.8
8x1, (36,4~37, (47,4~48, (41,4~4 (52,4~5 Cam,
25 6) 6) 2,6) 3,6) 4°
o . o .
R Wixroyd 0333 207 4497 sales@wixroyd.com 125
AN ESSENTRA COMPANY



Adjustab Retractable Clamps

Vertical Clamps with eccentric handle
8

SdWVY1) TYIILY3IA 318YLISNCay

arm pivot

1. unclamped 2. clamping setup 3. clamping

load a workpiece sel the arm in clamping set the handle down to
position holding it at the clamp the workpiece
arm pivot. (for unclamping, follow the

above steps back)

126 L‘, Wixroyd wixroyd.com

AN ESSENTRA COMPANY



W, lever-arm mounting holes
(angle between 2 holes : 90°)
(4 eptions of mounting position)
- - f - clamping position
- 2 -

unciamg position

Iy

-
il e
a1 o | S
s l=d

bilua arrow for Eght-duty 1
black arrow for heavy-duty g3

elamping position

clamping bar - -
{to be ordered seperately)

anti-clockwise

12615

Material

Body/lever arm: steel (C45), black oxide

finish.

Cam: steel (C45), carburized-hardened,
black oxide finish.

Handle: phenolic plastic, black matt. Clam-
ping handle is not included.

clamping applications.

Spring-loaded clamp that provides
constant clamping force.

Long clamping-bar projection range allows
clamping of a recessed part.

When using your own clamping bar, ensure
that the diameter is finished to a H9 or

Tips

When a reaction force (F) becomes greater

than clamping force, the clamping bar
slides back, unclamping the part.

Technical Notes better tolerance.
Can be used in both vertical and horizontal
Order No. Type Clamping direction d, d, dy d, h, h I, I Weight
g
12615.W0008 Light Duty Clockwise 26 20 8 14 28 68.5 53 8 330
12615.W0012 Light Duty Clockwise 36 30 12 21 40 90.7 72 12 930
12615.W0208 Light Duty Clockwise 26 20 8 14 28 68.5 53 8 330
12615.W0212 Light Duty Clockwise 36 30 12 21 40 90.7 72 12 950
12615.W0108 Heavy Duty Anti Clockwise 26 20 8 14 28 68.5 53 8 330
12615.W0112 Heavy Duty Anti Clockwise 36 30 12 21 40 90.7 72 12 930
12615.W0308 Heavy Duty Anti Clockwise 26 20 8 14 28 68.5 53 8 330
12615.W0312 Heavy Duty Anti Clockwise 36 30 12 21 40 90.7 72 12 950
Handle Clamping Clamping releasing
Order No | | . w w w w Clamping stroke load force force
. 4 5 1 1 2 3 5, N kN N
max. max.
12615.W0008 8 28 80 57 45 M6xl (Pre-drill52) M 1.5 40 0.2 F>0,2
5x0,8
12615.W0012 12 50 132 85 65 MI10x1,5 (Pre-drill M 6x1 23 100 0.7 F<0,7
8,5)
12615.W0208 8 28 80 57 45 M6xl (Pre-drill52) M 1.5 80 0.5 F>0,5
5x0,8
12615.W0212 12 50 132 85 65 MI10x1,5 (Pre-drill M 6x1 23 150 14 F>1,4
8,5)
12615.W0108 8 28 80 57 45 M6xl (Pre-drill52) M 15 40 0.2 F>0,2
5x0,8
12615.W0112 12 50 132 85 65 M10x1,5 (Pre-drill M 6x1 23 100 0.5 F<0,7
8,5)
12615.W0308 8 28 80 57 45 M6xl (Predrill52) M 15 80 0.5 F>0,5
5x0,8
o . . )
R Wixroyd 0333 207 4497 sales@wixroyd.com 127
AN ESSENTRA COMPANY

ADJUSTABLE VERTICAL CLAMPS




Vertical Acting Thrust Clamps

Handle Clamping Clamping releasing

Order No. Iy ls r w;W, W, Clampizg stroke Io'\a‘d f(i(r'\c‘e force
' max. max. KN
12615.W0312 12 50 132 85 65 MI10x1,5 (Pre-drill M 6x1 2.3 150 1.4 F>1,4
8,5)

unclamping position

1. unclamped
load o unioad a part

SdWVY1) TYIILY3IA 318YLISNCay

2. clamping setup
project the clamping bar
until it contacts the part.

3. dlamping
turn the lever handle (120°)
o the clamging positicn.

clamping bar

operation of ow type
(Invert the operation for cow typs.|

128 L‘, Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Horizontal Thrust Clamps

Wy handie-mounting holes
(provided every 90* angle)
{4 options of mounting position)

unclamping position clamping position
- - 120°

- - »

'} =) 5
i 7307
Wi w; d,! @ "d,
() 7 !
L F l,

clockwise clamping

dy A

~
blue arrow for light-duty |
black afrow for heavy-duty =

ADJUSTABLE VERTICAL CLAMPS

clamping position i . -
¢, unclamping position
a ‘-‘f_\r p; 120 N . 12616.1
it ‘-pﬂ:lecn;loon.w: 4 .
il ¥ '
n,' 'y h?l 1
) clamping bar i
-y {to be ordered separately) hy
TR anti-clockwise clamging
Material clamping applications. Tips
Body/lever arm: steel (C45), black oxide Spring-loaded clamp that provides When the applied u-clamp force (F)
finish. constant clamping force. becomes greater than clamping force, the
Cam: steel (C45), carburized-hardened, Long clamping-bar projection range allows clamping bar slides back, unclamping the
black oxide finish. clamping of a recessed part. part.
Handle: phenolic plastic, black matt. When using your own clamping bar, ensure
. that the diameter is finished to a H9 or
Technical Notes better tolerance
Can be used in both vertical and horizontal )
Order No. Type Clamping direction d, d, d; d, ds h, h, hs Weight
g
12616.W0008 Light Duty Clockwise 28 26 8 5.5 14 32 18 8 330
12616.W0012 Light Duty Clockwise 40 36 12 9.0 21 45 25 12 910
12616.W0208 Heavy Duty Clockwise 28 26 8 5.5 14 32 18 8 330
12616.W0212 Heavy Duty Clockwise 40 36 12 9.0 21 45 25 12 910
12616.W0108 Light Duty Anti Clockwise 28 26 8 5.5 14 32 18 8 330
12616.W0112 Light Duty Anti Clockwise 40 36 12 9.0 21 45 25 12 910
12616.W0308 Heavy Duty Anti Clockwise 28 26 8 5.5 14 32 18 8 330
12616.W0312 Heavy Duty Anti Clockwise 40 36 12 9.0 21 45 25 12 910
Handle  Clamping Cl ) leasi
Clamping stroke  load force amping releasing
Order No. I Iy [N A s le rrooow, W, Wy S N KN force
' max. max. KN
12616.W0008 685 40 13 14 20 28 &80 54 40 M 5x0, 1.5 40 0.2 F>0,2
8
12616.W0012 93.7 55 20 20 30 50 132 80 60 Mexl 23 100 0.7 F>0,7
12616.W0208 685 40 13 14 20 28 80 54 40 M 5x0, 1.5 80 0.5 F>0,5
8
12616.W0212 93.7 55 20 20 30 50 132 80 60 Méexl 23 150 1.4 F>1,4
12616.W0108 685 40 13 14 20 28 &80 54 40 M 5x0, 1.5 40 0.2 F>0,2
8
12616.W0112 93.7 55 20 20 30 50 132 80 60 M eéxl 2.3 100 0.7 F>0,7
o . . )
R Wixroyd 0333 207 4497 sales@wixroyd.com 129
AN ESSENTRA COMPANY



. Handle  Clamping Clamping releasing
Order No | | | | | | r w w Clamping stroke  load force force
" 1 2 3 4 5 6 1 1 2 s N kN KN
max. max.
12616.W0308 685 40 13 14 20 28 80 54 40 M 5x0, 1.5 80 0.5 F>0,5
8
M 12616.W0312 937 55 20 20 30 50 132 80 60 Méexl 23 150 14 F>1,4
o
c
9
&
=
3
b
— clamping
'Q position
=
= g
3
unclamping
position
1. unclamped 2. clamping setup 3. clamping
load or unload a part project the clamping bar turn the lever handle (120°)
until it contacts the part ta the clamping position
operation of cw type
(invert the operation for cow type)
o] o ® X
130 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Handles For Thrust Clamps

for 12615 & 12616

n--NF-q dy — h — b - %
d; 51
Y 'a_ E
"a‘ =) 1 o
12616.2
s }
5
Material Tips
Arm: steel (C45), chrome plated. Can be used with part no’s 12615 and
Ball knob: ABS resin black. 12616.W0008- .W0312.
Order No. d, d, dg h Iy A/F Weight
g
12616.W0810 M 4x8 20 8 100 19 7 50
12616.W0812 M 4x8 20 8 125 19 7 60
12616.W0815 M 4x8 20 8 150 19 7 70
12616.W1212 M 6x12 25 12 125 24 10 130
12616.W1215 M 6x12 25 12 150 24 10 150
12616.W1220 M 6x12 25 12 200 24 10 190

12615 and 12616 thrust clamps
can be cut shorter to a desired length

M Wixroud 0333 207 4497 sales@wixroyd.com 131

AN ESSENTRA COMPANY



SdWVY1) TYIILY3IA 318YLISNCay

Floating Clamps M12

combined clamping and locking

12660.1

M12 tightening lorques
min 15 Nm - supporting force 2 kN
max 30 Nm - supporting force 8 kN 2

AF 18

3 x AF 2.5 adjustment =
of height abutment and
swivelling range

AJF 46
M12 DIN 813
(imerchangeabée}

24000 M12 x 14

[
T

7s 1
i Ty

clamping jaws
interchangeable

46

7~V
W O5T

-
360° rolatian

regulating distance
102-112

awivelling after assembly

dimansions for the design of your own damging jaws.

Material

Body: steel case-hardened, nitrided,
blackened and ground.

Clamping jaws: steel case-hardened,
nitrided, blackened.

Housing: aluminium, red anodised.

Technical Notes

Used to clamp and support additional
clamping points on components, whilst
minimising distortion in the clamping of
components. It also serves to reduce vibra-
tion during machining.

Tips
Alternative clamping jaws available, see

part 12660.W0050 to W0058 and 12660.
W0148 to WO156.

The benefits of the floating clamp are:

* Avoids vibration during the processing

e Clamps ribs and flanges to reinforce
clamped components

* Distortion-free clamping of first op.
parts.

Assembly

1. Mount the floating clamp (M 12 connec-
tion thread) onto the device with a wrench
(A/F 46).

2. Adjust the height limit stop and the
rotating area with the red sleeve and clamp
with a set screw (3 x A/F 2,5). When setting

the height limit, consider tolerance of
workpiece.

Operation

1. Push the floating clamp downwards.

2. Pivot the clamping jaws in as far as
possible. The floating clamp contacts the
bottom of the workpiece with a slight
spring load.

3. Tighten the floating clamp with a hexa-
gonal nut (A/F 18) having a min. torque of
15 Nm and a maximum torque of 30 Nm. In
the clamping process, the workpiece is
clamped and simultaneously supported.

4. Releasing is donein reverse order.

Order No. Description
12660.W0012 Clamping & Support
o] H
132 5‘1 Wixroyd
AN ESSENTRA COMPANY

Clamping & support force
kN

max.

8

wixroyd.com

Clamping stroke Weight
g
0-12 2076




Floating Clamps M12

combined clamping and locking

ADJUSTABLE VERTICAL CLAMPS

iR Wixroyd 0333 207 4497 sales@wixroyd.com 133

AN ESSENTRA COMPANY



SdWVY1) TYIILY3IA 318YLISNCay

Compact Floating Clamps M12

combined clamping and locking

12660.2

with hexagon nut (AF 18)
min. 15 Nm = supporting force 2 kN
max. 30 Nm = supporting force & kN

L
AXAF25 m:x. ki
x 5 clamping
adjustment of Ty range
height abutment [ 'y .iz‘
and swivelling Y
range -— Y
.'" i
26.8
Al

distance

150 4TEZ-ME
\J
175 Y
22!‘ 3 L
Y i

elamping jaws
interchangeable
12660.WO050 - WO156

380" rotates

swivalling after
assembly

dimensions for ths design of your own clamping jaws

Material

Body: steel case-hardened, nitrided,
manganese phosphate treated and ground.
Clamping jaws: steel case-hardened,
nitrided, manganese phosphate treated.
Housing: aluminium, red anodised.

Technical Notes

Used to clamp and support additional
clamping points on components, whilst
minimising distortion in the clamping of
components. It also serves to reduce vibra-
tion during machining.

Tips

Alternative clamping jaws available, see
part 12660.W0050 to W0058 and 12660.
WO0148 to W0156.

Floating clamp benefits:

Floating Clamp 12660.1 is used to clamp
and support over-determined points on a
component, offering the following bene-
fits:

1. No deformation in the clamping of
unstable components.

2. Eliminates vibration during machining.
3. Clamps on the smallest area to improve
clamping stability.

Installation of floating clamp on fixture:
1. Fix clamp on to machine bed with A/F 46
spanner. Clamp has 12mm connection
thread, select suitable T-nut for your
machine bed.

2. Adjust the clamp’s height limit stop and
rotating area with the red setting sleeve,
set sleeve position through tightening the
3 grub screws (A/F 2,5mm). When setting
the height limit, make generous allowance
for variation in workpiece tolerance.

Clamping process:

1. Push floating clamp downwards,

2. Pivot clamping jaws into component as
far as possible. Clamp will contact bottom
of component with a light spring pressure.
3. Tighten floating clamp with A/F 18mm
hex nut - torque to min. 15Nm, 30Nm max.
In the clamping process workpiece is
clamped and simultaneously supported.

4. To release, reverse steps 3to 1.

Order No. Description

12660.wW0008 Clamping & Support

134 bﬂ Wixroyd

AN ESSENTRA COMPANY

Clamping & support force
kN

max.

8

wixroyd.com

Clamping stroke Weight
g
0-12 1450




Support Jaws

for floating clamps M12

zis —
v Ti
213 h
22 3 0.1 '.0-2' 1 ' 1
T 02
i
ré
16.3 +0.1
- ' ‘
O 28
L L
- g Lama
12 +0.02 10
lower jaw

17501 g - 9
A, . Yi
V15507 ! o
A
2.5
;—umflz _-29.5.‘
Y i E. Y
15 —L J_ 28 E 15
LOS i
L 41,5 0.1 -11 5""'
upper jaw

*specifications and material of specially designed jaws has to be considered

12660.3

ADJUSTABLE VERTICAL CLAMPS

Material
Steel, case-hardened, nitrided.

Technical Notes
The clamping jaws can be used for floating
clamps 12660.W0008, 12662.W0010,

12660.W0012 and 12662.W0014

Tips

When using custom-made jaws it is
important to insert the tightening screw (M
8 grade 12,9, 43Nm) 10mm deep into the

clamp housing on the upper clamping jaw
and 9mm deep into the clamp housing on
the lower clamping jaw.

Order No. Type
12660.W0050 Lower Jaw
12660.W0052 Upper Jaw

bﬂ Wixroyd

AN ESSENTRA COMPANY

Clamping range hy Weight
-0.1 g
- 26.8 83
0-12 21 69
0333 207 4497 sales@wixroyd.com 135



SdWVY1) TYIILY3IA 318YLISNCay

Clamping Jaws

for floating clamp M12

“ . ' 2-15Ii
T

type one - upper jaw type two - upper jaw

12660.4

type four - upper jaw type five - upper jaw

5.8
-

i
328 ?4.5
v, i

Ty Si - lowar jaw

s i
@ ush ! i35 s
1R s 1 ] 145 Y Y
' i

type: three - upper jaw

Material

Ball: steel ball-bearing
Clamping jaws: steel case-hardened,

nitrided.

Technical Notes

lower jaws for floating clams. The tighte-
ning torque of the floating clamp must be
adapteddependet on condition. Note the
surface pressure due to the reduced
contact surface of the clamping jaws.

A selection of the alternative upper and

Important Notes

The clamping jaws can be used for floating
clamps 12660.W0008, 12662.W0010,
12660.W0012 and 12662.W0014.

Order No. Type
standard lower jaw 12260.W0050
12660.W0054 Upper Jaw (Type One) 4-16
12660.W0056 Upper Jaw (Type Two) 15-27
12660.W0058  Upper Jaw (Type Three) 26-38
12660.W0154 Upper Jaw (Type Four) 29
12660.W0156 Upper Jaw (Type Five) 40
12660.W0148 Lower Jaw (Type Six)
LN DINTEOAND eg. ball-ended thrust sorew
@ Y oi1-23 - MB
I clamping 48 clamping jaws -
=R range iy T interchangeable | v I
NTe Pegating 3 5. i ﬁ 7L
distance iy 9 328
T [
4 \
IS0 4762-M8
o . .
136 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY

Clamping range of clamp in combination with Clamping range in combination with lower jaw Weight

12260.W0148 g
max.
91
88
130
23 83
34 112
98




Floating Clamps - Compact

combined clamping and locking

with hexagon nut (a/f 18)
mén. 15Hm = supporting force 2 kN
max. M) Nm = supporting fores 8 kN

2 clamping jaws
P LA interchangeable
012 T2660.W0 148 - WO156
axanzs Y ciamping
adjustmant of range
height abutment ') 12\ 3
and swiveling v
range m v

reguilating
dntance

T Fé — L T
12

s connection dimensions oot
I !
or special clamping jaws swiveling aftor
assembly

ADJUSTABLE VERTICAL CLAMPS

|
s GV J
i
??3‘ 6' :
] i

55
-

B
‘2-C-J!
i

Material

Body: case hardened steel, nitrided,
manganese phosphate treated and ground.
Clamping jaws: case hardened steel,
nitrided, manganese phosphate treated.
Housing: aluminium, red anodised.

Technical Notes
Used to clamp and support additional

clamping points on components, whilst
minimising distortion in the clamping of
components. It also serves to reduce vibra-
tion during machining.

Tips

The benefits of the floating clamp are:

- avoids vibration during the processing
- clamps ribs, beads and shackles to rein-

force clamped components

- distortion-free clamping of raw parts.
Compact version with reduced height.
Used with:

24000 T-Nuts

12660 Clamp Jaws - upper & lower

Order No. Description

12661.W0008 Clamping & Support

bﬂ Wixroyd

AN ESSENTRA COMPANY

Clamping & support force Clamping stroke Weight
kN g
max.
8 0-12 1450
0333 207 4497 sales@wixroyd.com 137



SdWVY1) TYIILY3IA 318YLISNCay

Floating Clamps M12

separate clamping and locking

12662.1

locking AJF 10 lightening torque
max 10Nm supporting foce BkN

heiding actuation L. i

M2 AF 18 tightening
torque max 15Nm
AF18
3IxAF 2.5 adjustment

af height abutment and [T
swiveling range

AF 46
M12 DIN 813
{interchangeable)

24000. M1Z2x 14

B L]
175 ¥
L

bg

|
+0.12
i

clamging jaws
interchangeabie

102912

dimensions for the design of your own clamping jaw

Material

Body: case hardened steel, nitrided and
ground.

Clamping jaws: case hardened steel,
nitrided.

Housing: aluminium, blue anodised.

Technical Notes

Used to clamp and support additional
clamping points on extremely pliable work
pieces, whilst minimising deformation of
component. It also serves to reduce vibra-
tion during machining.

Tips

Alternative clamping jaws available, see

part 12660.W0050 to W0058 and 12660.
W0148 to W0156.

Floating clamp benefits:

Floating clamp 12662.1 is used to clamp
and support over determined points on a
component, offering the following bene-
fits:

1. No deformation in the clamping of
unstable components.

2. Eliminates vibration during machining.
3. Clamps on the smallest area to improve
clamping stability.

Installation of floating clamp on fixture:
1. Fix clamp on to machine bed with A/F 46
spanner. Clamp has 12mm thread, select
suitable T-nut for your machine bed.

2. Adjust the clamp’s height limit stop and
rotating area with the blue setting sleeve,
set sleeve position through tightening the
3 grub screws (A/F 2,5mm). When setting
the height limit, make generous allowance

for variation in workpiece tolerance.

Clamping process:

1. Push floating clamp downwards.

2. Pivot clamping jaws into component as
far as possible. Clamp will contact bottom
of component with only light spring pres-
sure.

3. Tighten floating clamp with A/F 18mm
hex nut - torque to min. 15Nm, 30Nm max.
The jaws are clamping the workpiece, the
clamp is still floating.

4. Tighten hexagon collar with A/F 10mm
hex to max. 10Nm torque.

5. Clamping process is complete.

6. To release, reverse steps 5 to 1.

Order No.

12662.W0014

Wixroyd

AN ESSENTRA COMPANY

138

Type

Steel

wixroyd.com

Weight

1890




Compact Floating Clamps

separate clamping and locking

locking AJF 10
tightening lorques workholding M12 (AF 18)
k. 10 Nm 16.5 tightening torques max. 15 Nm
supporting force ™ 5 clamgping jaws

BN i intorchangeable

012 12660.W0050 - WO156
p.c.d @60

AxANF 25
adjustment of
height abutrment
and swivelling

range

12662.2

ADJUSTABLE VERTICAL CLAMPS

dimensions for the design of your own clamping jaws

Material Technical Notes Tips
Body: steel case-hardened, nitrided, Used to clamp and support additional Alternative clamping jaws available, see
maganese phosphate treated and ground. clamping points on extremely pliable work part 12660.W0050 to W0058 and 12660.
Clamping jaws: steel case-hardened, pieces, whilst minimising deformation of W0148 to W0156.
nitrided, maganese phosphate treated. component. It also serves to reduce vibra-
Housing: aluminium, blue anodised. tion during machining.

Order No. Description Clamping & support force Clamping stroke s, Weight

kN g
max.
12662.W0010 Clamping & Locking 8 0-12 1650
o . s )
R Wixroyd 0333 207 4497 sales@wixroyd.com 139
AN ESSENTRA COMPANY



SdWVY1) TYIILY3IA 318YLISNCay

Floating Clamps - Compact

separate clamping and locking

12663

locking af 10
lightening lorgues
max, 10 Nen

supporting force
BN =

2 9150 aT62-M8

4 e | - |
12 [i 1

connection dimensions
for special clamping jaws

IS0 4T62-M6
T
y i

223 5l

gt

012
¥ clamping
4xanzs - 8 s
adustment of 21
haight abutment b1 = T v
and swiveling i
range » i

workholding M12 (a/f 18)
tighbani

g torques max. 15 Nm

clamping jaws
interchangeable
12660.WO0148 - WO156

reguilating
dntance

s GV
[}
i
1

55
-

B

Material

Body: case hardened steel, nitrided, maga-
nese phosphate treated and ground.
Clamping jaws: case hardened steel,
nitrided, maganese phosphate treated.

clamping points on extremely pliable work
pieces, whilst minimising deformation of

component. It also serves to reduce vib
tion during machining.

force clamped components

- distortion-free clamping of raw parts.
Used with:

24000 T-Nuts

12660 Clamp Jaws - upper & lower

ra-

Tips

The benefits of the floating clamp are:

- avoids vibration during the processing
- clamps ribs, beads and shackles to rein-

Housing: aluminium, blue anodised.

Technical Notes
Used to clamp and support additional

Order No. Description Clamping & support force Clamping stroke Weight
kN g
max.
12663.W0010 Clamping and locking 8 0-12 1650
o . . .
140 h‘i Wixrouyd wixroyd.com
AN ESSENTRA COMPANY



Floating Clamps M16

combined clamping and locking

max. 261 54
-

1

3xAF3

1
range
AF 24 : T
L )
I x IS0 4TE2ME x 50 e i 129 :

T
57‘

\
2000
i

Ea v
1| s
ll-:j' i

-
9592 M8

W16 tightening torques.
min. 50 Nm - supporting force B kN
maz. 115 Nm - supporting force 25 kN.

- ABma gho0

clamping
clamping jaws inforchangoable

88
-

Lk

— “F '
=11/ I N iy WA . |
adjustment of =_-;1_/ \ w g @80 {lo @I“- O, 2
height abutment =% 1 5'_-_$l i
and swiveling | 22 v |k:¢/ i
rang - s *i3 [
& |- 2 - 360° rotation
AF 55 =, al ! : fi
f]i_‘lﬁ" %:u; :"&_ " swivelling aflor assombly
M16 DIN 513 x
(nterchangeatie) ™ 20

2 |

r\jj 24,
0]
€
s

-

dmansions fof the design of your awn clamping jaws

12664.1

ADJUSTABLE VERTICAL CLAMPS

Material

Body: steel case-hardened, nitrided and
ground.

Clamping jaws: steel case-hardened,
nitrided, maganese phosphate treated.
Housing: aluminium, red anodised.

Technical Notes

Used to clamp and support additional
clamping points on extremely pliable work
pieces, whilst minimising deformation of
component. It also serves to reduce vibra-
tion during machining.

Tips

Alternative clamping jaws available, see

part 12664.W0060 to W0066.
Floating clamp benefits:

Floating clamp 12664.1 is used to clamp
and support over-determined points on a
component, offering the following bene-
fits:

1. No deformation in the clamping of
unstable components.

2. Eliminates vibration during machining.
3. Clamps on the smallest area to improve
clamping stability.

Installation of floating clamp on fixture:
1. Fix clamp onto machine bed with A/F 46
spanner. Clamp has 16mm connection
thread, select suitable T-nut for your
machine bed.

2. Adjust the clamp’s height limit stop and
rotating area with the red setting sleeve,
set sleeve position through tightening the

3 grub screws (A/F 2,5mm). When setting
the height limit, make generous allowance
for variation in workpiece tolerance.
Clamping process:

1. Push floating clamp downwards.

2. Pivot clamping jaws in to component as
far as possible. Clamp will contact bottom
of component with only low spring pres-
sure.

3. Tighten floating clamp with A/F 24mm
hex nut - torque 50Nm, 115Nm max. In the
clamping process the workpiece is
clamped and simultaneously supported.
4. Torelease, reverse steps 3to 1.

Order No.

12664.W0016

bﬂ Wixroyd

AN ESSENTRA COMPANY

Type Weight
Steel 62g50
0333 207 4497 sales@wixroyd.com 141



Clamping Jaws M16

for floating clamp

) Y
y = =95 +0.2 i Y i h,
= h
] hoAnh. oo b D% #“' h:r"l ‘m h % i ' %‘
= y 1! Y vy Y
4 A
>
= 4
E type one type two type three type four
=
= i gegs Da
g 1 2 6 64 ° 2 - 133201 o
= i v V15 Y
@ 54 || .| 20 IC *20 +0.02
Y A o] i
‘r10 t
‘M8
Material Technical Notes
Steel case-hardened, nitrided, maganese For use with 12664.1 clamps. A selection of
phosphate treated. alternative clamping jaws.
Order No. Type Clamping range hy h, hg h, Weight
g
12664.W0060 1 10-25 29.0 40 333 27.6 402
12664.W0062 2 0-14 41.0 40 583 27.6 380
12664.W0064 3 23-28 21.6 45 38.3 32.6 435
12664.W0066 4 35-50 18.6 54 47.3 41.6 490
0-14 23-38 cl:l?!;:?g
minag  clamping min 54 clamping range
38 e UL Tt
‘-12 max. y 33 max.
[
1 I '
? | n
12664.W0084 12664 W0066
type 2 type 3 type 4
o . . )
142 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Plain Clamps

™~ | J o 10000

STANDARD MANUAL CLAMPING

- - -
I Iz
b} -
l
Material ()=Not to DIN standard. collar nuts, 25000 plain washer.
Steel, heat-treated and enamelled. .
Tips
Technical Notes Used with:
To DIN 6314. 21000 T-slot bolts, 24000 T-nuts, 24400
Order No. For bolt For bolt I Iy I3 Wy Wy W3 h, Weight
inch g
10000.w0007 M 6 1/4¢ 50 20 10 20 6.6 8 10 63
10000.wW0009 M8 5/16" 60 22 13 25 9.0 10 12 113
10000.w0011 M10 3/8* 80 30 15 30 11.0 12 15 226
10000.w0014 M12, M14 1/2¢ 100 40 21 40 14.0 14 20 490
10000.W0015 M12, M14 1/72* 125 50 21 40 14.0 14 20 621
10000.w0018 M1le, M18 5/8" 125 45 26 50 18.0 18 25 960
10000.w0019 M16, M18 5/8* 160 65 26 50 18.0 18 25 1240
10000.w0022 M20, M22 3/4¢ 160 60 30 60 22.0 22 30 1787
10000.w0023 M20, M22 3/4¢ 200 80 30 60 22.0 22 30 2237
10000.w0026 M24 1“ 200 80 g5 70 26.0 26 30 2580
10000.w0027 M24 1 250 105 35 70 26.0 26 35 3800
10000.W0034 M30 1-1/4* 250 100 45 80 33.0 34 40 4934
10000.W0035 M30 1-1/4* 315 130 45 80 33.0 34 50 7788
10000.wW0043 M36, M42 1-1/72* 400 150 100 100 (43.0) 43 60 15000

M Wixroud 0333 207 4497 sales@wixroyd.com 143

AN ESSENTRA COMPANY



Plain Clamps

ONIdWVTI TYNNYW QYVANYLS

144 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Step Clamps

STANDARD MANUAL CLAMPING

- - -
I3 2
o -
Iy
Material 14000). collar nuts, 25000 plain washer.
Steel, heat-treated and enamelled. .
Tips

Technical Notes Used with:

To be used with step blocks etc (part no.

21000 T-slot bolts, 24000 T-nuts, 24400

Order No.

10020.wW0007
10020.wW0008
10020.W0009
10020.w0010
10020.wW0011
10020.w0012
10020.wW0014
10020.W0015
10020.w0018
10020.wW0019
10020.W0022
10020.W0026

For bolt

For bolt
inch
1/4*
1/4“

5/16"

5/16“
3/8*
3/8*
1/2"
1/2¢
5/8"
5/8
3/4"

4

bﬂ Wixroyd

AN ESSENTRA COMPANY

I Iy I3 Wy W, W3
50 20 10 20 6.6 8
80 45 10 20 6.6 8
60 22 13 25 9.0 10
100 60 13 25 9.0 10
80 30 15 30 11.0 12
125 70 15 30 11.0 12
100 40 21 40 14.0 14
160 90 21 40 14.0 14
125 45 26 50 180 18
200 110 26 50 180 18
160 60 30 60 22.0 22
200 80 35 70 26.0 26

0333 207 4497 sales@wixroyd.com

Weight
55

100
180
200
350
450
770
900
1500
1700
2500

145



Forked Clamps

ONIdWVTI TYNNYW QYVANYLS

Y
w oy [ ] }
Y
10100 i, ) )
i
|| "
- -
I

Material ()= Not to DIN standard. 24000 T-nuts, 24400 collar nuts,

Steel, heat-treated and enamelled. Tips 25000 plain washer.

Technical Notes Used with:

To DIN 6315B. 26000 clamp support, 21000 T-slot bolts,

Order No. For bolt For bolt I Wy Wy W3 hy h, Weight
inch g

10100.wW0007 M 6 1/4* 60 19 6.6 6 12 3 60
10100.wW0009 M8 5/16* 80 25 9.0 8 15 4 140
10100.w0011 M10 3/8* 100 31 11.0 10 20 5 300
10100.W0014 M12, M14 172 125 38 14.0 12 25 6 570
10100.W0015 M12, M14 1/2% 160 38 14.0 12 25 6 730
10100.W0016 M12, M14 172" 200 38 14.0 12 25 6 910
10100.W0018 M16, M18 5/8% 160 48 18.0 15 30 8 1080
10100.w0019 M16, M18 5/8* 200 48 18.0 15 30 8 1360
10100.w0020 M16, M18 5/8¢ 250 48 18.0 15 40 10 2250
10100.wW0022 M20, M22 3/4" 200 52 22.0 15 40 10 1800
10100.w0023 M20, M22 3/4* 250 62 22.0 20 40 10 3000
10100.W0024 M20, M22 3/4* 315 62 22.0 20 40 10 3850
10100.W0025 M20, M22 3/4* 500 62 (22.0) 20 50 10 7500
10100.wW0026 M24 1 200 66 26.0 20 40 10 2400
10100.w0027 M24 1 250 66 26.0 20 40 10 3000
10100.w0028 M24 1 315 66 26.0 20 40 10 3850
10100.wW0029 mM24 1 400 66 (26.0) 20 50 10 5962
10100.wW0030 M24 1 500 66 (26.0) 20 50 10 7600
10100.W0031 M24 1 600 66 (26.0) 20 50 10 9042
10100.w0032 M24 1 800 66 (26.0) 20 50 10 12122
10100.w0034 M30 1-1/4* 250 74 33.0 20 50 12 3700
10100.W0035 M30 1-1/4*% 315 74 33.0 20 50 12 4750
10100.W0036 M30 1-1/4* 400 74 33.0 20 50 12 6100
10100.wW0037 M30 1-1/4*% 600 74 (33.0) 20 50 12 9200
10100.w0038 M30 1-1/4* 1000 94 (33.0) 30 60 12 28000
10100.W0040 M36 1-1/72* 400 100 (40.0) 30 60 12 11000
10100.w0041 M36 1-1/2* 600 100 (40.0) 30 60 12 16500
10100.W0042 M36, M42 1-5/8“ 600 123 (43.0) 40 80 12 29600

146 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Forked Clamps

STANDARD MANUAL CLAMPING

M Wixroud 0333 207 4497 sales@wixroyd.com 147

AN ESSENTRA COMPANY



Forked Clamps

with pin end

—

ONIdWVTI TYNNYW QYVANYLS

l'* |3 il ] |
10120 | << po

- Ll

Material Tips
Steel, heat-treated and enamelled. Used with:
21000 T-slot bolts, 24000 T-nuts, 24400

Technical Notes collar nuts, 25000 plain washer.

To DIN 6315C.

Order No. For bolt For bolt h ly I3 W, W, hy d, Weight
inch g

10120.wW0009 M8 5/16" 100 30 18 30 9 15 12 220
10120.w0011 M10 3/8* 125 36 24 30 11 20 16 350
10120.w0014 M12, M14 172 160 45 30 40 14 25 20 750
10120.w0015 M12, M14 172 200 45 30 40 14 25 20 950
10120.w0018 M1l6, M18 5/8" 200 55 36 50 18 30 24 1400
10120.w0019 M16, M18 5/8" 250 55 36 50 18 30 24 1750
10120.w0022 M20, M22 3/4* 250 65 45 60 22 40 30 2700
10120.w0023 M20, M22 3/4* 3B 65 45 60 22 40 30 3400
10120.w0026 M24 1¢ 250 80 56 70 26 40 38 3200
10120.w0027 M24 1¢ 315 80 56 70 26 40 38 4100
10120.wW0034 M30 1-1/4¢ 315 85 56 80 33 50 45 5700
10120.W0035 M30 1-1/4¢ 400 85 56 80 33 50 45 7000

148 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Forked Clamps

with shoe

' ] A

Y ! ’ hy

hy (x 0.25) ! '

‘ " 1 ‘ LZD
=
=

I, =
- - 75:‘
i 2
i l Y =
. C s 10140
Y =
N |* E
- -
I3
b | -
|1
Material 21000 T-slot bolts, 24000 T-nuts, 24400
Steel, heat-treated and enamelled. collar nuts, 25000 plain washer.
Tips
Used with:
Order No. For bolt For bolt I Iy I3 Wy W, W3 hy Weight
inch g
10140.W0009 M8 5/16" 100 32 18 30 9 16 15 240
10140.w0011 M10 3/8* 125 38 24 30 11 20 20 380
10140.wW0014 M12, M14 172 160 47 30 40 14 24 25 800
10140.W0015 M12, M14 172 200 47 30 40 14 24 25 950
10140.wW0018 M1le, M18 5/8" 200 57 36 50 18 28 30 1500
10140.wW0019 M1le, M18 5/8" 250 57 36 50 18 28 30 1850
10140.w0022 M20, M22 3/4¢ 250 68 45 60 22 35 40 2900
10140.w0023 M20, M22 3/4 SiS 68 45 60 22 35 40 3600
10140.W0026 M24 1 250 83 56 70 26 43 40 3400
10140.w0027 M24 1¢ 315 83 56 70 26 43 40 4300
10140.W0034 M30 1-1/4* 315 88 56 80 33 50 50 6000
10140.W0035 M30 1-1/4* 400 88 56 80 33 50 50 7300

iR Wixroyd 0333 207 4497 sales@wixroyd.com 149

AN ESSENTRA COMPANY



Narrow Nose Clamps

ONIdWVTI TYNNYW QYVANYLS

10160 waI (:)I o :wx WSI ﬂc:al::::::: :m

F4-F Iy —- I, - - L‘H I > g -
] - ] -
Iy I
with thread with slot

Material difficult to reach areas.

Steel, heat-treated and blackened. Tips Used with:

Technical Notes With thread’ for vertical adjustment. igﬁg?;&iﬁozggg; 2;?:3;2::5' 24400

The small nose permits clamping even on With slot’ for horizontal adjustment. ! P ’

Order No. Type Iy o I3 ly I5 w, W, Wy h, h, hy d, Weight
g

10160.W0107  With thread 80 34 23 17 13 15 6.6 7.5 8 2.5 - M 6 54
10160.W0109  With thread 100 42 29 22 17 20 9.0 )5 12 4.0 - M8 133
10160.W0111  With thread 125 52 36 28 21 25 11.0 11.5 15 5.0 - M10 261
10160.W0113  With thread 150 63 43 34 25 30 13.0 135 20 7.0 - M12 504
10160.W0117  With thread 175 70 52 40 29 35 17.0 155 25 9.0 - M16 828
10160.W0207 With slot 80 34 23 17 13 15 6.6 7.5 8 2.5 2.5 - 50
10160.W0209 With slot 100 42 29 22 17 20 9.0 9.5 12 4.0 3.0 - 127
10160.W0211 With slot 125 52 36 28 21 25 11.0 115 15 5.0 3.5 - 251
10160.w0213 With slot 150 63 43 34 25 30 13.0 135 20 7.0 4.0 - 488
10160.W0217 With slot 175 70 52 40 29 35 17.0 155 25 9.0 4.5 - 812
10160.W0222 With slot 225 - 62 52 33 50 22.0 19.5 35 15.5 5.5 - 2200
10160.W0226 With slot 250 - 71 60 36 60 26.0 215 40 17.5 5.3 - 3340

W

150 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Finger Clamps

el .
- &
Iy z
Wa Wa %‘
A A s
(=)
E ] |- Q) 10164
g
— - — -
Iz I
type one type two
Material both normal and restricted areas with collar nuts, 25000 plain washer.
Stainless steel (AISI 630,17-4 PH), heat- minimum tooling interference.
treated. .
Tips
Technical Notes Used with:

This is a low profile slotted clamp for use in 21000 T-slot bolts, 24000 T-nuts, 24400

Order No. Type Holding force I [ Wy W, hy d; Weight
kN g
10164.W0092 One 14.2 92 22.0 22.6 10.4 11 959 150
10164.W0127 Two 26.7 127 34.5 254 13.4 19 M12 340
10164.W0152 Two 38.2 152 38.1 30.5 16.5 22 M16 600
10164.W0178 Two 69.8 178 38.1 35.6 19.8 27 M20 1130
o . o .
R Wixroyd 0333 207 4497 sales@wixroyd.com 151
AN ESSENTRA COMPANY



ONIdWVTI TYNNYW QYVANYLS

Goose Neck Clamps

1 ‘ ‘
A
Wa I g W
10200 0 ——. :
! ! i
Y
- - L
I3 I W3
- |1 L
Material () =notto DIN standard. collar nuts, 25000 plain washer.
Steel, heat-treated and enamelled. .
Tips
Technical Notes Used with:
To DIN 6316. 21000 T-slot bolts, 24000 T-nuts, 24400
Order No. For bolt For bolt I I, I3 Iy Wy Wy W3 hy h, hs Weight
inch g
10200.w0007 M 6 1/4* 60 22.0 20 8 20 10 6.6 20 10 9 81
10200.W0009 M8 5/16* 80 27.5 25 9 25 12 9.0 24 12 11 166
10200.w0011 M10 3/8* 100 36.0 32 12 30 15 11.0 30 15 14 299
10200.w0014 M12, M14 172" 125 44.0 40 16 40 20 14.0 40 20 18 678
10200.wW0018 M16, M18 5/8% 125 51.5 40 20 50 25 (18.0) 50 25 23 1049
10200.wW0019 M16, M18 5/8" 160 515 50 20 50 25 18.0 50 25 23 1366
10200.w0022 M20, M22 3/4¢ 160 59.0 55 24 60 30 (22.0) 60 30 27 1911
10200.W0023 M20, M22 3/4* 200 59.0 70 24 60 30 220 60 30 27 2417
10200.W0026 M24 1 200 765 60 25 70 35 (26.0) 70 35 32 3315
10200.w0027 M24 1 250 765 80 25 70 35 26.0 70 35 32 4132
10200.W0034 M30 1-1/4¢ 250 96.0 80 40 80 40 (33.0) 80 40 45 5225
10200.W0035 M30 1-1/4* 315 96.0 100 40 80 40 33.0 100 50 45 8459
10200.w0043 M36, M42 1-1/2%-1-5/8* 400 105.0 120 50 100 50 (43.0) 120 60 55 17078
() .
152 ﬁ Wixroyd wixroyd.com
AN ESSENTRA COMPANY




Stepped Clamps
long slot

E
=
=
- ~ ;
ls S
.' A =
[=]
I o
S ¢ N b 10210
| i =
1 ‘ o
- - -
I3 Iz
- |1 -
Material 21000 T-slot bolts, 24000 T-nuts, 24400
Steel, heat-treated and blackened. collar nuts, 25000 plain washer.
Tips
Used with:
Order No. For bolt  For bolt I I, I3 Iy Is W, W, W3 hy h, hg h, Weight
inch g
10210.w0107 M 6 1/4* 55 36 155 11 5 15 8 6.6 16 8 11 2 39
10210.wW0109 M8 5/16" 70 46 19.5 15 8 20 10 9.0 20 10 14 3 80
10210.w0111 M10 3/8" 90 58 26.5 19 10 25 12 11.0 25 13 18 4 170
10210.w0113 M12 172 115 75 325 24 12 30 15 13.0 32 16 23 5 328

M Wixroud 0333 207 4497 sales@wixroyd.com 153

AN ESSENTRA COMPANY



ONIdWVTI TYNNYW QYVANYLS

Double Goose Neck Clamps

A
A
2 wy
10220
Y
Y
— |2 -— d1 )
o ||
Material 21000 T-slot bolts, 24000 T-nuts, 24400
Steel, heat-treated and enamelled. collar nuts, 25000 plain washer, 25700
. dished washer.
Tips
Used with:
Order No. For bolt I I, I3 W, w, hy h, d, Weight
g
10220.W0018 M12-M18 100 26 16 40 20 40 20 18 620
10220.w0025 M20-M24 140 38 24 60 30 60 30 25 2040
o . . )
154 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY




Stepped Clamp

with adjusting support screw

Wy

g P — ‘ — 10230

STANDARD MANUAL CLAMPING

Is g
Material Technical Notes

Steel, heat-treated and enamelled. To clamp thin parts, turn the clamp over.

Order No. For clamping screw d, x1, Iy 5 W, Wy X |y hy h, hyxlg Weight
g

10230.wW0014 M12, M14 M12x49 40 21 40 14x100 10-55 20 8,0x10,0 580
10230.W0018 M16, M18 M16x55 45 26 50 18x125 13-62 25 10,0x12,5 1140
10230.w0022 M20, M22 M20x69 60 30 60 22x160 16-77 30 12,0x15,0 2100

M Wixroud 0333 207 4497 sales@wixroyd.com 155

AN ESSENTRA COMPANY



Slotted Stepped Clamp

with adjusting support screw

- -

h, (x 0.5)

by on NI
Wvaz‘ i @> ! HT ek
10240 l . h1'.t - hy(x0.5) & |

-

ONIdWVTI TYNNYW QYVANYLS

Material Technical Notes
Steel, heat-treated and enamelled. To clamp thin parts, turn the clamp over.
Order No. For clamping screw d, x1, I3 Wy W, X |p hy h, Weight
g

10240.w0010 M10 M10x39 70 30 11x100 8-47 20 330
10240.W0014 M12, M14 M12x49 90 40 14x125 10-59 25 700
10240.W0018 M16, M18 M16x55 110 50 18x160 13-67 30 1300
10240.W0022 M20, M22 M20x69 135 60 22x200 16-85 40 2600

156 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Plain Clamps

with self-aligning support

. 2 -
- ]4 -
A
Y Y
O -
i A I ;
- - é
Iy =
=
‘ 10300 :
¥ \ \I Vo o™ 5
h3‘ Y | ] ‘hz Y
[N
- 4 -
Material Tips

Body: steel, heat-treated and blackened.
Ball: ball-bearing steel, hardened and
bright.

Technical Notes
Ball secured against turning.

Provides alignment of the clamp with the
workpiece, useful where there is some
component variation. For suitable suppor-
ting screw see part no. 18400.

Order No. For bolt ~ Forbolt 1|
inch
10300.w0007 M6 172" 50
10300.W0009 M8 5/16% 60
10300.w0011 M10 3/8" 80
10300.w0014 M12 172" 125

I, I3 Iy Wy Wy W3 hy h, hy Ball dia. d; Weight
3
20 10 5.0 20 6.6 8 10 2.5 16 85 5.8 61
22 13 6.5 25 9.0 10 12 30 20 10.0 7.2 109
30 15 7.5 30 110 12 15 35 2.7 12.0 8.6 219
50 21 105 40 130 14 20 40 35 16.0 105 615

bﬂ Wixroyd

AN ESSENTRA COMPANY

0333 207 4497 sales@wixroyd.com 157



Long Slot Straight Clamps

10700

ONIdWVTI TYNNYW QYVANYLS

Y Y
TTTT I T
[REN| &) l ‘ i ‘| [ q:j:@ &
A A
standard version long version
Material positioning screw and is particularly useful used with these clamps.
Steel, hardened and blackened. where long reach is required.
Technical Notes Tips
The long version has an adjustable rear Self-aligning pads (part no. 34100) can be
Order No. Type Size hy xw, I I I3 I lg w, W, d, Weight
g
10700.wW0012 Standard 12 20x35,0 110 82 215 11.5 - 12.5 - M12 340
10700.W0016 Standard 16 30x40,0 142 107 28.0 15.0 - 17.0 - M16 770
10700.wW0020 Standard 20 40x50,0 200 150 38.0 21.0 - 21.0 - M20 1800
10700.wW0112 Long 12 20x35,0 156 106 30.0 20.0 12 12,5 18 M12 600
10700.W0116 Long 16 30x45,5 196 136 35.0 22.0 16 17.0 24 M16 1400
10700.wW0120 Long 20 40x60,0 298 221 47.0 30.0 20 21.0 30 M20 3900

158 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



' it 10740

STANDARD MANUAL CLAMPING

A A
— - — -
l4 I
standard version long version
Material same time.
Steel, hardened and blackened. .
Tips
Technical Notes Self-aligning pads (part no. 34100) can be
Ideal for clamping two similar parts at the used with these clamps.
Order No. Type Size hy xw; Iy I, I3 A ls W, d, Weight
g

10740.W0012 Standard 12 15x30 80 33 23.5 135 - 125 M12 200

10740.W0016 Standard 16 25x40 100 42 29.0 16.0 - 17.0 M16 525

10740.W0112 Long 12 20x30 160 33 63.5 335 20 125 M12 610

10740.W0116 Long 16 30x40 200 42 79.0 41.0 25 17.0 M16 1480

M Wixroud 0333 207 4497 sales@wixroyd.com 159

AN ESSENTRA COMPANY



Clamp With Stop Pin

9
z
=
&
g i
,E; Wi """3
118200 '
2
(3]
—
-
Material Technical Notes
Steel, heat-treated. To be used with supporting screw no.
18400.
Order No. I [ I3 W, w, Wy h, Weight
g
18200.w0001 100 135 37 30 15 125 20 350
18200.wW0002 125 24.5 50 40 19 12.5 20 590

160 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Adjustable Plain Clamps
with height adjusting screw

STANDARD MANUAL CLAMPING

type one - with support screw only type two - with support screw and t-bolt set
Material tion of fixture nut. 24400 Collar Nut.
Heat-treated steel, enamelled. Tips 25000 Plain washer.
Technical Notes Often used for clamping press tools.

Replacement Parts:

Type One -clamp and support screw only. Replacement support screw see part no.

Type Two -clamp, support screw and t-bolt Used with:

set. 10680 Ratchet clamp lever. 10410.
h* - dependent on depth of slot and posi- 21000 T-Slot bolt.

Order No. Type For bolt Supplied T-bolt  T-slot size d, x1, hy h, I3 Iy Wy Wy X |y Weight

g

10400.W0010 One M10 - - M10x39 8-37 15 30 15 30 11x80 200
10400.wW0012 One M12,M14 - - M12x49 10-47 20 40 21 40 14x100 560
10400.wW0014 One M12, M14 - - M12x94 10-92 20 40 21 40 14x100 635
10400.W0016 One M1l6, M18 - - M16x55  13-52 25 45 26 50 18x125 1110
10400.wW0018 One Ml6, M18 - - M16x90 13-87 25 45 26 50 18x125 1230
10400.W0020 One M20, M22 - - M20x69  16-65 30 60 30 60 22x160 2050
10400.W0022 One MZ20, M22 - - M20x109 16-105 30 60 30 60 22x160 2230
10400.wW0024 One M24 - - M24x87  20-83 30 80 35 70  26x200 3200
10400.W0026 One M24 - - M24x137 20-133 30 80 35 70  26x200 3470
10400.W0028 One M24 - - M24x87  20-80 BS 105 5 70  26x250 4340
10400.wW0030 One M24 - - M24x137 20-130 35 105 35 70  26x250 4520
10400.W0032 One M30 - - M30x180 24-150 50 130 45 80 33x315 11215
10400.W0034 One M36, M42 - - M30x180 24-150 &0 170 80 100 43x400 24350
10400.wW0110 Two M10 M10x10x80 10 M10x39  08-32 15 30 15 30 11x80 340
10400.wW0112 Two M12,M14 M12x12x100 12 M12x49 10-40 20 40 21 40 14x100 700
10400.W0114 Two M12, M14 M12x14x100 14 M12x49 10-38 20 40 21 40 14x100 720
10400.W0115 Two M12, M14 M12x14x160 14 M12x94  23-92 20 40 21 40 14x100 845
10400.W0116 Two M16, M18 Ml6x16x125 16 M16x55 13-48 25 45 26 50 18x125 1400
10400.W0117 Two M16, M18 M16x16x160 16 M16x90 15-83 25 45 26 50 18x125 1610
10400.wW0118 Two M16, M18 M16x18x125 18 M16x55 13-46 25 45 26 50 18x125 1400
10400.wW0119 Two M16,M18 M16x18x160 18 M16x90 13-81 25 45 26 50 18x125 1630
10400.wW0120 Two M20, M22 M20x20x160 20 M20x69 16-65 30 60 30 60 22x160 2600
10400.W0121 Two M20, M22 M20x20x200 20 M20x109 21-105 30 60 30 60 22x160 2930
10400.W0122 Two M20, M22 M20x22x160 22 M20x69  16-65 30 60 30 60 22x160 2770
10400.wW0123 Two M20, M22 M20x22x200 22 M20x109 19-105 30 60 30 60 22x160 2980
10400.W0124 Two M24 M24x28x200 28 M24x87  20-80 35 105 35 70  26x250 5486
10400.W0125 Two mM24 M24x28x250 28 M24x137 30-130 35 105 35 70  26x250 5716
10400.W0126 Two M30 M30x36x315 36 M30x180 24-150 50 130 45 80 33x315 11995
10400.W0127 Two M36, M42 M36x42x400 42 M30x180 24-150 80 170 80 100 43x100 25683
10400.W0113 Two M12, M14 M12x12x160 12 M12x49  24-92 20 40 21 40 14x100 830

iR Wixroyd 0333 207 4497 sales@wixroyd.com 161

AN ESSENTRA COMPANY



Adjustable Plain Clamps
with height adjusting screw

ONIdWVTI TYNNYW QYVANYLS

162 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Support Screw

for adjustable clamps

dy
- -
S i
1 _JI' 1 LZD
8 g
1 | 5
| . S
1 1 §
! \ =
[=]
3
o
X 2
&5
hy
Y
~ dz -
Material Technical Notes
Steel, hardened, strength class 8.8. Suitable for all lockable clamps.
Order No. d, x1 d, h, Weight
g
10410.w0010 M10x39 30 8 52
10410.W0012 M12x49 36 10 96
10410.w0013 M12x94 36 10 145
10410.W0016 M16x55 42 13 180
10410.W0017 M16x90 42 13 230
10410.wW0020 M20x69 50 16 320
10410.w0021 M20x109 50 16 400
10410.W0024 M24x87 60 20 590
10410.W0025 M24x137 60 20 820
10410.W0030 M30x180 80 24 1704

M Wixroud 0333 207 4497 sales@wixroyd.com 163

AN ESSENTRA COMPANY



ONIdWVTI TYNNYW QYVANYLS

Adjustable Plain Clamps

with soft brass face

10420

i T
d VAR M 6d VI E
i A hy = hy
i .

glued

s softface soft face
soft face .'saotq
type one type two type three
without accessories with support screw only with support screw
and bolt set
Material h, - dependent on depth of slot and posi- Used with:

Clamps: steel, heat-treated, blackened.
Protective face: brass, brazed.

Technical Notes
Type one: clamp only.

Type two: clamp and support screw only.

Type three: clamp, support screw and T-
bolt set.

tion of fixture nut.

The protective brass plate, brazed on to the
clamp, acts to protect the workpiece from
damage under clamping.

Tips
Often used for clamping press tools.

10680 ratchet clamp level, 21000 T-slot
bolt, 24400 collar nut, 25000 plain
washer.

Replacement support screw see part nos.
34500 and 34520.

Order No. Type For bolt Supplied T-bolt T-slot  d; x Ig hy h, 1,
size
10420.W0010 One M8 12 22
10420.W0020 One M10 15 30
10420.W0030 One MI12,M14 20 40
10420.W0040 One M1l6,M18 25 45
10420.W0011 Two M8 M8x40 823 12 22
10420.wW0012  Two M8 M8x60 843 12 22
10420.wW0021  Two M10 M10x60 10-38 15 30
10420.W0022  Two M10 M10x80 10-58 15 30
10420.wW0031 Two MI12,M14 M12x60 10-31 20 40
10420.w0032 Two MI12, M14 M12x100 10-71 20 40
10420.wW0041 Two Ml6, M18 M16x80 12-42 25 45
10420.wW0042 Two Mlb6, M18 M16x125 12-87 25 45
10420.W0015 Three M8 M 8x8x50 76 M8x40 816 12 22
10420.W0016 Three M8 M 8x8x80 76 M8x60 843 12 22
10420.W0025 Three M10 M10x10x65 9,6 MI10x60 10-22 15 30
10420.W0026 Three M10 M10x10x100 9,6 M10x80 10-58 15 30
10420.W0035 Three MI12,M14 M12x12x80 11,6 M12x60 10-28 20 40
10420.W0036 Three MI12,M14 MI12x12x125 11,6 M12x100 10-71 20 40
10420.W0037 Three MI12,M14 M12x14x80 13,6 M12x60 10-26 20 40
10420.W0038 Three MI12,M14 MI12x14x125 13,6 M12x100 10-71 20 40
10420.W0045 Three MI16,M18 MIl16x16x100 156 M16x80 12-31 25 45
10420.W0046 Three M16,M18 MIl6xlex160 156 Mlex125 12-87 25 45
10420.W0047 Three MIl16, M18 MI16x18x100 17,6 MI16x80 12-32 25 45
10420.W0048 Three MI16, M18 M16x18x160 17,6 M16x125 12-87 25 45
o) .
164 75 Wixroyd wixroyd.com
AN ESSENTRA COMPANY

I3 l, st owp o owyxlp wy Weight
g
13 8 10 2 25 9x60 10 104
15 10 12 2 30 11x80 12 211
21 12 15 3 40 14x100 14 46l
26 16 20 3 50 18x125 18 917
13 8 10 2 25 9x60 10 150
13 8 10 2 25 9x60 10 160
15 10 12 2 30 11x80 12 295
15 10 12 2 30 11x80 12 310
21 12 15 2 40 14x100 14 590
21 12 15 3 40 14x100 14 620
26 16 20 3 50 18x125 18 1150
26 16 20 3 50 18x125 18 1220
13 8 10 3 25 9x60 10 200
13 8 10 2 25 9x60 10 220
15 10 12 2 30 11x80 12 385
15 10 12 2 30 11x80 12 420
21 12 15 2 40 14x100 14 740
21 12 15 3 40 14x100 14 805
21 12 15 3 40 14x100 14 755
21 12 15 3 40 14x100 14 820
26 16 20 3 50 18x125 18 1470
26 16 20 3 50 18x125 18 1630
26 16 20 3 50 18x125 18 1490
26 16 20 3 50 18x125 18 1650




Adjustable Plain Clamps

STANDARD MANUAL CLAMPING

Material Mounting screws included with clamping Tips

Clamp: steel, heat-treated and blackened. pads. Particularly suitable for clamping sensitive

Pads: brass or plastic. Temperature should not exceed 250°C components; soft pads protect the work-
when using brass pad, or 0-50°C when piece.

Technical Notes

Clamp provided without clamping pads. using plastic pad.

Order No. Type d, d, h, h, hs h, Weight
g

10425.W0050 Clamp only M 6 M 2 8 3 - - 25
10425.W0051 Clamp only M 6 M 2,5 10 4 - - 45
10425.W0052 Clamp only M8 M 3 12 4 - - 85
10425.W0053 Clamp only M10 M 4 16 6 - - 180
10425.W0054 Clamp only M12 M 5 20 8 - - 363
10425.W0055 Clamp only M16 M8 30 12 - - 1445
10425.W0060 Brass pad - M 2 - - 8 4 2.5
10425.W0061 Brass pad - M 2,5 - - 10 6 7
10425.W0062 Brass pad - M 3 - - 12 6 11
10425.W0063 Brass pad - M 4 - - 16 S 25
10425.W0064 Brass pad - M 5 - - 20 12 53
10425.W0065 Brass pad - M 8 - - 30 16 193
10425.W0070 Plastic pad - M 2 - - 8 4 0.7
10425.W0071 Plastic pad - M 2,5 - - 10 6 1.6
10425.W0072 Plastic pad - M 3 - - 12 6 2.7
10425.W0073 Plastic pad - M 4 - - 16 S 6
10425.W0074 Plastic pad - M 5 - - 20 12 13
10425.W0075 Plastic pad - M8 - - 30 16 48

Order No. N 1, I I I lg L, lg w, w, 0 w, A/F
10425.W0050 40 155 8 6 4 3.0 - - 12 6 5.5 - -
10425.W0051 50 22.0 10 8 5 4.0 - - 16 9 7.0 - -
10425.W0052 63 29.0 12 10 6 5.0 - - 20 11 9.0 - -
10425.w0053 80 36.0 15 13 8 6.5 - - 25 14 11.0 - -
10425.W0054 100 44.0 18 16 10 8.0 - - 32 16 14.0 - -
10425.W0055 160 63.0 30 28 16 14.0 - - 50 30 18.0 - -
10425.wW0060 - - - - - - 12 6 - - 5.5 6 1.3
10425.W0061 - - - - - - 16 9 - - 7.0 8 1.5
10425.W0062 - - - - - - 20 11 - - 9.0 10 2.0
10425.W0063 - - - - - - 25 14 - - 11.0 13 25
10425.W0064 - - - - - - 32 16 - - 14.0 16 3.0

iR Wixroyd 0333 207 4497 sales@wixroyd.com 165

AN ESSENTRA COMPANY



ONIdWVTI TYNNYW QYVANYLS

Order No.

10425.W0065
10425.wW0070
10425.w0071
10425.W0072
10425.w0073
10425.W0074
10425.W0075

166

Wixroyd

AN ESSENTRA COMPANY

wixroyd.com

W= = = w —
Sor—0OS &




Adjustable Goose Neck Clamps

with height adjusting screw

10500

STANDARD MANUAL CLAMPING

-

(o)

I
3

Material Tips Replacement parts:
Steel, heat-treated and enamelled. Often used for clamping press tools. Replacement support screw see part no.
10410.

Technical Notes

Type one: clamp, support screw and T-bolt Used with:

10680 ratchet clamp lever, 21000 T-slot Important Notes

set. . Particularly suited to clamping low work-
Type two: clamp and support screw only. 3,2?{;?400 collar nut, 25000 plain pieces. The clamping height can be
Dimension h, is dependent on depth of slot ) adjusted by means of the support screw.
and position of fixture nut.

Order No. Type For bolt  For T-slot T-bolt d, x1, hy h, I3 Iy Wy w, x I Weight

g

10500.W0010  With bolt M10 10 M10x10x80 M10x39 22-46 15 32 36.0 30 11x100 440
10500.wW0012  With bolt M12 12 M12x12x100 M12x49 28-58 20 40 44.0 40 14x125 906
10500.W0014  With bolt M12 14 M12x14x100 M12x49 28-56 20 40 44.0 40 14x125 926
10500.W0016  With bolt M16 16 M16x16x125 M16x55 36-71 25 50 51.5 50 18x160 1859
10500.W0018  With bolt M16 18 M16x18x125 M16x55 36-69 25 50 51.5 50 18x160 1875
10500.W0020  With bolt M20 20 M20x20x160 M20x69 43-92 30 70 59.0 60 22x200 3322
10500.W0022  With bolt M22 22 M20x22x160 M20x69 43-92 30 70 59.0 60 22x200 3352
10500.W0110 W/o bolt M10 - - M10x39 22-51 15 32 36.0 30 11x100 344
10500.W0112 W/o bolt M12 - - M12x49  28-65 20 40 44.0 40 14x125 761
10500.W0116 W/o bolt M16 - - M16x55 36-75 25 50 BB 50 18x160 1516
10500.W0120 W/o bolt M20 - - M20x69  43-92 30 70 59.0 60 22x200 2669
10500.W0124  W/o bolt M24 - - M24x87 52-115 35 60 76.5 70  26x200 3810

iR Wixroyd 0333 207 4497 sales@wixroyd.com 167

AN ESSENTRA COMPANY



Adjustable Step Pillar Clamps

with goose neck

10550

ONIdWVTI TYNNYW QYVANYLS

Material print on the machine table. Allows clam- dimension.
Steel forged, thread quality 8.8. ping over a wide height range with Tips
Technical Notes minimum fuss. Used with:
Clamping unit for quick action. The 24000 T-nuts.

N . ..
compact construction ensures a small foot- Clamping forces stated for minimum h,

Order No. Size T-slot size hy I Tightening torque W, Wy W Clamping force Weight
Nm kN g
max.

10550.w0120 12-0 12 0-45 140 50 34 14 0.8 11.5 700
10550.w0121 12-1 12 15-45 112 50 34 14 0.8 11.4 600
10550.w0122 12-2 12 30-75 112 50 34 15 1.3 11.4 800
10550.w0123 12-3 12 60-135 112 50 34 16 25 11.4 1200
10550.w0124 12-4 12 120-195 112 50 34 18 2.5 11.4 1700
10550.W0125 12-5 12 180-255 112 50 34 19 25 11.4 2200
10550.W0126 14-0 14 0-45 140 80 34 14 0.8 155 700
10550.w0127 14-1 14 15-45 112 80 34 14 0.8 15.3 600
10550.wW0128 14-2 14 30-75 112 80 34 15 1.3 15.3 800
10550.W0129 14-3 14 60-135 112 80 34 16 2.5 153 1200
10550.W0130 14-4 14 120-195 112 80 34 18 2.5 15.3 1700
10550.w0131 14-5 14 180-255 112 100 34 19 25 15.3 2200
10550.wW0132 16-0 16 0-70 160 100 50 20 1.3 15.3 1900
10550.wW0133 16-1 16 25-70 125 100 50 20 1.3 16.3 1700
10550.W0134 16-2 16 50-120 125 100 50 21 2.5 16.3 2500
10550.W0135 16-3 16 100-220 125 100 50 21 3.8 16.3 3540
10550.W0136 16-4 16 200-320 125 100 50 24 3.8 16.3 4900
10550.W0137 18-0 18 0-70 160 130 50 20 1.3 17.8 1870
10550.wW0138 18-1 18 25-70 125 130 50 20 1.3 19.0 1670
10550.W0139 18-2 18 50-120 125 130 50 21 25 19.0 2500
10550.w0140 18-3 18 100-220 125 130 50 21 3.8 19.0 3580
10550.wW0141 18-4 18 200-320 125 130 50 24 3.8 19.0 4720

168 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Adjustable Step Pillar Clamps

with goose neck

STANDARD MANUAL CLAMPING

M Wixroud 0333 207 4497 sales@wixroyd.com 169

AN ESSENTRA COMPANY



Power Clamp

=

ONIdWVTI TYNNYW QYVANYLS

10588.1

Material

Steel, tempered, alloyed and galvanised

(black).

Technical Notes

Complete with mounting kit.
Powerful, adjustable height clamp for

milling, press tools and injection mould

applications. Clamping force 22 kN to 49
kN depending on size. Low height readily
adjustable. Smooth or ribbed clamping pad
available. For use in threaded holes (M10,
M12, M16, M20) and 12-28mm T-slot

bases.

Tips

Torque the screws to the correct specified
torque. Clamping force depends on thread
lubrication and thread condition.

Order No.

10588.w0022
10588.w0023
10588.W0030
10588.wW0031
10588.wW0032
10558.wW0040
10558.wW0043
10558.W0049

170

Size For
slot

dy

M10
M12
M12
M16
M12
M16
M16
M20

dy

M12
M12
M16
M16
M16
M20
M20
M24

bﬂ Wixroyd

AN ESSENTRA COMPANY

min.

| max.

5-38
5-38
6-68
6-68
6-50
6-50
5-80
7-88

65
65
135
135
95
110
155
175

15-50
15-50
13-110 25
16-114 28
12-82 20
15-95 26
16-134 32
19-165 36

wixroyd.com

Torque Torque

tod,
Nm
max.
50
50
100
100
120
150
220
220

to dj
Nm
max.
35
40
70
150
70
150
150
200

A/F Load capacity Weight

for static load
kN
max.

22

g

700

700
2013
2045
1462
2262
3158
5928




Spacer Element
for power clamp 10588.W0022 - W0049

STANDARD MANUAL CLAMPING

Y dg Y
10588.2
- - g -
-y Wy
— |1 =
Material Further space elements could be added to
Steel, tempered and galvanised (black). achieve required clamping height.
Technical Notes
Spacer element only and bolts.
Order No. Size For T-slot d; d, d, d, hy h, I ly Wy Weight
min. | max. g
10588.wW0122 22 12 M10 35 M 6 14 40-73 35 65 12 36.0 480
10588.w0123 22 14 M12 40 M 6 13 40-73 35 65 12 36.0 480
10588.w0130 30 14 M12 70 M8 13 66-128 60 135 12 44.5 2300
10588.w0132 32 14 M12 70 M8 13 66-110 60 95 12 445 1570
10588.W0140 40 18 M16 150 M8 17 76-120 70 110 16 47.5 2290
10558.w0143 43 18 M16 150 M8 17 75-150 70 155 16 47.5 3344
10558.wW0149 49 22 M20 200 M10 21 87-168 80 175 19 58.0 5286

iR Wixroyd 0333 207 4497 sales@wixroyd.com 171

AN ESSENTRA COMPANY



Power Clamp - Three Step

10588.3 .«

ONIdWVTI TYNNYW QYVANYLS

Material Tips part (tighten to correct torque).
Steel, tempered, alloyed and galvanised Three ist.ep clamping: . Important Notes
(black). 1. Position clamp on table and tighten to . s .
Not suitable for use on injection moul-
correct torque.

Technical Notes ding, die casting machines or presses.
Complete with three-step support element,

clamping unit and mounting kit.

2. Adjust the clamping arm.
3. Tighten the clamping screw to clamp

Order No. Size ForT- d; d; dg hy h, hg I Iy Torque Torque w; w, w3 A/F Load capacity Weight
slot min. tod, tod, for static load g
| max. Nm Nm kN
max.  max. max.

10588.w0222 22 14 M12 40 M12 9-74 98 67 65 30-58 135 55 52 13 145 6 22 1120
10588.wW0230 30 14 M12 70 Ml16 13-129 146 101 130 37-106 13,5 100 68 18 225 8 30 4600
10588.wW0243 43 18 Ml6 150 M20 16-147 175 116 150 48-114 175 200 75 20 250 10 43 6844
10558.W0249 49 22 M20 200 M24 16-169 207 140 170 68-172 22,0 220 85 25 29,0 12 49 10870

172 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Spacer Element
for power clamp 10588.W0222 - W0249

10588.4

STANDARD MANUAL CLAMPING

Material

ting kit. Unsuitable for injection moul-

Steel, tempered and galvanised (black). ding, die casting machines and presses.

Technical Notes

Complete with pressure plate and moun-

Order No. Size

10588.wW0322 22
10588.W0330 30
10588.W0343 43
10558.W0349 49

bﬂ Wixroyd

AN ESSENTRA COMPANY

For T-slot d; d, hy h, hs I Iy I3 Torque to Wy Weight

Nm g
max.

14 M12  13.5 9-74 65 14.5 65 25 16 40 52 795

14 M12 135 13-129 101 225 130 34 27 70 68 3440

18 Ml6 175 16-147 116 250 150 43 29 150 75 5010

22 M20 220 16-169 138 290 170 52 34 200 85 7710

0333 207 4497 sales@wixroyd.com 173



Fastening Kit
for power clamp 10588.W0222 - W0249

ONIdWVTI TYNNYW QYVANYLS

L5
10588.5 -

4
4
Material Technical Notes
Steel, heat-treated. Fastening screw strength class 12.9 and T-
slot nut DIN 508.
Order No. Size d, d, I A/F Weight

g
10588.w2212 22 M10 12 29.0 6 61
10588.w2214 22 M12 14 S5 6 61
10588.W2215 22 M12 14 35.5 6 40
10588.W3014 30/32 M12 14 34.0 8 70
10588.W3016 30/32 M12 16 38.0 8 98
10588.w3018 30/32 M12 18 38.0 8 125
10588.w3019 30 M12 14 41.0 8 78
10588.W3118 30 M16 18 41.0 8 143
10588.W3120 30 M16 20 45.0 8 208
10588.w3122 30 M16 22 49.0 8 270
10588.W3124 30 M16 24 49.0 8 348
10588.w4018 40/43 M16 18 43.0 10 145
10588.w4020 40/43 M16 20 47.0 10 195
10588.wW4022 40/43 M16 22 51.0 10 264
10588.w4024 40/43 M16 24 51.0 10 350
10588.w4319 43 M16 18 52.0 10 160
10558.W4922 49 M20 22 52.0 12 300
10558.w4923 49 M20 22 66.0 12 330
10558.w4924 49 M20 24 55.0 12 390
10558.W4928 49 M20 28 62.0 12 505

174 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Pressure Pad
for power clamp 10588.W0022 - W0049

el - 10588.6

STANDARD MANUAL CLAMPING

ribbed smooth
Material Technical Notes
Stainless steel. Complete with pin.
Order No. Size Form h, h, l W, Weight
g
10588.W0701 22 Smooth 14.0 4.5 19 12 11
10588.W0702 30/32 Smooth 19.5 6.0 25 18 28
10588.W0703 40/43 Smooth 24.0 6.5 30 20 47
10588.W0704 49 Smooth 28.0 7.0 36 25 75
10588.W0711 22 Ribbed 14.0 4.5 19 12 10
10558.W0712 30/32 Ribbed 19.5 6.0 25 18 27
10588.W0713 40/43 Ribbed 24.0 6.5 30 20 48
10558.W0714 49 Ribbed 28.0 7.0 36 25 78

M Wixroud 0333 207 4497 sales@wixroyd.com 175

AN ESSENTRA COMPANY



Replacement Clamping Screw
for 10588 clamps

ONIdWVTI TYNNYW QYVANYLS

i
10588.7
- — -y -
AF Iy
Material
Steel, tempered and burnished.
Order No. Size d, l A/F Weight
g
10588.w0823 22 M12 43 6 30
10588.w0830 30 M16 62 8 80
10588.wW0832 32 M16 55 8 70
10588.w0840 40 M20 65 10 128
10588.w0843 43 M20 78 10 165
10558.w0849 49 mM24 93 12 275

176 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Compact Clamps

e OO

10592.1

STANDARD MANUAL CLAMPING

Material

Body: steel, heat-treated and black coated.
Lever: steel, heat-treated and silver
coated.

Technical Notes

Assembly and set-up:

1. Take out stop pin IS0 4762-M 6 x 10.

2. Move back and take out clamping lever.

3. Tightening by two screws with internal
hexagon (included).

4. Place clamping lever in sliding rail.

5. Tighten clamping screw to torque
required.

Tips
The clamps are corrosion resistant, provide
easy clamping of varied heights with

strong clamping forces. The self-locking
clamping lever allows the clamp to be used
in horizontal or vertical orientations. Slide
back the clamping lever to allow access to
parts. Corrosion resistant coating is
applied to the spacer elements (see order
no’s 10592.W0112 and 10592.W0116).

Order No. d, d, h, h
min. max.

10592.W0012 M12 M8 40 60
10592.wW0016 M1l6 M12 47 85

h,

59
70

step one

step two

bﬂ Wixroyd

AN ESSENTRA COMPANY

hg I ly I3 s Is lg  Tightening w; A/F  Clamping Weight
+1 max. torque force g
Nm kN
max. max.
95 134 70 50 13 100 43 45 45 16 15 1813
126 213 120 50 17 125 &85 75 55 18 25 4274
0333 207 4497 sales@wixroyd.com 177



ONIdWVTI TYNNYW QYVANYLS

Height Adapters
for compact clamp 10592.W0012 and .W0016

10592.2

OEEE=E) e

Material

Steel, heat-treated, black coated.

Technical Notes

The height adapter for compact clamps

allows a clamping heightincrease.

Tips
When using multiple height adapters, the
screws IS0 10642 or DIN 7984 have to be

replaced by screws extended by the dimen-
sionh,.

Order No.

10592.W0112
10592.W0116

dl hl
M12 20
M16 35

178

Wixroyd

AN ESSENTRA COMPANY

+1
134 70 50 13
213 120 50 17
T
[
wixroyd.com

Wy W, Weight
tol. H12 g

45 14 874

55 18 2534




Support Extension
for crocodile clamp 10603

10604

STANDARD MANUAL CLAMPING

dy

-

Il

==
©

Material counterhold of the crocodile clamp to

Body and support screw: steel, zinc plated increase the clamping height.

and hardened. Strength class 8.8. .

Tips
Technical Notes Allows continuous adjustment of clamping
The support extension is screwed to the heights.
Order No. d; x 1 d, ds d, h; h, hs Iy I3 w, Weight
min. | max. g

10604.W0010 M10x39 30 M 5 13 8-30 10 8 44 30 30 197
10604.W0016 M12x49 36 M5 17 10-37 16 10 54 35 42 433
10604.W0018 M12x94 36 M5 17 10-80 16 10 54 35 42 473
10604.W0020 M16x55 42 M5 21 13-41 20 13 60 40 50 608
10604.w0022 M16x90 42 M 5 21 13-73 20 13 60 40 50 640
10604.W0025 M20x69 50 M 6 25 16-52 25 16 70 50 50 1136
10604.W0027 M20x109 50 M 6 25 16-91 25 16 70 50 50 1396

DIN 63308
DIN 63140

10603

DIN 787

10804

M Wixroud 0333 207 4497 sales@wixroyd.com 179

AN ESSENTRA COMPANY



Scalloped Clamp
light design

10610.1 —= =k

ONIdWVTI TYNNYW QYVANYLS

\ — —
-~ L | L
lp I3
Material reduction in weight with no effect on clam-  Tips
Steel, tempered and burnished. ping force that can be applied. Useful for For clamping, T-bolts no. 21000 (DIN 787),
. rotating applications. studs no. 21100 (DIN 6379) and cheese
Technical Notes head screws (IS0 4762) can be used
The weight saving device allows a 50% ’
Order No. Size For clamping screw d; d, h, I I, I3 Wy W, Weight
g
10610.W0022 22 M20, M22 22 M20 44 200 45 77 49 25 1289
10610.W0026 26 M24 26 M24 44 250 46 116 54 30 1630
10610.w0033 33 M30 33 M30 71 315 59 152 72 40 4522
10610.w0043 43 M36, M42 43 M30 80 400 74 209 102 54 9709
o . )
180 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Scalloped Clamp

with adjustable support screw

part no. 25100 part no. 24300

part no. 25700

e 4 i o
1 :
hy max ;
\ ! :
"""""""" : =
_______________________________________ 10610.2 |
=

w1' w2: [ij (I

ping force that can be applied. Useful for
rotating applications.

head screws (IS0 4762) can be used.
h, is dependent on the depth of the slot
and position of the fixture nut.

Material
Steel, tempered and burnished.

Technical Notes
The weight saving device allows a 50%
reduction in weight with no effect on clam-

Tips
For clamping, clamping screws (DIN
21000), stud bolts (DIN 21100) and cheese

Order No. Size For T-slot With T-bolt d, xh, h, hs I [ I3 W, W, Weight
min. | max. g
10610.W0122 22 20 M20x20x160  M20x69 8-58 44 200 45 77 49 25 2434
10610.w0123 22 20 M20x20x200 M20x109 8-98 44 200 45 77 49 25 2531
10610.W0126 26 24 M24x28x200  M24x87 10-81 44 250 46 116 54 30 3779
10610.wW0127 26 24 M24x28x250 M24x137 10-130 44 250 59 116 54 30 3884
10610.W0133 33 36 M30x36x315 M30x180 7-214 71 315 59 152 72 40 9044
10610.wW0143 43 48 M36x42x400 M30x180 7-153 80 400 74 209 102 54 17560
o ] .
i Wixroud 0333 207 4497 sales@wixroyd.com 181
AN ESSENTRA COMPANY



Ratchet Clamping Lever

10680 v

ONIdWVTI TYNNYW QYVANYLS

= -
J‘I
- d |

Material clamps, but particularly useful for part nos.  without the need for spanners.
Steel, burnished. 10400, 10500 and 10620.
Technical Notes Tips

For use as quick acting lever for most The ratchet action allows quick clamping

Order No. d, d, h, h, I Weight
g
10680.wW0012 M12 33 83 48 135 360
10680.wW0016 M16 40 105 64 158 620
o . . )
182 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Eccentric Clamps - Side Action
steel or stainless steel

STANDARD MANUAL CLAMPING

Material treated, nickel plated. Tips
Steel Type: Ball knob: DIN 319 black plastic, (PF31). No. 12500 eccentric clamp, clamps from
Body: steel, blackened. Spiral eccentric Technical Notes the SIDE.
and washer case hardened. Left hand acting version available on
. The screw bolt and washer can be pre-set
screw: bolt nitrated. together so that the clamp can be easil request.
Ball knob: DIN 319 black plastic, (PF31). g . P y No. 12520 clamping catch, clamps from
. rotated to any position - by means of the
Stainless Steel Type: serrations. By removing the washer the ABOVE or BELOW.
Body: stainless steel 1.4305 (AISI 303), -5y g R Left hard acting version can be supplied on
nickel plated. cla‘mp can also be used as an infinitely request.
Screw: stainless steel 1.4021, heat- adjustable stop.
Order No. Material d; hy d, h, hy h, Type A/F Clamping surface Weight
g
12500.W0050 Steel M10 345 50 12 11 0.2 With Lever - Side 317
12500.W0150 Steel M10 24.0 50 12 11 0.2 With Bolt 19 Side 159
12500.W0051 Stainless Steel  M10 34.5 50 12 11 0.2 With Lever - Side 317
12500.W0151  Stainless Steel M10  25.0 50 12 11 0.2 With Bolt 19 Side 159
o . . )
R Wixroyd 0333 207 4497 sales@wixroyd.com 183
AN ESSENTRA COMPANY



Eccentric Side Clamps
with shaft location

12505

ONIdWVTI TYNNYW QYVANYLS

2xTxr, x 225°
25'a e
as0*

(base circle)

Material clamping force and are self-locking in any

Body: sintered steel, case hardened. position. Use in conjunction with gear

Technical Notes lever handle part 74600.

These eccentric clamps provide constant

Order No. W, W, I d, d, d; d, Corres. handle dia. 74600 |, r r, R, r, Strokes; Weight
-0.05]-0.15 tol. h9 g
12505.W0210 13 11 28 24 8 M 6 8 9 120 133 146 153 3.3 50
12505.wW0220 15 13 32 30 10 M8 10 12 150 16.7 183 19.1 4.1 100
12505.wW0230 17 15 36 35 12 M10 12 15 175 194 213 223 4.8 150
o . . )
184 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY




Eccentric Clamps

top/bottom surface - steel or stainless steel

STANDARD MANUAL CLAMPING

Material

Steel Type:

Body: steel, blackened. Spiral eccentric
and washer case hardened.

Screw: bolt nitrated.

Gear lever handle: steel, ground,
blackened.

Ball knob: DIN 319 black plastic, (PF31).

Stainless Steel Type:
Body: stainless steel 1.4305 (AISI 303),

nickel plated.

Screw: stainless steel 1.4021, heat-
treated, nickel plated.

Gear lever handle: stainless steel, 1.4305,
dull blasted.

Ball knob: DIN 319 black plastic, (PF31).

Technical Notes
Through manually adjusting the setting of
the clamping lever, the lever can be placed

in the most convenient position for clam-
ping.

Tips

Type A & B - force generated from TOP of
catch.

Type C & D - force generated from BOTTOM
of catch.

Left hard acting version can be supplied on
request.

Order No. Material
12520.W0250 Steel
12520.W0350 Steel
12520.W0450 Steel
12520.W0550 Steel
12520.W0251 Stainless Steel
12520.W0351 Stainless Steel
12520.W0451 Stainless Steel
12520.W0551 Stainless Steel
bﬂ Wixroyd

AN ESSENTRA COMPANY

Type Clamping surface Description Weight
g
Type A Top Pitch Opposite to Bearing Surface 304
Type B Top Pitch Opposite to Bearing Surface 154
Type C Bottom Pitch on Bearing Surface 312
Type D Bottom Pitch on Bearing Surface 154
Type A Top Pitch Opposite to Bearing Surface 310
Type B Top Pitch Opposite to Bearing Surface 154
Type C Bottom Pitch on Bearing Surface 317
Type D Bottom Pitch on Bearing Surface 153
0333 207 4497 sales@wixroyd.com 185



Locating Clamps

ONIdWVTI TYNNYW QYVANYLS

Material clamping of workpieces.

Body: steel, case-hardened, ground and The locating element is a precision element

blackened. which can be assembled from either side.

Star grip: no. 70020 (orange). Tips

Lever: no. 73000 (black). The clamping and fixing part (made by the

Technical Notes user to suit the workpiece) is screwed onto

Suitable for simultaneous positioning and the unit.

Order No. w,oow, | d, hy dy dy h, hy L, g L g Type Weight
+0.05 tol. H7 | g5 g

17440.W0040 40 27 50 18 298 M6 40 149 169 33 28 19 9 17 8 With palm grip 505
17440.W0050 50 33 60 22 348 M8 50 174 194 42 34 24 10 21 10 With palm grip 862
17440.W0440 40 27 60 18 298 M6 149 169 96 28 19 3 17 8 50 Eccentriclever 566
17440.W0450 50 33 75 22 348 M8 174 194 145 34 24 4 21 10 63 Eccentriclever 1071

186 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Cam Clamps
with clamp and bolt

18000

STANDARD MANUAL CLAMPING

M5 DIN B912

Material
Steel, heat-treated, burnished.

Tips

Especially useful on component fixtures.

Actuation by hand requires force (HF) of tely 16x hand force (HF) applied.
150N approximately.

Important Notes
Clamping force (F) exerted is approxima-

Order No. W, Wy
18000.W0001 30 20
18000.W0002 40 20

bﬂ Wixroyd

AN ESSENTRA COMPANY

I d h, h, I, I Weight
min. max. g
100 M12 26 35 21-43 37 1000
125 M16 26 35 34-66 45 1400
0333 207 4497 sales@wixroyd.com 187



Cam Levers - Single Surface

I‘ -
a3
- 010
4} | T
)Z> by ~ \ A
g s i ¥ O | w ‘h'
S = A
= 3% S 286
= o0 A 21 g
= - - 7+
o 50.2 e 35 51°
1 18020 P—
2 90" x ™ x 50.2
= T
1 \- ‘W
[::E P i 1
Material Technical Notes
Steel, heat-treated. Cam lever for end clamping.
Handle: plastic, coated.
Order No. Wy I h, Weight
g
18020.w0001 14 167 24 300

188 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Cam Clamps - Centre Acting Standard

with clamp and bolt

nual Clam-

STANDARD MANUAL CLAMPING

Material
Body: steel, heat-treated.
Handle: plastic, coated.

Tips
Actuation by hand requires force of appro-

ximately 150N (HF).

Important Notes
Clamping force (F) achieved is approxima-
tely 8x hand force (HF) applied.

Order No. Wy Wy Iy d; h, h, [ I3 Weight
min. max. g
18040.W0001 30 20 100 M12 30 45 21 -43 32 1000
18040.W0002 40 20 125 M16 35 50 34 - 66 40 1450
i Wixroud 0333 207 4497 sales@wixroyd.com 189



Cam Levers - Double Surface

with bolt

T ]
3/ f 32 i
o it -
= r
=
JU> 28
g hl
=
Z =
;c> [ -
iz I
= ' ‘
1 18080 N
= ‘
(3]
5
T
CRENNNN (33 4
i I
Material Technical Notes
Lever: steel, heat-treated. Cam lever for centre clamping.
Handle: plastic, coated.
Order No. Iy d, h, Type Weight
g
18080.w0001 25 M12 110 With Bolt 500
18080.wW0002 30 M16 120 With Bolt 610
18080.w0100 - - - Without Bolt 310
o . . )
190 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY




Cam Levers - Female
fixed

18580.1

STANDARD MANUAL CLAMPING

Material Bearing washer: glass reinforced, thermo- Technical Notes

Handle: zinc die-cast, black plastic coated. plastic. Enables quick and easy clamping of work-

Threaded part, inner parts, adjusting nut: pieces.

steel, galvanised or stainless 1.4305. Withstands temperatures of up to 80°C.

Order No. Material Wy I d; hy d, d, h, hy Clamping stroke s; Weight
max. g

18580.w0003 Steel 16 63 M 5 164 16 185 13 3.0 0.75 60
18580.w0001 Steel 16 63 M 6 16.4 16 18.5 13 3.0 0.75 58
18580.wW0002 Steel 20 82 M8 195 20 22.5 15 3.7 1.00 116
18580.w0203 Stainless 16 63 M5 16.4 16 185 13 3.0 0.75 60
18580.w0201 Stainless 16 63 M 6 16.4 16 185 13 3.0 0.75 58
18580.w0202 Stainless 20 82 M8 19.5 20 225 15 3.7 1.00 116

=S

M Wixroud 0333 207 4497 sales@wixroyd.com 191

AN ESSENTRA COMPANY



ONIdWVTI TYNNYW QYVANYLS

18580.2

Material

Handle: zinc die-cast, black plastic coated.
Threaded part, inner parts, adjusting nut:
stainless steel (AISI 303, 1.4305).

Bearing washer: reinforced glass, thermo-

Technical Notes
Enables quick and easy clamping of work-

Adjustable type enables repositioning of
lever to avoid obstruction of the work-
piece.

Withstands temperatures of up to 80° C.

Order No.

18580.W0302
18580.W0303
18580.wW0301
18580.w0102
18580.w0103
18580.w0101

Material

Stainless

Stainless

Stainless
Steel
Steel
Steel

Q
fiin

<=L
o) U100 O U1 0

Range of adj.

h2

hs h, Clamping stroke s, Weight
min. g
15 3.7 1.00 130
i 30 0.75 65
13 3.0 0.75 64
15 3.7 1.00 130
13 3.0 0.75 65
13 3.0 0.75 64

192

Wixroyd

VVIAL Y3 wixroyd.com
AN ESSENTRA COMPANY




Eccentric Levers - Male
fixed

B | i 18582.1

STANDARD MANUAL CLAMPING

Material Bearing washer: Thermoplastic (POM), pieces. Withstands temperatures of up to
Handle: zinc die-cast, black plastic coated. glass-reinforced. 80° C.
Grub screw, inner parts, adjusting nut:

steel, galvanised, or stainless steel Technical Notes

Enables quick and easy clamping of work-

1.4305.
Order No. Material w, Iy d, h, d, ds I Clamping stroke s, Weight
max. max. g

18582.W0009 Steel 16 63 M 6 le4 16 185 16 0.75 63
18582.W0012 Steel 16 63 M 6 le4 16 185 30 0.75 66
18582.w0014 Steel 16 63 M 6 164 16 185 40 0.75 68
18582.W0016 Steel 16 63 M 6 l6.4 16 185 50 0.75 68
18582.W0019 Steel 20 82 M 8 19.5 20 22.5 20 1.00 129
18582.W0020 Steel 20 82 M8 19.5 20 22.3 25 1.00 130
18582.w0022 Steel 20 82 M8 19.5 20 22.5 35 1.00 133
18582.W0023 Steel 20 82 M8 195 20 225 40 1.00 1135
18582.W0030 Steel 16 63 M 5 16.4 16 185 16 0.75 62
18582.W0031 Steel 16 63 M 5 16.4 16 18,5 20 0.75 63
18582.W0032 Steel 16 63 M 5 16.4 16 18,5 25 0.75 64
18582.wW0033 Steel 16 63 M5 164 16 185 30 0.75 65
18582.W0034 Steel 16 63 M5 164 16 185 35 0.75 65
18582.W0035 Steel 16 63 M5 164 16 18.5 40 0.75 66
18582.W0036 Steel 16 63 M5 164 16 185 50 0.75 67
18582.W0209 Stainless 16 63 M 6 164 16 185 16 0.75 63
18582.W0212 Stainless 16 63 M 6 164 16 185 30 0.75 66
18582.W0214 Stainless 16 63 M 6 l64 16 185 40 0.75 68
18582.W0216 Stainless 16 63 M6 164 16 185 50 0.75 68
18582.w0219 Stainless 20 82 M8 195 20 223 20 1.00 129
18582.W0220 Stainless 20 82 M 8 195 20 22.5 25 1.00 130
18582.W0222 Stainless 20 82 M 8 195 20 22.5 35 1.00 133
18582.w0223 Stainless 20 82 M 8 195 20 225 40 1.00 135
18582.W0230 Stainless 16 63 M5 le4 16 185 16 0.75 62
18582.W0231 Stainless 16 63 M 5 le4 16 185 20 0.75 63
18582.W0232 Stainless 16 63 M 5 le4 16 185 25 0.75 64
18582.W0233 Stainless 16 63 M 5 164 16 185 30 0.75 65
18582.W0234 Stainless 16 63 M 5 le.4 16 18.5 35 0.75 65
18582.W0235 Stainless 16 63 M 5 164 16 18.5 40 0.75 66
18582.W0236 Stainless 16 63 M 5 le4 16 185 50 0.75 67

iR Wixroyd 0333 207 4497 sales@wixroyd.com 193

AN ESSENTRA COMPANY



Eccentric Levers - Male

ONIdWVTI TYNNYW QYVANYLS

194 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Eccentric Levers - Male
adjustable

.1 18582.2

STANDARD MANUAL CLAMPING

Wy

Material Bearing washer: Thermoplastic (POM), pieces. Adjustable type enables re-
Handle: zinc die-cast, black plastic coated. glass-reinforced. positioning of lever to avoid obstruction of
Grub screw, inner parts, adjusting nut: the workpiece.

steel, zinc plated or stainless steel (AISI Technical Notes Withstands temperatures of up to 80° C.

Enables quick and easy clamping of work-

303, 1.4305).
Order No. Material ~ w, I d, h, d, d;  h,range of adj. I, Type Clamping stroke s,  Weight
max. max. g

18582.W0130 Steel 16 63 M5 164 16 19 1.5 16 Adjustable 0.75 68
18582.W0131 Steel 16 63 M5 164 16 19 1.5 20 Adjustable 0.75 69
18582.W0132 Steel 16 63 M5 164 16 19 1.5 25  Adjustable 0.75 70
18582.W0133 Steel 16 63 M5 164 16 19 1.5 30 Adjustable 0.75 71
18582.W0134 Steel 16 63 M5 164 16 19 1.5 35  Adjustable 0.75 71
18582.W0135 Steel 16 63 M5 164 16 19 1.5 40  Adjustable 0.75 72
18582.W0136 Steel 16 63 M5 164 16 19 1.5 50 Adjustable 0.75 73
18582.W0109 Steel 16 63 M6 164 16 19 1.5 16  Adjustable 0.75 69
18582.W0110 Steel 16 63 M6 164 16 19 1.5 20  Adjustable 0.75 69
18582.W0111 Steel 16 63 M6 164 16 19 1.5 25  Adjustable 0.75 71
18582.W0112 Steel 16 63 M6 164 16 19 15 30 Adjustable 0.75 72
18582.W0113 Steel 16 63 M6 164 16 19 1.5 35 Adjustable 0.75 73
18582.w0114 Steel 16 63 M6 164 16 19 15 40  Adjustable 0.75 74
18582.W0116 Steel 16 63 M6 164 16 19 1.5 50 Adjustable 0.75 76
18582.wW0120 Steel 20 82 M8 195 20 25 2.5 25  Adjustable 1.00 142
18582.w0121 Steel 20 82 M8 195 20 25 25 30 Adjustable 1.00 144
18582.wW0122 Steel 20 82 M8 195 20 25 2.5 35  Adjustable 1.00 146
18582.wW0125 Steel 20 82 M8 195 20 25 25 50 Adjustable 1.00 152
18582.w0127 Steel 20 82 M8 195 20 25 2.5 60  Adjustable 1.00 156
18582.W0330 Stainless 16 63 M5 164 16 19 1.5 16  Adjustable 0.75 68
18582.W0331 Stainless 16 63 M5 164 16 19 1.5 20  Adjustable 0.75 69
18582.W0332  Stainless 16 63 M5 164 16 19 1.5 25  Adjustable 0.75 70
18582.W0333  Stainless 16 63 M5 164 16 19 1.5 30 Adjustable 0.75 71
18582.W0334  Stainless 16 63 M5 164 16 19 1.5 35 Adjustable 0.75 71
18582.W0335  Stainless 16 63 M5 164 16 19 1.5 40  Adjustable 0.75 72
18582.W0336  Stainless 16 63 M5 164 16 19 1.5 50 Adjustable 0.75 73
18582.W0309 Stainless 16 63 M6 164 16 19 1.5 16  Adjustable 0.75 69
18582.W0310 Stainless 16 63 M6 164 16 19 1.5 20 Adjustable 0.75 69
18582.W0311 Stainless 16 63 M6 164 16 19 1.5 25  Adjustable 0.75 71
18582.W0312 Stainless 16 63 M6 164 16 19 1.5 30 Adjustable 0.75 72
18582.W0313  Stainless 16 63 M6 164 16 19 1.5 35  Adjustable 0.75 73
18582.W0314 Stainless 16 63 M6 164 16 19 1.5 40  Adjustable 0.75 74
18582.W0316  Stainless 16 63 M6 164 16 19 1.5 50 Adjustable 0.75 76

iR Wixroyd 0333 207 4497 sales@wixroyd.com 195

AN ESSENTRA COMPANY



Eccentric Levers - Male

adjustable

Order No. Material Wy I d; hy d, d, h, range of adj. Iy Type Clamping stroke s;  Weight
max. max g
18582.W0320 Stainless 20 82 M8 195 20 25 2.3 25  Adjustable 1.00 142
18582.W0321  Stainless 20 82 M8 195 20 25 2.5 30 Adjustable 1.00 144
18582.W0322 Stainless 20 82 M8 195 20 25 2.5 35 Adjustable 1.00 146
18582.W0325 Stainless 20 82 M8 195 20 25 25 50 Adjustable 1.00 152
18582.W0327 Stainless 20 82 M8 195 20 25 2.5 60  Adjustable 1.00 156

ONIdWVTI TYNNYW QYVANYLS

196 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Eccentric Levers - Double Surface

with fulcrum pin 18640

Iy
-y -
Iz
= base circle
dy Wy Wy &
Y / Yo =
bd, e - g
Iy =
=
[=]
o 18600
/J"’I 16 =
i A <
97° 4 21.162
.
base circle
Material ground. Complete with circlips. Tips
Lever: steel, alloyed, case-hardened and Can be used with swing bolts.

Technical Notes

blackened. Eccentric clamping cams on both sides.

Fulcrum pin: steel, case-hardened and

Order No. w, w, I d, d, Iy I3 Weight
g
18600.wW0012 32 14.1 100 12 28 125 285 334
] 1 : .
i Wixroud 0333 207 4497 sales@wixroyd.com 197



Cam Levers - Double Surface
with fulcrum pin

ONIdWVTI TYNNYW QYVANYLS

160° & 2xmxryx160°
360"

(base circle)

Material Circlip: stainless steel (AISI 301, 1.4310). Technical Notes
Eccentric: steel (ST52-3, 1.0570), zinc Fulcrum pin: stainless steel (AISI 420, Supplied with fulcrum pin no. 18640.
phosphated or stainless steel, (AISI 304, 1.4021), heat-treated.
1.4301). Grip: red PVC, max. temperature 60°C.

Order No. Wy w, Iy d, hy h, hg rn r, Eccentric stroke s; Total stroke r, - h, Type Weight

tol. 8 g

18620.wW0408 13 9 114 8 1954 14 12 172 21.07 3.87 9.07 Steel 93
18620.W0410 17 12 138 10 2454 17 15 216 2645 4.85 11.45 Steel 178
18620.W0412 20 14 157 12 3181 21 18 280 34.29 6.29 16.29 Steel 290
18620.W0508 13 9 114 8 1954 14 12 17.2 21.07 3.87 9.07 Stainless Steel 94
18620.W0510 17 12 138 10 2454 17 15 216 2645 4.85 11.45 Stainless Steel 175
18620.wW0512 20 14 157 12 3181 21 18 28.0 34.29 6.29 16.29 Stainless Steel 288

198 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Fulcrum Pins - Stainless Steel
for eccentric levers 18620

STANDARD MANUAL CLAMPING

Material supplied. similar applications.
Pin: stainless steel (AISI 420, 1.4021),
heat treated.

Circlip: stainless steel (AISI 301, 1.4310) -

Technical Notes
Suitable for eccentric levers n0.18620 and

Order No. Iy d, d, Iy Weight
-0.5 tol. 18 g
18640.W0082 14 8 14.7 18 7.7
18640.W0085 21 8 14.7 27 10.0
18640.W0102 18 10 17.0 24 14.0
18640.W0105 29 10 17.0 35 21.0
18640.W0122 21 12 19.0 27 23.0
18640.W0125 31 12 19.0 37 34.0

M Wixroud 0333 207 4497 sales@wixroyd.com 199

AN ESSENTRA COMPANY



Machine Vice Clamps

10290 L

ONIdWVTI TYNNYW QYVANYLS

Material Tips
Steel, heat-treated and blackened. Used with:
21000 T-slot bolt, 21120 T-stud, 24400

Technical Notes collar nut, 25000 plain washer.

Supplied in pairs.
Order No. For bolt For vice jaw width hy h, hyxl, I I3 Iy W, w, Weight
g
10290.wW0015 MI12- M16 100 22,5 15 10x6,5 78 40 10.5 40 16.5 660
10290.W0020 MI12- M16 125/160 27.5 20 10x6,5 78 40 10.5 40 16.5 705
o . . .
200 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Vice Tower Set
for 5 side machining on vices

12464

STANDARD MANUAL CLAMPING

Technical Notes

Vice towers mount directly to your 4“ or 6”
vice to elevate your workpiece into the 5-
axis envelope and allow machining on 5
sides of the workpiece. Incorporating
talon, versagrip and pitbull clamps the
system is exceptionally versatile in secu-

your vice, the vice towers can also be
mounted to your T-slot table.

Tips

Low profile clamping reduces material
costs and eliminates the need for time-
consuming workpiece preparation.

2 x vice towers

4 x talon grips 12034.W0075

4 x versagrips 12036.W0175

1 x talon stop 12035.W0220

2 x pitbull clamp 12031.W0060

2 x each support bolts M12x65/100/200
4 x mounting bolts M12x55

ring round or square stock material. Important Notes 4 x T-nuts M12x16
As well as being suited for mounting to Full set contents:
Order No. Type Suitable vice size Mounting bolts h, h, hy I I, I Iy W,
12464.W0066 Set 4" or 6 M12x55 150 239 175 150 126.0 98.6 63.5 26.9
o] 1 N .
R Wixroyd 0333 207 4497 sales@wixroyd.com 201

AN ESSENTRA COMPANY



ONIdWYTI TVNNVIW Q¥YANVYLS

202

Vice Application

e Mount jaws to either 4 or 6 inch vice with logo facing outwards, keeping the mounting bolts loose.

o Determine which grippers will be used, install and hand-tighten the grippers. If VersaGrips are
being used to grip round stock, place in outboard bores. Do not tighten screws at this point.

Tighten vice lightly onto workpiece allowing jaws to centre themselves, adjust VersaGrips, and
tighten gripper screws and mounting bolts for both jaws.

e Loosen vice jaw for load/unload clearance of workpiece. Install support/pivot bolt.

e Setup is complete. Tighten support bolt allowing grippers to penetrate 0.25-1.52mm on
material <40 HRC.

e Foradditional holding force, loosen vice handle which will eliminate any jaw lift that may have
occurred and depending on amount of torque can increase pressure to over 4000 kg.

T-slot and Grid Table Application

e Using vertical counterbores on outboard edges of jaws, install mounting bolts into t-nuts or grid
plate and adjust accordingly. Do not tighten at this time.

e Select appropriate support bolts and install in upper horizontal counterbore and thread into
opposite tower.

e Place workpiece between jaws and lightly tighten upper support bolt until all grippers contact
workpiece. Tighten vertical mounting bolts.

e Loosen upper support bolt one full turn or until adequate workpiece clearance is obtained.
e Upper support bolt is now the “drive bolt” for securing and releasing workpiece.

e Any size T-nuts can be utilised. We provide 16mm T-nuts.

Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Clamping Sets
with low height clamps 12200

Material

Clamp sets are designed for use on T-slot
machines, and contain all the necessary

parts to quickly clamp tools, fixtures or

workpieces. All parts are interchangeable
and are made of heat treated steel to DIN

standard (class 8 or class 10). The clam-
ping set comes in a wooden box which has
a removable lid.

Order No.

19100.w0010
19100.wW0012

19100.wW0014

19100.W0015
19100.W0016

19100.wW0018

Order No.
19100.wW0010

Thread & Slot size Box | x w x h Step blocks 14000

M10x 10

M12 x 12

M12 x 14

M14 x 16

Ml6 x 16

M16 x 18

Fixture nuts
24300

\WO0110 x 6pcs

Wixroyd

AN ESSENTRA COMPANY

.W0001 x 4pcs
.W0002 x 4pcs
.W0003 x 2pcs

355x270x4
7

460x330x5 .W0002 x 4pcs
0 .W0003 x 4pcs

460x330x5 .W0002 x 4pcs
0 .W0003 x 4pcs

510x415x5 .W0002 x 4pcs
0 .W0O003 x 4pcs

510x415x5 .WO0002 x 4pcs
0 .W0003 x 4pcs

510x415x5 .W0002 x 4pcs
0 .W0003 x 4pcs

Extension nuts
24600

\W0110 x 4pcs

0333 207 4497

Dished washers
25700

\W0110 x 6pcs

T-Bolts 21000

40mm .W0101 x 2pcs
63mm .W0102 x 4pcs
100mm.W0103 x
4pcs
50mm .WO0121 x 2pcs
80mm .W0123 x 4pcs
125mm .W0124 x
4pcs
50mm .W0141 x 2pcs
80mm .W0143 x 4pcs
125mm .W0144 x
4pcs
63mm .WO0161 x 2pcs
100mm .W0162 x
4pcs
160mm .W0163 x
4pcs
63mm .WO0165 x 2pcs
100mm .W0167 x
4pcs
160mm .W0168 x
4pcs
63mm .WO0181 x 2pcs
100mm .W0183 x
4pcs
160mm .W0184 x
4pcs

Low height clamp
12200

\WO0012 x 4pcs

Step clamps 10020

.W0010 x 4pcs

.W0014 x 4pcs

\W0014 x 4pcs

.W0018 x 4pcs

.WO0018 x 4pcs

\WO0018 x 4pcs

T-Slot scrapper
26300

Studs 21100 Weight
kg
80mm .W0102 x 4pcs 9.2
100mm .W0124 x 143
4dpcs
100mm .W0124 x 146
4dpcs
125mn;.W0147x 185
pcs
125mm .W0164 x 215
4pcs
125mm W0164 x 2150
4pcs 0
S Thread
panner o cte
16 x 1pc
1pc
203

sales@wixroyd.com

STANDARD MANUAL CLAMPING




ONIdWVTI TYNNYW QYVANYLS

Order No.
19100.W0012
19100.W0014
19100.W0015
19100.W0016

19100.w0018

204

Fixture nuts
24300

\WO0112 x 6pcs
\WO0112 x 6pcs
\WO0114 x 6pcs
\WO0116 x 6pcs

\W0116 x 6pcs

Clamping Sets

with low height clamps 12200

Extension nuts
24600

\WO0112 x 4pcs
\WO0112 x 4pcs
\W0114 x 4pcs
\WO0116 x 4pcs

\W0116 x 4pcs

bﬂ Wixroyd

AN ESSENTRA COMPANY

Dished washers
25700

\WO0112 x 6pcs
WO0112 x 6pcs
.W0114 x 6pcs
\W0116 x 6pcs

.W0116 x 6pcs

Low height clamp
12200

\W0012 x 4pcs
\WO0014 x 4pcs
.W0016 x 1pc
\W0016 x 1pc

.W0018 x 1pc

wixroyd.com

T-Slot scrapper
26300

WO0120 x 1pc
.W0120 x 1pc
\W0120 x 1pc

.W0120 x 1pc

Spanner

18 x
1pc
18 x
1pc
22 X
1pc
24 x
1pc
24 x
1pc

Thread
paste

1pc
1pc
1pc
1pc

1pc



Clamping Sets
with stop clamps 10020

Technical Notes

High quality clamping set for machines.
Comprising step clamps no. 10200 and

step blocks no. 14000. High quality T-bolts
and studs (class 8 or class 10). With spring

clamp supports.

Order No.

19200.wW0010

19200.W0012

19200.wW0014

19200.W0016

19200.wW0018

19200.W0020

19200.W0022

19200.W0024

Thread & Slot size Box | x w x h Step blocks 14000

M10x 10

M12 x 12

M12 x 14

M16 x 16

M16 x 18

M20 x 20

M20 x 22

M20 x 24

bﬂ Wixroyd

AN ESSENTRA COMPANY

355x225x4
7

359x333x5
2

359x333x5
2

390x415x5
5

390x415x5
5

480x528x6
0

480x528x6
0

480x528x6
0

.W0001 x 4pcs
.W0002 x 4pcs
.W0003 x 2pcs

.W0002 x 4pcs
.W0003 x 4pcs

.W0002 x 4pcs
.W0003 x 4pcs

.W0002 x 4pcs
.W0O003 x 4pcs

.W0002 x 4pcs
.W0003 x 4pcs

.W0002 x 4pcs
.W0O003 x 4pcs

.W0002 x 4pcs
.W0003 x 4pcs

.W0002 x 4pcs
.W0003 x 4pcs

0333 207 4497

T-Bolts 21000

63mm .W0102 x 4pcs

100mm .W0103 x
4pcs

80mm .W0123 x 4pcs

125mm .W0124 x
4pcs

80mm .W0123 x 4pcs

125mm .W0124 x

Step clamps 10020

\W0011 x 4pcs

.W0014 x 4pcs

\W0014 x 4pcs

Studs 21100

80mm .W0083 x 4pcs

100mm .W0124 x
4dpcs

100mm .W0124 x

4pcs 4dpcs
100mm .W0167 x
4pcs 125mm .W0164 x
160mm wo168x V0018 x4pcs 4pcs
4pcs
100mm .W0183 x
4pcs 125mm .W0164 x
160mm wo1g4 x  WOO018x4pcs 4pcs
4pcs
125mm .W0203 x
4pcs 125mm .W0202 x
200mm .W0205 x OOZZ A 4pcs
4pcs
125mm .W0223 x
4pcs 125mm .W0202 x
200mm .W0225 x -W0022 x 4pcs 4pcs
4pcs
125mm .W0202 x
8pcs
) WO022x4pes 500mm .W0204 x
4pcs
sales@wixroyd.com

Weight
kg

6.5

11.0

16.5

16.5

24.5

24.5

24.8

205

STANDARD MANUAL CLAMPING




ONIdWVTI TYNNYW QYVANYLS

Order No.
19200.W0010

19200.wW0012

19200.wW0014

19200.wW0016

19200.w0018

19200.W0020

19200.W0022

19200.W0024

206

T-nuts 24000

W0242 x
8pcs

Clamping Sets

with stop clamps 10020

Fixture nuts
24300

\WO0110 x 6pcs
\WO0112 x 4pcs
\W0112 x 4pcs
\W0116 x 4pcs
\WO0116 x 4pcs
.W0120 x 6pcs
\W0120 x 6pcs

.W0120 x 6pcs

bﬂ Wixroyd

AN ESSENTRA COMPANY

Extension nuts
24600

\W0110 x 4pcs
\WO0112 x 4pcs
\WO0112 x 4pcs
\WO0116 x 4pcs
\WO0116 x 4pcs
.W0120 x 4pcs
\W0120 x 4pcs

\WO0120 x 4pcs

Dished washers
25700

\W0110 x 6pcs
\WO0112 x 6pcs
\W0112 x 6pcs
.W0116 x 6pcs
\W0116 x 6pcs
.W0120 x 6pcs
\W0120 x 6pcs

.W0120 x 6pcs

wixroyd.com

T-Slot scrapper
26300

\WO0120 x 1pc
.W0120 x 1pc
\W0120 x 1pc
.W0120 x 1pc
.W0132 x 1pc

\W0132 x 1pc

Clamp Support
26000

\WO0101 x 4pcs
\WO0102 x 4pcs
\WO0102 x 4pcs
.W0103 x 4pcs
\W0103 x 4pcs
\W0104 x 4pcs
\W0104 x 4pcs

.W0104 x 4pcs

Span
ner
16 x
1pc
18 x
1pc
18 x
1pc
24 x
1pc
24 x
1pc
30 x
1pc
30 x
1pc
30 x
1pc

Thread
paste

1pc
1pc
1pc
1pc
1pc
1pc
1pc

1pc



Basic Clamp Set

STANDARD MANUAL CLAMPING

Material screw parts to strength class 8 or 10. Ideal
All parts are produced from tempered steel for tool making, manufacturing and trai-
according to DIN or factory standards, ning facilities.
Order No. Thread & Slot size Step blocks 14000 T-Bolts 21000 Step clamps 10020 Weight
kg
50mm .W0141 x 2pcs
19240.W0014 M12 x 14 ooo2 x apcs 80mm .W0143 x 4pcs oorax2pes 100
: P 125mm WO0144 x 4pcs : P
63mm .W0161 x 2pcs
19240.W0016 M14 x 16 it 100mm .WO162 x 4pcs e 11.1
’ P 160mm .W0163 x 4pcs ’ P
63mm .W0181 x 2pcs
19240.W0018 M16 x 18 'wgggg X oS 80mm .WO182 x 4pcs 'wggig X gpgz 15.2
: P 160mm .WO0184 x 4pcs : P
Order No. Studs 21100 Fixture nuts 24300 Extension nuts 24600 Dished washers 25700
19240.W0014 100mm .W0124 x 2pcs \W0112 x 6pcs \W0112 x 2pcs \WO0112 x 6pcs
19240.W0016 100mm .W0142 x 2pcs .W0114 x 6pcs \WO0114 x 2pcs \WO0114 x 6pcs
160mm .W0143 x 2pcs
19240.W0018 125mm .W0164 x 4pcs \WO0116 x 6pcs \WO0116 x 4pcs \W0116 x 6pcs

200mm .W0166 x 2pcs

M Wixroud 0333 207 4497 sales@wixroyd.com 207

AN ESSENTRA COMPANY



ONIdWVTI TYNNYW QYVANYLS

T-Bolt Set

in wooden box

Technical Notes

Set no 29000.W0020 contains extra studs
no. 21100 (2 x 80 mm, 4 x 125 mm) in

place of T-bolts no. 21000.

Order No.

29000.w0010

29000.W0012

29000.w0014

29000.W0016

29000.w0017

29000.w0018

29000.w0020

29000.W0022

29000.w0028

208

Thread & Slot size

M10x10

M12x12

M12x14

M14x16
M1léx16

M16x18
M18x20
M20x22

M24x28

Wixroyd

AN ESSENTRA COMPANY

Box I xw x h

254x188x32

276x234x36

278x234x36

317x239x44

339x294x48

339x294x48

358x342x56

358x342x56

444x409x72

T-Bolts 21000

40mm .W0101 x 2pcs
63mm .W0102 x 4pcs
100mm.W0103 x 4pcs
50mm .WO0101 x 4pcs
80mm .W0102 x 4pcs
200mm .W0106 x 4pcs

50mm .W0141 x 2pcs
80mm .W0143 x 4pcs

63mm .W0161 x 2pcs
100mm .W0162 x 4pcs

63mm .WO0165 x 2pcs
100mm .W0167 x 4pcs
160mm .W0168 x 4pcs

63mm .W0181 x 2pcs
100mm .WO0183 x 4pcs

80mm .W0201 x 2pcs
125mm .W0203 x 4pcs

100mm .W0281 x 2pcs
160mm .W0283 x 4pcs

wixroyd.com

Studs 21100

50mm .WO0101 x 4pcs
80mm .W0102 x 4pcs
200mm .W0106 x 4pcs
63mm .W0122 x 4pcs
100mm .W0124 x 4pcs
200mm .W0127 x 4pcs
63mm .W0122 x 4pcs
100mm .W0124 x 4pcs
125mm .W0125 x 4pcs
200mm .W0127 x 4pcs
63mm .W0141 x 4pcs
100mm .W0142 x 4pcs
160mm .W0143 x 4pcs
250mm .W0145 x 4pcs
80mm .W0162 x 4pcs
125mm .W0164 x 4pcs
250mm .W0167 x 4pcs
80mm .W0162 x 4pcs
125mm .W0164 x 4pcs
160mm .WO0165 x 4pcs
250mm .W0167 x 4pcs
80mm .W0181 x 6pcs
125mm .W0182 x 8pcs
200mm .W0184 x 4pcs
315mm .WO0186 x 4pcs
80mm .W0201 x 4pcs
125mm .W0202 x 4pcs
200mm .W0204 x 4pcs
315mm .W0206 x 4pcs
100mm .W0241 x 4pcs
160mm .W0243 x 4pcs
250mm .W0245 x 4pcs
400mm .W0247 x 4pcs

Weight

2000

3200

3500

5400

7400

7400

11000

13500

23600




Order No.

29000.w0010
29000.W0012
29000.w0014
29000.W0016
29000.w0017
29000.w0018
29000.w0020

29000.W0022
29000.w0028

T-nuts 24000

\WO0143 x 4pcs
\W0164 x 4pcs

\WO0185 x 4pcs
.W0202 x 10pcs

\W0223 x 4pcs
\W0284 x 4pcs

bﬂ Wixroyd

AN ESSENTRA COMPANY

Fixture nuts 24330 Extension nuts 24600 Dished washers 25700 Spherical washer 25100 Plain washer 25000

\W0110 x 4pcs
\W0112 x 4pcs
\WO0112 x 4pcs
\W0114 x 4pcs
\W0116 x 4pcs
\WO0116 x 4pcs
\W0118 x 4pcs

\WO0120 x 4pcs
\W0124 x 4pcs

\W0110 x 4pcs
\WO0112 x 4pcs
\WO0112 x 4pcs
\W0114 x 4pcs
\W0116 x 4pcs
\WO0116 x 4pcs
\W0118 x 4pcs

\WO0120 x 4pcs
\W0124 x 4pcs

0333 207 4497

T-Bolt Set

in wooden box

\W0110 x 4pcs
\WO0112 x 4pcs
\W0112 x 4pcs

\WO0110 x 4pcs
\WO0112 x 4pcs
\WO0112 x 4pcs

\WO0114 x 4pcs \WO0114 x 4pcs
\W0116 x 4pcs \WO0116 x 4pcs
\WO0116 x 4pcs \WO0116 x 4pcs
\WO0120 x 4pcs \WO0120 x 4pcs
\W0124 x 4pcs \W0124 x 4pcs
sales@wixroyd.com

\W0110 x 4pcs
\WO0112 x 4pcs
\WO0112 x 4pcs
\WO0114 x 4pcs
\W0116 x 4pcs
\WO0116 x 4pcs
\W0118 x 10pcs

\WO0120 x 4pcs
\W0124 x 4pcs

209

STANDARD MANUAL CLAMPING




2.2 Ton Finger Clamp - Smooth Face

movable jaw

' J_—‘— y 4
L Y _~ g
Yo PN hs Y
A i -JD—- dy i
- d‘-q
&
= actuation via
% hexagon at rear AJF
o
= J
3 i @or—/ 1
=4 Wa o Wy l— I wy
r?! A 1 ')\ |
o S |
111040 T
§ —— e
= 1
[} -—— ]y
- -y

Material
Hardened steel, with spring steel clamping
element.

Technical Notes

A low height, very powerful compact
clamp.

These clamps have a unique sideways and

downwards clamping action.

Tips

Provided with specially ground location
bolts @10,2 - M10, allowing for precise
positioning. For mounting there are 2
tapped holes at 44,00 +0,005mm centres,
M10 with depth of 28mm, counterbore

10,2 (H6) with depth of 14mm.

Important Notes

When used in conjunction with fixed stop,
part nos. 11041 or 11043, these clamps
achieve a positive downforce on both faces
of the workpiece - a unique feature.

Order No. Clamping height h; Clamping stroke |, d, d, hy h, hg Iy
tol. h6

11040.W0025 10 18-34 M10 10.2 18 27 33 17 60

Order No. l I Iy w, W, W, AJF Clampi'\rl1rgntorque CIampLi(rlllg force
11040.W0025 13 8 18 60 44 30 50 22

o . . .
210 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY




- Updated -13-10-2022

ov-W11040-A-T-W10940-A-T-horizontal-clamping-rnh

Horizontal Clamping Clamping &
Height Setting

up to 2.2 tons

11040/CL2040
Clamping Torque Clamping Force
N/m N
50 23000
40 18000
30 12500
25 11500
20 9500

11070/CL2070
Clamping Torque Clamping Force
N/m N
60 16500
50 15000
40 12000
30 10000
25 8000
20 7000

11081/CL2081
Clamping Torque Clamping Force
N/m N
5 6600
45 5500
4 4900

bﬂ Wixroyd

AN ESSENTRA COMPANY

10940/CL0030
Clamping Torque Clamping Force
N/m N
8.5 4000
8 3800
7 3400
6 3000
5 2500
4 2000
0333 207 4497 sales@wixroyd.com 211

HEAVY-DUTY SIDE CLAMPING



ONIdWV1I 3AIS ALNA-AAYIH

2.2 Ton Finger Clamp - Fixed Stop

smooth face

b :m hy il
d i
dy
Wy Wy
Y Y
—© |4
clamping clamping
1 1 0 4 1 stop W stop
L @ \
i i

L[

single fixed jaw

A
Ahy n
il
d;
dy
— 0=
clamping
stop
w2
— — Y
1©
- -
1]
— L

double fixed jaw

Tips

Provided with specially ground location
bolts @10,2 - M10, allowing for precise
positioning. Precision of the screws also
allows dimension L, to be used as a useful

Material
Spring steel.

Technical Notes
These stops have a unique sideways and
downwards action.

clamping datum. For mounting there are 2
tapped holes at 44,00 +0,005mm centres,
M10, with depth of 28mm, counterbore
10,2 (H6), with depth of 14mm.

Order No. Type Clamping height h; d, d, h, hs
tol. h6
11041.W0080 Single 7 M10 10.2 22 15
11041.W0082 Double 7 M10 10.2 22 15
- 2 br
O
o . . .
212 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY

h I, Wy Wy
50 30 60 44
60 30 60 44




2.2 Ton Clamp - Serrated Face

movable jaw

— T 1 i
Y 1 A\l
hy hy
2 Y E | hs
A d, i 1
i) .
i k. A 2
AF E
i ® $ =
[} I=I.|: g
W wy L s o
Y [T =
gy =10 11042 :
b -y =
- 13 -
Material wards clamping action. of 28mm, counterbore 10,2 (H6) with
Hardened steel, with spring steel clamping Tips depth of 14mm.
element. Provided with specially ground location Important Notes
Technical Notes bolts 10,2 - M10, allowing for precise When used in conjunction with fixed stop
A low height, very powerful compact positioning. (part nos. 11041 or 11043) these clamps
clamp. For mounting there are 2 tapped holes at achieve a positive downforce on both faces
These clamps exert a sideways and down- 44,00 £0,005mm centres, M10 with depth of the workpiece - a unique feature.
Order No. Clamp Clamp d; d, hy hy h, hg I, I3 1, w  w, w; A/F Torqueto Clamping
heighth,  stroke I, tol. h6 Nm force
max. kN
max.
11042.W0027 18 18-34 M10 102 10 27 33 17 60 13 8 60 44 30 8 50 22
}—':'{ l.l:lﬂ—li
‘ =
I L & & [0
o . s )
R Wixroyd 0333 207 4497 sales@wixroyd.com 213
AN ESSENTRA COMPANY



2.2 Ton Fixed Stop - Serrated Face

I
s
3
=
%
=
2 Wa
111043
= mi© N
l - lz -
Wy
-l -
Iy

Material downwards action. positioning. For mounting - 2 tapped holes

Spring steel. Tips at 44,00 £0,005mm centres, M10 with

Technical Notes Provided with specially ground location \c/ivicphtf:jgfchS(r)T}n;zrcnonqunterbore 10,2 (H6)

These stops have a unique sideways and bolts 10,2 - M10, allowing for precise P ’

Order No. Type Clamping height h; d, d, h, hs I ly w, W,
tol. h6
11043.W0081 Serrated Face 7 M10 10.2 15 22 50 30 60 44
o . . )
214 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Base Plates Finger - Short

for 2.2 ton clamps

— h -
R R A
-------------------- hy
|'.|“..‘_I._|..._..“_L...'.."_n.__‘_ | ‘
0=
i[OO }
i © ©0 0 0 .
" 0000 | M -
Y 0 0 06 O v 11045
e Looe)e] |
2 mee
& 3x22=66
Material Tips

Steel, hardened, with ground faces.

Technical Notes
For T-slot tables and fixture plates.

Provided with 3 x M12 fixing screws and
centring locator.
For use with parts 11040-11043.

Order No. d, d,
11045.W0016 M12 20
e Wixroyd

AN ESSENTRA COMPANY

hy I I, I3 W, w, W3
28 138 11 14 104 80 60
0333 207 4497 sales@wixroyd.com

44

215

HEAVY-DUTY SIDE CLAMPING




Base Plates Finger - Long

for 2.2 ton clamps

ONIdWV1I 3AIS ALNA-AAYIH

~
2X44=88 33
~ -
[ eve 8 g sy
H ¥ U
L
- - ds
d4
-ldHISHISHld-' d3
| [[6600006060600060600606060
W g @D © CID
1 '"Lococooco000000000000
- ! -
- - l2
I3 i

Material

Steel, hardened, with ground faces.

Technical Notes
For T-slot tables and fixture plates.

Tips

Provided with 3 x M12 fixing screws and
centring locator.

For use with parts 11040-11043.

Order No. d, d, ds h, I Iy I3 Iy I lg
11046.W0015 M12 20  @102-M10 28 400 352 60 40 24 22
. . . .
216 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY

60

44




2.2 Ton Finger Clamps

vice sets

11050

HEAVY-DUTY SIDE CLAMPING

Material Technical Notes Tips
Clamp rail: steel, hardened and ground A low height, very powerful compact clamp Provided with specially ground location
faces. system. bolts 10,2 - M10.
Clamps: hardened steel, with spring steel These clamps have a unique sideways and Also available with serrated jaws.
clamping element. downwards clamping action.
Stops: spring steel. Maximum workpiece capacity 280mm.

Order No. Type Base Clamp Stop
11050.wW0004 Standard Vice Set 1 pc 11046.W0015 1 pc 11040.W0025 1 pc 11041.W0080

i ‘ |

o o gl L OO;OO l
e s s o = U

M Wixroud 0333 207 4497 sales@wixroyd.com 217

AN ESSENTRA COMPANY



ONIdWV1I 3AIS ALNA-AAYIH

2.2 Ton Finger Clamps

double vice sets

11051

Material
Clamp rail: steel, hardened, with ground
faces.
Clamps: hardened steel, with spring steel
clamping element.
Stops: spring steel.

Technical Notes
A low height, very powerful compact

clamp. bolts #10,2 - M10.

These clamps have a unique sideways and Also available with serrated jaws.
downwards clamping action.

Maximum workpiece capacity 107mm when

used as a double vice, or 280mm when

used as a single vice.

Tips
Provided with specially ground location

11051.w0002

Order No.

Type

Double Vice Set

218

Wixroyd

AN ESSENTRA COMPANY

Base Clamp Stop
1 pc 11046.W0015 2 pcs 11040.W0025 1 pc 11041.W0082
wixroyd.com




2.2 Ton Finger Clamps

modular vice set

Material

Clamp rail: steel, hardened, with ground
faces.

Clamps: hardened steel, with spring steel
clamping element.

Stops: spring steel.

Technical Notes Tips

A low height, very powerful compact Provided with specially ground location
clamp. bolts 10,2 - M10.

These clamps have a unique sideways and Also available with serrated jaws.

downwards clamping action.

Order No. Type
11052.W0006 Modular Vice Set

bﬂ Wixroyd

AN ESSENTRA COMPANY

Base

2 pcs 11045.W0016

0333 207 4497

Clamp Stop
1 pc 11040.W0025 1 pc 11041.W0080
sales@wixroyd.com

219

HEAVY-DUTY SIDE CLAMPING




ONIdWV1I 3AIS ALNA-AAYIH

11070

Y
 — -
la
— L
Iz
clamping stop

Material

Hardened steel, with spring steel clamping

element.

Technical Notes

A low height, very powerful compact

These clamps have a unique sideways and
downwards clamping action.

Provided with specially ground location

bolts #10,2 - M10, screws, washers and
clamping key. For mounting there are 2
tapped holes at 44,00 +0,005mm centres,
M10 with depth of 28mm, counterbore
10,2 (H6) with depth of 14mm.

Order No.

11070.wW0020

Clamping  Clamping height
adjustment |5 h,
25 7

d d, hy
tol. h6

M10 10,2 33 265 56

220

Wixroyd

AN ESSENTRA COMPANY

wixroyd.com

Iy Wy w, w;  Torque to Clamping

Nm force

max. kN

max.

365 66 44 30 70 12




1.2 Ton Fixed Stops

for finger clamps

A
by "y ] ey
dy da
dy dy
E
Wy Wy %
v Y 3
—© | = =
double double u double g
larmpin W, clampini 2 clampin
o ‘ b o 11071 2
—y @ Y — ] @ [ — | %
I P
1 - L ‘ — - =
Iz Iz
— |, Ll - |‘ -
single fixed jaw double fixed jaw
Material downwards action. 2 tapped holes at 44,00 £0,005mm
Spring steel. Tips centres, M10 with depth of 28mm, coun-
Technical Notes Provided with specially ground location terbore 10,2 (H6) with depth of 14mm.
These stops have a unique sideways and bolts #10,2 - M10. For mounting there are
Order No. Type Clamping height h; d, d, h, hs I Iy w, W,
11071.wW0080 Single 7 M10 10.2 22 15 50 30 60 44
11071.W0082 Double 7 M10 10.2 22 15 60 30 60 44

15mm

= st 1
A P e

i
pull down clamping side clamping
. . . .
WB M 0333 207 4497 sales@wixroyd.com 221
AN ESSENTRA COMPANY



1.2 Ton Finger Clamps

double vice set

11075

ONIdWV1I 3AIS ALNA-AAYIH

Material Tips
Steel, hardened, with ground faces. Provided with 2 x M12 fixing screws and

Technical Notes centring locator.

For T-slot tables and fixture plates.

Order No. Rail Stop Type Clamp
11075.wW0010 1 pc 11046.W00015 1 pc 11071.Ww0080 Vice Set 1 pc 11070.W0020
120 max 120 max
|
el e
0 0 O
260 max

222 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



1.2 Ton Finger Clamps

modular vice set

Material Tips
Steel, hardened, with ground faces. Provided with 3 x M12 fixing screws and

Technical Notes centring locator.

For T-slot tables and fixture plates.

Order No. Rail Stop Type Clamp
11076.W0014 2 pc 11045.W0016 1 pc 11071.W0080 Modular Vice Set 1 pc 11070.W0020

— =
A 4 AL &4 i & A & &

iR Wixroyd 0333 207 4497 sales@wixroyd.com

AN ESSENTRA COMPANY

223

HEAVY-DUTY SIDE CLAMPING




ONIdWV1I 3AIS ALNA-AAYIH

1.0 Ton Finger Clamps

for fixtures

11080

see clamping jaw detads below

n—

standand jie

clamping jaw delals

raesed jarw

ean-rmsed jaw

Material
Aluminium body, with spring steel clam-
ping element.

Technical Notes
A low height, very powerful compact

clamp.
These clamps have a unique sideways and
downwards clamping action.

Tips
Clamp jaws and clamp body sold separa-

tely. To order please select clamp body
11080.W0090 then most suitable clamp
jaw for your application - (part nos. 11080.
W0610 to 11080.W0625).

Order No. Type Jaw height h; Clamp stroke s, w, d, d,
11080.W0090 Clamp Body - 20 18 to 38 - M 6 10
11080.W0610 Standard Jaw 4.7 - - 28 - -
11080.W0615 Low Jaw 2.5 - - 28 - -
11080.W0620 Raised Jaw 8.0 - - 28 - -
11080.W0625 Extra-raised Jaw 135 - - 28 - -

Order No. h, hy Iy [ h, I3 hs Iy he h, hg W, Wy w,
11080.W0090 - - 104 69.5 - 23 - 18 24 9 12 55 37 10
11080.W0610 - - - - - - 17 - - - - - - -
11080.W0615 6.0 - - - - - 17 - - - - - - -
11080.W0620 - 4.0 - - - - 17 - - - - - - -
11080.W0625 - - - - 2.5 - 17 - - - - - - -

=— & S
o . . .
224 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY




1.0 Ton Finger Clamps

for T-slots

588 claming jaw Gotals below

L] hy
— ==
AL Eln on| o Ot
4 i i im
> dz i
Bmm hexagonal sockel
-~ i
Wy | ( T —_— s
= Wy x|_" |”’\j !
il N e ML
L]
- - -
3 Iy Iy - -
- T -l
chamg e clamp body
Fd L
h hy T
i }— - e =
' / S ' \ h ~
mipel W IS\ M

o jaw

standard jaw raisod jow extra-raised jaow

clamping jaw haight details

11081

Material
Jaw: spring steel.
Body: aluminium.

Technical Notes

These clamps have a unique sideways and

downwards action.

Please see part no. 11082 for fixed stops.
Tips

Provided location bolts - M10, M12.
Clamp and body supplied separately. To

order please select clamp body (part nos.
11081.W0065 or .W0068) then the clam-
ping jaw most suitable for your application
(11081.W0610 to .W0625).

Order No.

11081.W0065
11081.wW0068
11081.W0610
11081.W0615
11081.W0620
11081.W0625

Order No.

11081.W0065
11081.W0068
11081.W0610
11081.W0615
11081.W0620
11081.W0625

Type

Clamp Body M10
Clamp Body M12
Standard Jaw
Low Jaw
Raised Jaw
Extra-raised Jaw

bﬂ Wixroyd

AN ESSENTRA COMPANY

Clamp stroke Sy Wy d, hy h, hs I I,
20 18 to 38 - M10 10 - - - 104 69.5
20 18 to 38 - M12 10 - - - 104 69.5

- - 28 - 2.5 - - - -
= = 28 = 4.7 6.0 = = =
- - 28 - 8.0 - 4.0 - -
- - 28 - 135 - - - -
I he h, he W, W, Clampinitorque CIamerlllg force
1.8 24 9 12 55 10 12 10
1.8 24 9 12 55 10 12 10
0333 207 4497 sales@wixroyd.com 225

HEAVY-DUTY SIDE CLAMPING




1.0 Ton Finger Clamps
for T-slots

ONIdWV1I 3AIS ALNA-AAYIH

226 L‘, Wixroyd wixroyd.com

AN ESSENTRA COMPANY



1.0 Ton Fixed Stops

for 1 ton finger clamps

see clamping jaw details below

=23
hy — L i 4 e
Wt WA S
L i i
low jaw standard jaw extra-raised jaw

clamping jaw details

11082

Material
Hardened steel, with spring steel clamping
element.

Tips
Supplied with clamping screw and @18
centering bush. When used longitudinally

For use with part nos. 11080 and 11081.
Fitting instruction:
Tap M10/M12 counterbore 18,00 (H7) with

. along a T-slot it is advisable to use anti- depth 5mm.
Technical Notes . " .
. slip T-nuts or additional stops to resist the
A low height, very powerful compact clamp .
stop force exerted by the clamping element.

Order No. Type Jaw height h; Jaw type Wy d, d, h, hg I Iy
11082.wW0140 Single 4.7 Standard 28 M10 18 - 15 60 40
11082.wW0141 Single 4.7 Standard 28 M12 18 - 15 60 40
11082.wW0142 Single 135 Extra-raised 28 M10 18 2.5 15 60 40
11082.w0143 Single 2.5 Low 28 M10 18 6 15 60 40
11082.w0144 Single 2.5 Low 28 M12 18 6 15 60 40
11082.w0145 Double 6.0 Standard 28 M10 18 15 80 40
11082.w0147 Double 6.0 Standard 28 M12 18 - 15 80 40
o . . )

R Wixroyd 0333 207 4497 sales@wixroyd.com 227

AN ESSENTRA COMPANY

HEAVY-DUTY SIDE CLAMPING




ONIdWV1I 3AIS ALNA-AAYIH

Fixed stops
for 1 ton finger clamps

11083

2 25

— 4 - " Yﬁ—
JEN S\ w0
i

i

\I £

-
|

\\

low standard raised exira-raised

clamping heights

Material
Spring steel.

Technical Notes
These stops have a unique sideways and

downward action.
For use on support bars, part no. 11086.
Supplied with M6 screws and dowel pin.

Order No. Type W, d, d, h, I I, I3 Iy
11083.W0120 Low Jaw 28 M6 8 17 95 57.7 40 20
11083.W0125 Standard Jaw 28 M6 8 17 95 57.7 40 20
11083.W0130 Raised Jaw 28 M 6 8 17 95 57.7 40 20
11083.W0135  Extra-raised Jaw 28 M6 8 17 95 57.7 40 20

. . . .
228 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



1.0 Ton Finger Clamp Sets

Material Body: aluminium. used as a single vice.

Support bar: steel, hardened, with ground Supplied with M12 mounting screws.
faces.

Clamping jaws: spring steel.

Tips
Maximum workpiece capacity 232mm when

Order No. Type Rail Clamp body Clamp jaw Fixed clamp
11085.W0455 Set 1 pc 11086.W0040 1 pc 11080.W0090 1 pc 11080.W0610 1 pc 11083.W0125

T —1

M Wixroud 0333 207 4497 sales@wixroyd.com

AN ESSENTRA COMPANY

229

HEAVY-DUTY SIDE CLAMPING



ONIdWV1I 3AIS ALNA-AAYIH

Support Bars

for 1 ton finger clamps

Material
Steel, hardened, with ground faces.

Technical Notes
Fitting instructions:

for locator d, tap M12 counterbore 18,00
H7 +5mm deep.
For use with finger clamps 11080-11083.

Order No. Type Wy

11086.W0040 Long 45.5
11086.W0045 Short 45.5

dl d2 hl ll I2
M12 18 28 460 -
M12 18 28 225 63

230 ﬁ Wixroyd wixroyd.com

AN ESSENTRA COMPANY

15
15




Centering Bushes

for clamp 11086

d3

ds

& 11095

HEAVY-DUTY SIDE CLAMPING

Tips enables immediate alignment of the clamp
Centering bushes for use with finger to the T-slot and hence prevents any move-
clamps mounting bars 11086. Their use ment of components.

Order No. Slot size d; d, dy
11095.W0220 12 18 12 10.2
11095.W0225 14 18 14 10.2
11095.wW0230 16 18 16 12.2
11095.W0215 18 18 18 12.2
11095.W0235 20 18 20 12.2
11095.W0240 22 18 22 12.2

=

these locators enable quick and precise

alignment of mounting bars and half-
mounting bars

bﬂ Wixroyd

AN ESSENTRA COMPANY

0333 207 4497

sales@wixroyd.com

231



ONIdWV1I 3AIS ALNA-AAYIH

232

Pull-Down Clamps
solid clamping jaws

12318

Material
Body: steel, tempered.
Clamping jaws: steel, case hardened.

Technical Notes

Reversible clamping jaws with smooth side
for machined workpieces and serrated side
for rough clamping surfaces.

Tips

The large clamping surface makes these
solid clamping jaws suitable for laterally
clamping workpieces. We recommend using
two clamping studs for fastening the solid
clamping jaw on the machine table. Screws
for T-slots No. 21000 - two screws per

clamping jaw - should be ordered separa-
tely as a fastening bolt depending on the
width of the machine T-slot.

Important Notes
*Clamping forces F, and F, depend on the
T-slot size.

Order No. For T-slot w, w,
12318.wW0012 12-14 40 13
12318.wW0014 12-18 65 19
12318.wW0024 20-30 75 26
12318.W0036 32-42 90 38

AN ESSENTRA COMPANY

bﬂ Wixroyd

h, h, h, hy I, I,
min. max. max.
3 335 254 20 128 82
20 600 40 30 177 113
33 730 40 36 224 135
51 915 40 46 256 152
wixroyd.com

I3 Iy Stroke s; A/F Weight
g

8 19 3.0 13 840

12 29 6.0 16 3020

12 29 7.5 18 4880

12 34 10.0 21 7715




Clamping Jaws - Low Height

downhold action

| (O =

| |
L L

Fi{ -

107 ] 12200
=
s

Wy

HEAVY-DUTY SIDE CLAMPING

-y

Material Acutated on one side via hex. key wards into the workpiece.

Steel, heat treated, blackened. (provided). Sold in pairs.

Technical Notes Tips

Ideal for clamping low-profile plates. Clamping action is forwards and down-

Order No. T-slot size W, d; hy I Iy I3 Stroke s, Fi Fs Weight/pair
kN kN g

12200.wW0012 12 40 M10 20 80 39 26 3 16 0.6 1150
12200.W0014 14 40 M12 20 80 39 26 3 22 0.9 1250
12200.W0016 16 40 M12 20 80 39 26 3 22 0.9 1330
12200.W0017 16 50 M14 25 100 46 34 4 32 1.2 2340
12200.wW0018 18 50 M16 25 100 46 34 4 36 1.4 2540
12200.wW0020 20 50 M16 25 100 46 34 4 36 1.4 2660
12200.W0022 22 78 M20 30 140 65 50 5 36 1.4 5980
12200.W0024 24 78 M20 30 140 65 50 5 36 1.4 6330
12200.W0028 28 78 M24 30 140 65 50 5 40 1.6 7060
12200.W0030 30 78 M24 30 140 65 50 5 40 1.6 7580

M Wixroud 0333 207 4497 sales@wixroyd.com 233

AN ESSENTRA COMPANY



Low Profile Flat Clamps
for T-slots

ONIdWV1I 3AIS ALNA-AAYIH

Material Suitable for horizontal and vertical appli-

Steel, tempered and burnished. cations.

Technical Notes Tips

Low height clampings of thin workpieces. For clamping of low profile workpieces.

Order No. T-slot size Wy d; h, hy h, I I, I3 F, F, Weight
min. max. kN kN g

12205.W0014 14 15 M12 16 25 16 110 45-48 26 15 7.5 579
12205.W0016 16 113 M12 16 25 16 110 45-48 26 15 7.5 600
12205.w0018 18 20 M16 19 30 19 130 50-54 33 20 10.0 1011
12205.wW0020 20 20 M16 19 30 19 130 50-54 33 20 10.0 1055
12205.W0022 22 30 M20 22 36 22 152 58-63 41 30 15.0 1670
12205.w0024 24 30 M20 22 36 22 152 58-63 41 30 15.0 1705
12205.w0028 28 30 M20 22 36 22 152 58-63 41 30 15.0 1807

234 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Clamping Jaws - Standard ~ Heavy-Duty Side
downhold action Clamping

12300

HEAVY-DUTY SIDE CLAMPING

Material
Body: castiron.
Jaws: steel, hardened.

Technical Notes
For mounting of each clamp to machine

table, two clamping bolts no. 21000,

washers no. 25000 and fixture nuts no.

24300 should be ordered separately.
Hex. key provided.

Tips

Can be actuated from left hand side only.
Sold in pairs.

For table of clamping forces, see below.

Order No. For T-slot w,
12300.W0016 10-14 40
12300.w0018 16-20 50
12300.W0030 22-36 80

Wy hy h, hs
13 50 20 30
19 60 25 35
31 75 30 45

I I, Stroke s; Weight
g

115 60 3 1590

150 72 4 2940

205 102 5 7900

bﬂ Wixroyd

AN ESSENTRA COMPANY

0333 207 4497 sales@wixroyd.com 235



Clamping Jaws - Extra Strong

downhold action

i
= E| E
= < F
z .
g v
%
= [
m - 1 =
5 [
z 1 2 3 2 0 - % -
= $ |
_ . Y
" ©
' | A
Material Clamping action is forwards and down- the high clamping forces we recommend
Body: castiron. wards into the workpiece. the use of 2 clamping bolts (no. 21000),
Jaws: steel, hardened. . for each clamp.
Tips
Technical Notes Extremely powerful clamps for use where
Jaw plates are reversible (ribbed/smooth). high clamping forces are required. Due to
Order No. For T-slot Wy w, Wy hy hy h, hs I Iy Stroke s, A/F Weight
min. max. g
12320.W0014 12-18 65 19 12 85 99 40 38 179 1125 8 14 1590
12320.W0024 20-30 75 26 12 100 118 40 45 230 138.5 11 14 2940
12320.W0036 32-42 90 38 12 120 145 40 56 265 158.0 15 17 7900
Fl -
v
F2
aa
[ [
i
o . . )
236 h‘) Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Clamping Jaw
for clamps 12320

E
=
- 'd o @ o %
IR 12330 :
vd =
L S | 5
-
- - dy
Iy - -
Wy
Material machining of rough parts. Can be mounted
Steel, case hardened, with M8 bolts. on the clamping jaw or the stop.
Tips
Clamping jaw with serrated surface for
Order No. For clamp w, d, d, h, h, I I Weight
g
12330.W0019 65 8.1 9 85 35 38 12 889
12330.W0026 75 8.1 9 100 45 38 12 1306
12330.wW0038 90 8.1 9 120 50 38 12 1829
[~ A PVl
)
hy max.
JaVal Ja¥a)
i
hy min.

M Wixroud 0333 207 4497 sales@wixroyd.com 237

AN ESSENTRA COMPANY



Chain Clamping Set

Our comprehensive range of clamping elements includes a compact and powerful workpiece clamping element, the chain
clamping set no. 12700. This set was specifically designed for clamping large workpieces with round or arched surfaces.

Due to anincrease in the bearing surface of the chain, the clamping force is distributed across the workpiece thereby
reducing deformation.

Setting Up

9NIdWV1I NIVHI

chain clamping chain
force force force
1. Attach the hook 2. Turn the knurled nut 3. Fine adjustment of the 4. To clamp the work
unit and the take-up on the take-up unit chain lengths is made piece connect the free
unit as close to the until the pull rod is by tightening the end of the chain onto
workpiece fully extended. Select knurled nut until the the hook unit. Using
as possible. the number of chain chain slightly touches a hex key tighten the
segments required the workpiece. eccentric shaft, and
for the workpiece and ensure the lever is
attach to the pull rod. rotated to its fully
locked position (180°).
The workpiece is
now clamped.
Important Factors in Selection of Chain Clamp
Cha-in Length and Stretch The C[amping force achievable Chain Stretch at Specified Torques
Torque value of 50 Nm is used  through the Wixroyd chain g tenat(m
for M12 set. clamp setis dependent upon 6o
Torque value of 90 Nm is used three factors: P I I R S Chain stroke g (M16) = 30 mm
. . 54
for M16 set. e Workpiece diameter 50 —
(see graph). 45 '
] 4,0
® Cha]n l'ength and StretCh 36 | Chain strokel g (M12) = 16 mm P 22,0
(see graph). 35 i 196
. 3,0 :
e (ontact angle of chain be | 165
and workpiece (see table 2'0 ag
below right). L 10
1YO 45 ‘ ~e—|M12 chain upto 45 Nm
' 55 : M16 chain upt® 90 Nm
05 F——= t
0 :
5,0 10,0 15,0 20,0 25,0 30,0

Chain Stretch (mm)

Table of Clamping Force

a= a= a= a= a=

to Contact Angle Ol Torque  jo5e  120°  135°  150°  180°
M12 | 5oNm | 80% | 87% | 92% | 97% | 100%
M16 | 90Nm | 80% | 87% | 92% | 97% | 100%

Important Note: Achievable clamping force decreases
as the contact angle of chain and workpiece (a)
reduces. Please use the table above as a guide.

Clamping with the chain clamp set.

238 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Chain Clamping Set

with lanyard

hy min. - hy max.

tension hook
12702

hymin. - hy max.

Wy
-
Ay,
Wy |
3
A
h.
O/l v
A
e - - -
Wy Ws
counter catch hook chain
12703 12705

Material

Alloy steel.

Set contents:

1 x tension hook,

1 x take-up hook,

1 x clamp chain protection set,
.W0112 (2 x 492mm, 1 x 238mm, 1 x
15,9mm),

.W0116 (1x991mm, 1x229mm, 1x483,
1x25mm),

4 x split chain links,

6 x plastic protectors (to protect the work-
piece),

1 x chain clamp protection lanyard.

Note: M20 and M24 clamp sets only have 3
chain lengths.

Technical Notes

For clamping valves, flanges, pump cases
etc - can be used on fixture sub-plates or
machine tables. The clamping force is
generated by the eccentric shaft, and the
force is determined by the take-up which is
adjusted using the knurled screw. Please
order T-nuts no. 24000 separately if

required.

Tips

The even distribution of the clamping force
reduces workpiece deformation. The work-
pieces are protected from marking of the
chain by plastic protectors which are
locked into the chain segments. Chains
enable a large range of adjustment. See
table opposite for details for achievable
clamping forces.

Order No. Size For T-slot
12700.W0112 12 14,16 of 18
12700.W0116 16 18, 20, 22 or 24
12700.W0120 20 22 to 28
12700.W0124 24 28 to 36

Order No. hg I l, I3
12700.wW0112 8 50 34 54
12700.W0116 10 64 44 70
12700.w0120 10 91 64 98
12700.W0124 10 91 64 98
i'i Wixroyd

AN ESSENTRA COMPANY

Combined chain length d, hy hy h, h, hy h, Weight
max. min. max. min. max. g
1302 M12 83 108.0 100 118 18 18 853
1829 M16 110 1460 122 153 25 25 1902
4940 M20 162 2055 195 250 41 41 6037
4940 M24 166 209.0 199 260 41 41 6040
Permissible torque Clamping force
Nm Wy Wy W, A/F  Strokes; Clamp stroke s, kN
max. max.
45 34 47 21 36 25.0 18 15
90 37 62 29 46 36.0 31 40
190 58 86 48 65 43.5 55 75
300 58 86 48 65 43.0 61 120
0333 207 4497 sales@wixroyd.com 239

[}
=
=
o
=
=<
)
o
=
=]
<
o
=}




Chain Clamping Set

with lanyard

chain clamping: existing methods:
even distribution of clamping force- workpiece deformation caused by
little workpiece deformation. pressure at a single clamping point.

9NIdWV1I NIVHD

240 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Tension Hook
for chain clamping set 12700

CHAIN CLAMPING

12702

Material Tension hook provides final clamping and prior to final clamping.
Hardened and tempered alloy steel. tightening of component when chain Comes complete with safety lanyard.
clamp 12700 is used. Counter catch hook s

Technical Notes for the iniatial pre-tightening of chain

For use with chain clamp set 12700.

Order No. Size For T-slot d; h, h, h, hg I I, Torque w; w, A/F Clampstroke Clamping Weight
min.  max. to S force g
Nm kN
max. max.
12702.W0012 12 14,16 of 18 M12 100 118 18 8 54 34 45 34 47 36 18 15 853
12702.W0016 16 18,20,220r24 M16 122 153 25 10 70 44 S0 37 62 46 31 40 1902
12702.W0020 20 22 to 28 M20 195 250 41 10 98 64 190 58 86 65 55 75 6037
12702.W0024 24 28 to 36 M24 199 260 41 10 98 64 300 58 86 65 61 120 6040

iR Wixroyd 0333 207 4497 sales@wixroyd.com 241

AN ESSENTRA COMPANY



Counter Catch Hook

for chain clamping set 12700

hy min. - hy max.

9NIdWV1I NIVHD

12703

- - - -
d Wy
- L
l2
e L
h
Material Counter catch hook is for the pre-
Alloy steel. tightening of chain prior to final clamping.
Technical Notes
For use with chain clamp set 12700.
Order No. Size For T-slot d, h, h, h, I Iy w, w,  Strokes; Clamping force Weight
min.  max. kN g
max.
12703.W0012 12 14,16 0r 18 M12 83 1080 18 50 34 34 21 25.0 15 553
12703.W0016 16 18,20,220r24 M16 110 1460 25 64 44 37 29 36.0 40 1235
12703.w0020 20 22 to 28 M20 162 2055 41 91 64 58 48 43.5 75 4088
12703.w0024 24 28 to 36 M24 166 209.0 41 91 64 58 48 43.0 120 4145

242 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Turnbuckle
for chain clamping set 12700

o
=
=
w4 a ; o
=
AF T~ <
. | i 12704 :
- — <A B = =
T 1 I
=T e s = =
Material turnbuckle is clamped between the chains
Alloy steel. using two locking links. The chain is pre-
ey i, ey (e
For use with chain clamp set 12700. The yteng g ’
Order No. Size I [ I5 w, A/F Clamping force Weight
kN g
max.
12704.W0012 12 111-147 97 52 14 24 15 240
12704.W0016 16 151-203 126 66 20 30 40 720
12704.W0020 20 206-270 180 100 31 50 75 2222
12704.W0024 24 214-284 180 105 31 50 120 3517
clamp chain
12705.W04XX
workpiece
T.u!;r’lzhruuikie glr;;np?:;
block
hook end
12702
o . . )
R Wixroyd 0333 207 4497 sales@wixroyd.com 243
AN ESSENTRA COMPANY



Chain Clamp Accessories

for chain clamping set 12700

Wi - W - for thread
- W3-.
A
% ‘ ot Fw1 — -:VE— Iz v 1/
= & B {
=) Y
% lz,{ g split chain link I L
=
@ 1 2 7 0 5 h 8 | ° [5)
1 =z U o llld o
-ws_.-
chain cotter pin chain clamp protective
protection lanyard elements
Technical Notes surfaces. be shortened to suit requirements. Chain is
Lanyard: for use with chain clamp, when Chain Links: for use to connect chain of pre-tensioned to minimise elongation.
properly assembled preyents.cham from different lengths to expand chain capamty Important Notes
snapping uncontrolled if chain breaks. and hence accomodate larger workpieces. Ifthe lanvard svstem is damaded the entire
Protective element: can be placed Chain: DIN8187, as well as being extended L d yt yt b ! laced g !
between chain and workpiece to protect with the use of connecting links, can also anyard set must be reptaced.
Order No. Size Type Length I Iy W, w, w;  Clamping force to be secured Qty/pack Weight
nom. kN g
max.
12705.W0012 12 Lanyard - - - - - - 15 - 280
12705.W0016 16 Lanyard - - - - - - 40 - 350
12705.W0020 20 Lanyard - - - - - - 75 - 1313
12705.W0024 24 Lanyard - - - - - - 120 - 1313
12705.wW0112 12 Workpiece Protector - - - - - - - 6 3
12705.W0116 16 Workpiece Protector - - - - - - - 6 5
12705.W0120 20 Workpiece Protector - - - - - - - 6 10
12705.W0124 24 Workpiece Protector - - - - - - - 6 16
12705.w0212 12 Chain Link - - 1587 14 22 13 15 - 15
12705.W0216 16 Chain Link - - 2540 21 39 25 40 - 67
12705.wW0220 20 Chain Link - - 31.75 26 44 29 75 - 113
12705.w0224 24 Chain Link - - 3810 33 ) 38 120 - 274
12705.w0312 12 Cotter Pin - - - - - - - 10 0.5
12705.W0316 16 Cotter Pin - - - - - - - 10 1.0
12705.w0320 20 Cotter Pin - - - - - - - 10 2.2
12705.W0324 24 Cotter Pin - - - - - - - 10 6.5
12705.w0412 12 Chain 125 111 1587 15 20 13 15 - 114
12705.w0413 12 Chain 250 238 1587 15 20 13 15 - 228
12705.w0414 12 Chain 500 492 1587 15 20 13 15 - 455
12705.W0415 12 Chain 1000 1000 15.87 15 20 13 15 - 910
12705.wW0416 16 Chain 125 127 2540 21 23 25 40 - 335
12705.W0417 16 Chain 250 229 2540 21 23 25 40 - 670
12705.W0418 16 Chain 500 483 2540 21 23 25 40 - 1340
12705.W0419 16 Chain 1000 991 2540 21 23 25 40 - 2680
12705.W0420 20 Chain 1000 984 31.75 26 44 29 75 - 3720
12705.W0421 20 Chain 1500 1492 31.75 26 44 29 75 - 5580
12705.W0422 20 Chain 2000 2000 31.75 26 44 29 75 - 7440
12705.W0424 24 Chain 1000 1028 38.10 33 54 38 120 - 7050
12705.W0425 24 Chain 1500 1485 38.10 33 54 38 120 - 10575
12705.W0426 24 Chain 2000 2019 38.10 33 54 38 120 - 14100

244 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Angle Block - 120°

for chain clamping

CHAIN CLAMPING

12706

size 12 and 16 sizn 20 and 24

Technical Notes provide ideal support for components with
Ideal for use when clamping components large circumferences. Sold individually.
with chain clamp set 12700. 2 off prisims

Order No. Size  2r d, d, d, h, h, hs h, hg I Iy I3 Iy Ig W, w,  Weight

g
12706.W0012 12 8 135 20 M6 8 35 67 27 55 118 59 19 42 - 47 20 3230
12706.W0016 16 100 175 26 M6 100 44 33 33 55 148 74 24 44 - 47 20 3960
12706.W0020 20 270 220 33 M6 250 102 161 91 55 360 100 45 44 160 78 20 32455
12706.W0024 24 270 220 40 M6 250 102 161 91 55 360 100 45 44 160 78 20 31760

chain length
cL

angle block

M Wixroud 0333 207 4497 sales@wixroyd.com 245

AN ESSENTRA COMPANY



Chain Clamp Sets - 16kN

for large diameter clamping

AIF 11
quick chain link - i
LM
- Y ha
< AN » L
= A
(] -‘l -
; 3
3 i
(=] Wa
& 0 W R 2 v i
12750 9 0|
- - ‘I
4
Wa -'|2 —
- -
chain anchor h
clamp
Material diameter workpieces. Tips
Clamp: as part no. 10650. Extra lengths of chain can be ordered and Chains with rubber protective pads can also
Chain: steel, 19,05mm pitch - 1 metre. linked together. be provided on request (min. radius
Chain anchor: steel. Clamp or unclamp with a simple turn of the 200mm).
Quick chain link: steel. red key. The chain can then easily be
Technical Notes removed clear from the workpiece.
Provides strong and even clamping of large
Order No. Description h, h, hy Iy Iy
12750.W0040 Set: Clamp, 1m Chain, Chain Anchor 89 49 - 108 125
12750.W0900 Chain - 1m - - - - -
12750.W0905 Quick Chain Link - - - -
12750.W0910 Chain Anchor - - 22 -
Clamping force
Order No. I3 Iy [ W, W, W, W, A/F Clamp reach s; kN
max.
12750.W0040 - - - 40 16 - - 11 33 16
12750.W0900 - - 19.05 - - 19.5 - - - -
12750.W0905 - - 19.05 - - - - - - -
12750.W0910 26 17 - - - - 40 - - =

246 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Chain Clamp Sets - 16kN

for large diameter clamping

fixing the
anchor block with fixing ci the Aange
A W0 Sorew with a special screw

M10, M12, M14 or M16

CHAIN CLAMPING

optimal distribution of the
clamping force 1600Kg

M Wixroud 0333 207 4497 sales@wixroyd.com 247

AN ESSENTRA COMPANY



Chain Clamp Sets - 50kN

for large diameter clamping

9NIdWV1I NIVHD

chain anchor clamp
Material Provides strong and even clamping of large  strength class 12,9 for mounting. Please
Clamp - as part no. 10678. diameter workpieces. order T-nuts to suit your application sepa-
Chain - steel, 25,4 pitch. 3m long. Clamp or unclamp with a simple turn of rately, if required see part 24000.
Chain anchor - steel. hexagon socket. Chain can be easily

removed clear from the workpiece.

Technical Notes Please use socket head cap screw of

Heavy clamping forces of up to 50kN.

Order No. Description d, h, h, I I
12752.W0001 Set: Clamp, Chain (3m), Chain Anchor 17 111 35 108 12
Clamping force
Order No. I3 Iy Is w, W, Wy A/F Clamp reach s, kN
max.
12752.W0001 57 28 25.4 50 25.4 50 13 30 50

at optimal distribution, clamping force = 5000Kg

248 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Clamping Module - Single
flanged

dy

BORE CLAMPING

12043

Material 12046 through 12050.

Steel (AISI 4140), induction hardened, For permissible cutting forces and corre-

black oxide finish. sponding workpiece weights when using

Technical Notes the clamping module system, see technical

For suitable clamping screws see part no.s pages.

Order No. hy h, hs I w, Type Size d; d, d; d, h, A/F Clamping force Screw torque Weight
+0.01 kN Nm g
max. max.

12043.w0008 25 125 125 42 54 One 8 30 345 15 6.6 7 3 5 4 100
12043.w0011 40 200 200 50 65 Two 11 40 460 22 90 10 4 8 8 300
12043.W0016 63 330 300 75 95 Two 16 60 690 32 130 15 6 15 50 1400
12043.W0021 80 40.0 40.0 100 130 Two 21 80 910 44 170 20 8 25 50 3300

M Wixroud 0333 207 4497 sales@wixroyd.com 249

AN ESSENTRA COMPANY



Modular Clamping System

Simple Workholding Provides

Single Step Lower Better Machining Shorter
Machining Fixture Cost Accuracy Machining Time
® No tool interference Single fixture Single setup Simple toolpaths
= How to Use Modular Clamping System
Wixroyd Products
@ 12043 workpiece
@ 12044 Assembly Chart
The system consists of 10 kinds of components.
. 12045 Please refer to the table on the next page for
details of each component.
. 12046.WO0xxx
® 12046.Waxxx coupling
® 12047
@ 12048.W02xx
@ 12048.W01xx
@ 12047
@ 12048.Wwo0xx

-

B@

screw

Operation

Install clamping screw on the workpiece E \
and mount it on clamping module. { /l
N\ ]

Tighten the locking screws on the side i e e i

of the clamping module. clamping / unclamping is visible

B o

I
I
I
|
|
I
I
I
|
|
I
I

A
|

I
|

I

"

"

i
|
|
I
|
1

\

o
Ui

=

—

250 L‘, Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Modular Clamping System

12083

- 12049

eight Setting

Application Example

no tool interference!

perfect for machining
from 5 sides

Locating Mechanism

Dual surface contact at the tapered surfaces and contact surfaces provides 5 p m locating repeatability.

workpiece
gap contact surface
dual contact
tapered
clamping screw / / A
tapered surface of
clamping module tapered surface
unclamped contact clamped
o . o .
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com
AN ESSENTRA COMPANY

251

BORE CLAMPING




INIdWVY1) 3408

Permissible Cutting Force & Workpiece Weight for Clamping Module System 12043 to 12049

1 Module

Note: Prepare a locator
when the workpiece gets
big rotating force.

2 Modules

b.ﬁ Wixroyd

AN ESSENTRA COMPANY

Ensure the cutting force and the workpiece weight are within the allowable level.

Horizontal

H
(machining area/ center)

Fz (kN)

Vertical

W (kg)

Part Number

12043.w0008
12044.W0008
12045.w0008
12043.W0011
12044.W0011
12045.wW0011
12043.W0016
12044.W0016
12045.W0016
12043. w0021
12044. W0021
12045. W0021

Allowable Cutting Force

Allowable Workpiece

F(kN) Fz(kN) Weight w(kg)
50/H 50 x 100/H
25/H 1.5 25 x 100/H
25/H 25 x 100/H
120/H 120 x 100/H
70/H 25 70 x 100/H
70/H 70 x 100/H
250/H 250 x 100/H
150/H 7.5 150 x 100/H
150/H 150 x 100/H
500/H 500 x 100/H
300/H 15 300 x 100/H
300/H 300 x 100/H

T
(machining area/ center)

horizontal

(machining area/ center)

vertical

H

w; (kg)

(machining area/ center)

Part Number

Allowable Cutting Force

Allowable Workpiece Weight

F1(kN) F2(kN) Max(kN)  wo(ke) w,(kg) Max (i
12043.W0008 (0.10p; + 180)H  100/H 100x100/H  (0.10p, + 180) x 100/H
12044.W0008  (0.05p; + 90)H  50/H 18  50x100/H  (0.05p, + 90)x 100/H  18C
12045.W0008  (0.05p; + 90)H  50/H 50x100/H  (0.05p, + 90) x 100/H
12043.W0011 ~ (0.24p; + 432)H  240/H 240x100/H _ (0.24p, + 432) x 100/H
12044.W0011 (0.14p; + 252)H 140/H 3.2  140x100/H (0.l4p, + 252)x 100/H  32C
12045.W0011 (0.14p; + 252)H  140/H 140x100/H  (0.14p, + 252) x 100/H
12043.W0016  (0.50p; + 900)H _ 500/H 500x100/H _ (0.50p, + 900) x 100/H
12044.W0016. (0.30p, + 540)H 300/H 6  300x100/H (0.30p, + 540) x 100/H  60C
12045.w001\é“X'§Q¥ -1C9 Hloy 300/ 300x100/H  (0.30p, + 540) x 100/H
12043. W0021 ~(1.00p; + 1800)H 1000/H 1000x100/H (1.00p, + 1800) x 100/H
12044. W0021 (0.60p; + 1080)H 600/H 10  600x100/H (0.60p, + 1080) x 100/H  100(
12045 WO0O21 (O60p- + 10R_RO0VH G00/H AO0Ox100/H (O 60~ + 1T0R0) ¥ 100/H



Permissible Cutting Force & Workpiece Weight for Clamping Module System 12043 to 1

Horizontal ¢,

A

T
(machining area/ centre)

P1

Vertical P

|
P2
[}

H (machining area/ centre)

4 Modules

BORE CLAMPING

Part Number

12043.wW0008
12044.W0008
12045.wW0008
12043.W0011
12044.W0011
12045.W0011
12043.W0016
12044.W0016
12045.W0016
12043.wW0021
12044.W0021
12045.wW0021

Allowable Cutting Force

Allowable Workpiece Weight

F(kN) Max(kN) w(kg) Max (kg)

2X (0.10p;+ 180)/H 2X (0.10p,+ 180) X100/H

2X (0.05p;+ 90)/H 3.6 2X (0.05p,+ 90) X100/H 360

2X (0.05p;+ 90)/H 2X (0.05p,+ 90) X100/H

2X (0.24p, + 432)/H 2X (0.24p,+ 432) X100/H

2X (0.14p;+ 252)/H 6.4 2X (0.14py+ 252) X100/H 640
2X (0.14p, + 252)/H 2X (0.14p,+ 252) X100/H

2X (0.50p;+ 900)/H 2X (0.50p,+ 900) X100/H

2X (0.30p;+ 540)/H 12 2X (0.30p,+ 540) X100/H 1200
2X (0.30p;+ 540)/H 2X (0.30p,+ 540) X100/H
2X (1.00p;+ 1800)/H 2X (1.00p,+ 1800) X100/H
2X (0.60p;+ 1080)/H 20 2X (0.60p,+ 1080) X100/H 2000

2X (0.60p,+ 1080)/H

2X (0.60p,+ 1080) X100/H

Y

P, = 300
i

p1 =500

H =225
(machining area/ centre)

Wixroyd

AN ESSENTRA COMPANY

<Allowable Cutting Force F>

F= 2x(0.3X p, + 540)/H
= 2x(0.3X 500 + 540)/225

=6.13kN

*) Cutting force 3kN is within allowable
value (6.13kN).

lorizontal machinwgﬁ%m?bif adziéa})le.

Vertical mounting

Calculation Example

4 pcs of 12044.W0016 (height 125mm)

Pitch:
p,=500mm
p,=300mm

Workpiece centre: H=225mm
F direction cutting force: 3kN
Workpiece weight: 375kg

<Allowable Workpiece Weight W>

W= 2x(0.3X p,+ 540)X100/H

= 2x(0.3X 300+ 540)X100/225

=560kg

*) Workpiece weight 375kg is within

allowable value (560kg).

sales@wixroyd.com

Related Progg§t



INIdWVY1) 3408

Modular Clamping System

installation instructions

Installation Instructions Modular Clamping System

Mounting-Hole Dimension

Use 12048.W02xx tapered
bushing (precision) for
precise locating.

Use 12048.W01xx tapered
bushing (standard) for
rough locating.

Spacing Tolerance

Spacing tolerance for
12048.W02xx tapered
bushings (precision)
should be +0.02.
Spacing tolerance for
12048.W01xx tapered
bushings (standard)
should be +0.01.

Tightening Order

Note: For 12043.W0008, use 2
pieces of round tapered clamping
screw. Tighten these 2 screws in
the same order to maintain the
locating repeatability.

Tighten the locking screws
in order of

@ Round tapered
clamping screw

@ Diamond tapered
clamping screw

@ Clamping screw
@ Clamping screw

254

hex. socket-head
cap screws

tapered bushing

fixture plate (standard/precision)

12048.WO1xx -
12048.W02xx
Part Number dy Lf M p
(H7) !
12043.w0008 8 5.5 M 6X1 42
12043.w0011 12 55 M 8X1.25 50
12043.W0016 18 6.5 M 12X1.75 75
12043.W0021 22 8 M 16X2 100

/ﬂ//‘ tapered clamping

g\ screw (diamond)

12046.W4xxx

12046.WOxxx

tapered clamping
screw (round) i//ﬂ/

tapered bushing tapered bushing

(precision) (precision)
12048.W02xx //Q/ /ﬂ//i 12048.W02xx
fixture plate - -

spacing tolerance +0.02 *

tapered clamping screw
(round) 12045.W0xxx

2-clamping
screws 12047

tapered clamping screw
(round) 12046.WO0xxx

tapered clamping screw
(diamond) 12046.W4xxx

tapered clamping
screw (diamond)
12046.W4xxx

tapered bushing tapered bushing

clamping screws 12047 (precision) (precision)
12048.WO02xX  tapered bushings  12048.W02xx
(standard)
12048.WO01xx

b.ﬁ Wixroyd

AN ESSENTRA COMPANY

wixroyd.com




Clamping Module - Double

unflanged
d;
- -
dy 2
- - =
T =
Moy b o
T ' da g
o ] 12044 :
v h2: (! I
Material 12046 through 12050.
Steel (AISI 4140), induction hardened, For permissible cutting forces and corre-
black oxide finish. sponding workpiece weights when using
the clamping module system, see technical

Technical Notes

For suitable clamping screws see part no.s pages.
Order No. hy h, Size d, d, d; A/F Clamping force Screw torque Weight
+0.01 kN Nm g
max. max.
12044.W0008 50 125 8 30 34.5 15 3 5 4 200
12044.w0011 80 20.0 11 40 46.0 22 4 8 8 700
12044.W0016 125 30.0 16 60 69.0 32 6 15 22 2600
12044.W0021 160 40.0 21 80 91.0 44 8 25 50 5800
o . s )
R Wixroyd 0333 207 4497 sales@wixroyd.com 255
AN ESSENTRA COMPANY



Clamping Module - Single
unflanged

INIdWVY1) 3404

-.-d‘i e

Material 12046 through 12050.

Steel (AISI 4140), induction hardened, For permissible cutting forces and corre-

black oxide finish. sponding workpiece weights when using

Technical Notes tf;e iampmg module system, see technical

For suitable clamping screws see part no.s pages.

Order No. hy h, h; Size d; d, d, d, ds h, hs A/F  Clamping force Screw torque Weight
+0.01 kN Nm g
max. max.

12045.w0008 32 195 125 8 30 345 15 8 M#6x1,00 115 5.0 3 5 4 200
12045.w0011 50 300 200 11 40 460 22 12 M8x125 180 75 4 8 8 500
12045.W0016 80 500 300 16 60 690 32 18 M12x1,75 250 105 6 15 22 1600
12045.W0021 100 600 40.0 21 80 910 44 22 M16x2,00 31.0 125 8 25 50 3800

256 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Tapered Clamping Screws
round and diamond

BORE CLAMPING

' 12046

diamaond
Material 12043, 12044 and 12045. repeatability.
Bushing: steel (C45E), black oxide finish, Round type can be used for mounting
precision ground. 12044 double clamping module to fixture
Screw: steel (SCM435), tempered, black plate.
oxide finish. Used together, round and diamond type

tapered clamping screws can provide x and

Technical Notes y location of workpiece with up to 5 mircon

For suitable clamping modules, see parts

Order No. I, Suitable clamping  Type Size d, d, d; d, ds I I3 A/F Weight
module size tol. g6 g
12046.W0061 13 8 Round 8 8 11,5 8 4,8 M 6x1,00 100 50 3 6
12046.W0062 17 11 Round 11 10 15,5 11 6,5 M 6x1,00 16,5 50 3 17
12046.W0081 17 11 Round 11 12 15,5 11 6,5 M 8x1,25 16,5 5,0 3 20
12046.W0082 17 16 Round 16 12 24,5 16 )5 M 8x1,25 250 50 5 52
12046.W0121 24 16 Round 16 18 24,5 16 9,5 M12x1,75 250 6,0 5 70
12046.W0122 24 21 Round 21 18 3B 21 13,0 M12x1,75 330 6,0 6 125
12046.W0161 30 21 Round 21 22 31,5 21 13,0 M16x2,01 33,0 7,5 6 150
12046.W4062 17 11 Diamond 11 10 15,5 11 6,5 M 6x1,01 16,5 5,0 B 17
12046.W4081 17 11 Diamond 11 12 15,5 11 6,5 M 8x1,26 16,5 5,0 3 20
12046.W4082 17 16 Diamond 16 12 24,5 16 95 M 8x1,26 25,0 50 5 52
12046.W4121 24 16 Diamond 16 18 24,5 16 9,5 M12x1,75 250 6,0 5 70
12046.W4122 24 21 Diamond 21 18 3iLB 21 13,0 M12x1,75 330 6,0 6 125
12046.W4161 30 21 Diamond 21 22 31,5 21 13,0 M16x2,01 33,0 7,5 6 150

iR Wixroyd 0333 207 4497 sales@wixroyd.com 257

AN ESSENTRA COMPANY



Product Title Here

Product Title Here

Installation Instructions Tapered Clamping Screws

How To Use Round Type
Note: For 12043.\W0008, e Can be used for locating 12044 clamping module (double).

12044.W0008 or 12045.W0011, o (Can be used for locating a workpiece with diamond type.
use 2 pieces of round type.

Diamond Type
e Can be used for locating a workpiece with round type.
o Fix the tapered bushing of diamond type after deciding the direction.

INIdWVY1) 3408

Application Example Spacing Tolerance

2-clamping
screws 12047

spacing tolerance +0.02 *
workpiece

round type N
clamping modules diamand type

i
I

= ‘ diamond type
(double) 12044

®

round type

A
round type round typey\/%/ %

fixture plate

spacing tolerance +0.02 *

2 clamping
screws 12047

clamping modules
(double) 12044

Mounting-Hole Dimension Coupling of Clamping Module (Single)

clamping module
round type (single) 12045
workpiece d
.
:,% |
| : K
fixture plate round type / diamond type S
clamping module  clamping module clamping module
(flanged) 12043 (double) 12044 (single) 12045
d Round type can be used as a coupling for
Part Number 5y Lf  Lfy M clamping module (single). Locating repeatability
12046.WX061 8 9 55 Meéxl is5pm).

12046.WX062 10 13 55 M6X1
12046.WX081 12 13 55 M 8X1.25
12046.WX082 12 13 55 M 8X1.25
12046.WX121 18 19 6.5 MI12X1.75
12046.WX122 18 19 6.5 M12X1.75
12046.WX161 22 23 8 Mlex2

258 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Tapered Clamping Screws
floating

BORE CLAMPING

t F - 12047.1

dg

Material Technical Notes greater height.

Bushing: steel (C45E), black oxide finish, Can be used to couple double clamping Locating repeatability + 0,2mm.

precision ground. modules (see part no.12044) together for

Order No. I Suitable clamping Type Size d, d, d, d, I, A/F Weight
module size g

12047.W0061 8 8 Floating 8 11 8 4.8 M 6x1,00 10,0 3 5
12047.W0062 9 11 Floating 11 15 11 6,5 M 6x1,00 16,5 B 13
12047.W0081 12 11 Floating 11 15 11 6,5 M 8x1,25 16,5 3 16
12047.W0082 12 16 Floating 16 24 16 9,5 M 8x1,25 25,0 5 46
12047.W0121 18 16 Floating 16 24 16 9,5 M12x1,75 25,0 5 57
12047.W0122 18 21 Floating 21 31 21 13,0 M12x1,75 33,0 6 108
12047.w0161 22 21 Floating 21 31 21 13,0 M16x2,01 33,0 6 125

M Wixroud 0333 207 4497 sales@wixroyd.com 259

AN ESSENTRA COMPANY



Tapered Clamping Screws - Double

floating

I

g -
§ - I2 - |2 -
a i
; ! | ©
= dy d, d
= Y
a 12047.2 M m '
Material Technical Notes greater height.
Bushing: steel (C45E), black oxide finish, Can be used to couple double clamping Locating repeatability + 0,2mm.
precision ground. modules (see part no.12044) together for
Order No. I Suitable clamping module 12044 Type Size d, d, d, I, Weight
g
12047.W0011 33 11 Floating 11 155 11 6.5 16.5 24
12047.W0016 50 16 Floating 16 245 16 6.5 25.0 85
12047.W0021 66 21 Floating 21 31.5 21 13.0 33.0 190
o . )
260 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Locating Bush
for single clamping module 12045

hy

12048.1

BORE CLAMPING

Material

single clamping module (see part no.

Steel (SK95), tempered, black oxide finish, 12045) location on the fixture plate.

precision ground.

Technical Notes

Can achieve clamping module locating
repeatability of up to 0,04mm.

Can be used to increase the accuracy of

Order No.

12048.w0008
12048.w0011
12048.W0016
12048.w0021

bﬂ Wixroyd

AN ESSENTRA COMPANY

Suitable clamping module 12045 Size

tol.2h6
8 8 6.0 8
11 11 85 12
16 16 12.5 18
21 21 165 22
0333 207 4497 sales@wixroyd.com

Weight

22
35

261



Tapered Locating Bushes

for single clamping module - flanged 12043

da

d; tapped holed

for removal - i
z X'“
E hz
3 B
=
al 12048.2 ~—
precision standard
Material flanged single clamping module (see part Only the precision type is precision ground
Steel (C45E), tempered, black oxide finish, no. 12043) location on the fixture plate. forincreased locating accuracy.
precision ground (precision type only) Can achieve clamping module locating
sy o s e
Can be used to increase the accuracy of ype), ' ype).
Order No. hy h, Suitable clamping module 12043 Type Size d, d, Precision d, Standard d, Weight
tol. g6 -0.02]-0.05 g
12048.W0108 4 5.0 8 Standard 8 11.5 M 6x1,00 - 8 4
12048.W0111 5 5.0 11 Standard 11 155 M 8x1,25 - 12 8
12048.W0116 8 6.0 16 Standard 16 245 M12x1,75 - 18 27
12048.W0121 10 7.5 21 Standard 21 31.5 M16x2,00 - 22 51
12048.W0208 4 5.0 8 Precision 8 11.5 M 6x1,00 8 - 4
12048.wW0211 5 5.0 11 Precision 11 155 M 8x1,25 12 - 8
12048.W0216 8 6.0 16 Precision 16 245 M12x1,75 18 - 27
12048.wW0221 10 7.5 21 Precision 21 31.5 M16x2,00 22 - 51
o . )
262 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Hook Module
flanged

BORE CLAMPING

12049.1

note: the drawing shows 12049 right.
the hex. socket for locking screw (A/F) is on the other side in 12049 left.

Material 12049.W0212 - .W0224. Diagram shown is for right hand version,

Steel (AISI 4140), induction hardened, For permissible cutting forces and corre- left hand version only varies by location of

black oxide finish, precision ground. sponding workpiece weights when using locking screw A/F which is on the left hand
the clamping module system, see technical  side of module rather than right.

Technical Notes

For suitable clamping screws see part no.s pages.

Order No. hy h, h W, Type Size d,; d, dj d, h, hy w, A/F Clamping Screw Weight

w
—

+0.01 force torque g
kN Nm
max. max.
12049.W0012 40 22 18 50 70 Right 12 34 46 20 M8 5 13 40 4 8 8 400
12049.W0019 63 35 28 75 100 Right 19 52 69 30 MI2 8 20 60 © 15 22 1400
12049.W0024 80 44 36 100 140 Right 24 70 93 40 Mle 10 26 80 8 25 50 3200
12049.W0112 40 22 18 50 70 Left 12 34 46 20 M8 5 13 40 4 8 8 400
12049.W0119 63 35 28 75 100 Left 16 52 69 30 M2 8 20 60 6 15 22 1400
12049.W0124 80 44 36 100 140 Left 24 70 93 40 WMle 10 26 80 8 25 50 3200
o .
R Wixroyd 0333 207 4497 sales@wixroyd.com 263
AN ESSENTRA COMPANY



Tapered Clamping Screws - Plain

precision

% 1" : U
=
s 12049.2 =) NV
d3 - |
Iy
O-ring
Material oxide finish. Technical Notes
Bushing: steel (C45E), black oxide finish, 0-ring: nitrile rubber. For suitable clamping modules see part
precision ground. n0.12049.W0012 - .W0124.
Screw: steel (SCM 435), tempered, black
Order No. I, w; Suitable clamping Type Size d; d, O-ring size d, I, I3 w,  Weight
module size tol. g6 g
12049.W0212 17 12 12 Precision 12 12 155 SS050(CS11/D5,0) M8x1,25 13,0 50 150 22
12049.W0219 24 19 19 Precision 19 18 245 S8 (CS1,51/D 7,5) M12x1,75 215 6,0 235 81
12049.W0224 30 24 24 Precision 24 22 31,5 S12(CS151I/D11,5) M1lex2,00 270 7,5 30,0 170
o . . )
264 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Tapered Clamping Screws - Hook
precision

dy (dy L _|| | Wa %
| [T}
) I a— Y S
Y = . 1 2 049 ° 3 =
dy -
O-ring s
Material oxide finish. Technical Notes
Bushing: steel (C45E), black oxide finish, 0-ring: nitrile rubber. For suitable clamping modules see part no.
precision ground. 12049.1.

Screw: steel (SCM 435), tempered, black

Order No. I, w; Suitable clamping Type Size d; d, O-ring size d, I, I3 w,  Weight
module size tol. g6 g

12049.W0312 17 12 12 Precision 12 12 15,5 SS050(CS11/D5,0) M8x1,25 25 50 150 30
12049.W0319 24 19 19 Precision 19 18 24.5 S8 (CS1,51/D 7,5) M12x1,75 40 60 235 115
12049.W0324 30 24 24 Precision 24 22 315 S12(CS151/D11,5) M16x2,00 51 7,5 30,0 235

o . o .

R Wixroyd 0333 207 4497 sales@wixroyd.com 265

AN ESSENTRA COMPANY



Clamping Screws - Plain
standard

3
g d w U
5 : !
E L1
d 12049.4 Y
dy
Q-ring
Material oxide finish. Technical Notes
Bushing: steel (C45E), black oxide finish, 0-ring: nitrile rubber. For suitable clamping modules see part no.
precision ground. 12049.1.
Screw: steel (SCM 435), tempered, black
Order No. I Wy Suitable clamping Type Size d; d, O-ring size I, w,  Weight
module size g
12049.W0412 12 12 12 Standard 12 15 M 8x1,25 SS050 (CS11/D 5,0) 13,0 15,0 18
12049.W0419 18 19 19 Standard 19 24 M12x1,75 S8 (CS1,51/D 7,5) 215 235 69
12049.W0424 22 24 24 Standard 24 31 M16x2,00 S12(CS151I/D11,5) 27,0 30,0 147
o . )
266 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Clamping Screws - Hook
standard

BORE CLAMPING

NN QY 12049.5

da

O-ring
Material oxide finish. Technical Notes
Bushing: C45E. Black oxide finish, preci- 0-ring: nitrile rubber. For suitable clamping modules see part no.
sion ground. 12049.1.

Screw: steel (SCM 435), tempered, black

Order No. I w;  Suitable clamping Type Size d; d, O-ring size Iy I3 w,  Weight
module size g
12049.W0512 12 12 12 Standard 12 15 M&8x1,25 SS050 (CS11/D50) 25 50 150 26
12049.W0519 18 19 19 Standard 19 24 M12x1,75 S8 (CS1,51/D 7,5) 40 6,0 235 103
12049.W0524 22 24 24 Standard 24 31 M16x2,00 S12(CS15ID115) 51 75 300 213

M Wixroud 0333 207 4497 sales@wixroyd.com 267

AN ESSENTRA COMPANY



@
Clamping Modules & Tapered Bushings ¥4

installation instructions

How To Use

o Use 12048.W02xx tapered bushing (precision) for precice locating.
o Use 12048.W01xx tapered bushing (standard) for rough locating.

Mounting Hole Dimension d
tapered bushing (precision / standard) Part Number 1
12048.W02xx / 12048 WO1XX (H7)

12049.W0012 12 55 M 8X1,25 50
12049.W0112 12 55 M8X1,25 50
12049.W0019 18 65 MI12X1,75 75
12049.W0119 18 6.5 M12X1,75 75
12049.W0024 22 8 M16X2 100
12049.W0124 22 8 M16X2 100

Iy dy hy

INIdWVY1) 3408

hex. socket-head cap screws
fixture plate * The tolerance of dimension ‘d1” for tapered
bushings (standard) should be J*

/4
i 73 j}
hy 5
Y /4]
R R
Spacing Tolerance Spacing tolerance should be +0,02 for tapered
d bushi tapered clamping screw : ]
(pretc?gig o048 oz | (hook) 12049.W03xx bushings (precision).

*Spacing tolerance should be + 0,1 for tapered
7 bushings (standard).
spacing tolerance
+0.02%
Y A
tapered clamping
— screw 12049, W02xx
fixture
plate
tapered bushing
(precision) 12048.W02xx
Layout Use 12049.W00xx for tightening from right
12049.W00XX side, 12049.W01xx for left side.

workpiece
12049.WO01XX
o N o .
268 5‘1 Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Clamping Modules for

Vertically Mounted Fixtures

Clamping Modules for Vertically Mounted Fixtures

Firstly tighten the hook type clamping screw. Application Example

The first one becomes reference. Note: Do not remove the hoists

The products should be positioned as shown below. until the unit fully clamped.

12049.W03xx, 12049.W01xx and 12049.W02xx tapered clamping screws and 12048.W02xx tapered
bushings (precision) should be used together, and 12049.W04xx and 12049.W05xx clamping screws

and 12048.W01xx tapered bushings (standard) should also be used together. =
=
=
o
Example 1 w
tapered clamping screws 2
tapered clamping screws i (hook) 12049.W03xx
(hook) 12049.W03xx tapered bushings
(precision) 12048.W02xx
clamping screws . clamping screws
tapered bushings
12049.W04xx (standard) 12048.W01xx 12049.W04xx, 12049.W05xx
Example 2
tapered clamping screws tapered clamping
(hook) 12049.W03xx screws (hook) 12049.W03xx
tapered bushings
(precision)
12048.W02xx
tapered clamping screws
12049.W01xx, 12049.W02xx, 12049.W03xx
Example 3
tapered clamping
screws (hook) 12049.W03xx tapered bushings
(precision) 12048.W02xx
tapered clamping
screws (hook) 12049.W03xx
o . . .
h“v) M 0333 207 4497 sales@wixroyd.com 269
AN ESSENTRA COMPANY



L4

\ ‘ Clamping Modules for
st

V

Clamping&Heig Angle Mounting Fixtures

Clamping Modules for Angle Mounted Fixtures

e Each clamping screw has commercially available 0-ring to prevent rotation and keep the direction of arrow marking.
¢ 0-ring should be replaced by the customer when it is worn.

e Tapered clamping screws can be used for locating fixture plate or workpiece.

e Clamping screws can be used for just clamping.

=3 Mounting Hole Dimension
: Part Number dl* |1 |2 dz
z 12049.W03xx 12049-W02xx 12049W0212 12 13 55 M8X125
= 12049.wW0312 12 13 55 M8X1,25
12049.W0219 18 19 65 MI12X1,75
12049.W0319 18 19 65 MI2X1,75
12049.W0224 22 23 8  M16X2,00
fixture plate / workpiece 12049.W0324 22 23 8  ML16X2,00

* The hole tolerance should always be 83;2 when
Iy tapered clamping screws are always mounted

A, on the fixture plate. Ficture plate and tapered

‘% bushing fit tightly and keep repeatability without

‘ chip incursion.

fipo’ d The hole tolerance should be H7 when mounting

da on workpiece. Tapered bushing can be easily
mounted/ removed.

Spacing Tolerance _ Spacing tolerance should be +0,02 for tapered
tapered bushing tapered clamping screw L .
(precision) 12048.W02xx / (n0ok) 12049.W03xx clamping screws.

**Spacing tolerance should be + 0,2 for

X clamping screws.
% i
BB

spacing tolerance
+0.02**

NN

=
W:

tapered clamping
screw 12049.W02xx
fixture

plate

AN

tapered bushing
(precision) 12048.W02xx

Installation

@ clamping screw

gap

/A 2

fixture plate / workpiece

1. Fully tighten the clamping screw 2. Turn the screw counter 3. Install the clamping screws
on fixture plate or workpiece. clockwise within one turn until the into the clamping modules.
arrow marking points downward.
(There is a gap between clamping
screw and tapered bushing)

270 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Clamping Modules

permissible cutting force & workpiece weights

Permissible Cutting Force & Workpiece Weight of Clamping Modules (Hook)

Ensure the cutting force and workpiece weight are within the allowable level.

2 Modules
Note: Heavy cutting force in
machining area / center machining area / center the open direction may cause
workpiece move.
Permissible Cutting Force Permissible Workpiece Weight
Part Number Fq Fy Max Wy Wy Max
(kN) (kN)  (kN) (kN) (kN) (kg)
12049.W0012 / W0112 (0,24p; + 432)/h  240/h 3,2 240 x100/h  (0,24p, + 432) x100/h 320
12049.W0019 / W0119 (0,50p; + 900)/h  500/h 6 500 x100/h  (0,50p, + 900) x100/h 600
12049.W0024 / W0124 (1,00p; +1800)/h 1000/h 10 1000x100/h  1,00p, + 1880) x100/h 1000
4 Modules
Note: Heavy cutting force in
machining area / center the open direction may cause
workpiece move.
Permissible Cutting Force Permissible Workpiece Weight
Part Number F; Max Wy Max
(kN) (kN) (kN) (kg)
12049.W0012 / W0112 2x(0,24p; + 432)/h 6.4 2x(0,24p, + 432) x100/h 640
12049.W0019 / W0119  2x(0,50p; + 900)/h 12 2x(0,50p, + 900) x100/h 1200
12049.W0024 / W0124 2x(1,00p; +1800)/h 20 2x(1,00p, + 1880) x100/h 2000
Calculation Example
<Allowable Cutting Force F;>
Fq = 2x(0.5X py+ 900)/H
= 2x(0.5X 500+ 900),/200
=11.5kN
*) Cutting force 5kN is within allowable
value (11.5kN).
machining sraa center <Allowable Workpiece Weight W;>
W, =2x(0.5X p,+900)X100/H
e 4 pieces of 12049.W0019 (height 63mm) = 2x(0.5X 300+ 900)X100/200
e Pitch: p;=500mm p,=300mm = 1050kg
e Workpiece center: h =200mm *) Workpiece weight 600kg is within
e F, direction cutting force: 5kN allowable value (1050kg).
e Workpiece weight: 600kg
o . o )
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com
AN ESSENTRA COMPANY

271

BORE CLAMPING




o
(=}
=
m
(=)
=
=
=
o
i)
=
(o)

ID Xpansion Clamps - Machinable
for clamping internal bores

12051

4]

d;
- -
— d3
[
[ R
hy| h; ] L ‘ha
|
Y hy
L] e
ds A

Material

Body: mild steel.

Tapered screw: steel, heat-treated (coated
to prevent seizing).

12051.W0250: aluminium (7075-T6) .

Technical Notes

For holding parts on an inside diameter,
for high density machining on vertical or
horizontal mills.

Diameter can range from 4,1mm to a
maximum of 250mm!

This product can also be used as an expan-
ding mandrel on a lathe.

Tighten with hex key or hydraulic pull
cylinders.

The flange diameter of the base is held to a
close tolerance for precision location in a
machined pocket.

Tips

d, is the minimum diameter the ,d,”
dimension can be machined or turned
down to.

Mounting screws included.

Important Notes

Installation for clamps 12051.W0010 to
.Woo051.

1. Expand clamp 0,1mm over the relaxed
diameter and machine to fit workpiece bore
(on lathe or mill).

If using the clamp on a lathe then use the
nut provided to tighten the taper screw.
This nutis only used to machine the clamp.
2. Machine a pocket in the fixture for the
close tolerance ,d,” dimension, and drill
and tap mounting holes ,d,”.

3. Drill and tap a hole ,d.” in the centre of

the pocket for the tapered screw.

4. A recessed dowel pin can be installed
into the flange for extra rigidity if required.
5. Range of expansion 0,13 - 0,64mm
depending on clamp size.

Installation for clamps 12051.W0077 to
.W0250.

1. Insert machining locking ring
(provided), tighten taper screw and
machine clamp to required bore size.

2. Release taper screw and remove locking
ring prior to any machining of workpieces.
Note: 12051.W0175 and W0250 have four
mounting holes on PCD as dimension ,d,”.

Order No. h,
12051.W0010 10.7
12051.W0012 21.8
12051.W0014 24.9
12051.W0020 24.9
12051.W0027 28.6
12051.W0035 31.8
12051.W0042 39.6
12051.W0051 39.6
12051.W0077 455
12051.W0103 455
12051.W0175 455
12051.W0250 455

Order No. ds d, ds

min.
12051.W0010 4.1 M 2 4.1

272 bﬂ Wixroyd

AN ESSENTRA COMPANY

h, hs
7.6 6.1
16.0 15.0
19.0 15.0
19.0 15.0
222 17.5
254 20.6
318 27.0
31.8 27.0
37.6 323
37.6 323
37.6 323
37.6 323
Torque to

Stock d, h, r, on PCD Nm

max.

7.4 3.0 M2at 137 0.7

wixroyd.com

d; Weight
+0.0001-0.050 g

20.0 23
29.7 59
31.5 109
375 204
50.0 213
56.0 317
69.5 593
75.5 775
107.5 1826
1329 2954
132.9 6795
152.4 5436

Holding force Expansion from relaxed dia.
kN max.

1.1 0.1




ID Xpansion Clamps - Machinable Bore/Clamping

for clamping internal bores

Torque to . ) )
Order No. n:il?’] d, ds Stock d, n, r, on PCD Nm HOldIEﬁ force Expansion f:g;r)\(.relaxed dia.
max.
12051.W0012 7.1 M 4 7.2 12.4 5.9 M 3 at 21,0 5.0 4.2 0.3
12051.w0014 122 M 6 11.2 14.2 5.9 M 3 at 23,1 17.0 8.4 0.3
12051.W0020 135 M8 13.2 20.0 5.9 M 3 at 29,0 34.0 11.1 0.4
12051.W0027 18.0 M10 16.3 27.0 6.4 M 4 at 39,4 60.0 20.0 0.4
12051.W0035 23.0 M12 20.3 35.3 6.4 M 4 at 45,5 150.0 26.2 0.4
12051.W0042 29.3 M16 21.4 42.0 7.9 M 5 at 55,9 280.0 44.5 0.4
12051.W0051 29.3 M16 21.4 BB 7.9 M 5 at 63,9 280.0 44.5 0.4 -
12051.W0077 293 M16 19.3 77.7 7.9 M 6 at 92,6 280.0 44.5 0.4 =
12051.wW0103 293 M16 19.3 103.0 7.9 M6 at 118,1 280.0 44.5 0.4 =
12051.W0175 293 M16 19.3 175.0 7.9 M6at 1181 280.0 44.5 0.5 o
12051.W0250 29.3 M16 19.3 250.2 7.9 M 6 at 133,4 170.0 26.0 1.0 %

bs Wixroyd 0333 207 4497 sales@wixroyd.com 273

AN ESSENTRA COMPANY



Xpansion Clamps - Side-Loc

o
(=}
=
m
(=)
=
=
=
o
i)
=
(o)

12052

- -
d
d : -
r i i ) i
| ha| ; : | g
| i i Y
) ] T
‘ © ‘ K,
dy Vd . X
Il — - y
l i I i actuator screw hg
hy hg AJF
h Y5 T ' 1
l Bl -
© i ;
A\l ; Y
actuator screw
AlF
mill type lathe type

Material
Mild steel body, with heat-treated tapered
screw (coated to prevent seizing).

Technical Notes

For clamping blind holes from 17,8mm to
53mm.

Actuated from the side. The cam shaft and
the plunger expand the clamp.

Tips

Actuated by turning a socket head cam
shaft on the side which moves a tapered
plunger to expand the clamp.

Two versions: one for milling (type: mill)
and one for turning (type: lathe).

»d,”is the minimum diameter the ,d,”
dimension can be machined or turned
down to.

Mounting screws included.

Important Notes

Installation Instructions:

ID Xpansion Clamps are designed for clam-
ping on the inside diameter of a compo-
nent. To install correctly, please follow the
following guidelines:

1. Expand the clamp approximately 0,1mm
over its relaxed diameter and machine
diameter d, to suit bore of the workpiece,
either on lathe or mill.

2. If machining the clamp on a lathe use
the nut provided, on the back of the clamp,
to tighten the tapered screw. This nutis
used only to machine the clamp.

3. Machine a pocket in the fixture to the
close tolerance of dimension w,, and depth
h,.

4? Drill and tap mounting holes as per
dimensionr,.

5. In the centre of the pocket, drill and tap
a hole to dimension d, for the tapered
screw.

6. For additional rigidity, a recessed dowel
pin may be installed into the flange, if
required.

Order No. h; h, hs w, Type d,; d, dg h, hs r,on PCD  A/F Torque to Holding force Weight
+0.000(-0.05 min. Nm kN g
max.
12052.wW0828 413 222 175 50.0 Mill 28.7 17.8 19.0 2394 (M4) M6 66 20 340.2
12052.W0853 444 254 213 Lathe 53.3 178 25 190 444 M 6 66 20
o . .
274 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY




Wixroyd

AN ESSENTRA COMPANY

0333 207 4497 sales@wixroyd.com

BORE CLAMPING




ID Expansion Clamp

and side-loc xpansion clamp

ID Xpansion Clamp,
Machinable

The ID Xpansion Clamp is
the ideal way to hold multiple
parts on an inside diameter
for machining on your VMC
or HMC.

ONIdWVYTI 3409

ID Xpansion Clamps can be used to hold e Low profile and ideal for secondary operations
components with complex internal shapes, not on lathe parts.

just plain bores.

These machinable clamps are produced in 10 sizes

and can hold internal diameters from 21,8 to )
45,5mm. e Allow more parts per workcube or fixture plates.

e Easily machined to size on lathe or mill.
e Excellent for palletised setups.

e Body made of mild steel for machinability.

o Tighten with hex key, hydraulic pull cylinders
or speed block.

Side-Loc Xpansion Clamp
machinable

Wixroyd introduces a new style clamp to its range
of ID-Xpansion clamps, the Side-Loc Xpansion
Clamp. Actuated by turning a socket head cam
shaft on the side, itisideal for clamping on blind
internal diameters. The locking ring provides an
accurate preset diameter and rigidity for machining.
Like our original ID Xpansion clamps, the Side-Loc
Xpansion Clamp has the dead length feature which
is critical for close tolerance dimensions.

Clamp activated from the side with a standard
hex key.

Designed in two styles, one for milling operations
and one for lathe applications; the mill Side-Loc
Xpansion Clamp can be machined from 28.4 to
18mm and the lathe version from 53 to 18mm.

Side-Loc Xpansion Clamp, when the component
obstructs the clamps tapered screw.

276 L‘, Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Manual Actuators
for ID Xpansion clamps

dy
I recive bacae screw of
10 Xpansion clamp 12081

b recaive tagae screw of
I Xpansion clamg 12081

12054

Material Tips vertical or horizontal plane. By simply
Steel. Order ID Xpansion clamp 12051 separately. mounting our standard ID Xpansion clamps

Technical Notes

Versatile manual actuators when combined
with our ID Xpansion clamps 12051.
Enables clamping of smaller internal
diameters and blind holes. Mount corre-
sponding ID Xpansion clamp.

Mill type actuator is adaptable and can be
used on both vertical and horizontal
planes. Once installed the clamp can be
actuated with use of an actuator screw
(6mm A/F).

Important Notes

Manual actuators for mills and lathes.
Introducing another new and innovative
workholding system. Specifically designed
to clamp on blind internal diameters
smaller than our Side-Loc clamps would
allow.

We took the design a step further, by incre-
asing the functionality to clamp smaller
inside diameters. For the mill version the
option of holding the workpiecein a

on these manual actuators, or using
another style clamp that has a ,straight
draw”, you can now perform operations
that previously required extensive
hydraulic/pneumatic cylinders.

Mill mounted manual actuators for ID
Xpansion clamps are suitable for holding
workpieces of very small blind internal
diameters.

Order No. h, h, Iy w,
12054.W0002 57.2 - 572 57.2
12054.W0004 57.2 - 572 57.2
12054.W0006 57.2 - 572 572
12054.W0008 57.2 - 572 57.2
12054.W0010 57.2 - 572 57.2
12054.W0012 57.2 - 572 57.2
12054.W0102 38 254 - -
12054.W0104 38 25.4 - -
12054.W0106 38 254 - -
12054.W0108 38 254 - -
12054.W0110 38 254 - -
12054.W0112 38 25.4 - -
12054.W0550 - - - -
bﬂ Wixroyd

AN ESSENTRA COMPANY

Suitable for ID Xpansion clamp Type d, d, for d; d, A/F
\WO0010 Mill M2 M6 - - 6
.W0012 Mill M4 M6 - - 6
\W0014 Mill M6 M6 - - 6
.W0020 Mill M8 M6 - - 6
.W0027 Mill M10 M6 - - 6
.WO0035 Mill M12 M6 - - 6
.WO0010 Lathe M2 - 25.0 569 6
.W0012 Lathe M 4 - 25.0 569 6
\W0014 Lathe M 6 25.0 569 6
.W0020 Lathe M8 - 25.0 56.9 6
.W0027 Lathe M10 - 25.0 569 6
.WO0035 Lathe M12 - 25.0 569 6

- Spare - Actuator Screw - - - - -
0333 207 4497 sales@wixroyd.com 277

BORE CLAMPING



Manual Actuators
for ID Xpansion clamps

INIdWVY1) 3404

278 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Flexible Form Clamping Base

use with flexible form holding jaws 12056 or 12057

ds - for cap screws

2 round location pins
for jaw locating

110,01 A
Mot Y Var
— ¥ B i
h, A
2 A - - 2 holes for diamond pin
cam cylinder d,

BORE CLAMPING

12055.1

Material
Body: steel.

Technical Notes

For use with jaws part no.s 12056 and
12057 for clamping on the external of a
component (jaw no. 12056) or for clam-

ping oninternal bore of a component (jaw
no. 12057). Order jaws separately.
Supplied with one diamond locating pin to
suit.

Can achieve part location repeatability of +
0,03 and jaw repeatability of + 0,02. Max.

clamping stroke of 0,3mm diameter.

To prevent damage or deformation, do not
tighten the cam cylinder without a holding
jawinstalled.

Order No. h, h, h; Type Size d;, d, d; d, ds h, Stroke A/F Torque to External form Internal form Weight
+0.01 tol. G6 s, Nm no. 12056 no. 12057 g
+0.02 max. clamping clamping

force force

kN kN
12055.W0065 35 27 12 Base 65 65 28 42 M8x125 M6 12 22 8 15 4,5 4,5 800
12055.W0090 40 30 14 Base 90 90 42 60 M10x1,5 M8 14 30 8 25 7,0 7,0 1700
12055.W0120 45 33 16 Base 120 120 55 80 MI10x1,5 M10 18 43 10 40 10,0 10,0 3500
12055.W0160 50 36 18 Base 160 160 63 110 M12x1,75M12 24 60 10 40 12,0 10,0 7100
o] ° .
i Wixroud 0333 207 4497 sales@wixroyd.com 279

AN ESSENTRA COMPANY



o
(=}
=
m
(=)
-
=
=
o
=
=
(o)

Lathe Mounting Adaptor
for flexible form holding clamp 12055

12055.2

Material
Steel, hardened and blackened.

Technical Notes
Adaptor to enable mounting of flexible

form holding clamp (part no. 12055) to a

lathe.

AN ESSENTRA COMPANY

Order No. h, h, hs Suitable for clamping base 12055  Size d;
12055.W1065 38 8 13 4.5 65 80
12055.W1090 43 8 15 7.0 90 100

the use of these adaptors allow an OD holding clamp to be mounted on the lathe.
chuck
G
* mounting-on-lathe
0 adaplor
(@@‘ (&=
QD holding clamp 12055
note: diamond pin included in an OD holding clamp is NOT REQUIRED in this combination use
o] o ® X
280 h‘i Wixroyd wixroyd.com

28
42

63
80

dy

42
60

ds

M 6x1,00
M 8x1,25

Weight
g
910
1600




Form Holding Clamp

installation

Feature
tapered screw for internal

form holding 12057
jaw for external form holding 9
12056 (order separately) G
jaw for internal form holding

12057 (order separately)

form holding clamp
12055

BORE CLAMPING

Two optional jaws allow clamping a workpiece both on its external form and internal form.

How to Use
Part Number 92 ty ds

(H7) @7 2
12055.W0065 28 13 6 6
45° 12055.W0090 42 15 8 8

12055.wW0120 55 19 10 11
12055.W0160 63 25 12 13

Part Number («_»oi,)oz) ds d3

12055.W0065 22 M6X1 42

_ % - 12055.W0090 30 M 8X1,25 60
N 12055.wW0120 43 M10X1,5 80

12055.wW0160 60 M12X1,75 110

t

Insertanincluded diamond locating  Installation Instruction
pin into the body for locating and

hex-socket head secure the body to the fixture plate

cap screw with 4 socket-head cap screws.
: Note: use either of the holes for
form holding he di L . in f
clamp the (ﬁam'ond ocating pin for your
‘ application.
|

Dimension of Diamond Locating Pin

Part Number diameter
12055.W0065 @ 6h6
diamond locating 12055.W0090 @ 8ho
pin (included) 12055.wW0120 @ 10h6
12055.W0160 @ 12h6
o . . .
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 281
AN ESSENTRA COMPANY



INIdWVY1) 3408

Flexible Form Holding Clamp

Versatile holding of complexed shaped workpieces on either the external or internal form - quick,
secure, versatile.

Single clamping base designed to accept either external form or neutral form clamping jaws, fully
flexible holding of custom forces.

@) External Form Jaw - 12056
@ Internal Form Jaw - 12057

@) Flexible Form Clamping
Base - 12055

External

Parts 12055 12056 2 Machine Jaw 3 Mount Workpiece 4 Tighten Cam Cylinder
)
e .

Internal
Parts 12055, 12057

External

Internal

A"

-

Internal
Form

282 b.ﬁ Wixroyd

AN ESSENTRA COMPANY

Clamping Low Profile Workpiece
Parts 12055 and 10257. 8 jaw
clamping sections distribute
clamping force to workpiece

for deformation prevention.

Note to control the tightening
torque using adequate tools in
reference to the data provided
by the performance curve.

wixroyd.com

Fixture for Temporal Job

Parts 12055 and 10256. Can be
mounted on the existing vise by
attaching the clamp on plate.

External
Form



External Form Holding Jaws

for flexible form holding clamp no. 12055

dy
ds
e
Y
[ —
A o
locking ring E
=
d, 5
- Ll o
d, h; machineable depth &=
- - (=]
I T s 12056 m
h ; :'5";":': 4 e
' R, I8 sFaata
ds - for hex socket button tocaling:holee:{2x)
head screw
Material Ideal for die-cast and extruded parts.
Jaws: aluminium (A7075), silver anodised. Used with flexible form clamping base no.
Locating ring: steel (C45E), tempered, 12055.
nickel plated. Supplied with 0-ring, locking ring and

socket button head screw to assist during

Technical Notes -
machining of form.

Offers 0,15mm clamping stroke on jaw.

Order No. h, h, h;  Suitable for clamping base 12055 Type Size d; d, d, d, dsg t,  Weight
8
12056.W0065 26 25 10 .W0065 Jaw 65 65 21 20 M5x080 M8x20 4 200
12056.W0090 40 35 15 .W0090 Jaw 90 90 25 24 M6x1,00 M10x25 5 500
12056.W0120 46 40 20 W0120 Jaw 120 120 25 24 M6x1,00 M10x25 5 1100
12056.W0160 52 45 25 W0190 Jaw 160 160 29 28 M8x1,25 M12x25 6 2200
o . » .
R Wixroyd 0333 207 4497 sales@wixroyd.com 283
AN ESSENTRA COMPANY



Internal Form Holding Jaws

for flexible form holding clamp no. 12055

-
AlF
3
S dz
2 -
=
3 d hs machineable depth A
= - 1 - 3
@ I
12057 | : ,
A v lh b
hy — 2 i
Y . ~p= = ! Y % l|--~d - }
¥
locating holes (2x)
Material Tapered screw expands jaw outwards to
Jaws: aluminium (A7075), silver anodised. hold irreqular shaped workpieces securely.
Tapered screw: steel (C45E), tempered, Offers 0,15mm clamping stroke on jaw.
nickel plated. Ideal for die-cast and extruded parts.
Technical Notes ;JZS(;;mth flexible form clamping base no.
Order jaw and tapered screw separately. ’
Order No. h, h, hy I, Suitable for clamping Type Size d; d, dj d, I, A/F Suitable for Weight
base 12055 internal jaw g
12057
12057.W0065 285 25 10 .W0065 Jaw 65 65 200
12057.W0090 345 30 15 .W0095 Jaw 90 90 400
12057.W0120 405 35 20 \W0120 Jaw 120 120 900
12057.W0160 46,5 40 25 .W0160 Jaw 160 160 1900
12057.W2065 29 Screw 65 225 13,2 M8x1,25 10 6 \W1065 50
12057.W2090 3 Screw 90 27,0 16,0 M10x1,5 11 8 W.1090 80
12057.W2120 41 Screw 120 29,0 13,0 M10x1,5 16 8 W.1120 100
12057.W2160 47 Screw 160 33,0 180 M12x1,75 14 10 W.1160 150

workpiece

camped

unclamped

® @
)

/ o =

284 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Installation and Machining

of Jaw Profile

a. Insert0-ring to the groove on top surface of Prepare Jaw
the Flexible Form Holding Clamp 12055. for Mounting
b. Mountjaw 12057 to clamping base, align with 12057-8 screw
locating pins and fix with tapered screw.
12057 jaw
o
(furnishegr\;\%th jaw) g
round locating pins o
o
cam cylinder =
Machine Jaw
— i
> i §
| 1
Q
2.1 Loosen the clamping bases cam cylinder fully. 2.2 Machine the jaw to the contours of workpiece.
Measure dimension of the jaw for machining. (Do not machine the jaws beyond the machinable
Tighten the cam cylinder until each jaw section depth - see data tables of jaws 12056 and 12057
expands a further 0.15mm beyond desired for dimension.
clamping dimensions.
After machining of jaw, loosen cam cylinder of clamp o Load Workpiece
base and load workpiece. Tighten the cam cylinder
12057.W0120
again to clamp. z 8 12057.W0090 12057.W0160
86
workpiece S [ Tabsrwihoss
% 4
© 2
0 5 10 15 20 25 30 35 40
tightening force (Nem)

Note: Do not tighten the cam cylinder without
the workpiece set to prevent damage and
deformation. Tightening with the torque
beyond allowable screw torque will lower the
Take note of recommended tightening forces. durability of the jaw.

a. Tapered screw fixes jaw to clamping base and expands the jaws in eight Function
directions for “pre-holding” of irregularly-shaped workpieces.

b. Final 0.15mm clamping stroke of the jaw is activated via the cam
cylinder to provide final clamping of workpiece
onitsinternal contours.

clamped

unclamped @ When the cam cylinder is tightened,
2 2 the tapered screw is pulled down.
@ Atthe same time the 8 jaw sections
expand to clamp the internal form
'® of workpiece. cycliirger
h‘} Wixroyd 0333 207 4497 sales@wixroyd.com 285
AN ESSENTRA COMPANY



o
(=}
=
m
(=)
-
=
=
o
=
=
(o)

Internal Centering Clamps

standard version - for delicate components

—- -
Iz
-
- 0
! v
" l// hg
i Pl i
|
dy -
- dg

installation

i unclamped clamped
Material Technical Notes +0,025.
Body: tool steel (1.2842), blackened. Suitable for concentric positioning and Tips

chucking inside holes with surfaces prone
to damage.

Locking pin for precise ball positioning.
For deep installation applications, ,d,
max.” must be maintained for clearance.

Top cone: steel, case hardened, blackened
and ground.

Ball: stainless steel (1.4112), hardened
and burnished.

Tension spring: stainless steel, 1.4310

Suitable for perforated walls prone to
damage, machining centres, welding
devices, transfer units, assembly units etc.

(AISI 301) Repeatability and rotational accuracy,
Order No. h, h, hs I d; d, d, dy d, dg d, Weight
-1 +0.1 min. max. tol. F7 +0.3 g
12061.wW0214 143 9.8 8.6 4.5 145 185 12 M 4 2.0 2.0 4 19
12061.W0218 16.6 115 10.4 5.5 185 22.5 15 M5 2.5 2.5 5 38
12061.W0222 19.7 14.1 13.0 7.0 225 26.5 20 M6 3.0 3.0 6 62
12061.W0226 19.7 14.1 13.0 7.0 26.5 30.5 20 M 6 3.0 3.0 6 87
12061.W0230 23.2 14.0 11.7 9.0 30.5 385 25 M 6 4.0 4.0 6 133
12061.W0238 27.2 18.0 15.5 11.0 385 46.5 30 M8 4.0 4.0 8 238
12061.W0246 27.2 18.0 15.7 11.0 46.5 54.5 30 M8 4.0 4.0 8 327
12061.W0254 40.7 23.7 19.1 15.0 54.5 70.5 45 M10 5.0 5.0 10 658
12061.W0270 46.0 28.3 23.6 17.0 70.5 86.5 60 M12 5.0 5.0 12 1286
12061.W0286 51.1 30.3 25.6 25.0 86.5 102.5 60 M16 5.0 5.0 16 1778
Location hole d h Clamping force
Order No. dg toLH7 =~ e 5 he h, I, Strokes, 't A/F, A/F, kN No. of segments n
max.
12061.wW0214 M 4 12 55 193 20 55 45 2.3 6 3 5 3.5 3
12061.wW0218 M 5 15 75 228 25 75 55 2.3 7 4 5 4.5 3
12061.W0222 M6 20 60 287 30 60 70 2.3 8 5 6 5.0 3
12061.W0226 M 6 20 60 289 30 60 70 2.3 8 5 6 5.0 3
12061.W0230 M6 25 70 322 40 70 90 4.6 8 5 6 5.0 3
12061.wW0238 M 8 30 75 392 40 75 110 4.6 10 6 8 6.5 6
12061.W0246 M 8 30 75 392 40 75 110 4.6 10 6 8 6.5 6
12061.W0254 M10 45 9.0 547 50 90 150 9.2 12 8 10 8.0 6
12061.wW0270 M12 60 100 63.0 5.0 100 17.0 9.2 15 10 12 10.0 6
12061.wW0286 M16 60 100 721 5.0 10.0 250 9.2 15 14 17 10.0 6
() .
286 75 Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Internal Centering Clamps

rear actuated - for delicate components

dg AF, 9ymin. dymax.
& d:!-‘- AJF, : "1- -
- - ]
- - dy
¢ T 1 M
] 1
by 7] 3157 -
T 1A 2
/
% =
dgh @
installation unclamped clamped
dimensions
Material chucking inside holes with surfaces prone max“ must be maintained for clearance.
Body: tool steel 1.2842, blackened. to damage. Repeatability and rotational accuracy,
Top cone: steel 1.4112, case hardened, Locking pin for precise ball positioning. +0,025.
blackened and ground. Pull down version can be actuated from .
. . . Tips
Ball: steel, hardened and ground. rear either manually, or via pneumatic Suitable for perforated walls prone to
Spring: steel (AISI 301, 1.4310). hydraulic cylinder attached to thread ,d.” P P

damage, machining centres, welding

at rear of clamp. devices, transfer units, assembly units etc.

Technical Notes For deep installation applications, ,d,

Suitable for concentric positioning and

Order No. hy h, hg I d, d; d, d, d, dsg dg d, dg Weight
+0.1 min. max. +0.3 tol. H7 +0.1 g
12062.W0214 14.2 9.8 8.6 4.5 14.5 18.5 12 M 6 M 3 2.0 12 4.5 2.0 21
12062.W0218 166 115 10.4 5.5 185 22.5 15 M8 M 4 2.5 15 5.5 2.5 46
12062.W0222 19.7 14.1 13.0 7.0 22.5 26.5 20 M10 M 5 3.0 20 7.0 3.0 78
12062.W0226 199 142 13.0 7.0 26.5 30.5 20 M10 M 5 3.0 20 7.0 3.0 96
12062.W0230 232 140 11.7 9.0 30.5 38.5 25 M12 M 6 4.0 25 9.0 4.0 143
12062.W0238 272 180 155 11.0 385 46.5 30 M12 M 6 4.0 30 11.0 4.0 250
12062.W0246 27.2 180 157 11.0 465 545 30 M12 M 6 4.0 30 11.0 4.0 340
12062.W0254 40.7  23.7 19.1 15.0 545 70.5 45 M14x15 M8 5.0 45 15.0 5.0 680
12062.W0270 460 281 235 170 705 86.5 60 M1l6x1,5 M8 5.0 60 17.0 5.0 1300
12062.W0286 51.1 30.1 255 250 865 1025 60 M16x1,5 M10 5.0 60 25.0 5.0 2060

Clamping force Torque to

Order No. dg _%‘05 ?é‘ hg r? h:7 E? :&’5 n, Strokes, A/F, A/F, A/F, kN Nm
max. max.

12062.W0214 M 6 6 170 55 141 12 25 55 3 2.3 6 3 10 3.5 2

12062.W0218 M 8 8 205 75 182 14 35 75 3 2.3 7 5) 13 4.0 5
12062.W0222 M10 10 244 60 174 15 35 60 3 2.3 8 6 16 45 10
12062.W0226 M10 10 246 60 174 15 35 6.0 3 2.3 8 6 16 45 10
12062.W0230 M12 12 288 70 219 20 35 70 3 4.6 10 6 18 4.5 17
12062.W0238 M12 12 331 75 225 20 45 75 6 4.6 10 8 18 6.5 17
12062.W0246 M12 12 331 75 225 20 65 75 6 4.6 10 8 18 6.5 17
12062.W0254 M14x1,5 14 500 9.0 249 32 65 90 6 9.2 13 10 21 8.0 43
12062.W0270 M16X1,5 16 553 100 294 20 65 100 6 9.2 13 12 24 10.0 43
12062.W0286 M16X1,5 16 615 100 294 25 65 100 6 9.2 16 12 24 12.5 79

iR Wixroyd 0333 207 4497 sales@wixroyd.com 287

AN ESSENTRA COMPANY



Internal Centering Clamps
standard version - for casts and forgings

Body: tool steel, blackened.

locking pin can be used for precise ball

@
=
=
m
(]
-
=
5 |
g 12071 e
dy =
- dy
- -
dZ
unclampad clamped installation
dimensions
Material max.” must be maintained for clearance. A Important Notes

If machining delicate components, see

Top cone: case hardened stainless steel positioning. parts 12061.
1.4112, blackened and ground. Suitable for concentric positioning and
Ball: stainless steel, 1.4034. hardened and chucking inside holes, repeatability and
ground. rotary accuracy +0,025.
Spring: stainless steel, 1.4310 (AISI 301). Tips
Technical Notes Precise self-centering, providing clamping
For deep installation applications, ,d, and positioning of components.
Order No. h, h, hs Iy d, d, d, dg d, ds dg Weight
-1 +0.1 min. max. tol. f7 +0.3 tol. H7 g
12071.W0211 8.6 3.9 3.2 3.5 11.7 14.2 10 M 4 1.5 10 1.5 9.0
12071.W0214 14.2 9.8 8.6 4.5 14.5 18.5 12 M 4 2.0 12 2.0 20.0
12071.w0218 16.5 11.6 10.4 5.5 18.5 22.5 15 M 5 2.5 15 2.5 39.0
12071.W0222 19.6 14.1 129 7.0 22.5 26.5 20 M 6 3.0 20 3.0 60.0
12071.W0226 19.8 14.1 13.0 7.0 26.5 30.5 20 M 6 3.0 20 3.0 86.0
12071.W0230 23.2 14.1 11.8 9.0 30.5 385 25 M 6 4.0 25 4.0 125.0
12071.W0238 27.2 18.0 15.7 11.0 385 46.5 30 M8 4.0 30 4.0 233.0
12071.W0246 27.1 18.0 15.7 11.0 46.5 545 30 M 8 4.0 30 4.0 323.0
12071.W0254 40.6 23.7 19.1 15.0 545 70.5 45 M10 5.0 45 5.0 653.0
12071.W0270 46.1 28.3 23.7 17.0 70.5 86.5 60 M12 5.0 60 5.0 1271.0
12071.W0286 51.2 30.3 25.6 25.0 86.5 102.5 60 M16 5.0 60 5.0 1783.0
h h | Clamping force  Torque to
Order No. d, dg h, 5 he o5 14y Strokes, t AF AR, kN Nm
max. max.
12071.wW0211 4 M 4 3.5 14.7 2.0 3.5 3.5 1.3 4 3 - 0.5 5
12071.W0214 4 M 4 5.5 19.2 2.5 5.5 4.5 2.3 6 3 5 3.5 5
12071.wW0218 5 M5 7.5 22.7 35 7.5 55 2.3 7 4 5 4.5 10
12071.W0222 6 M 6 6.0 28.6 3.5 6.0 7.0 2.3 8 5 6 5.0 17
12071.W0226 6 M 6 6.0 28.8 35 6.0 7.0 2.3 8 5 6 5.0 17
12071.wW0230 6 M 6 7.0 32.2 3.5 7.0 9.0 4.6 8 5 6 5.0 17
12071.W0238 8 M 8 7.5 39.2 4.5 7.5 11.0 4.6 10 6 8 6.5 43
12071.W0246 8 M 8 7.5 39.2 6.5 7.5 11.0 4.6 10 6 8 6.5 43
12071.W0254 10 M10 9.0 54.6 6.5 9.0 15.0 9.2 12 8 10 8.0 79
12071.W0270 12 M12 10.0 63.1 6.5 10.0 17.0 9.2 15 10 12 10.0 141
12071.W0286 16 M16 10,0 722 6.5 10.0 25.0 9.2 15 14 17 10.0 354

wixroyd.com

288 bﬂ Wixroyd

AN ESSENTRA COMPANY



Internal Centering Clamps

rear actuated, for casts and forgings

aF, dymin.  d;min.
d, T - -
] -
- - i
-, h,
fy
Y
h Y 2
i A =
=
&
&
- dy
dg Ll - :;
g d:_,
installation unclamped clamped
dimensions
Material ball impressions can be accepted. +0,025.
Body: tool steel, blackened. Pull down version can be actuated from .
. . . . Tips
Top cone: case hardened stainless steel rear either manually, or via pneumatic of . .. .
L p Suitable for; machining centres, welding
1.4112, blackened and ground. hydraulic cylinder attached to thread ,d, devices. transfer units. assembly units etc
Ball: stainless steel, 1.4034. hardened and at rear of clamp. ! ! y '
ground. For deep installation applications, ,d, Important Notes
Spring: stainless steel, 1.4310 (AISI 301). max.” must be maintained for clearance. If machining delicate components, see
A locking pin can be used for precise ball parts 12062.

Technical Notes
Suitable for concentric positioning and
chucking inside holes, provided that small

positioning.
Repeatability and rotational accuracy,

Order No. h, h, hs I w, d; d, d, dg d, dg dg d, dg  Weight
+0.1 *0.1 min. max.  tol. f7 +0.3  tol. H7 g
12072.W0211 9.9 39 3.2 35 3.5 11.7 142 10 M 5 M 3 1.5 10 15 5 12
12072.W0214 142 98 8.6 4.5 4.5 145 185 12 M 6 M3 2.0 12 2.0 6 21
12072.W0218 165 116 104 55 5.5 185 225 15 M8 M 4 2.5 15 2.5 8 45
12072.W0222 196 141 129 7.0 7.0 225 265 20 M10 M 5 3.0 20 3.0 10 77
12072.W0226 198 141 130 7.0 70 265 305 20 M10 M 5 3.0 20 3.0 10 96
12072.W0230 232 141 118 90 9.0 305 385 25 M12 M 6 4.0 2)3 4.0 12 140
12072.W0238 27.1 180 155 11.0 110 385 465 30 M12 M 6 4.0 30 4.0 12 246
12072.W0246 272 180 157 11.0 110 465 545 30 M12 M 6 4.0 30 4.0 12 327

12072.wW0254 406 23.7 191 150 150 545 705 45 Ml14x15 M8 50 45 5.0 14 650
12072.wW0270 46.1 283 237 170 170 705 865 60 Mlexl,5 M8 5.0 60 5.0 16 1272
12072.wW0286 51.2 303 257 250 250 865 1025 60 Mlexl,5 M10 5.0 60 5.0 16 2042

h h h h Torque toClamping force F .

Order No. dg _é‘ hg +5i J +05_‘5 hy Strokes, A/F, A/F, A/F, nl:l;r:( KN 1Ball dia.Number of balls n
12072.W0211 M5 127 35 11.0 10 35 20 1.3 55 4 8 2 0.5 2.5 3
12072.W0214 M6 170 55 141 12 55 25 2.3 55 38 10 2 35 4.0 3
12072.W0218 M8 204 75 182 14 75 35 2.3 70 5 13 5 4.0 4.0 3
12072.W0222 MI10 243 60 174 15 60 35 2.3 80 © 16 10 45 4.0 3
12072.W0226 M10 245 60 174 15 60 35 2.3 80 6 16 10 4.5 4.0 3
12072.W0230 M12 288 70 219 20 70 35 46 100 6 18 17 4.5 8.0 3
12072.W0238 M12 33.0 75 225 20 75 45 46 100 8 18 17 6.5 8.0 6
12072.W0246 M12 33.1 75 225 20 75 65 46 100 8 18 17 6.5 8.0 6
12072.W0254 M14x1,4 499 90 245 32 90 65 92 130 10 21 43 8.0 16.0 6

iR Wixroyd 0333 207 4497 sales@wixroyd.com 289

AN ESSENTRA COMPANY



Internal Centering Clamps

rear actuated, for casts and forgings

h h h h Torque tOClamping force F
Order No. dg _é‘ hg +§ J +02.35 hy Strokes, A/F, A/F, A/F, nl:lg:( KN 1Ball dia.Number of balls n
12072.W0270 Mle6x1,5 554 10.0 294 20 100 6.5 92 130 12 24 43 10.0 16.0 6
12072.W0286 Ml6x1,5 61.6 10.0 294 25 100 6.5 92 160 12 24 79 15.5 16.0 6

INIdWVY1) 3404

290 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Theinternal centering clamp provides autocentric chucking inside
both round and square holes, at the simple turn of a hexagon
screw. Precise self-centering is achieved through the expansion

of the ring of balls which, during clamping, are pressed outward
across a precision cone. As the outer diameter of the clamp changes
the balls transmit force between its body and the bore. The clamps are
used in machining and welding fixtures, product assemblies and

transfer units.

e Fasy to use.

e Precise self-centering
and downhold clamping
minimising tolerance errors.

e 3or 6 points of clamping for
maximum stability.

Clamping on uneven surfaces, e Easily actuated by the turn Advantages

such as casts and forgings. of a screw.

Low height clamping element. e Clamping of workpieces
with perforated walls
without distortion.

Bore sizes 11 to 102mm.

Repeatable positioning
accuracy +0,025 and rotational
accuracy +0,025.

e Actuation from above or below.

Centering

Manual, hydraulic or pneumatic from below

I— " S I
Lt g™y
>~ <
CHOHO) = -
|
12061 - for delicate ) UEJ
workpieces 12062 - for delicate
(non-marking). L1 \(NorkplecE_s \
T = 7 non-marking). :
QI TQ) %
| | I
(]
> <0) =
12071 - for cast E [ 12072 - for cast } I l
and more and more [
robust workpieces. robust workpieces. M
o . ® .
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com
AN ESSENTRA COMPANY

Actuation Models

291

BORE CLAMPING




Compact ID Holding Clamps

dy countersunk dy hex sockel head
i, ne;u screw }{ cap screw
frkg) ar Ok
Ny Nt
dy max,
-
dy mén,
- -
o [ o-ning "‘zi
= 2 3 1
sl n, b t—“g h
m 1 = 'y
2 ; 1 i o
= Ty | 1 Y
5 - - - -
& 1 2 O 7 i d: .
(3}
countersunk type

1 (jaws move obliquely downward )

@ n @
(@ horizontal pressure against workpiece
@ @ (@ vertical pressure preventing workpiece lift

Material provides powerful clamping force. Gene- roughed holes. Contact point nature of
Steel (AISI 4140), 33-39 HRc, blackened. rates both horizontal and vertical clamping  clamp may result in marking of workpiece.
force. Not recommended for use in accurately

Technical Notes finished holes.

Compact clamps to hold workpiece on an Tips
inside diameter. Wedge construction Clamps are suited to holding on cast or
Order No. h, | atd, Type d, d, d, h,atd, h;atd; A/F Clampingforce Torqueto Weight
max. min.  max. min. max. kN Nm g
max. max.
12074.W0008 0.9 7.3 Countersunk 8 10.3 M 4x0,70 4.6 5.5 3 2.1 0.9 3
12074.W0010 1.1 9.1 Countersunk 10 123 M 5x0,80 5.6 6.4 3 4.3 1.5 5
12074.W0012 1.3 11.2 Countersunk 12 16.3 M 6x1,00 7.0 8.6 4 7.3 2.1 9
12074.W0016 1.6 16.2 Countersunk 16 22.0 M 8x1,25 9.4 11.5 5 18.0 4.0 22
12074.W0108 5.1 7.1 Socket Head 8 10.3 M 4x0,70 4.6 55 3 2.7 1.5 4
12074.W0110 6.2 9.0 Socket Head 10 12.3 M 5x0,80 5.6 6.4 4 5.4 2.5 7
12074.W0112 7.9 10.6  Socket Head 12 16.3 M 6x1,00 7.0 8.6 5 9.1 5.0 11
12074.W0116 104 154 Socket Head 16 22.0 M 8x1,25 9.4 11.5 6 25.0 9.0 28

292 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



ID Holding Clamps

BORE CLAMPING

E@] 12075

Material diameter. Wedge construction provides roughed holes. Contact point nature of
Steel (AISI 4140, 42CrMo4), 47-53 HRc, powerful clamping force. Generates both clamp, may resultin marking of workpiece.
blackened. horizontal and vertical clamping force. Not recommended for use in accurately
Technical Notes Tips finished holes.
Clamps hold workpieces on aninside Clamps are suited to holding on cast or
Order No. h, hs hs I, atd,; d, d, d; d, d, h,atd, Clampingforce Torqueto Weight
min.  max. max. min.  max. min. kN Nm g
max. max.
12075.w0008 9 8.0 2.6 9.4 195 24 24 M4x12 95 2.5 3.2 2 19
12075.wW0012 13 115 50 13.0 235 29 29 M6x18 115 4.0 10.5 5 43
12075.W0016 17 150 6.0 190 285 36 36 M8x25 140 55 25.0 9 89
o . . )
R Wixroyd 0333 207 4497 sales@wixroyd.com 203
AN ESSENTRA COMPANY



Shaft Cla ping Steel Shaft Clamps

for cylindrical parts

Wy

' -
> NFldg i yé 7
5 i
E bl |1 - ds
E [P D -2 !
2 32940.1 i
T | It

Material 1) machine bores
Body: steel, heat-treated, blackened. 2) insert shaft clamp .
Clamping screw: steel, zincpplated 3) expand jaws to appropriate dimension Tips
. L ’ ’ For clamping shafts, axles, columns, bolts,
Spring: stainless. of the part to be clamped . o
4) position the shaft bars, pipes etc.‘(V\nth diameters 6-125mm),
RoHS compliant 5) clamp it using the working tool quickly and easily.

REACH: contains no SVHC materials

Technical Notes The thread d, serves to hold the assembly

Installation: tool (optional).
Order No. d; d, d; | I, I3 Hubbored, Location hole shaft w, A/F Tightening torqueFitting tool 32940 Weight
tol. h11 max. tol. H7 dsg +0.2 Nm g
max.

32940.W0006 8 M 4 2M5 27 8 4 8 6-10 28 3 29 .W0806 8

32940.W0010 10 M5 M3 33 10 5 10 10-15 33 4 6,0 .W0810 12

32940.W0015 12 M6 M4 39 12 6 12 15-20 35 5 10,0 .W0815 21

32940.W0020 16 M8 M5 46 16 8 16 20-30 40 6 25,0 .W0820 52

32940.W0030 20 MI0O M6 53 20 10 20 30-40 48 8 46,0 .W0830 98

32940.W0040 25 M12 M8 70 25 12 25 40-60 56 10 82,0 w0840 183

32940.W0060 30 Ml6e M10 81 30 16 30 60-125 79 14 206,0 .W0860 344

294 % Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Steel Shaft Clamps

for cylindrical parts

SHAFT CLAMPING

A Wixroud 0333 207 4497 sales@wixroyd.com 295

AN ESSENTRA COMPANY



Shaft Cla ping Stainless Shaft Clamps

for cylindrical parts

Wy
‘. -
> NFl ds i yé 7
= i
|
2 h ds
> — -
5 I3 L - - L - !
=
dy
' - d4 -
Material 1) machine bores Tips
Body: stainless 1.4305. 2) insert shaft clamp For clamping shafts, axles, columns, bolts,
Clamping screw: stainless. 3) expand jaws to appropriate dimension bars, pipes etc. (with diameters 6-125mm),
Spring: stainless. of the part to be clamped quickly and easily.
4) position the shaft
RoHS compliant 5) clamp it using the working tool
REACH
Technical Notes Ihelthresd d3lserves to hold the assembly
Installation: ool (optional).
Order No. d, d, ds I I Weight
tol. h11 max. g
32940.W0106 8 M 4 M 2,5 27 8 7
32940.W0110 10 M 5 M3 33 10 13
32940.W0115 12 M 6 M 4 39 12 22
32940.W0120 16 M8 M 5 46 16 52
32940.W0130 20 M10 M 6 53 20 104
32940.W0140 25 M12 M 8 70 25 189
32940.W0160 30 M16 M10 81 30 346
Tightening torque
order No. 3 HutbOIt.er? dy Location hole shaft dj 02 AF nl:l;r:( Fitting tool 32940
32940.W0106 4 8 6-10 2.8 3 29 .W0806
32940.w0110 5 10 10-15 3.3 4 6 .W0810
32940.W0115 6 12 15-20 35 5 10 .W0815
32940.W0120 8 16 20-30 4.0 6 25 .W0820
32940.W0130 10 20 30-40 4.8 8 46 .W0830
32940.W0140 12 25 40-60 5.6 10 82 .W0840
32940.W0160 16 30 60-125 7.9 14 206 .W0860

296 % Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Stainless Shaft Clamps

for cylindrical parts

SHAFT CLAMPING

A Wixroud 0333 207 4497 sales@wixroyd.com 297

AN ESSENTRA COMPANY



SIYISNIMNIVE T1Nd

Expanding Loc-Down Bolts

for quick component clamping

- -
B
-V d; d,
d.
[ T 'O l./\/\.KNV\ ;
' ey x i
LA A\ \Q\ \
¢ \5,\ \\\
AF =al (> T o
- L T
- 0y -
oc-down boll
endmill cutter

knurled
surface

loc-down bushing

<

Material

Max torque:

Bolt: stainless steel, heat treated
Bushings: alloy steel (4140), Rc 58-60,
black oxide finish

Endmill cutter: stainless steel, heat treated
Install tool: stainless steel, heat treated

Technical Notes

**Please note: max. clamping force is typi-
cally 0,33kN. force for every 1 Nm. of
torque, and is dependent upon workpiece
material.

With bushing 20 Nm.

Alu/brass (without bush) 20 Nm.

Mild steel/ stainles steel 27Nm.

Metals HRc 45 20Nm.

See technical pages.

Tips

Ideal low cost quick component and fixture
change. Use in conjunction with location
pins 36340 and drill bushes 30800 for fast
and accurate positioning. Provides repea-

tability to 0,01mm.

Time saving solution, removing the need
for traditional bolts whilst reducing
tooling interference from traditional clam-
ping methods.

Ideal for high speed machining of
components.

Important Notes
Seeinstallation guidance sheet for correct
installation procedure.

Order No. Type Size d, d, ds
12098.W0010 Loc-down bolt M10 M10x1,5 9.9 5.0
12098.w0012 Loc-down bolt M12 M12x1,75 12.6 7.9
12098.W0016 Loc-down bolt M16 M1léex2 15.9 9.8
12098.W0110 Loc-down bushing M10 - - -
12098.W0112 Loc-down bushing M12 - - -
12098.W0116 Loc-down bushing M16 - - -
12098.W0510 Endmill cutter M10 - - -
12098.W0512 Endmill cutter for M12, M16 - - -
12098.W0535 Bushing install tool ~ for M10 to M16 - - -

Order No. h, Iy [ I3 Iy I
12098.W0010 - 42.8 40.2 14.1 187 5.3
12098.W0012 - 43.8 385 15.8 16.0 6.3
12098.W0016 - 56.4 50.0 213 22.7 6.0
12098.wW0110 29 - - - - -
12098.w0112 1.6 - - - - -
12098.W0116 3.6 - - - - -
12098.W0510 - - - - - -
12098.W0512 - - - - - -
12098.W0535 - - - - - -

@ | .
298 75 Wixroyd wixroyd.com
AN ESSENTRA COMPANY

d, ds dg h, Weight
g

- - - - 16

- - - - 27

- - - - 58
13.2 10.2 180 10.0 10
16.3 13.0 220 9.7 14
20.7 16.1 26.9 14.1 30

- - - - 159

Iy I, lg A/F
4.6 6.3 10.5 5
5.7 6.8 12.3 6
6.3 85 15.9 8




Expanding Loc-Down Bolts

for quick component clamping

PULL BACK INSERTS

M Wixroud 0333 207 4497 sales@wixroyd.com 299

AN ESSENTRA COMPANY



Expanding Loc-Down Bolt

applications

SIYISNIMNIVE T1Nd

Ll bbb
| A /.‘ J"‘
W= K

) ,-.v
T

/

£ 4
~/ Y lv
e .y

300 L‘, Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Expanding Loc-Down Bolt

Installation Guidance

1. Drill and tap blind hole to thread d depth of ;.

2. Thread must be to a minimum depth l,and a
blind hole.

3. Blind hole must be flat to ensure proper actuation
of bolt.

Preparation of Fixture

Loc-down Bolt Size dq l; I, min.
12098.W0010 M10 | M10x 1,5 22 18
12098.W0012 M12 | M10x 1,75 | 22 18
12098.W0016 M16 M10 x 2 27 22

1. Drill through hole, dimension ‘f".

2. Using endmill cutter, (please order separately),
touch off on bottom of workpiece and drop tool
to dimension ‘g”. Now cut a groove to diameter
‘e”. Please refer to table of endmill cutter starting
feeds and speeds for different materials.

3. Countersink 0.8mm x 90°. See “direct workpiece
without bushing preparation” chart below.

Preparation of Workpiece Option 1

Loc-down Bolt Size h3 Wy dy

12098.W0010 M10 | 125-127 | 99 |1143
12098.W0012 M12 | 159-16,0 | 13,0 | 11,73
12098.W0016 M16 | 206 -209 | 16,5 | 15,09

workpiece

fixture

:

preparation of fixture for loc-down bolts

Endmill Cutter Starting Feeds and Speeds

Material Feed Speed
Aluminium | 25 IPM 3,000 rpm/1 radial pass
Hard metals | 1 IPM |1,200 rpm/3 equal radial passes

1. Drill through workpiece to dimenison ‘c”. Deep
countersink hole of diameter “a”, leaving material
on bottom of thickness ‘b’ (i.e. mounting) surface
of workpiece.

2. Install loc-down bushing (please order separately),
ensuring bottom of bushing is flush with base of
counter sink hole.

3. 0n deep holes, consider counter bore for
dimension “a” for easier bushing installation.

preparation of
workpiece for
direct in workpiece
installation

endmill cutter
12098.W0530

@ bottom of workpiece @

top of workpiece

)

; I
@ top of workpiece @

Preparation of Fixture

Preparation of
Workpiece Option 1

without bushing direct
into workpiece.

Preparation of
Workpiece Option 2

with loc-down bushing
(especially for soft materials).

4. This is a press fit installation, metal is
displaced. The 0D of the bushing is knurled, to bottom of workpiece i’
aid in retention, and minimize bushing and part
distortion. Using bushing installation tool
12098.W0535 (order separately) provides
properly seated bushing installation, without
damage to the bushing.
Preparation of Workpiece Option 2
Loc-down Bolt  Size Loc-down Bushing Endmill Cutter d, hg dg hy
12098.W0010 M10 12098.W0110 12098.W0510 18,00/18,02 | 2,0 10,3/10,5 | 10,0
12098.W0012 M12 12098.W0112 12098.W0512 | 22,00/22,03 | 2,0 13,0/135 | 9,7
12098.W0016 M16 12098.wW0112 12098.W0516 27,00/27,03 | 25 16,3/16,6 | 14,0
o |
FB M 0333 207 4497 sales@wixroyd.com 301
AN ESSENTRA COMPANY

PULL BACK INSERTS




SIYISNIMNIVE T1Nd

Precision Expanding Dowels

12099

AfF,

ha

bottom screw

top screw

hy

Material
Steel (SNCM20), heat-treated, quenched
and tempered.

Technical Notes
Self-centering and repeatable to within +/-

0,013.

Tips

These dowels are designed just for locating
and are unsuitable for applications where
high shear stress is generated.

Order No. d, d, hy h, A/F, A/F, Screw torque bottom screw Screw torque top screw Recommended hole dia.
Nm Nm
max. max.
12099.W0010 10 99 20 176 4 3 2.2 2.2
12099.W0012 12 119 25 226 5 4 2.2 2.2
12099.W0014 14 139 28 249 5 4 35 4.5
12099.W0016 16 159 32 297 6 5 35 5.7
12099.wW0020 20 199 38 354 8 6 4.5 5.7
installation instructions one installation instructions two
remove the lop screw, expand the bottom replace the top screw, slide the locating
half slightly by turning the setscrew, and insert hole of the fixture plate over the dowel,
the dowel into the locating hole of the base plate. and expand the top half with a hex wrench
Hoald the dowel with a plier or other tool and
tighten the setscrew to fix the bottom half
o . o .
302 h‘i Wixroyd wixroyd.com

AN ESSENTRA COMPANY

+0.025

Weight




XYZ Xpansion Pins

press-fit

g L

d, min.
i A
h2
I b) 1 —
S
X Y
"4, F ] i

pin

tapered
screw

tapered screw

PULL BACK INSERTS

Material

Stainless steel (17-4PH) or steel (12L14).
Pin and screw supplied together. Replace-
ment pins can be ordered separately, see
parts 12058.W5030-W5060. Supplied as
one pin and one tapered screw.

Technical Notes

XYZ Xpansion pins provide a cost-effective
workholding solution for tombstones, grid
and fixture plates, enabling full tool access
to the work surface with no external clam-
ping interference.

Unique design provides accurate location
and repeatability with high holding forces
to secure parts on an internal diameter.

Press-fit XYZ Xpansion pins are for installa-
tion into a precision bored hole, with a
centred threaded hole to receive tapered
screw.

Easy to use installation/removal tool
available, please order separately.

Tips

Designed for applications requiring quick
set-up on secondary operation, water
jetting or even non-machining applica-
tions where discrete location and clamping
of parts is required.

Important Notes
Clamping of component achieved via tigh-

tening of tapered screw to expand the XYZ
pin collet; expansion of 0,7mm is possible.
The top of the pin has been slightly tapered
to maximise line contact in the mounting
bore and to provide adequate clearance
during workpiece loading and unloading.
If recessing pin into a fixture at a depth
below the collet slits, be sure to provide
sufficient clearance to allow for expansion
of clamp (approx. 0,7mm).

d, min. is the minimum diameter to which
the pin can be machined down.

The tapered screws listed on the data table
are for replacement purposes.

Order No. Type Material
12058.W0030 Pin 17-4PH
12058.W0040 Pin 17-4PH
12058.W0050 Pin 17-4PH
12058.W0060 Pin 17-4PH
12058.W0130 Pin 12L14
12058.W0140 Pin 12L14
12058.W0150 Pin 12L14
12058.W0160 Pin 12L14
12058.W5030 Tapered Screw -
12058.W5040 Tapered Screw -
12058.W5050 Tapered Screw -
12058.W5060 Tapered Screw -
12058.W6030 Inst. Tool -
12058.W6040 Inst. Tool -
12058.W6050 Inst. Tool -
12058.W6060 Inst. Tool -

bﬂ Wixroyd

AN ESSENTRA COMPANY

For pin dia. I d, d; d, hy h, hs h, Weight
+0.00[-0.025  min. g
- 16 6 5.5 - 13 7.0 5.8 7.3 2.7
= 22 10 7.5 = 19 127 64 8.4 9.5
- 22 12 10.5 - 19 127 64 11.1 17
- 22 16 12.0 - 19 127 64 130 27
- 16 6 5.5 - 13 7.0 5.8 7.3 2.7
- 22 10 7.5 - 19 127 64 84 9.5
- 22 12 10.5 - 19 127 64 111 17.2
= 22 16 12.0 = 19 127 64 130 272
- - - - M 3x0,5 - - - -
- - - - M 4x0,7 - - - - 4.5
- - - - M 6x1,0 - - - -
- - - - M 8x1,25 - - - - 13.6
6 - - - - - - - -
10 = = = = = = = =
12 - - - - - - - -
16 - - - - - - - - 63.5
0333 207 4497 sales@wixroyd.com 303



SIYISNIMNIVE T1Nd

XYZ Xpansion Pins

threaded installation

12059

tapered scraw

Material

Stainless steel (17-4PH, AISI 630) or steel
(12L14). Pin and screw supplied together.
Replacement pins can be ordered separa-
tely, see parts 12059.W5010-12059.
W5020. Supplied as one pin and one
tapered screw.

Technical Notes

XYZ Xpansion pins provide a cost-effective
workholding solution for tombstones, grid
and fixture plates, enabling full tool access
to the work surface with no external clam-
ping interference.

Unique design provides accurate location
and repeatability with high holding forces
to secure parts on an internal diameter.
Threaded XYZ Xpansion pins are installed

via a drilled and reamed hole for precise
location, or setin a hardened drill bush for
additional fixture strenth and wear resi-
stance. d, tolerance +.00/-.025.

Tips

Designed for applications requiring quick
set-up on secondary operation, water
jetting or even non machining applications
where discrete location and claming of
parts is required.

Important Notes

Clamping of component achieved via tigh-
tening of tapered screw to expand the XYZ
pin collet; expansion of 0,7mm is possible.
The top of the pin has been slightly tapered
to maximise line contact in the mouting

bore and to proved adequate clearance
during loading and unloading of
workpieces.

Ifinstallation pinin a precision bore, drill
and ream the hole over the nominal
diameter d, by minimum +0,003 to +0,013
mm.

If recessing pin into a fixture at a depth
below the collet slits, be sure to provide
sufficient clearance to allow for expansion
of clamp (approx. 0,7mm).

d, min.* is the minimum diameter to which
the pin can be machined down.

The tapered screws listed on the data table
are for replacement purposes.

Order No. Type Iy d; d, d, d, h, h, hs h, Weight

+0.00]-0.025 min.* g
12059.W0050 Pin M12x1,75 12 105 : 0 15 12 13 34
12059.W0060 Pin - M16x200 16 12.0 : 45 16 16 13 59
12059.W5010  Tapered Screw 30 : i -~ Mexda0 - - - - 91
12059.W5020  Tapered Screw 30 : : I 14

. : .
304 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY



XYZ Xpansion Pins 12058 - 12059

Clamping & Height Setting

Expansion pins are the ideal solution for securing
parts on the inside diameter on tombstones, grid
and fixture plates.

The unique design achieves accurate location,
repeatability and high holding forces for securing
parts and provide discrete workholding and full
accessibility to the work surface with no external
clamping interference.

Location accuracy is achieved through the close
tolerance between the Xpansion pin’s locating
diameter and busing internal diameter. The top
of the pins have a slight taper to maximise line
contactin the bore, and to provide clearance
during loading and unloading.

PULL BACK INSERTS

Pins expand up to 0.7mm, with the pin’s diameter
machinable to your specific application.

Ideal for quick set-up on secondary operation,
water jetting operations, or even applications
outside of a machining centre.

Available in long threaded version, or shorter press
fit model. Serrated and smooth finish in both M12

and M16 threads.
Easy to Install
Design simple fixture plate Install the Xpansion pin into Install the Xpansion pin’s
with Xpansion pins located to the fixture plate. tapered drive screw into fixture
suit your component, the same plate.
hole spacing will be used in
the workpiece/raw stock for
mounting bolt holes.
;: e Flip the part and locate
N on the same Xpansion
E pins for operation two.
E e Xpansion pins provide
£ a quick, accurate and
B \ low cost fixture solution.
E Load workpiece raw stock onto Run first operation - note the
g Xpansion pins and tighten clear tooling path possible
= tapered drive screws to clamp. with no noticeable external
5 clamping interference.
8 ﬁ.‘) Wixroyd 0333 207 4497 sales@wixroyd.com 305
AN ESSENTRA COMPANY



SIYISNIMNIVE T1Nd

! [}
2
[}
L unclamping
c__,_"' 1300 position
clamping end

12085.1

with taper pin

without taper pin

Material Handle: die-cast zinc (ZDC1), silver-grey Technical Notes
Body/shank: steel (SCM440), black oxide painted. The lifting force is the power of the inner
finish. Pin: stainless steel (AISI 303, 1.4305). spring of the body to push up the moveable
Tapered pin: steel (SCM440), nitrocarbu- tapered pin.
rised.
Order No. Tapered pin Size  Clamping Iy I Dp d,; d, d d, h, h, hs h, Lifting force Weight
force tol. G6 N g
N
12085.W0008 With 8 600 40 8 34 40 25 8 M3x05 26 45 95 155 100 220
12085.wW0108 Without 8 700 40 8 34 40 25 8 M3x05 26 45 95 155 215
co.5
1005t 2H s RO4orless
10005 _n—ma‘a cos == 1 - 4054 —
R ; LA é
6 6
O % ‘ ‘H =
so65 = = O st
250H7 4065 » -
installation on 10mm thick plate installation on 10mm-22mm thick plate -
drill a counterbored hole
mounting hole dimension
can be used with plates of 10mm - 22mm thickness
o . . )
306 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



One-Touch Flex Locator Clampers
knob

PULL BACK INSERTS

12085.2

Material

Body/shank: steel (AISI 4140, 42CrMo4),
black oxide finish.

Tapered pin: steel (AISI 4140, 42CrMo4),
nitrocarburised.

Knob: stainless steel (AISI 304, 1.4308).

Pin: stainless steel (AISI 303, 1.4305). Tips

Flex locator bushing: for .W0206, see part
no. 12085.W0506. For .W0208, see part
no. 12085.W0508.

Technical Notes

The lifting force is the power of the inner
spring of the body to push up the moveable
tapered pin.

Order No. Size  Clamping d, d, d, d, ds dg d, hy h, hg h, hg hg Lifting a  Weig
force force ht
N N g
12085.W0206 6 350 32 16 55 16 33 255 3x'\C/|)5 22 27 75 120 8 4 30 120° 96
12085.W0208 8 600 40 25 80 25 41 340 - 26 32 95 155 10 6 100 130° 211
- g -
N RO.4 or less
s e e P34 COS he s 7
=T =
Vi LB
4065 = = C0S 4065 = - 008
A-d.n- o
meunting hole dimension
o . . .
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 307
AN ESSENTRA COMPANY



SIYISNIMNIVE T1Nd

12085.3

d; tapped hole for removal

dg

Material

Stainless steel (AISI 304, 1.4301).

Technical Notes

no. 12108. Use plates to avoid any defor-
mation to workpiece during clamping.

Clamping plates for spiral cam clamp, part

Order No. Size d; d, d; dy dg dg d, hy h, hs h, hsg Weight
g
12085.W0506 6 28 125 215 135 28 34 M3x05 55 8 2 15 6 20
12085.W0508 8 32 17 255 180 32 34 M3x05 65 10 3 18 7 32
d ’D allowable tolerance 0.0z
— - “D - -
hg i ]
el it U NN B 1
8 SRR\ RS A\
Al &\\\\\ ! N
Rodorless = ™ M3x05 (x4)

mounting hole dimension

how to remove

insert screws (M3x0.5) into the tapped
holes to lift up the bushing for removal

:

-
allowable tolerance s0.02

spacing lolerance

308 bﬂ Wixroyd

AN ESSENTRA COMPANY

wixroyd.com




One Touch Flex Locator Clampers

how to use

Feature
movable
tapered pin
Z
=
2
tapered bushing
tapered bushing
e The plates are located by fitting the tapered pin and th tapered bushing.
e The pin contacts the cam surface inside the bushing, and it compresses the inner spring, then the
plates are clamped.
Note: 12085.W0108 does not have locating function.
Two clamping and
unclamping positions of
handle can be chosen for
12085.W0008/W0108
clamping
&
How to Operate
1. Ensure the handle is positioned 2. Insert the clamper to 3. Turn the handle to ‘ON’ mark
at ‘OFF’ mark. the bushing. for clamping.
*Follow back these steps for
unclamping
*Same operation for knob style.
o . . )
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 309
AN ESSENTRA COMPANY



SIYISNIMNIVE T1Nd

Tightening Order

How to Use

Horizontal Assembly

of Fixture Plate

Note: Ensure not to lift the fixture
plate up and down with gripping
the handle of the clampers.

Vertical Assembly of

Fixture Plate

Note: Locating repeatibility fixture plate

is 10 u m.

310

One Touch Flex Locator Clampers

how to use

12085.W0008

Ensure the handle os positioned at ‘OFF
marke and lift down the fixture plate.

Turn the handle and clamp in order of

©-0-60-0

*For unclamping, ensure the handle is
positioned at ‘OFF" mark and disassemble
the fixture plate.

If the handles are not tightened in the
correct order, the locating repeatability
may exceed 10 p m.

tapered bushing
tapered clamper

tapered clamper

tapered bushing

tapered bushing

tapered clamper

b.ﬁ Wixroyd wixroyd.com

AN ESSENTRA COMPANY

Clamp and Bush Max. Loading
Combination Capacity (N)
12085.W0206 @6 120
12085.wW0008 @8 400
12085.wW0108 @8 400
12085.wW0208 @8 400

Note: The maximum load is the entire

sum of the load of fixture plates, fixtures
and workpieces.

The maximum loading capacity shown is
the value when two sets of tapered clamper
and tapered bushing are used.



Positioning Clamping Pins

- -
AF, la Iy hy 8y
PR -t —
wv
: z
(%]
=
b .
Ay g, d; dy O A5 =
+ 12090 -
| B 2
Y ,
o-ring clamping

SCrews

positioning clamping pin is centered and
clamped via the four balls, into the loca-
ting bush.

The clamping screw can be operated manu-
ally via a removable handle or hex. key.

Important Notes

The positioning clamping pin allows fast
clamping, fastening, adjusting, changing
and securing of workpieces, plates, fixture
systems etc.

Material

Steel version: heat treated steel, tempered
and blackened.

Stainless steel version: precipitation
hardened stainless steel (17-4PH, AISI
630).

Technical Notes
By tightening the clamping screw, the

Tips
For removable handle see part no. 12091.

Order No. Material I I, d d d; d, Forclamping plate  h, Holding Stroke A/F; A/F, Weight
+0.6 *1 -0.02]- thickness force S, g
0.05 +0.05 kN max.

12090.W0016 Steel 25 136 16 187 32 M4 20 10 5 9 30 6 105
12090.w0018 Steel 30 136 16 187 32 M4 25 10 5 9 30 6 115
12090.w0020 Steel 25 136 20 236 40 M4 20 10 6 9 38 6 170
12090.w0022 Steel 30 136 20 236 40 M4 25 10 6 9 38 6 185
12090.w0025 Steel 25 186 25 290 45 M4 20 10 8 9 43 10 255
12090.w0027 Steel 30 186 25 290 45 M4 25 10 8 9 43 10 275
12090.w0030 Steel 25 186 30 346 55 M4 20 10 10 9 53 10 375
12090.w0032 Steel 30 186 30 346 55 M4 25 10 10 9 53 10 400
12090.W0116  Stainless Steel 25 136 16 187 32 M4 20 10 5 9 30 6 105
12090.wW0118  Stainless Steel 30 136 16 187 32 M4 25 10 5 9 30 6 115
12090.wW0120  Stainless Steel 25 136 20 236 40 M4 20 10 6 9 38 6 170
12090.W0122  Stainless Steel 30 136 20 236 40 M4 25 10 6 9 38 6 185
12090.W0125  Stainless Steel 25 186 25 290 45 M4 20 10 8 9 43 10 255
12090.W0127  Stainless Steel 30 186 25 290 45 M4 25 10 8 9 43 10 275
12090.W0130  Stainless Steel 25 186 30 346 55 M4 20 10 10 9 53 10 375
12090.W0132  Stainless Steel 30 186 30 346 55 M4 25 10 10 9 53 10 400
(I .

FB M 0333 207 4497 sales@wixroyd.com 311

AN ESSENTRA COMPANY



Positioning Clamping Pins

overview

By tightening the clamping screws, the positioning clamping pin is centered and clamped with
four balls in the locating bush. The clamping screw can be operated manually via a removable
handle or via an hex. key.

Advantages

Overview e Advantages of initial spring tension:

- Abrasion resistant.
- Clamping ball and location hole are protected from overload.
- No seizing of the pin through overloading.

SIYISNIMNIVE T1Nd

- Reduces vibration during machining.

- Eliminates unintentional unlocking of the system (e.g. due to system vibration).
o High repeatability of +0.03mm.
e Simpleinstalling /uninstalling using a spanner faces and knurling.
e Low construction height.

e Operation via hex. key or optional handle.

actuation via

v hex key removable

s actuation handle f

clamping

! fixture plate
pin 12090

hardened
bushes 12092

locating base plate
bushes 12094

312 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Manual Handles

for positioning clamping pins 12090

Iy handle 12091
-

clamping pin
12080 (order separately) la

daI tzé'mz
~ 12091

PULL BACK INSERTS

Material
Stainless steel.

Technical Notes

of the positioning clamping pin. The
handle is tightened to the positioning
clamping pin with the M4 screw included in

The handle enables easy and fast operation the delivery.
Order No. For pin dia. I I, I3 d, d, d; A/F, A/F, Weight
g
12091.W0900 16/20 20 15 16 60 15 M 4 6 3 45
12091.W0902 25/30 25 20 20 80 15 M 4 10 3 80
o . . )
R Wixroyd 0333 207 4497 sales@wixroyd.com 313

AN ESSENTRA COMPANY



Bushings

for positioning clamping pins 12090

SIYISNIMNIVE T1Nd

12092 < '

- - -
0.5x45"  0.5x45°

Installation floating groove

Material steel (AISI 4408, 1.4112). bushes into the mounting plate to achieve
Steel version: steel, heat treated, teme- optimal repeatability. The floating bush

pered and blackened. Technical Notes has a groove which serves as a differentia-

Mount two centering and two floating

Stainless steel version: hardened stainless tion mark.
Order No. Type Material I d, d, d, w, dg Weight
-0.25]-0.5 tol. F6 +0.2 tol. n6 +0.05 tol. H7 g
12092.W0702 Centering Steel 20 16 - 25 20 25 45
12092.W0704 Centering Steel 25 16 - 25 20 25 55
12092.W0706 Centering Steel 20 20 - 35 20 25 100
12092.W0708 Centering Steel 25 20 - 35 20 25 125
12092.W0710 Centering Steel 20 25 - 35 20 25 75
12092.W0712 Centering Steel 25 25 - 35 20 25 95
12092.W0714 Centering Steel 20 30 - 45 20 25 140
12092.W0716 Centering Steel 25 30 - 45 20 25 175
12092.W0732 Floating Steel 20 - 16.8 25 20 25 42
12092.W0734 Floating Steel 25 - 16.8 25 20 25 52
12092.W0736 Floating Steel 20 - 20.8 35 20 25 95
12092.W0738 Floating Steel 25 - 20.8 35 20 25 120
12092.W0740 Floating Steel 20 - 25.8 35 20 25 70
12092.W0742 Floating Steel 25 - 25.8 35 20 25 85
12092.W0744 Floating Steel 20 - 30.8 45 20 25 135
12092.W0746 Floating Steel 25 - 30.8 45 20 25 165
12092.wW0802 Centering Stainless Steel 20 16 - 25 20 25 45
12092.W0804 Centering Stainless Steel 25 16 - 25 20 25 55
12092.W0806 Centering Stainless Steel 20 20 - 35 20 25 100
12092.W0808 Centering Stainless Steel 25 20 - 35 20 25 125
12092.W0810 Centering Stainless Steel 20 25 - 35 20 25 75
12092.W0812 Centering Stainless Steel 25 25 - 35 20 25 95
12092.w0814 Centering Stainless Steel 20 30 - 45 20 25 140
12092.W0816 Centering Stainless Steel 25 30 - 45 20 25 175
12092.W0832 Floating Stainless Steel 20 - 16.8 25 20 25 42
12092.w0834 Floating Stainless Steel 25 - 16.8 25 20 25 52
12092.W0836 Floating Stainless Steel 20 - 20.8 35 20 25 95
12092.w0838 Floating Stainless Steel 25 - 20.8 35 20 25 120
12092.wW0840 Floating Stainless Steel 20 - 25.8 35 20 25 70
12092.W0842 Floating Stainless Steel 25 - 25.8 35 20 25 85
12092.w0844 Floating Stainless Steel 20 - 30.8 45 20 25 135
12092.W0846 Floating Stainless Steel 25 - 30.8 45 20 25 165

314 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Locating Bushings

for positioning clamping pins 12090 - press fit

~— -
t
-
i
3
&
|l

0.5245° = -

0.5x45% m -

installation

locating bush

PULL BACK INSERTS

Material

Steel version: steel, heat treated, teme-
pered and blackened.

Stainless steel version: hardened stainless

steel (AISI 4408, 1.4112).

Technical Notes
The press fit locating bush for positioning

clamping pins are inserted in the machine
table or the base plate with light pressure.

Order No.

12093.W0762
12093.W0764
12093.W0766
12093.W0768
12093.W0862
12093.wW0864
12093.W0866
12093.wW0868

Material

Steel
Steel
Steel
Steel
Stainless Steel
Stainless Steel
Stainless Steel
Stainless Steel

bﬂ Wixroyd

AN ESSENTRA COMPANY

6.9 12.1
8.4 17.1
102 210
106 218
6.9 12.1
8.4 17.1
102 210
106 218

0333 207 4497

dl C'2
tol. F6  +0.01
16 22
20 28
25 35
30 42
16 22
20 28
25 35
30 42

d, ds dg
+1 tol. H7

286 31 22
32.2 34 28
40.2 42 35
48.2 50 42
286 31 22
322 34 28
402 42 35
48.2 50 42

sales@wixroyd.com

t1
+0.025
7.3
838
10.6
11.0
7.3
88
11.0
11.0

Weight

315



Locating Bushings

for positioning clamping pins 12090 - screw fit

3x120°

i i i i

= i i

=

® dg dig | dn d, ds dy

= \J ¥

=] ' ]

& T dg ds‘

o i ! i

= 30° e
% -—1.3 = - o -

—— . d;
1 3

installation locating bush

Material 630, 1.4542). machine table orin the base plate and are
Steel version: steel, heat treated, teme- . screwed on.

ered and blackened Technical Notes
P ’ The screw fit locating bushings for positio- Important Notes

Stainless steel version: precipitation-

hardened stainless steel (17-4 PH, AISI Supplied with mounting screws.

ning clamping pins are inserted in the

Order No. Material L, I, d d dy d dy dg d, dg dy dyp d; t t t; Weight
= tol. F6 +0.01 tol. H7 +1 +0.02 g
12094.W0782 Steel 53 116 70 16 37 20 365 45 8 29 37 M4 20 385 119 22 12 70
12094.W0784 Steel 53 158 100 20 45 25 445 55 10 35 45 M5 25 465 162 22 12 130
12094.W0786 Steel 53 199 135 25 55 31 545 66 11 42 55 M6 31 565 203 28 14 245
12094.W0788 Steel 53 21,8 150 30 60 37 595 66 11 48 60 M6 37 615 222 28 14 195
12094.W0882  Stainless Steel 53 11,6 70 16 37 20 365 45 8 29 37 M4 20 385 119 22 12 70
12094.W0884  Stainless Steel 53 158 100 20 45 25 445 55 10 35 45 M5 25 465 162 22 12 130
12094.W0886  Stainless Steel 53 19,9 135 25 55 31 545 66 11 42 55 M6 31 565 203 28 14 245
12094.W0888  Stainless Steel 53 21,8 150 30 60 37 595 66 11 48 60 M6 37 61,5 222 28 14 195
() .
316 ﬁ Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Locator Unit - Standard

PULL BACK INSERTS

' B 12095.1

-
dz
] d‘ -
Material seconds, offers +,0004" repeatability. be easily removed from counterbored
Heat-treated steel, alloy with black oxide installations.

Tips
The exclusive self-extracting mechanism
eliminates the need for prying, pounding

finish. High tensile strength (180 000+ PSI
or 1241 MPa) and hardness (46 HRc).

Technical Notes or using jack screws to seperate fixture and
Easy locating - installs and locks in base plates. It enables the locator unit to
Order No. Fixture plate thickness d; d, d; hy h, Hold down force Tightening torque

inch mm UNF-2B inch inch inch Ib ftlb
+0.005 max. max.

12095.W0131 0.50 13 1/4%-20 1.00 0.25 0.78 2964 13
12095.W0132 0.75 13 1/4%-20 1.00 0.25 1.03 2964 13
12095.W0161 0.50 16 5/16"-18 1.38 0.31 0.78 5385 26
12095.W0162 0.75 16 5/16“-18 1.38 0.31 1.03 5385 26
12095.w0163 1.00 16 5/16%-18 1.38 0.31 1.28 5385 26
12095.w0201 0.75 20 3/8%-16 1.63 0.38 1.07 8107 46
12095.wW0202 1.00 20 3/8"-16 1.63 0.38 1.32 8107 46
12095.w0203 1.50 20 3/8%-16 1.63 0.38 1.82 8107 46
12095.W0204 2.00 20 3/8“-16 1.63 0.38 232 8107 46
12095.w0251 0.75 25 1/2%-13 1.80 041 1.07 14709 113
12095.w0252 1.00 25 1/72%-13 1.80 0.41 1.32 14709 113
12095.wW0254 1.50 25 1/2%-13 1.80 0.41 1.82 14709 113
12095.W0255 2.00 25 1/2%-13 1.80 0.41 2.32 14709 113
12095.w0301 0.75 30 1/2%-13 2.13 0.50 1.15 22623 213
12095.w0302 1.00 30 5/8-11 2.13 0.50 1.40 22623 213
12095.w0303 1.50 30 5/8-11 2.13 0.50 1.90 22623 213
12095.w0304 2.00 30 5/8%-11 2.13 0.50 2.40 22623 213
12095.w0351 0.75 55 3/4%-10 2.25 0.50 1.15 31572 375
12095.W0352 1.00 35 3/4%-10 2.25 0.50 1.40 31572 375
12095.W0353 1.50 35 3/4%-10 2.25 0.50 1.90 31572 375
12095.wW0534 2.00 35 3/4%-10 2.25 0.50 2.40 31572 375
12095.W0501 0.75 50 1-8 3.00 0.69 1.27 46958 781
12095.W0502 1.00 50 1-8 3.00 0.69 1.52 46958 781
12095.W0503 1.50 50 1-8 3.00 0.69 2.02 46958 781
12095.W0504 2.00 50 1-8 3.00 0.69 2.52 46958 781

iR Wixroyd 0333 207 4497 sales@wixroyd.com 317

AN ESSENTRA COMPANY



Locator Unit - Standard

SIYISNIMNIVE T1Nd

318 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Locator Unit - Compact

PULL BACK INSERTS

12095.2

- 4 -—
dy

Material seconds. installations.
Steel, heat-treated alloy, black oxide Offers +0,0004" repeatability.

finish. Ti

Tensile strength 180,000+ PSI or 1241 'ps . . .
MPa The exclusive self-extracting mechanism
Hardness 46 HRC. eh'mi_nate;s the need for prying, pgunding

or using jack screws to seperate fixture and
Technical Notes base plates. It enables the locator unit to
Easy locating - installs and locks in be easily removed from counterbored
Order No. Fixture plate thickness
+0.005

12095.W2131 0.50
12095.W2132 0.75
12095.w2161 0.50
12095.W2162 0.75
12095.W2163 1.00
12095.W2201 0.75
12095.W2202 1.00
12095.w2203 1.50
12095.W2204 2.00
12095.W2251 0.75
12095.W2252 1.00
12095.W2254 1.50
12095.W2255 2.00
12095.w2301 0.75
12095.w2302 1.00
12095.w2303 1.50
12095.W2304 2.00
12095.W2352 1.00
12095.W2353 1.50
12095.W2354 2.00
12095.w2503 1.50
12095.W2504 2.00

M Wixroud 0333 207 4497 sales@wixroyd.com 319

AN ESSENTRA COMPANY



Locator Unit - Compact

SIYISNIMNIVE T1Nd

320 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



@
B¥7 Precision Locating & Mounting System

applications

Quick and Easy to Use with Every Load

The Wixroyd Precision Locating & Mounting System consists of locators, receivers and bushings fora  System Overview
wide range of tooling, fixturing, workholding, production, welding and assembly applications. They

offer the ability to make fast, accurate set-up changes which enables significant improvements in

machining productivity, throughput rates, quality and reduced operating costs.

Wixroyd has solved the typical problems associated with precision attachment and removal of fixture
plates, tooling and accessories. The Wixroyd system eliminates the need to pry, pound and use jack
screws to separate the fixture plate from the sub-plate or machine table. The Wixroyd system uses a
threaded fastening device to mechanically extract the precision locator from its receiver, allowing
easy separation of fixture plates, tooling and accessories. Unlike competitive ball locking products,
the Wixroyd system does not require expensive “repair kits” since there are no rubber o-rings to break
nor ball bearings to fall out or facture.

PULL BACK INSERTS

e Place fixture plate over sub-plate or machine table containing the Wixroyd receivers. Usage

e Insert two Wixroyd precision locators through holes lined with hardened bushings and into
the receivers.

e Insert two remaining locators into unlined holes and tighten to draw each locator to the
desired torque.

e Total time require to unload existing fixture plates and load a new fixture plate is typically under
2 minutes.

e Self- extracting - unique design enables easy and quick “self-extract” from tooling, fixturing etc. ~ System Features
There is no binding or other issues to delay removal time or compromise accuracy of the
locking system.

e Precise locating - repeatability of +/- 0.0004”
e High clamping strength - over 45,000 lbs

e Easy Installation - easily installed in a wide range of applications using standard tooling and
machining practices.

e Compact - requires minimal space in tooling and fixture applications. Both standard and compact/
flush mounting options.

e (Can we retro-fitted with existing competitive ball lock type systems.

Product Range

12095.W0131 to .W0504 -  12095.W2131 to .W2504 - 12097.W0131 to.W0501 - 12097.W2131 to .W2501

Locator unit - standard Locator unit - compact Face mount receivers - Face mount compact
- standard receivers - compact
o . o .
h‘) X% 0333 207 4497 sales@wixroyd.com 321



Clamping &

Precision Locating & Mounting System
Height Setting FAQs

Precision Locating and Mounting System

FAQs e Q. What is the Wixroyd Precision Locating & Mounting System?
A. Ttis a means of locating and locking two flat surfaces together. These surfaces are most
commonly a fixture plate and sub-plates, however, they are also used in many other applications
because of their holding strength and accuracy.

e Q. How does it locate the fixture plate?
A. The Wixroyd system locates with receivers in the base plate, liner busings in the sub-plate and
locator/fasteners locking the two surfaces together.

e Q. How many locators are needed to locate and fasten the fixture plate?
A. Two locators with liner bushings are require to accurately position and two locators without
liner bushings to fasten only.

e Q. How does it fasten?

A. Locators use standard threads to hold the two surfaces together. By tightening the locators
into the receivers very high holding forces can be achieved.

SIYISNIMNIVE 11Nd

e Q. Can the Wixroyd system be mounted so the work pieces mounting surface is free from any
interference?
A. Yes, our compact of flush locators allow the head to lie flush with the fixture plate surface.

e Q. Can the system be used in high temperature applications?
A. Yes, because all parts are made from heat treated alloy steel, temperatures up to +500F are
not a problem. The user should account for thermal expansion of the fixture plates and bases that
could affect tolerances.

o Q. Can Fixture plates be mounted in both the horizontal and vertical positions with the Wixroyd
system?
A. Yes, in vertical mounting applications Wixroyd offer optional docking hardware to “hang” the
fixture plate from the tooling column before fastening the surfaces together.

e Q. Can a current ball locking type system be retrofit to work with the Wixroyd system?
A. Yes, the universal bolt-in receiver will fit directly into the pocket that holds ball locking type
receivers. Also, the Wixroyd system locators will fit the existing holes and liners of a fixture plate
set up for ball locking systems.

Applications

receivers: choice of either the “universal”
bolt-in style or thread-in style

receivers: choice of either the “universal”

bolt-in style or thread-in style

standard flush mount
locator: used locator: used
with a standard

with a stepped

322 bﬂ Wixroyd

AN ESSENTRA COMPANY

liner to provide
precise fixture
> plate location

standard locator: used
without a liner for fixture
plate clamping

liner to provide
precise fixture
_.>  plate location

flush mount locator:
used without a liner for
fixture plate clamping

Standard locators

wixroyd.com

Flush mount locators

2202-01-v2- pajepd( - yu)-shej-waysAs-bugunow-Huigedo)-uoisaid-1-y-z* £602 TM-1-Y-1° G602 T M-A0



Liner Bushing - Standard

@
i
7 i 5
) =
12096.1 =
Y
Material theintegrated locator unit system (part
Alloy steel, hardness 62+ HRc. no. 12095), achieving precise and accurate

Technical Notes machining results.

Liner bushings are a critical component of

Order No. Fixture plate thickness d; d, h,
inch mm inch inch
+0.005 +0.00001-0.0004

12096.W0131 0.50 13 0.7518 0.45
12096.W0132 0.75 13 0.7518 0.70
12096.W0161 0.50 16 1.0018 0.45
12096.W0162 0.75 16 1.0018 0.70
12096.W0164 1.00 16 1.0018 0.95
12096.W0201 0.75 20 1.1270 0.70
12096.W0202 1.00 20 1.1270 0.95
12096.W0203 1.50 20 1.1270 1.45
12096.W0204 2.00 20 1.1270 1.95
12096.W0251 0.75 25 1.3772 0.70
12096.W0252 1.00 25 1.3772 0.95
12096.W0253 1.50 25 1.3772 1.45
12096.W0254 2.00 25 1.3772 1.95
12096.W0301 0.75 30 1.7523 0.70
12096.W0302 1.00 30 1.7523 0.95
12096.W0303 1.50 30 1.7523 1.45
12096.W0305 2.00 30 1.7523 1.95
12096.W0351 0.75 35 1.7523 0.70
12096.W0352 1.00 35 1.7523 0.95
12096.W0353 1.50 35 1.7523 1.45
12096.W0354 2.00 35 1.7523 1.95
12096.W0501 0.75 50 2.5025 0.70
12096.W0502 1.00 50 2.5025 0.95
12096.W0503 1.50 50 2.5025 1.45
12096.W0504 2.00 50 2.5025 1.95

iR Wixroyd 0333 207 4497 sales@wixroyd.com 323

AN ESSENTRA COMPANY



Liner Bushing - Compact

SIYISNIMNIVE T1Nd

12096.2 pe— '

dz

Material theintegrated locator unit system (part
Alloy steel, hardness 62+ HRc. no. 12095), achieving precise and accurate

Technical Notes machining results.

Liner bushings are a critical component of

Order No. d, d, d; d, plate c'bore dia.  Fixture plate thickness hy hy h, h, plate c'bore depth
mm inch inch inch inch inch inch inch
+0.0000(-0.0004 +0.005 +0.005 +0.0101-0.005

12096.W2131 13 0.7518 0.92 0.94 0.50 045 0.22 0.23
12096.W2132 13 0.7518 0.92 0.94 0.75 0.70 0.22 0.23
12096.W2161 16 1.0018 1.23 1.25 0.50 0.45 031 0.33
12096.W2162 16 1.0018 1.23 1.25 0.75 0.70 031 0.33
12096.W2163 16 1.0018 1.23 1.25 1.00 095 031 0.33
12096.W2201 20 1.1270 1.36 1.38 0.75 0.70 038 0.39
12096.W2202 20 1.1270 1.36 1.38 1.00 095 038 0.39
12096.W2203 20 1.1270 1.36 1.38 1.50 145 038 0.39
12096.W2204 20 1.1270 1.36 1.38 2.00 195 038 0.39
12096.W2251 25 1.3772 1.61 1.63 0.75 0.70 038 0.39
12096.W2252 25 1.3772 161 1.63 1.00 095 038 0.39
12096.W2253 25 1.3772 161 1.63 1.50 145 038 0.39
12096.W2254 25 1.3772 161 1.63 2.00 195 0.38 0.39
12096.W2301 30 1.7/523) 1.98 2.00 0.75 0.70 038 0.39
12096.W2302 30 1.7523 1.98 2.00 1.00 095 038 0.39
12096.W2303 30 17523 1.98 2.00 1.50 145 038 0.39
12096.W2304 30 1.7523 1.98 2.00 2.00 195 038 0.39
12096.W2352 S5 1.7523 1.98 2.00 1.00 095 045 0.47
12096.W2353 35 1.7523 1.98 2.00 1.50 145 045 0.47
12096.W2354 35 1.7/523) 1.98 2.00 2.00 195 045 0.47
12096.W2503 50 2.5025 3.00 3.02 1.50 145 0.70 0.72
12096.W2504 50 2.5025 3.00 3.02 2.00 195 0.70 0.72

324 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Face Mount Receivers - Standard

dy

installation

12097.1

Material

Heat-treated steel alloy with black oxide
finish. High tensile strength (180 000 PSI
or 1241 MPa) and hardness (50-52 HRc).

Technical Notes
Precision machined to +,0002” tol. Repea-

tability of ,0004” or better.

Standard face mount design. This receiver
isinterchangeable with competitive face
mount designs providing an advanced
retrofit option. For customers with existing
investments in another system.

Order No. d, d,
UNF-2B inch
+0.0000(-0.0004
12097.W0131 1/4-20 1.3750
12097.W0161 5/16-18 1.4370
12097.W0201 3/8-16 1.6873
12097.W0251 1/2-13 2.0623
12097.W0301 5/8-11 2.2654
12097.W0351  3/4-10 2.6873
12097.W0501 1-8 3.4998

bﬂ Wixroyd

AN ESSENTRA COMPANY

d, dg dg For shank diad;  h; h,
inch inch inch mm inch inch
+0.0004[-0.0000 min.  +0.010]-0.005
11/16 1.3754 #8-32x1/2 13 3/4 0.469
13/16 1.4374 #8-32x 1/2 16 3/4 0.469
13/16 1.6877 #10-32 x 3/4 20 1 0.637
1 2.0627 1/4-28 x 7/8 25 1-1/74 0.799
1-3/16 2.2658 1/4-28 x 1 30 1-3/8 0.871
1-9/16 26877 5/16-24 x 1 35 1-172 0.904
2-5-32 3.5002 3/8-24 x 1-1/4 50 2 1.239
0333 207 4497 sales@wixroyd.com

p.c.d
inch

0.984
1.125
1.362
1.644
1.875
2.178
2916

325

PULL BACK INSERTS




Face Mount Receivers - Compact

E
2
(=
g
4 12097.2 - b5
“‘02-’ - P -
Material Technical Notes subplate space, is easier to install,
Heat-treated steel alloy with black oxide Precision machined to +,0002” tol. Repea- stronger and less expensive than standard
finish. High tensile strength (180 000 PSI tability of ,0004” or better. face mount receivers.
or 1241 MPa) and hardness (50-52 HRc). Compact face mount design optimises
Order No. d; d, d, d, dg h, h,
mm inch inch UNF-2B inch inch inch
+0.010(-0.000 +0.0004 |-0.0000 min. +0.010(-0.005
12097.W2131 13 1/4-20 0.9500 3/4-16 0.9504 3/4 ,300
12097.W2161 16 5/16-18 1.0625 7/8-14 1.0629 3/4 ,300
12097.W2201 20 3/8-16 1.2750 1-12 1.2754 1 ,390
12097.W2251 25 1/2-13 1.5000 1-1/4-12 1.5004 1 ,390
12097.W2301 30 5/8-11 1.8125 1-1/2-12 1.8129 1-1/4 ,505
12097.W2351 35 3/4-10 2.1250 1-1/2-12 2.1254 1-5/16 ,630
12097.W2501 50 1-8 2.7500 2-12 2.7504 1-3/4 ,765

326 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Screw Jack Set with Spacers

aluminium and steel

do
-
A
— d1 L
i
dy P - <
IR by ming | hy max. =
=
S
C
C— v v
- d1 -
Material Set contents: maximum height of 350mm. Do not use
Body: aluminium. 1 x main screwjack above these heights.
Spindle: steel, heat treated with trape- 1 x large spacer (25,0mm) Main screw jack has a centering hole
zoidal self-locking thread. 1 x small spacer (12,5mm) @12mm, for fitting of support and positio-
. 1 x aluminium base ning pads nos. 15030 - 15080.
Technical Notes 1 x maanetic base
Thread protected against swarfingress. g Important Notes
Forindividual parts and to make up greater ~ Tips Do not adjust screw jack under load.
heights please see no. 14140. Max. static load (kN.) applies up to
Order No. h, h, d, d, d, Static load Weight
min. max. kN g
max.
14130.wW0001 75 125 50 12 30x4 30 920
o . . )
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 327
AN ESSENTRA COMPANY



Screw Ja 4 Aluminium Screw Jacks

and spacer elements

d:l
d
] 2 -— d
= 8
: B —
2 q, A
s "
§ 14140 o —
Y Y ds
- -
d1 spacers
Material screw jacks of varying heights (maximum Important Notes
Body: aluminium. 350mm). Do not adjust screw jack under load.
Spindle: steel, tempered with trapezoidal Max. static load (30kN.) applies for heights
self locking thread. up to 350mm, above which there is danger
Tips of buckling.
Individual parts can be combined to create
Order No. Type h, h, h, d, d, dy d, dsg dg Static load ~ Weight
min.  max. kN g
max.
14140.W0010 Screw Jack with Aluminium Foot - 75 88 50 50 12 30x4 - - 30 630
14140.W0020 Screw Jack with Magnetic Foot - 75 88 50 50 12 30x4 - - 30 720
14140.W0125 Spacer Element 125 - - - - - - 50 M38x2 30 38
14140.W0250 Spacer Element 25.0 - - - - - - 50 M38x2 30 76
14140.W0500 Spacer Element 50.0 - - - - - - 50 M38x2 30 165
o . . )
328 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Screw Jacks

plain @12 centering hole

dz
- -
- ds ]
i
Q
=
hy max. ;
hy min é
15000
Y
Material Medium duty: for clamps with slot widths jacks (no hole on part no. 15000.W0050).
Body: carbon steel, enamelled. approx. 14-22mm. When using in conjunction with forked
Spindle: steel, tempered. Heavy duty: for clamps with slot widths clamps no. 10100, we recommend the use
Trapezoidal thread, self-locking with end between 20-40mm. of locating pad no. 15060.
stop. Extra heavy duty: for supporting larger See technical pages for the table of loca-
Technical Notes work-pieces. F'ng pad and support pad elements suitabi-
Light duty: for clamps with slot widths up Tips Ty
to 14mm. Centering hole @12mm in top of screw
Order No. Type h, h, d, d, dg d, dg Static load Weight
min. max. kN g
max.
15000.W0050 Light Duty 38 50 31 31 - - 20x4 15 190
15000.W0052 Medium Duty 42 52 50 50 12 M38x2 30x4 60 550
15000.w0070 Medium Duty 50 70 50 50 12 M38x2 30x4 60 620
15000.w0100 Medium Duty 70 100 50 50 12 M38x2 30x4 60 900
15000.w0140 Heavy Duty 100 140 68 68 12 - 40x7 100 2760
15000.w0210 Heavy Duty 140 210 80 70 12 = 50x8 170 4600
15000.W0200 Extra Heavy 140 200 100 80 12 - 65x10 350 6900
15000.W0280 Extra Heavy 190 280 140 110 12 - 80x10 600 19000
15000.w0300 Extra Heavy 190 300 100 80 12 - 65x10 350 9000

iR Wixroyd 0333 207 4497 sales@wixroyd.com 329

AN ESSENTRA COMPANY



Screw Jacks
plain @12 centering hole

SUIVL MIYIS

330 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Screw Jacks

threaded M12 centering hole

A
dy - : - ) %)
hy max, E
&
hy min é
7 15002
Y Y
- -
ds
- d‘ -
Material top surface of the screw jack enables compatibility see technical pages.
Body: carbon steel, enamelled. secure fixing of support accessories 15042 Important Notes
Spindle: trapezoidal thread, self-locking and 15062, whilst the M38x2 base thread P . .
. . . . Do not adjust screw jack when under
with end stop. allows expansion of the screw jack height. load
Technical Notes Tips
The threaded centering hole (M12) on the For table of support and locating element
Order No. Type Size h, h, d, d, dy d, dg Static load Weight
min. max. kN g
max.
15002.W0052 Medium Duty 52 42 52 50 50 M12 30x4 M38x2 100 550
15002.W0070 Medium Duty 70 50 70 50 50 M12 30x4 M38x2 100 620
15002.w0100 Medium Duty 100 70 100 50 50 M12 30x4 M38x2 100 948

bﬂ Wixroyd 0333 207 4497

VA VI sales@wixroyd.com 331
AN ESSENTRA COMPANY



SUIVL MIYIS

Screw Ja

Screw Jacks
aluminium base - plain @ centering hole

A
- d2 -
dy
i hy max.
h, min.
Y Y
— -
d;
Material ting pad and support locating element Particularly useful for delicate machine
Body & base: aluminium 400 N/mm? suitability. tables and high precision machines.
tensile strength. Greater heights can be achieved by combi- Important Notes

Spindle: steel, tempered.

Trapezoidal thread, self-locking with end pad no. 15060.

stop.

Technical Notes

See technical pages for the table of loca-

ning screw jacks with the centering support Do not adjust screw jacks under load.

Tips
The swarfis absorbed into the aluminium
base thereby protecting the machine table.

Order No. Size h, h, d, d, dy d, Static load Weight
min. max. kN g
max.
15100.W0052 52 42 52 50 50 12 30x4 30 370
15100.W0070 70 50 70 50 50 12 30x4 30 430
15100.wW0100 100 70 100 50 50 12 30x4 30 600
o . o .
332 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY




Screw Jacks

aluminium - magnetic base

da

hy max.

15120

Material

Body: aluminium 400N/mm? tensile
strength.

Base: magnetic.

Spindle: steel, tempered.

Trapezoidal thread, self locking with end
stop.

Technical Notes

See technical pages for the table of loca-
ting pad and support locating element
suitability.

Tips

Allows for positioning of screw jacks on

both horizontal and vertical surfaces.
Greater heights can be achieved by combi-
ning the screw jacks with the centering pad
no. 15060<X\15060#22>.

Magnetic base ensures precise positioning
of workpiece on vertical faces.

Order No. Size h,
min.

15120.W0006 62 52
15120.wW0008 80 60
15120.w0011 110 80

bﬂ Wixroyd

AN ESSENTRA COMPANY

hy d, d, d, d, Static load Weight
max. kN g
max.
62 50 50 12 30x4 30 380
80 50 50 12 30x4 30 550
110 50 50 12 30x4 30 710
0333 207 4497 sales@wixroyd.com 333

SCREW JACKS




SUIVL MIYIS

Screw Ja

Height Setting Screw Jacks

with locating pins

- AF -
Material (#12x80). Centering hole @12 mm. The suitability.
Body: steel, tempered. M30x1,5 fine thread makes precise adjust- Tips
Spindle: M30x1,5 fine thread with end ment possible whilst preventing the work- ps .
. . A bearing insert prevents the workpiece
stop. piece from turning. . . N
. turning whilst the jack is adjusted.
. See technical pages for the table of loca-
Technical Notes ting pad and support locating element
Comes with 2 locating pins (#12x50 and gp PP g
Order No. hy h, hy h, d d, d;3 A/F Staticload With locating pins 12x80 With locating pins 12x50 Weight
min.  max. kN h, min. - h, h, min. - h, g
max. max. max.
15200.wW0007 55 75 22 165 50 34 12 46 30 113-133 82-102 680
15200.W0011 75 115 22 165 50 34 12 46 30 132-172 102-142 550
o . . )
334 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY




Height Setting Screw Jacks

magnetic base and locating pins

SCREW JACKS

15220

- -
AF
Material Centering hole @12mm. The M30x1.5 fine Tips
Body: steel, tempered. thread makes precise adjustment possible A bearing insert prevents the workpiece
Base: magnetic. whilst also preventing the workpiece from from turning whilst the jack is adjusted.
Spindle: M30x1,5 fine thread with end turning. These screw jacks can be placed on other
stop. See technical pages for the table of loca- screw jacks (using a centering pad) to build
Technical Notes ’glng1 p;t(iiba;[;sysupport locating element up heights of up to 1370mm.
With 2 locating pins (@12x50 and @12x80). P )
Order No. hy h, hs h, o d, d; A/F Staticload With locating pins 12x80 With locating pins 12x50 Weight
min. max. kN h, min. - h, h, min. - h, g
max. max. max.
15220.wW0007 65 85 22 165 50 34 12 46 30 122 - 142 92-112 800
15220.wW0011 85 125 22 165 50 34 12 46 30 142 - 182 112 - 152 1000
o . . )
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 335
AN ESSENTRA COMPANY



Atlas Screw Jacks
with counter locking nut

SUIVL MIYIS

‘ -—_\_\_\_\_\_\__ ‘
15300 @Sk - X
Al g ¢ Mo S
= = e "
. “ - - |‘ -
type 15300.W0014 type 15300.W0032
type 15300.W0020 type 15300.W0055
Material See technical pages for the table of loca- pads no. 15040 when the slot width of the

Housing: castiron, enamelled.
Spindle: carbon steel, trapezoidal thread
30x6.

Technical Notes
Centering hole @12mm.

ting pad and support locating element
suitability.

Tips

When using in conjunction with forked
clamps, we recommend the use of locating

clampsis >26mm.

Important Notes
Do not adjust screw jacks under load.

Order No. hy hy
min. max.
15300.wW0014 100 140
15300.W0020 140 200
15300.W0032 200 320
15300.W0055 320 550

12
12
12
12

Wixroyd

AN ESSENTRA COMPANY

336

d, Wy Wy
30x6 75 18
30x6 75 18
30x6 90 22
30x6 90 22

wixroyd.com

110
110
160
160

A/F Static load Weight
kN g
max.
46 60 1800
46 60 2200
46 40 3800
46 25 4900




Heavy Duty Screw Jacks

with brass locking screw

Y
I I N
1?3Ji Y

A -
d
-
locking
d; screw
ot s
hy min.

Material

Housing: cast steel, enamelled.

Spindle: carbon steel, trapezoidal thread
40x7.

Technical Notes
With @12mm centering hole.

See technical pages for the table of loca-
ting pad and support locating element
suitability.

Important Notes
Do not adjust screw jacks under load.

Order No. hy hy

min. max.

15320.W0030 200 300

15320.W0046 290 470

15320.W0075 430 750

15320.W0125 710 1250
i'i Wixroyd
AN ESSENTRA COMPANY

12
12
12
12

d, w, Wy I A/F Static load

kN

max.
40x7 26 190 220 65 80
40x7 26 190 220 65 60
40x7 26 190 220 65 50
40x7 26 190 220 65 40

0333 207 4497 sales@wixroyd.com

Weight

8000

10000
13000
18000

337

SCREW JACKS




SUIVL MIYIS

Support Stands

stepless adjustment

15360

ds
-
A
d4 11
di |l
i
hy max.
hy min.
Y
18 11T 11 1Y Y
A

Material

Housing: steel, tempered, enamelled.
Spindle: steel, tempered, trapezoidal
thread.

Technical Notes
This screw jack is designed for quick, step-
less adjustment throughout its height

range.
Centering hole @12mm.

See technical pages for the table of loca-
ting pad and support locating element
suitability.

Tips
To adjust height, grip spindle, loosen

locking screw, twist setting ring and set
required height.

Important Notes
Do not adjust screw jacks under load.

Order No. h, h, d;

min. max.

15360.W0045 320 450 40x7

15360.W0071 450 710 40x7

15360.W0125 710 1250 40x7

o . .

338 i'ﬁ Wixroyd

AN ESSENTRA COMPANY

d, d, d, Wy w,
90 12 MO 26 190
90 12 MO 26 190
90 12 MO 26 190
wixroyd.com

I A/F Static load Weight
kN kg
max.
220 65 50 11.5
220 65 40 13.7
220 65 30 183




Height Setting Screw Jack

with pivoting ball

hy min.

AFF,

h; max.
d

AF,

Material

Body: steel, tempered, burnished.

Ball: steel, hardened.

screw jackis designed to support and align
castiron or forged components. Alignment
can be made to 0,1mm.

reduces the required operating forces. The
use of a point-type support reduces the
transmission of turning forces generated

Technical Notes Tips by the machine spindle.
Used as a point support, this heavy-duty The pivoting ball minizises the friction and
Order No. Size h, h, d, A/F, A/F, Static load Weight
min. max. kN g
max.
15520.wW0070 70 56 70 39x3 41 60 30 950
o . . )
R Wixroyd 0333 207 4497 sales@wixroyd.com 339

AN ESSENTRA COMPANY

SCREW JACKS




Universal Step Blocks

(%)
o
=
m
=
o
>
=)
=
»

14000 il S

Material compatible with all our clamps. However, horizontal 2,30mm.
Heat-treated steel, enamelled. when used individually, they can be used
with clamp no. 10020.

Step increments: vertical 4,65mm,

Tips
Sold individually. Dimensions h, and h,
are when step blocks used as a pair.

Technical Notes
When used as a pair, these blocks are

Order No. Size hy h, W, I I, Weight
max. min. g
14000.w0001 1 51 33 30 19.0 23 90
14000.W0002 2 107 66 30 35,5 39 300
14000.W0003 3 208 131 30 68.0 71 1050

340 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Universal Step Block Set

in wooden case

Material
Steel, tempered and enamelled.

Technical Notes
In a sturdy wooden case with lid. Please

refer to product no. 14000 for more infor-
mation regarding the contents of the set.
Tips

When used as a pair, these blocks are

compatible with all our clamps. However,
when used individually, they can be used
with clamp no. 10020.

Order No. Case size

14020.W0100 280x155x40

bﬂ Wixroyd

AN ESSENTRA COMPANY

Contents hy hy Weight
min. max. g
8 pcs 14000.W0001
8 pcs 14000.W0002 23 208 8400
4 pcs 14000.W0003
0333 207 4497 sales@wixroyd.com 341

SCREW JACKS




Adjustable Step Blocks

with spiral gearing

(%)
o
=
m
=
o
>
=)
=
»

14040

Material The tooth form is a metric profile to DIN 13
Steel, tempered and enamelled. sheet 1 with a pitch of 2,5mm. It lies in the

Technical Notes normal section of the setting level.

DIN 6326.
Order No. Type Clamping height h; Clamping height h;  Description h, Wy I, Lower part Upper part Single parts Weight
min. max. g
14040.W0001 A Lower part 42 60 80 A 850
14040.W0002 B Lower part 82 60 &0 B 2300
14040.W0003 C Lower part 122 60 &0 C 3800
14040.W0004 K Upper part 24 30 70 K 200
14040.W0005 G Upper part 44 30 70 G 500
14040.W0014 A+K 25 45 Combination A K 1050
14040.W0015 A+G 45 65 Combination A G 1350
14040.W0017 A+K+G 25 65 Combination A KG 1550
14040.W0023 B+K 65 85 Combination B K 2500
14040.W0025 B+G 85 105 Combination B G 2800
14040.W0026 B+K+G 65 105 Combination B KG 3000
14040.W0034 C+K 105 125 Combination C K 4000
14040.W0035 C+G 125 145 Combination C G 4300
14040.W0036 C+K+G 105 145 Combination c KG 4500

342 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Adjustable Step Blocks

with spiral gearing

v
~
=]
<
lar]
=
w
o
=]
A

M Wixroud 0333 207 4497 sales@wixroyd.com 343

AN ESSENTRA COMPANY



Step Blocks

large

-15-I
i {
A 15' _rf—‘ hy max.
2 |y ]
= wy 2 size 50 = Wy -
5 - L. - Wy
§ pal . ¥13
o 30 ! J i
d 14100 SN =
e | /\ |
| [ | hy min. | \
S S
‘ sizes 95 1o 320 ‘
Material Technical Notes extra wide step blocks. Step increments of
Castiron, enamelled with support surface Produced to DIN 6318. 7,5mm each.
and steps milled. See item no. 14150<X\14150#22> for
Order No. Size h, h, W, w, Wy Weight
min. max. g
14100.W0050 50 125 50 42.5 50 50 500
14100.W0095 95 575 S5 95.0 55 50 1600
14100.W0140 140 102.5 140 100.0 60 50 2000
14100.W0185 185 147.5 185 105.0 65 50 2900
14100.W0230 230 192.5 230 110.0 70 50 3600
14100.wW0275 275 237.5 275 115.0 75 50 4300
14100.w0320 320 282.5 320 120.0 80 50 5200
o . . )
344 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Step Blocks

with coupling spring

hy max

SCREW JACKS

T 14110

Material together with a spring for ease of hand-
Carbon steel, enamelled. ling. Used vertically or horizontally. Step
Technical Notes increments vertical 4,65mm, horizontal
Similar to no. 14000.W0002 but joined 2,30mm.

Order No. Size hy h, Iy Weight

min. max. g

14110.W0001 2 37 107 60 1000
o] 1 N .
i Wixroud 0333 207 4497 sales@wixroyd.com 345



Step Blocks - Large

extra wide

s i -
E , S, Y
= i 15 T \J
§ 14150 AT
hy max, || | | ||
hy min.
[
' ,

size 95 to 140

Material Technical Notes

Castiron, enamelled. Step increments of 7,5mm each.
Base and step faces milled.

Order No. Size h, h, w, W, I Weight
min. max. g
14150.W0050 50 12,5 50 80 80 42.5 800
14150.W0095 95 5785 95 85 80 95.0 2300
14150.W0140 140 1025 140 90 80 100.0 3450
o . o .
346 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Serrated Heel Block Screw Jacks

Wig

hy min.

SCREW JACKS

14200

Y
e | Ll - -
Iy b

Material Technical Notes
Steel, malleable casting, enamelled. Step increments 5,2mm.
Base and step faces milled.

Order No. Size h, h, w, I Static load Weight

min. max. kN g
max.

14200.W0015 2 111 147 50 50 40 1225
14200.W0022 3 155 223 60 60 60 2607
14200.W0034 4 220 340 80 80 90 6028

M Wixroud 0333 207 4497 sales@wixroyd.com 347

AN ESSENTRA COMPANY



Modular Screw Jacks

how to use

With the modular screw jack your production becomes even more flexible and economical. When combined you can achieve a maximum
height of 1620mm.

Benefits e Maximum height of 1620mm.
e Quick set-up time.

The Elements

@ Bearing pads, 15374.W0075,
15374.W0175, 15374.W0275

@ Screw jack, 15370.W0040,

15372.W0023 h ~
@) Spacer, 15370.W0116,

15370.W0126, 15370.W0135
@ Base, 15370.W0236,

15370.W0356, 15370.W0456
@ Thread adapter

15374.W0016, 15374.W0020,

SAIVE MIYIS

y @&

15374.W0024

\ N

&
¥

348 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Modular Screw Jack

' i
- -,
- - AJF
UL
locknut 2
; o
hg min. - hy max. b il §
2
15370.1 .
[ ]
locking
ring
Y
m Y

with base element
15370.W0236 (supplied)

Material joined together and connected by means of ~ heights of up to 1.6 metres, with a max.
Steel, tempered, burnished. a threaded ring. Theinsertion tool makesit ~ load of 60 kN. Observe possible buckling
possible to use the locknut and base loads.

Technical Notes . .
Can be used on T-slots and grid plates by element as well as a thread adapter. Do not adjust screw jacks under load.

means of adapters which are screwed inthe  Tips

base element. The individual elements are Can be used with other elements to achieve
Order No. h, h, h, h, h, d d, d, A/F F Weight
min. max. min. max. kN g
max.
15370.W0040 306 406 270 370 36 40x7 90 12 65 60 9436
o . . )
i Wixroud 0333 207 4497 sales@wixroyd.com 349



Screw Ja 4 Modular Screw Jack Spacers

dy
- -
dy
-
Ao
hy
z I f———
E hy min. _hy max. Ll - dy
a 15370.2 ([T
= i
Y
- -
dp
Material can allow stopless height range of up to load of 60 kN. Observe possible buckling
Steel, tempered, burnished. 1620mm. loads.
Technical Notes Tips Do not adjust screw jacks under load.
These spacer elements are used with Can be used with other elements to achieve

modular screw jacks 15370. Using the item heights of up to 1.6 metres, with a max.

Order No. h, h, h, hs d, d, dsy d, Weight
min. max. g
15370.W0116 150 166.5 100 50 M76x3 89 75 42.5 3132
15370.W0126 250 266.5 200 50 M76x3 89 75 425 6228
15370.W0135 350 366.5 300 50 M76x3 89 75 425 7493
o . .
350 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Modular Screw Jack Base

SCREW JACKS

=== S 15370.3

% -
b d1 - el dd -—
Material means of adapters which are screwed in the
Steel, tempered, burnished. base element. The individual elements are

easily joined together with threaded ring

Technical Notes ensuring process reliability.

Can be used on T-slots and grid plates by

Order No. h h, hs h, hs w, d, d, d, d, dg dg Weight
g
15370.W0236 86 36 30 37 27 6 90 M76x3 425 41 M16 6.2 1497
o] H : .
i Wixroud 0333 207 4497 sales@wixroyd.com 351



Modular Screw Jack Base
adjustable

(%)
o
=
m
=
o
>
=)
=
»

15370.4

Material individual elements are easily joined
Steel, tempered, burnished. together.
Technical Notes gl;ll;les easy positioning on a machine

Can be used on T-slots and grid plates. The

Order No. hy h, hs w, W, d, d, dy d, dsg Weight
g
15370.W0356 106 56 20 17 20 M76x3 90 425 200 150 5717
. . . .
352 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Modular Screw Jack Base
adjustable

i Q
=
' &
* 15370.5
\
Material Enables easy positioning on a machine
Steel, tempered, burnished. table.
Technical Notes
Can be used on T-slots and grid plates.
Order No. hy h, hs w, W, d; d, I [ I3 Weight
g
15370.W0456 106 56 20 158.5 20 90 42.5 240 195 17 5652
o] 1 ° .
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 353
AN ESSENTRA COMPANY



SUIVL MIYIS

Fine Thread Modular Screw Jack

15372

F max.

flat
' 15374 WO0175 (supplied)

i
— AF 65

T

hy min. - hy max.

height adjustment

support pad
- 4 -

hmiina

I

"

lacking ring T“[ I [ [

[T
—

base element

15370 W0236 (supplied)

Material

Body and base: steel, tempered,
burnished.

Spindle and bearing: steel, tempered,
plasma-nitrided and burnished.

Technical Notes

Can be used on T-slots and grid plates by
means of adapters which are screwed in the
base element with a spacer element. This

support can be finely adjusted to a
maximum height of 330mm under load.
The bearings can be adjusted with an angle
of £3°.

Used as an extra support point to prevent
sag and vibration of the workpiece.

As it is mounted directly under a clamping
point, distortion of the work-piece is
prevented.

For use in horizontal and vertical clam-
ping.

Tips

Maximum height 330mm when used with
additional spacer 15370.W0116.

Three different bearings are held in place
by magnets. Bearings are interchangeable.

Order No. h, hy
min. max.
15372.w0023 210 230

Wixroyd

AN ESSENTRA COMPANY

354

h2 dl d2
36 90 75
wixroyd.com

Stroke hy F Weight
kN g
max.
20 35 6671




]

@:m ([ 3~ (LTI 4~

ry ry

©
O 70O

- d2 | - dz — - d2 —
- -
- 61 - d, g d| -
bearing - spherical bearing - smooth bearing - point

15374.1

Material
Steel, tempered, plasma-nitrided and
burnished.

thread modular screw jack 15537.2.
Compensation of large work-piece tole-

rances.

Technical Notes F?r: usein horizontal and vertical clam-

Interchangeable top bearing for the fine ping.

Order No. Bearing type hy d, d, rn Weight
g

15374.W0075 Spherical 24.7 75 20.5 140 655
15374.W0175 Smooth 24.7 75 20.5 140 739
15374.W0275 Point 24.7 75 20.5 140 651
o . s )

h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 355

AN ESSENTRA COMPANY

SCREW JACKS




Screw Ja 4 Threaded Adapters

for modular screw jacks

dz
- -
A
AF . o - ha
Y
o A
= hy
= \ m
>
= i
~
15374.2
hy
vy
~ d| -
Material base element allowing easy fixing to T-
Steel, tempered and burnished. slots and grid plates.
Technical Notes
The thread adapters are screwed in the
Order No. h, h, h, h, d, d, A/F Weight
g
15374.W0016 83.5 25 29 20 M16 M16 30 339
15374.W0020 91.5 25 37 20 M20 M16 30 381
15374.W0024 101.5 25 47 20 M24 M16 30 452
o . )
356 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Screw Jack Holders

N o
i
1 [ I Q
- 2l - 2 - z L 2
=
wy;  dy ds 1 5 0 1 0
A
Y Y
. L
&
Material movement when a workpiece is changed, tely.
Steel, blackened. and for mounting screw jacks vertically.
Technical Notes Tips
Used to fix screw jacks in place to prevent Please order screw jacks no. 15000 separa-
Order No. For screw jacks no. 15000 d, d, I ly I3 I, W, Weight
g
15010.W0232 Size 50 31 185 175 90 35 30 40 518
15010.W0250 Size 52,70,100 50 20.5 190 90 46 38 60 891
15010.w0270 Size 140 69 24.5 210 90 54 48 80 1300
screw jack - '
screw jack holder
o . s )
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 357
AN ESSENTRA COMPANY



Wixroyd Screw Jacks,

Locating and Support Elements

15030 These screw and aligning jacks offer a broad range of applications. Due to their robust
Spherical construction, the screw jacks function securely and precisely, with infinite adjustment even

15040 under heavy loads.

Pin Type e Safe and reliable clamp supports for heights from 38 to 1250mm.

15050 o Accurate and safe supporting and setting of any workpiece in various levels and heights.
Vee Type e Aluminium screw jacks for delicate machine tables, surface plates and CMM tables.

e Magnetic screw jacks for horizontal and vertical supporting and setting.
15060

Centering Pin Table of Suitability for Screw Jack Attachments

SAIVE MIYIS

Suited to screw jacks with

15070 Attachments centering pin - plain bore Suitable screw jack
Cylindrical 15030 15200 14130
15040 15220 14140
15050 15000 15300
15080 15060 S 012 mp 15000 15320
Self-Aligning 15070 15100 15360
15080 15120 15500
15090
15090
Pivot Ball
Suited to screw jacks with . .
Attachments either / or centering pin - threaded Suitable screw jack
15042 M 12 15002.W0052 / WO070 / WO100
15320
15062 * M 10 * 15360
15000 15062 M 12 15002.W0052 / W0070 / WO100
Screw Jack
Attachments Base thread Suitable screw jack
15042 15000.W0052 / WO070 / WO100
15000.W0052 / W0070 / W0100
15062 = M38 x 2 = 15100
14140
15042
Locating Pad
15062
Centering Pad
15002
Screw Jack
o . . .
358 E‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Locating Pad - Spherical

for screw jacks

dy

- -
R50
i
h3‘ , hy
A |
~u 15030
- d‘ L
ball pad
Material 15300.
Steel, hardened, blackened and burnished.  See technical pages for the table of screw
. jack suitability.
Tips
Can be used with screw jacks 15000 and
Order No. d, d, d, h, h, hs Weight
g
15030.W0037 35 12 37 18 8 3 90
o] H N .
i Wixroud 0333 207 4497 sales@wixroyd.com 359

SCREW JACKS




Locating Pad - Pin Type

for screw jacks

-ﬂda L
' A
hy
% L J xhz
= .
i 15040 an B
- d3 e
] d1 -
Material 15300.
Steel, hardened and blackened. See technical pages for the table of screw
Tips jack suitability.
Can be used with screw jacks 15000 and
Order No. d; d, d, h, h, hy Weight
g
15040.W0163 63 14 12 15 12 8 310
15040.wW0167 78 25 12 19 15 8 650

360 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Locating Pad - Pin Type M12

for screw jacks

<
| E
i o 15042
- -y
d3
—y -
dy
Material ring to compatible screw jacks with corre- jack suitability.
Steel, hardened, enamelled and sponding M12 threaded centering holes.
blackened. .
Tips
Technical Notes Do not adjust screw jack when under load.
Has threaded centering pin (M12) for secu-  See technical pages for the table of screw
Order No. d; d, dg h, h, hs h, Weight
g
15042.w0012 72 22 M12 20 12 12 15 601
o . . )
i Wixroud 0333 207 4497 sales@wixroyd.com 361



Locating Pad - Vee Type

for screw jacks

120°

SAIVE MIAIS
-

15050 ] o I

— d:s -
— dz -
—- 4 -
Material 15300.
Steel, hardened and blackened. See technical pages for the table of screw
Tips jack suitability.
Can be used with screw jacks 15000 and
Order No. d; d, ds d, d, I Iy I3 Weight
min. max. g
15050.W0045 45 42 12 10 50 23 8 3 120
15050.W0065 65 62 12 22 100 38 8 B 545
o . . )
362 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Centering Pad

for screw jacks

Material

Steel, hardened and blackened.

Tips

Can be used with screw jacks 15000 and

15300.
See technical pages for the table of screw
jack suitability.

Order No. d, d,

15060.W0145 45 12
i'i Wixroyd
AN ESSENTRA COMPANY

35.8 19 3 8
0333 207 4497 sales@wixroyd.com

Weight

120

363

SCREW JACKS




Centering Pad - Threaded

for screw jacks

base thread
to fix
d;
- -
dy
- -

(%)
o
=
m
=
o
>
=)
=
»

15062

-
centering thread dg

Material sponding M12 threaded centering holes. Tips
Steel, hardened and blackened. Also equiped with M38x2 male thread for Do not adjust screw jacks when under load.
. fixing screw jacks with corresponding See technical pages for the table of screw
Technical Notes M38x2 thread in their base jack suitabilit
Has threaded centering pin (M12) for secu- ’ ] Y-
ring to compatible screw jacks with corre-
Order No. d, d, dg d, h, h, hy h, Weight
g
15062.wW0010 50 M38x2 M10 11.9 33 25 10 9 200

15062

364 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Locating Pad - Domed

for screw jacks

*d-‘ - — Wi -
Material 15300.
Steel, hardened and blackened. See technical pages for the table of screw
Tips jack suitability.
Can be used with screw jacks 15000 and
Order No. d, I Iy I3 W, Weight
g
15070.W0050 12 23 19 8 50 370

bﬂ Wixroyd

AN ESSENTRA COMPANY

0333 207 4497 sales@wixroyd.com

365

SCREW JACKS




Locating Pad - Self-Aligning

for screw jacks

% Y
>
d 15080 — v
- -
dp
b d -
Material bearing surfaces between the clamp/work-  jack suitability.
Steel, case-hardened, blackened. piece, and the screw jack are correctly
. aligned.
Technical Notes .
These self-aligning pads ensure that the See technical pages for the table of screw
Order No. For screw jack d; d, I I, Weight
g
15080.W0150 Sizes 52, 70, 100 50 12 32 8 399
15080.W0165 Sizes 140, 210 65 12 B5) 8 715

366 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Locating Pad - Pivot Ball

for screw jacks

SCREW JACKS

15090

Material
Pad: steel, tempered.
Ball: steel, hardened.

Technical Notes
Designed for use with screw jacks and for

supporting heavy duty castiron and forged
parts.

Tips

The pivot ball minimizes the friction on the
support. The use of a point-like support

reduces the transmission of the turning
force generated by the machine spindle.
See technical pages for the table of screw
jack suitability.

Order No. d;

15090.W0030 45

bﬂ Wixroyd

AN ESSENTRA COMPANY

d, hy h, Static load Weight
kN g
max.
12 25 8 30 240
0333 207 4497 sales@wixroyd.com 367



Parallel Pairs

A p2 A
B«
<
3 hy
3
2o \i v
9
(=)
4 17100 X
Ztp1 B - - - >
Wy I
Material Technical Notes w, (width) pair tolerance tp1 =to IT5.
Steel, case-hardened and precision ground DIN6364 P. Tolerances: Other dimensions to ISO 2768m.
in pairs. h, (height) pair tolerance tp2 = to IT5.
Order No. hy Iy Pair tolerance tpl w, Pair tolerance tp2 h; Standard tolerance h; Standard tolerance w;  w;  Weight/pair
g
17100.wW0008 8 63 0.004 0.006 +0,2 +0,1 2.5 20
17100.W0010 10 63 0.005 0.006 +0,2 +0,1 3.2 30
17100.W0012 12 63 0.005 0.008 +0,2 +0,1 4.0 45
17100.W0013 12 100 0.005 0.008 +0,2 +0,1 4.0 75
17100.W0016 16 63 0.005 0.008 +0,2 +0,1 5.0 80
17100.W0017 16 100 0.005 0.008 +0,2 +0,1 5.0 125
17100.wW0020 20 63 0.006 0.009 +0,2 +0,2 6.3 125
17100.W0021 20 100 0.006 0.009 +0,2 +0,2 6.3 200
17100.W0025 25 100 0.006 0.009 +0,2 +0,2 8.0 315
17100.W0026 25 160 0.006 0.009 +0,2 +0,2 8.0 500
17100.w0032 32 100 0.006 0.011 +0,3 +0,2 10.0 500
17100.W0033 32 160 0.006 0.011 +0,3 +0,2 10.0 800
17100.w0040 40 100 0.008 0.011 +0,3 +0,2 12.0 750
17100.w0041 40 160 0.008 0.011 +0,3 +0,2 12.0 1200
17100.wW0050 50 160 0.008 0.011 +0,3 +0,2 16.0 2000
17100.W0063 63 160 0.009 0.013 +0,3 +0,2 20.0 3170
17100.wW0064 63 250 0.009 0.013 +0,3 +0,2 20.0 4950
17100.w0080 80 250 0.009 0.013 +0,3 +0,2 25.0 7900
17100.w0100 100 250 0.011 0.015 +0,3 +0,3 320 12680
17100.w0101 100 400 0.011 0.015 +0,3 +0,3 40.0 25300

368 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Set of Parallel Pairs

in wooden case

———— e
A p2 A ]
B 4 e — "row
I -
w
. =
i ¢
Y 2
T -
X 17120 :
Atpl B - 5 —- - -
Material Tolerances:
Steel, case hardened and precision ground.  h, (height) pair tolerance tp2 = to IT5.
In wooden box with removable lid. w, (width) pair tolerance tp1 = to IT5.

Technical Notes Other dimensionsto ISO 2768m.

Produced to DIN 6346S.

Order No. Support height in 1 mm 1 pair L = 250mm 1 pair |, = 100mm 1 pair |, = 160mm 1 pair |, = 63mm Wooden box |, x Weight
increments hy xw,; hy xw, hy xw,; hy xw, hy xw, g
12x4,0 8x2,5
16x5,0 10x3,2
17120.W0025 2,5-25 20x6y3 12x4,0 200x100x36 1300
25x8,0 16x5,0
’ 20x6,3
a0 25x8,0
17120.W0040 4,0-40 20x6y3 32x10,0 305x115x50 3800
25x8.0 40x12,0
25x8,0
17120.W0063 8,0-63 32x10,0 200 305x115x70 7400
x20,0
40x12,0
63x20
17120.W0100 20,0-100 80x25 280x215x125 27100
100x32
12x4,0
16x5,0
17120.W0532 4,0-32 20x6,3 132x145x50 1500
25x8,0
32x10,0
25x8,0
17120.W0550 8,0-50 Ton120 192x158x75 4900
50x16,0

iR Wixroyd 0333 207 4497 sales@wixroyd.com 369

AN ESSENTRA COMPANY



Parallel Supports - Pairs

high, standard and precision

A tp A
. i
2 n
a
7 ' T
%]
(=)
4 17200 A
- g - -
Wy Iy
Material Other dimensions to DIN IS0 2768m. Tolerances - precision level:
Steel, case-hardened and ground in pairs. h, (height) pair tolerance tp =+0,01mm.
Technical Notes Tolerapces - s’Eandard level: . h, (height) standard (single) tp =
Tolerances - high precision levels h, (he!ght) pair toleran.ce tp=+0,01mm. i0,0lm'm. '
. . h, (height) standard (single) tp =ISO Other dimensions to DIN ISO 2768m.
h, (height) pair tolerance tp = 0,004mm. 2;68m
h, (height) standard (single) tp= ’
+0,004mm.
Order No. h, - Pair h, - Standard hy xwy x Iy Precision level Weight/pair
tolerance tp tolerance tp g
17200.W0014 0.004 +0,004 14x10x150 Super High 330
17200.W0016 0.004 +0,004 16x10x150 Super High 380
17200.wW0018 0.004 +0,004 18x10x150 Super High 420
17200.W0020 0.004 +0,004 20x10x150 Super High 470
17200.W0022 0.004 +0,004 22x10x150 Super High 520
17200.W0024 0.004 +0,004 24x10x150 Super High 570
17200.W0026 0.004 +0,004 26x10x150 Super High 610
17200.W0028 0.004 +0,004 28x10x150 Super High 660
17200.W0030 0.004 +0,004 30x10x150 Super High 710
17200.W0032 0.004 +0,004 32x10x150 Super High 750
17200.W0035 0.004 +0,004 35x10x150 Super High 830
17200.W0040 0.004 +0,004 40x10x150 Super High 940
17200.W0045 0.004 +0,004 45x10x150 Super High 1060
17200.W0050 0.004 +0,004 50x10x150 Super High 1180
17200.wW0114 0.01 +0,01 14x10x150 Precision 330
17200.W0116 0.01 +0,01 16x10x150 Precision 380
17200.wW0118 0.01 +0,01 18x10x150 Precision 420
17200.W0120 0.01 +0,01 20x10x150 Precision 470
17200.W0122 0.01 +0,01 22x10x150 Precision 520
17200.W0124 0.01 +0,01 24x10x150 Precision 570
17200.W0126 0.01 +0,01 26x10x150 Precision 610
17200.w0128 0.01 +0,01 28x10x150 Precision 660
17200.wW0130 0.01 +0,01 30x10x150 Precision 710
17200.W0132 0.01 +0,01 32x10x150 Precision 750
17200.W0135 0.01 +0,01 35x10x150 Precision 830
17200.W0140 0.01 +0,01 40x10x150 Precision 940
17200.W0145 0.01 +0,01 45x10x150 Precision 1060
17200.W0150 0.01 +0,01 50x10x150 Precision 1180
17200.w0214 0.01 2768-m 14x10x150 Standard 330
17200.W0216 0.01 2768-m 16x10x150 Standard 380

370 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Parallel Supports - Pairs

high, standard and precision

Order No. h, - Pair h, - Standard hy xwy x| Precision level Weight/pair
tolerance tp tolerance tp g
17200.W0218 0.01 2768-m 18x10x150 Standard 420
17200.W0220 0.01 2768-m 20x10x150 Standard 470
17200.wW0222 0.01 2768-m 22x10x150 Standard 520
17200.W0224 0.01 2768-m 24x10x150 Standard 570
17200.W0226 0.01 2768-m 26x10x150 Standard 610
17200.W0228 0.01 2768-m 28x10x150 Standard 660
17200.W0230 0.01 2768-m 30x10x150 Standard 710
17200.W0232 0.01 2768-m 32x10x150 Standard 750 ©
17200.W0235 0.01 2768-m 35x10x150 Standard 830 S
17200.W0240 0.01 2768-m 40x10x150 Standard 940 -
17200.W0245 0.01 2768-m 45x10x150 Standard 1060 Z
17200.W0250 0.01 2768-m 50x10x150 Standard 1180 E
jun}

iR Wixroyd 0333 207 4497 sales@wixroyd.com 371

AN ESSENTRA COMPANY



Sd01S '8 S140ddNS

Parallel Support Pairs - Set

high precision - in wooden stand

A\ tpa

Wy

Material ments are Imm.
Steel, case-hardened and finely ground in Super high precision version. For stan-
pairs. dard precision model, (see part no 17200

Technical Notes for full tolerances).

Machined in parallel and square. Setincre-

Tolerances:

h, (height) pair tolerance tp = to IT5.
h, (height) and w, (width) standard
(single) tolerance £0,01mm.

All other dimensions to DIN ISO 2768m.

Order No.

17211.wW0001

17211.W0002

17211.w0003

372

Contents (1 pair each) w; x hy x I}

2x5x100
2x15x100
3x6x100
3x16x100
4x7x100
8x11x125
8x21x125
8x31x125
10x13x125
10x23x125
8x11x150
8x21x150
8x31x150
10x13x150
10x23x150

2x10x100
2x20x100
3x11x100
3x21x100
4x12x100
8x16x125
8x26x125
8x36x125
10x18x125
10x28x125
8x16x150
8x26x150
8x36x150
10x18x150
10x28x150

Wixroyd

AN ESSENTRA COMPANY

Support height in 1 mm increments

2-24

8-42

8-42

wixroyd.com

Tolerance h; and w;
mm

+0,01

+0,01

+0,01

Weight

2200

14000

17000



Parallel Support Pairs - Set

standard precision - in wooden stand

#tp A
4
hy E
o3
Y v 2
-
A 17212 =
- - el -
w4 I
Material ments are Imm. Tolerances:
Steel, case hardened and finely ground in Standard precision version (see part no. h, (height) pair tolerance tp =to ITS.
pairs. 17200 for full tolerances). For high h, (height) and w, (width) standard
. precision model, see parts 17211. (single) tolerance to DIN ISO 2768m.
Technical Notes . .
.. . All other dimensions to DIN ISO 2768m.
Machined in parallel and square. Setincre-
Order No. Contents (1 pair each) wy x hy x | Support height in 1 mm increments Weight

2x5x100 2x10x100
2x15x100 2x20x100
17212.W0201 3x6x100 3x11x100 2-24 2200
3x16x100 3x21x100
4x7x100 4x12x100
8x11x125 8x16x125
8x21x125 8x26x125
17212.W0202 8x31x125 8x36x125 8-42 14000
10x13x125 10x18x125
10x23x125 10x28x125
8x11x150 8x16x150
8x21x150 8x26x150
17212.W0203 8x31x150 8x36x150 8-42 17000
10x13x150 10x18x150
10x23x150 10x28x150

M Wixroud 0333 207 4497 sales@wixroyd.com 373

AN ESSENTRA COMPANY



Sd01S '8 S140ddNS

374

Parallel Support Pairs - Set

in wooden case

#tp| A

Material
Steel, ground and case-hardened.
In wooden box with removable lid.

Technical Notes

Dimensions w, and L, to IS0 2768 medium.
Tolerances - 17220.W0001 (super high
precision).

h, (height) pair tolerance tp = 0,004mm.
h, (height) standard tolerance tp =
+0,004mm.

Other dimensions to DIN ISO 2768m.

Tolerances - 17220.W0000 (standard preci-
sion).

h, (height) pair tolerance tp = 0,010mm.
h, (height) standard tolerance tp =
+0,004mm.

Tips
Indispensable for parallel support of
components in vices and plates. Their high

degree of accuracy allows the combination
of sizes.

Part no. 17220.W0000 is exactly the same
as 17220.W0001, but is a lower cost, and
lower toleranced set.

Matched sets can be supplied on request
for an extra charge.

Order No.

Contents (pairs) h; x w; x I h,
Standard tolerance

14x10x150
16x10x150

17220.wW0001

18x10x150

20x10x150
22x10x150

17220.W0000

bﬂ Wixroyd

AN ESSENTRA COMPANY

as per 17220.W0001 but with lower tolerances

wixroyd.com

+0,004

+0,2 (to 30mm) £0,3 (>30mm)

h, - Pair Weight
tolerance tp g

+0,004 10900

+0,010 10600




Parallel Stops

pairs

At A
&
hy N
o3
Y v =
x 17320 :
L — ] -
wy Iy
Material rance H8). Other dimensions to DIN ISO 2768m.
Steel, case-hardened and finely ground in Tolerances: .
airs h, (height) pair tolerance tp =1IT5 Tips
parrs. . . ’ Ideally used for stops on small and medium
. h, (height) standard (single) tolerance to . g
Technical Notes DiN IS0 2768m machines. They allow rapid alignment of

The thickness of these parallels matches the workpiece to the table.

the slot width on machine tables (tole- w; (width) standard (single) tolerance = h7

Order No. h, I Pair tolerance h; tp Standard tolerance DIN 7168m w, w, Weight/pair
hl tol. h7 g
17320.wW0008 25 100 0.009 10,2 8 -0.015 315
17320.W0010 32 100 0.011 10,3 10 -0.015 500
17320.wW0012 40 100 0.011 10,3 12 -0.018 750
17320.wW0014 50 100 0.011 +0,3 14 -0.018 1100
17320.wW0016 50 160 0.011 10,3 16 -0.018 2000
17320.wW0018 63 160 0.013 0,3 18 -0.018 2850
17320.W0020 63 160 0.013 10,3 20 -0.021 3170
17320.W0022 80 160 0.013 0,3 22 -0.021 4400
17320.wW0024 80 160 0.013 10,3 24 -0.021 4800
17320.wW0028 100 160 0.015 +0,3 28 -0.021 7000

iR Wixroyd 0333 207 4497 sales@wixroyd.com 375

AN ESSENTRA COMPANY



Machine Table Stops

A [ ] A
hz
wv
c
O
3
=] A\l
wv
0 - -
% Iy
9
p v
(%]
i

Wa

eccentric cam to
lock stop into T-slot

Material For machine T-slots from 12mm to 22mm.
Steel, ground and hardened. Position stop in machine slot, actuate the

Technical Notes eccentric cam to lockin place.

Compact, strong and easily removable.

Order No. w, h, h, I Slot size w,
17400.w0020 6.0 33 17 25 12
17400.W0025 6.0 36 20 30 14
17400.W0030 8.0 40 20 30 16
17400.W0035 9.8 40 21 40 18
17400.W0045 12.0 55 27 50 22

376 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Locating Rails
for fixturing

Supports &
Stops

17403

Material
Low carbon steel, precision ground square.
Mounting screws included.

Technical Notes
The locating rails can be machined and are
ideal for using with our machinable

clamps.

Important Notes

1. Mill a slot to locate the rail. Depth of
slot will determine rail height.

2. Drill and tap the required holes.

3. For better rigidity the rail should be

pinned to the fixture plate with dowel pins.
4. If rails are to be machined to hold round
pieces, the clamps should be mounted and
both rail and clamps machined at the same
time.

Order No. W, d;
+0.00(-0.01
17403.W0200 15 M 6
17403.W0210 15 M 6
17403.W0220 15 M 6
17403.W0240 15 M 6
17403.W0260 24 M10
17403.W0280 24 M10
17403.W0300 24 M10

hl I1 I2
12 50 15
12 100 20
12 150 30
12 250 25
18 75 20
18 150 30
18 250 25

Iy No. of holes Weight
8

11 2 68.0

11 3 140.6
11 4 208.7
11 5 353.8
18 2 258.5
18 4 512.6
18 5 848.2

bﬂ Wixroyd

AN ESSENTRA COMPANY

0333 207 4497

sales@wixroyd.com

377

SUPPORTS & STOPS




Sd01S '8 S140ddNS

Adjustable End Stops

intermediate
plate
locking handle

intermediate
plate

locking handle

G
\
=
hy
17405 o
positioning itioni
B .-
Y Y
single M8 double M8

Technical Notes Can also be used as a support to minimise
Three dimensional, fully adjustable end work-piece vibration.

stops for milling machines, and vices.

Order No. Bar dia. Height adj. h, h, Type
min. | max.

17405.W0420 6x150 0-150 145 60 Single

17405.W0430 6x150 0-300 300 60 Double

17405.W0710 - - - - Intermediate Plate

17405.W0720 - - - - Locking Handle

== C‘Q-%j &=
=
o . . )
378 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY




Heavy Duty Side Stop

adjustable

g - ‘
= 15 b A
M16 ()
—_—— - i h2
| iy y g
g :
e
17420 2
b
vy
- ) ] -
W1 I]
Material on slotted tables. The side stop slips into
Steel, tempered, with two threaded holes the T-slot and locks when the adjusting
M16, and adjustable set screw M16x80. bolt comes into contact with the work-
piece.

Technical Notes
Used to position long or heavy workpieces

Order No. W, h, h, h; I Slot w, Weight
g

17420.wW0018 20 100 40 20 50 18 805
17420.W0020 25 125 40 30 80 20 1880
17420.W0022 25 125 40 30 80 22 1920
17420.W0024 32 150 65 40 100 24 3515
17420.W0028 32 150 65 40 100 28 3645
17420.W0036 40 160 65 50 120 36 4870

M Wixroud 0333 207 4497 sales@wixroyd.com 379

AN ESSENTRA COMPANY



Setting Bolts

with lock nut

lock nut 1ISO 4035

Sd01S '8 S140ddNS

1 L]
do oF Lot - - |
= hy - I -
Material and rounded head which can be used as
Bolt: steel, blackened and with a hardened support or setting bolt as an end stop.
head. Tensile strength 500N/mm?2. These bolts are normally used together

Technical Notes with a locknut.

Setting bolts are produced with a hardened

Order No. d; I Iy h, w, A/E
18300.W0031 M3 10 2 2.0 6.4 5.5
18300.W0032 M3 20 2 2.0 6.4 5.5
18300.W0033 M3 30 2 2.0 6.4 5.5
18300.w0041 M4 10 2 2.8 8.1 7.0
18300.wW0042 M 4 20 2 2.8 8.1 7.0
18300.W0043 M 4 30 2 2.8 8.1 7.0
18300.W0051 M5 20 2 35 9.2 8.0
18300.W0052 M 5 30 2 3.5 9.2 8.0
18300.W0053 M5 40 2 35 9.2 8.0
18300.w0061 M6 30 3 4.0 115 10.0
18300.W0062 M6 40 3 4.0 115 10.0
18300.W0063 M 6 50 3 4.0 11.5 10.0
18300.wW0081 M8 30 4 5.5 15.0 13.0
18300.W0082 M8 40 4 5.5 15.0 13.0
18300.W0083 M8 50 4 5.5 15.0 13.0
18300.w0101 M10 40 5 7.0 19.6 17.0
18300.w0102 M10 50 5 7.0 19.6 17.0
18300.w0103 M10 60 5 7.0 19.6 17.0
18300.wW0104 M10 70 5 7.0 19.6 17.0
18300.W0121 M12 40 5 8.0 219 19.0
18300.W0122 M12 50 5 8.0 219 19.0
18300.w0123 M12 60 5 8.0 219 19.0
18300.W0124 M12 70 5 8.0 219 19.0
18300.wW0161 M16 50 6 10.0 27.7 24.0
18300.W0162 M16 60 6 10.0 27.7 24.0
18300.W0163 M16 70 6 10.0 27.7 240
18300.W0164 M16 80 6 10.0 27.7 240

380 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Setting Bolts

with lock nut

SUPPORTS & STOPS

M Wixroud 0333 207 4497 sales@wixroyd.com 381

AN ESSENTRA COMPANY



Sd01S '8 S140ddNS

Abutments

30400

v
- - dy
- -
lz

Material 34500 and thrust pads no. 34520 - used as

Steel, heat-treated, blackened. adjustable stops.
Technical Notes

Used in conjunction with grub screws no.

Order No. W, d; d, ds I Iy I3 A/F Weight
g

30400.W0045 254 M8 84 14 26 20 8 22 55

30400.W0145 40.0 M12 13.0 19 44 34 12 36 280

o . . )
382 h‘i Wixroyd wixroyd.com

AN ESSENTRA COMPANY




Cylindrical Stop

— I - - Wi -
A
! ______ I ‘ ‘ Y é
d] Wy i
“ LR ' 30420 3
DIN 974 - 12
Material
Steel, case-hardened and ground.
Order No. W, d; d, Iy Weight
tol. H7 +0.01 g
30420.W0050 14 50 M 6 60 750
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 383
AN ESSENTRA COMPANY



Anti-vibration Supports

Sd01S '8 S140ddNS

]

actuation

qh@

l_©

Iz
- -
dl

—

Tips
Eliminates workpiece chatter and vibration
during machining.

Easy to actuate; locate and fix beneath
workpiece, turn actuation handle and
spring loaded support will come into

contact with workpiece. Lock handle to set
support.

Order No.
11090.W0060 28

Support height

45 6

support bar
11086.00045

support bar
11086.00045

B [k

=

'

place the support under the workpiece and turn actuation
until contact is made, continue to turn o set support height

&

384 bﬂ Wixroyd

AN ESSENTRA COMPANY

wixroyd.com

56 20




Clamping Devices
self locking - actima

L

12540

Material

Individual parts: steel, blackened.

Ball knob: duroplast (PF 31) DIN 7708, red.
Housing: thermoplastic, black.

Additional parts: steel, blackened.

Technical Notes

Travel path/movement of approach 10mm,
during which no clamping takes place.
Within the quick clamp travel of 2mm, self-

locking occurs in any position. Maximum
clamping force allowed 4,9 kN.

Through Axle Type:

Due to the cam axle running across the
diameter of the pressure sleeve, depth of
the pressure sleeve is limited to 31mm.
Through Hole Type:

Depth of the pressure sleeve is not limited
and is equal to equal to 45,5mm. Moun-

ting: via six M 6 x 9 threaded holes on its
base.

Tips

A compact clamping element for pull and
push clamping which can be actuated by
turning the tension cam.

Used with:

12540.W0042 - W0046 Clamping devices.

Order No. Type
12540.W0002 Through axle
12540.W0004 Through axle
12540.W0012 Through axle
12540.W0014 Through axle
12540.W0042 Accessories
12540.W0044 Accessories
12540.W0046 Accessories

bﬂ Wixroyd

AN ESSENTRA COMPANY

Description Clamping force Weight
kN g
max.
Right push/left pull 49 751
Left push/right pull 4.9 749
Right push/left pull 49 745
Left push/right pull 4.9 750
Disc - 270
Taper - 85
Vee-block - 82
0333 207 4497 sales@wixroyd.com 385

SUPPORTS & STOPS



Sd01S '8 S140ddNS

Supporting Elements

12680

M12

2 x M6

Qo

[
R
zo
=2
mIlE
¢ | E
3R
El8

=3

AJF 21 3
- ‘

10.

»

L
i)

2
32
Ble
"o

=8

(=N

=

W

]

13 13

base view
M12 DIN 913

(interchangeable)

Material

Body: steel case-hardened, nitrided,
blackened and ground.

Housing: aluminium, red anodised.

Technical Notes

Used to support over determined clamping
points, whilst minimising deformation of
component. It also reduces vibration
during machining.

By tuning on the lock function (max. 180°
at 15Nm), the clamping mechanism locks
the support pin without moving. The
support element has supported the work-
piece and is locked in place.

Fix the support element (2x M6 thread)
onto the device. Ensure the key activation
isin required orientation.

Alternatively: Dismantle the M12 x 10
threaded pin and replace it by an M12x 30
threaded pin and assemble the support
element with a spanner (A/F 21), e.g for T-
slot mounting (no pin M12x 30 and T-nut
24000 M12x 14, grade 10, are parts of the
standard supply volume. The support
element can be recessed into a hole max.
16mm deep.

Operation:

By turning the clamping cam (A/F 6
internal hexagon) on the outer surface of

load.

1. By turning on (15Nm) as far as possible
(lock), total of 180°, the clamping
mechanism locks the support pin withot
moving. The support element has been
placed onto the workpiece and locked.

2. If turned in the opposite directions
(unlock), the clamping is released. If
turned back as far as possible, i.e. total of
180° the support pin moves to the end
position.

Tips the re protective sleeve, the support pin
Assembly: contacts the workpiece wih a slight spring
Order No. Description Stroke Supporting force Weight
kN g
max.
12680.W0400 Support Element 5 8 950
o . . )
386 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY




Supporting Elements

SUPPORTS & STOPS

iR Wixroyd 0333 207 4497 sales@wixroyd.com 387

AN ESSENTRA COMPANY



Wedge Blocks

heavy duty positioning

d‘I
—
i A
o I'\ I 1
S
3 hy | hp M
E min. max.
& v
9
S h
2 15500 vy ™
L
AF
] -
Wy
Material load, adjustment is easily made with a turn and machining of large components on
Spheroidal graphite, castiron. of screw. Allows fine adjustment to 0.1mm. heavy duty machines. If necessary, an
Heat treated and burnished. See technical pages for the table of loca- additional @12mm locating hole in the
Contact surfaces precision machined. ting pad and support pad elements compa- base allows the wedge blocks to be
Technical Notes tibility. located.
Centering hole @12mm. Tips
With loads up to 33% of the max. static Particularly useful for precise positioning
Order No. Size  w, h, h, h, d, hy N Static load  w, A/F Adj/360°  Weight
min. max. kN g
max.
15500.W0006 63 63 80 50 68 12 7 63 40 40 13 0.86 1700
15500.W0012 125 115 135 100 125 12 20 125 100 60 24 1.16 8600
15500.W0016 190 145 200 170 190 12 20 175 250 80 36 2.02 23750

?
0 ooy,
ﬁ.)i] ik '
(R N NN NN EN AN

388 és Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Workpiece Supports

for support and to prevent workpiece chatter

SUPPORTS & STOPS

Wa ‘
g , 17000
Il Ja====n) ©r
| D - i o i 2Rt | it
- I, - = -
B Is = ®1 17000.W0085
and W0170
Material The supporting pin is applied with spring support. Threaded studs or levelling pads
Support: steel, case-hardened and ground. pressure to the workpiece and can be can be screwed into the female thread to
Grip: die-cast zinc. clamped in any desired position without set the required height.
. the need to reach under the workpiece. Sizes .W0085 to W0170 have only one slot.
Technical Notes - . . .
. . 17000.W0450 is fitted with axial bearing
Used as support beneath workpieces to Tips clamping lever 74470 W0210
prevent chatter and vibration. Additional support to a three-point fixed ping ’ '
Order No. Wy hy h, d; d, Handle e, I I, Weight
g
17000.W0085 85 19.5 115 M 8 13 M 6x18 75 35 342
17000.W0150 13.0 24.0 14.0 M10 20 M 8x22 150 90 1159
17000.w0170 17.0 34.0 215 M16 26 M12x30 170 100 2534
17000.W0300 13.0 24.0 14.0 M10 20 M 8x22 300 100 2153
17000.W0450 25.0 40.0 25.0 M20 32 M10x25 387 110 7300
Load capacity
Order No. I3 Iy I5 le I r kN Stroke s, W, W,
max.
17000.W0085 13 - 13 62 5 - 0.5 3 30 10
17000.W0150 20 - 17 74 - 15 2.5 6 50 25
17000.W0170 25 - 27 108 11 - 5.0 11 60 20
17000.W0300 30 160 17 74 - 15 25 6 50 25
17000.W0450 30 200 30 89 - 24 10.0 11 85 40
o . . )
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 389
AN ESSENTRA COMPANY



Workpiece Supports

for support and to prevent workpiece chatter

Sd01S '8 S140ddNS

390 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Compact Work Supports

with cam handle

» unlocking position
= 2u=

locking arc

~ ~
./'/J
» . -

A joking arc
=2

locking position
tha handla position varies unicking posiian
dapanding on thi haight
of the paston

clockwise locking anti-clockwise locking

== e 17002
Sl EmN

SUPPORTS & STOPS

Iy s dril a tapped hole
and & locating-pin hose
mounting hole dimension
Material Piston: steel, black oxide finish, HRc 50- Technical Notes
Body and pin: steel (S45C), black oxide 55. Cam handle: zinc die-cast, chrome The builtin disc spring prevent release.
finish. plated.
Order No. Wy h, h, d, d, d, d, hy h, hg Weight
+0.31-0 g
17002.wW0018 14 18 8 6 10 5.5 10 6.0 14.5 10 76
17002.wW0118 14 18 8 6 10 5.5 10 6.0 14.5 10 76
17002.W0025 18 25 10 10 14 5.5 14 9.5 18.5 13 140
17002.W0125 18 25 10 10 14 5.5 14 9.5 18.5 13 140
Hlamille Locking d Lock Piston spring Strok Support
oa ocking direc- ocking troke capacity
Order No. he h, N I Iy I3 Iy r tion mechaniem fo'(lce 5,
max. max.
17002.wW0018 5 7.0 80 435 195 12 12 39 Clockwise Spiral cam, 4° 1,5-3 3 200
17002.W0118 5 7.0 80 435 195 12 12 39 Anticlockwise Spiral cam, 4° 1,5-3 3 200
17002.W0025 5 105 100 504 224 14 14 50 Clockwise Spiral cam, 4° 1,8-3 4 400
17002.W0125 5 105 100 504 224 14 14 50 Anticlockwise Spiral cam, 4° 1,8-3 4 400
o] H N .
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 391
AN ESSENTRA COMPANY



Compact Work Supports

with cam handle

operating instruction

Sd01S '8 S140ddNS

1.unlocked 2 workpiece loading 3.locking
ne workpiece loaded Ioad a workpiece and turn the handle to
the piston lowers lock the piston

392 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Cam Action Work Support

air oubet

-
5o
o I 1 ° v)
=3 {4
—2
la 3 n
] -— -
unloeking position
»

=
Gs %
dy 1 P %
i = =
[ (Q aiLH -
it [ e — O 5
L i =
» recommanded lacking positon 8
nate: the drawing shows o
dy GP Sciews [ = | clockwise rotatien for lacking >
.
locking end
5 d -

Material
Body: steel (S45C), black oxide finish.
Piston: steel (SK95), tempered and black

shaftin place to prevent damage on instal-
lation. To change locking direction loosen

Technical Notes . 3 A
set screw, remove retaining pin, invert

The builtin disc spring prevent loosened

oxide finish. lockin handle and reassemble.
Locking pin: steel (545C), tempered and g-
black oxide finish. Tips

Handle: steel (SCM440), tempered and
black oxide finish.

When you attach a support pad to the
tapped hole through the shaft, lock the

Order No. Capacity Wy hy h, d, d, d, hy h, I Weight
kN g
max.
17003.wW0024 0.5 25 24 19 10 M 5x8 M 4 14 14 52 213
17003.W0029 0.7 30 29 22 12 M 6x10 M 5 18 16 58 335
17003.w0037 0.9 38 37 25 16 M 8x15 M 6 23 19 75 738
17003.w0042 1.2 45 42 30 19 M10x15 M8 26 24 85 1110
Order No. [ I3 Iy r Locking mechanism Piston spl\zlng force Stroke s, w, Allowable R‘andle load
17003.W0024 36 8 8 40 Spiral cam, 4° 0-6 5 15 80
17003.wW0029 39 S5 10 50 Spiral cam, 4° 0-6 6 18 100
17003.w0037 51 12 12 63 Spiral cam, 4° 0-7 8 24 150
17003.W0042 56 145 15 80 Spiral cam, 4° 0-11 10 28 200
.‘ .
FB M 0333 207 4497 sales@wixroyd.com 393
AN ESSENTRA COMPANY



Cam Action Work Support

Sd01S '8 S140ddNS

spring

394 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



dg cap screws

o
retracted .

extended

dy dy hex. socket
head set screw

SUPPORTS & STOPS

17004.1

—
i
nood
hy
L |
hy
'
Material steel or castiron. No tools needed. The extended or retracted until the handle is
Body and piston: steel (545C), tempered handle position is freely adjustable. The operated again.
and black oxide finish. handle can be easily changed to actina

Crank shaft: steel (S45C), black oxide
finish.

Technical Notes

Can support heavy workpieces made from

clockwise or anti clockwise direction. Diffe-
rent locating pins can be mounted depen-
ding on workpiece’s locating holes. The
piston stays locked when it s fully

Order No. h, h, d; d, dy d, dg dg d, dg Weight
tol. g6 tol. G7 g
17004.W0008 48 12 50 28 20 8 38 M 5 M 4x5 M 6x12 590
17004.W0012 61 14 65 42 30 12 52 M 6 M 5x8 M 8x7 1310
Workpiece weight
Order No. hs h, hs he Iy r Stroke s, Allowable Rlandle load kg

max.

17004.W0008 22 27 14 5 65.0 40 12 170 250

17004.W0012 26 31 16 6 87.5 65 15 210 300

locating pin head dimensions lo your own design / manufacture
- 3 determine the dimensions marked with an asterisk considering
~ a clearance sel between the workpiece and the locating guides.
i ,‘ when the taper angle is determined to be smaller than 30°
hy . (recommended) set the clearance smaller.
wor:;l;cjlor hy
17004.W0008 | 12 or less
[17004.W0012[15 or less
o] o ® .
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 395
AN ESSENTRA COMPANY



Flanged Workpiece Locators

AN retractod

Sd01S '8 S140ddNS

17004.2

Material Piston: steel (SCM440), tempered and Ball knob: ABS resin, black.
Body: steel (S45C), tempered and black black oxide finish.
oxide finish. Handle: steel (S45C), black oxide finish.

Order No. h, h, d; d, d, d, dg dg d, dg Weight

tol. G6 tol. G7 g
17004.wW0108 48 12 60 34 20 28 8 20 46 M 5 420
17004.W0112 61 14 80 48 30 42 12 25 63 M 6 1040
Workpiece weight
Order No. dg hy h, hs he h, r,  Strokes, ‘llowable Ra”d'e load kg a
max.

17004.W0108 M 4x5 10 17 5 13 5 71 12 150 250 100°
17004.W0112 M 6x8 13 23 7 15 8 94 15 200 300 90°

Lo i

retractad mode projected mode

396 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



i
a 17005.1
4
Material oxide finish.
Body: steel (C45), black oxide finish.
Piston: steel (42CrMo), heat treated, black
Order No. h, h, dy d, dy d, dg Iy I,  Piston spring Stroke's, Support capacity A/F Weight
force kN g
N
17005.w0018 18 5 15 6 M8x1,25 16 M4xle 16 132 15~30 3 0,2 13 36
17005.w0022 22 6 19 8 M10x1,50 20 M5x20 20 163 1,8~3,0 4 0,3 17 72
17005.wW0025 25 6 22 10 M12x1,75 24 Mex25 24 223 1,8~3,0 4 04 19 150
)
o . . )
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 397
AN ESSENTRA COMPANY

SUPPORTS & STOPS



Sd01S '8 S140ddNS

Contact-Bolt Extensions

for workpiece support

d

] _»
| 1V
17005.2 S
- = — hy - I -
Material
Steel (C45), tempered and black oxide
finish.
Order No. h, d, I Iy A/F Weight
g
17005.W0825 25 M 8x1,25 13 16 13 25
17005.W0832 32 M 8x1,25 13 16 13 35
17005.w0840 40 M 8x1,25 13 16 13 45
17005.W1032 25 M10x1,50 16 20 17 60
17005.W1050 32 M10x1,50 16 20 17 95
17005.W1075 40 M10x1,50 16 20 17 145
17005.W1232 25 M12x1,75 18 20 22 95
17005.W1250 32 M12x1,75 18 20 22 165
17005.W1275 40 M12x1,75 18 20 22 250
o . )
398 h‘? Wixroyd wixroyd.com

AN ESSENTRA COMPANY




Cylindrical Workpiece Supports

hex. wrench

|
1

SUPPORTS & STOPS

17008

thumb screw

Material cap screw style to offer high support capa-
Body: steel (C45), black oxide finish. cities.
Piston: steel (C45), tempered, black oxide Tips

finish. When you attach a support tip to the
tapped hole through the shaft, tighten the

shaft and secure it to prevent damage.

Technical Notes
The positive locking mechanism allows the

Order No. Type hy h, d, d, dy d, Weight
g
17008.w0033 Cap screw 33 22.0 28 14 - M 6x12 150
17008.W0042 Cap screw 42 28.5 35 19 - M 8x16 300
17008.wW0050 Cap screw 50 34.0 42 22 - M10x20 540
17008.W0060 Cap screw 60 42.0 50 26 - M12x24 865
17008.W0070 Cap screw 70 47.0 60 33 - M16x32 1390
17008.w0233 Thumb screw 33 22.0 28 14 24 M 6x12 185
17008.W0242 Thumb screw 42 28.5 35 19 30 M 8x16 360
17008.W0250 Thumb screw 50 34.0 42 22 36 M10x20 620
17008.W0260 Thumb screw 60 42.0 50 26 40 M12x24 1020
. ) Support capacit Torque to
Order No. ds d I l, Piston spring foree stroke s, PP Nim AF
max. max.
17008.wW0033 M 6x16 M 6 10 14.1 10~22 6 4.0 7.5 4
17008.W0042 M 8x20 M8 15 18.8 10~27 10 6.0 14.0 5
17008.W0050 M10x25 M10 14 23.8 14~28 10 7.5 18.0 6
17008.W0060 M12x30 M12 17 28.5 15~30 10 9.0 22.0 8
17008.W0070 M12x30 M16 22 26.5 15~35 10 9.0 25.0 10
17008.wW0233 M 6 M 6 10 22.7 10~22 6 0.6 1.0 4
17008.wW0242 M 8 M 8 15 27.7 10~27 10 0.7 1.2 5
17008.W0250 M10 M10 14 31.8 14~28 10 0.7 1.5 6
17008.W0260 M12 M12 17 36.8 15~30 10 0.8 2.0 8
.‘ .
FB M 0333 207 4497 sales@wixroyd.com 399
AN ESSENTRA COMPANY



Sd01S '8 S140ddNS

400 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Support Screws

SUPPORTS & STOPS

18420

\ Y
1(13-'
Material
Steel, heat-treated.
Order No. d, d, d, I Iy R Weight
g

18420.W0001 12 28 M12 46 8 58 70
18420.W0002 16 34 M16 57 9 72 150

M Wixroud 0333 207 4497 sales@wixroyd.com 401

AN ESSENTRA COMPANY



